SONALIKA

INTERNATIONAL

International Tractors Lid.
Parts Catalogue

CRDI Tractor Models




INDEX

Sr. No. Group
1 SILENCER ASSY.
2 COOLING SYSTEM ASSY.
3 ENGINE ASSY. & RELATED PARTS
4 CLUTCH ASSY & RELATED PARTS
5 GEAR BOX HOUSING & RELATED PARTS
6 SPEED LEVER & RELATED PARTS
7 REAR DIFFERENTIAL & RELATED PARTS
8 FINAL DRIVE HOUSING & RELATED PARTS
9 BRAKES & RELATED PARTS
10 REAR COVER ASSY.& RELATED PARTS
11 OPERATING SECTOR & RELATED PARTS
12 CAB MTG. ASSEMBLY & RELATED PARTS
13 ROPS STRUCTURE ASSEMBLY & RELATED PARTS
14 MOUNTED ACC. & RELATED PARTS
15 BONNET ASSY & RELATED PARTS
16 FUEL SYSTEM ASSY. & RELATED PARTS
17 BRAKE & CLUTCH PEDALS & RELATED PARTS
18 FRONT AXLE BRACKET & RELATED PARTS
19 FRONT AXLE BEAM & RELATED PARTS
20 BATTERY BOX ASSY & RELATED PARTS
21 THREE PT LINKAGE & RELATED PARTS
22 ACCELERATOR ASSEMBLY & RELATED PARTS
23 DRIVER SEAT
24 STICKERS
25 FRONT WHEELS & TYRES
26 REAR WHEELS & TYRES
27 FRONT WEIGHTS
28 REAR WHEEL WEIGHTS
29 CLUSTER ASSY
30 ELECTRICALS & RELATED PARTS

31

ACCESSORIES




PARTS CATALOGUE INDEX

Sr. | Sub Chapter Description Model
1 |01110A-1-1  |MUFFLER ASSY. Solis-75,90 CRDI MODELS
2 |01120A-1-1  |EXHAUST ASSY. (DOWNDRAFT|Solis-75,90 CRDI MODELS

EXHAUST PIPE VARIANT FOR

WITHOUT CABIN)
3 |01130A-1-1  |EXHAUST ASSY. (INLINE TYPE |Solis-75,90 CRDI MODELS

EXHAUST PIPE FOR CABIN

MODELS)
4 |01140A-1-1 |DOWN DRAFT EXHAUST PIPE |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
5 |02110A-1-1 |COOLING SYSTEM ASSY. Solis-75,90 CRDI MODELS
6 |03110A-1-1 |ENGINE ASSY. Solis-75,90 CRDI MODELS
7 |03120A-1-1 |ENGINE PRESSURE SENSOR S|Solis-75,90 CRDI MODELS
8 |04110A-1-1 |CLUTCH ASSY. Solis-75,90 CRDI MODELS
9 |04111A-1-1  |CLUTCH ASSY. Solis-75,90 CRDI MODELS

10 |04120A-1-1  |CLUTCH CONTROLS Solis-75,90 CRDI MODELS
11 |04130A-1-1  |CLUTCH SHAFTS Solis-75,90 CRDI MODELS
12 |05110A-1-1  |GEAR BOX HOUSING AND Solis-75,90 CRDI MODELS

RELATED PARTS
13 |05120A-1-1  |TRANSMISSION FRONT Solis-75,90 CRDI MODELS
COVERS

14 |05130A-1-1  |TRANSMISSION HOUSING Solis-75,90 CRDI MODELS

15 |05140A-1-1  |PRIMARY SHAFT Solis-75,90 CRDI MODELS




Sr. | Sub Chapter Description Model
16 |05140A-2-2 |PRIMARY SHAFT Solis-75,90 CRDI MODELS
17 |05150A-1-1  |SECONDARY SHAFT Solis-75,90 CRDI MODELS
18 |05150A-2-2 |SECONDARY SHAFT Solis-75,90 CRDI MODELS
19 |05160A-1-1  |IDLE GEAR Solis-75,90 CRDI MODELS
20 |06110A-1-1 |SPEED LEVER COVER Solis-75,90 CRDI MODELS
21 |06120A-1-1 |OUTER GEAR SHIFT LEVERS |Solis-75,90 CRDI MODELS
22 |06130A-1-1 |SPEED GEAR INNER Solis-75,90 CRDI MODELS
CONTROLS
23 |06140A-1-1 |REVERSER INNER CONTROLS |Solis-75,90 CRDI MODELS
24 |06150A-1-1 |RANGE GEARS INNER Solis-75,90 CRDI MODELS
CONTROLS
25 |06160A-1-1 |PTO CONTROL Solis-75,90 CRDI MODELS
26 |07110A-1-1 |REAR DIFFERENTIAL Solis-75,90 CRDI MODELS
27 |07120A-1-1  |REAR DIFFERENTIAL LOCK Solis-75,90 CRDI MODELS
28 |07130A-1-1 |BEVEL GEAR SET Solis-75,90 CRDI MODELS
29 |07140A-1-1  |PTO OUTPUT SHAFT Solis-75,90 CRDI MODELS
30 |07150A-1-1  |PTO SHAFT Solis-75,90 CRDI MODELS
31 |07160A-1-1 | DROP BOX TRANSMISSION Solis-75,90 CRDI MODELS




Sr. | Sub Chapter Description Model
32 |08110A-1-1 |FINAL DRIVE HOUSING Solis-75,90 CRDI MODELS
33 |08120A-1-1 |FINAL DRIVE HOUSING-WHEEL |Solis-75,90 CRDI MODELS
SHAFT
34 |09110A-1-1  |BRAKES Solis-75,90 CRDI MODELS
35 |09120A-1-1 |BRAKES CONTROL Solis-75,90 CRDI MODELS
36 [09130A-1-1 |HANDBRAKES CONTROL Solis-75,90 CRDI MODELS
37 [10110A-1-1  |LIFTOMATIC ASSEMBLY Solis-75,90 CRDI MODELS
38 [10120A-1-1  |SUCTION AND DELIVERY LINE |Solis-75,90 CRDI MODELS
39 [10121A-1-1  |SUCTION AND DELIVERY LINE |Solis-75,90 CRDI MODELS
WITH HYD. TRAILER BRAKE
40 |10122A-1-1  |SUCTION & DELIVERY LINE Solis-75,90 CRDI MODELS
41 |10130A-1-1  |STEERING TANK ASSY. Solis-75,90 CRDI MODELS
42 |10131A-1-1  |LIFT BODY ASSY Solis-75,90 CRDI MODELS
43 |10132A-1-1  |CYLINDER ASSY Solis-75,90 CRDI MODELS
44 110150A-1-1  |SUPPORT TOP LINK ASSY Solis-75,90 CRDI MODELS
45 |10160A-1-1 |CONTROL LEVER ASSY Solis-75,90 CRDI MODELS
46 |10170A-1-1  |CONTROL VALVE ASSY Solis-75,90 CRDI MODELS
47 |110180A-1-1  |INTERNAL LEVERS ASSY. Solis-75,90 CRDI MODELS




Sr. | Sub Chapter Description Model

48 |10410A-1-1  |REAR COVER ASSY. Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH
FLOW CONTROL VALVE

49 |10420A-1-1  |CYLINDER ASSY. Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH
FLOW CONTROL VALVE

50 |10430A-1-1 |INTERNAL LEVER ASSY Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH
FLOW CONTROL VALVE

51 |10440A-1-1 |SUPPORT TOP LINK ASSY Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH
FLOW CONTROL VALVE

52 |10450A-1-1 |CONTROL LEVER ASSY. Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH
FLOW CONTROL VALVE

53 [11110A-1-1  |DCV OPERATING SECTOR Solis-75,90 CRDI MODELS

ASSEMBLY

54 [12110A-1-1  |CAB MTG. ASSEMBLY Solis-75,90 CRDI MODELS

55 [13110A-1-1  |ROPS STRUCTURE ASSEMBLY |Solis-75,90 CRDI MODELS

56 [14110A-1-1  |MOUNTED ACC. Solis-75,90 CRDI MODELS

57 |14120A-1-1 |CAB INTERIOR ASSY. Solis-75,90 CRDI MODELS

58 [14121A-1-1  |FRONT MUD GUARD & BASE |Solis-75,90 CRDI MODELS EXCEPT HISARLAR CABIN

PLATE ASSY

59 [14130A-1-1 |STG. MOUNTING ASSY. Solis-75,90 CRDI MODELS

60 [15110A-1-1 |BONNET ASSEMBLY Solis-75,90 CRDI MODELS

61 [15120A-1-1 | DASHBOARD ASSEMBLY Solis-75,90 CRDI MODELS

62 [15130A-1-1 |FRONT MESH ASSEMBLY Solis-75,90 CRDI MODELS

63 [16110A-1-1 |FUEL SYSTEM ASSY. Solis-75,90 CRDI MODELS




Sr. | Sub Chapter Description Model
64 [17110A-1-1  |CLUTCH PEDAL ASSY. Solis-75,90 CRDI MODELS
65 [17120A-1-1 |BRAKE CABLE ASSY. Solis-75,90 CRDI MODELS
66 [17121A-1-1  |MODIFIED BRAKE Solis-75,90 CRDI MODELS
ARRANGEMENT
67 [18110A-1-1 |FRONT AXLE BKT FOR 4-WD  |Solis-75,90 CRDI MODELS
68 [18120A-1-1 |MUD GUARD Solis-75,90 CRDI MODELS
69 [19120A-1-1 |AXLE HOUSING Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AB)
70 [19121A-1-1  |AXLE HOUSING Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AE)
71 |19130A-1-1  |SWIVEL HOUSINGS AND Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
STEERING CYLINDER 10080814AB)
72 119131A-1-1  |SWIVEL HOUSINGS AND Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
STEERING CYLINDER 10080814AE)
73 |19140A-1-1 |BEVEL GEAR SET Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AB)
74 119141A-1-1  |BEVEL GEAR SET Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AE)
75 |[19150A-1-1 |DIFFERENTIAL Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AB)
76 [19151A-1-1 |DIFFERENTIAL Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AE)
77 [19160A-1-1 | DOUBLE U-JOINT Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AB)
78 [19170A-1-1  |WHEEL HUB Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AB)
79 [19171A-1-1  |WHEEL HUB Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-

10080814AE)




Sr. | Sub Chapter Description Model
80 [19180A-1-1 |FINAL REDUCTION Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AB,10080814AE)

81 |19200A-1-1 |STG. CYL. MTG WITH AXLE Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)
ASSY

82 |19210A-1-1  |Planet Carrier RH & LH AXLE Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)
ASSY

83 |19220A-1-1  |Wheel Hub RH & LH SUB ASSY |Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)

84 |19230A-1-1  |Reduction Gear (Planetary) Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)
SubAssembly (LH & RH)

85 [19240A-1-1  |Wheel carrier - AXLE ASSEMBLY |Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)

86 |19250A-1-1 |Wheel Carrier RH & LH SUB Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)
ASSY

87 |19260A-1-1 |UNIVERSAL JOINT Assembly- |Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)
RH-LH

88 |20110A-1-1 |BATTERY BOX & FOOT STEP  |Solis-75,90 CRDI MODELS

89 |20120A-1-1 |BATTERY BOX ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

90 |21110A-1-1 | THREE POINT LINKAGES - Solis-75,90 CRDI MODELS
2500KG

91 |21111A-1-1 | THREE POINT LINKAGES - Solis-75,90 CRDI MODELS
3000KG

92 |21120A-1-1 |REAR TOE HOOK - 2500KG Solis-75,90 CRDI MODELS

93 |21130A-1-1 |REAR TOE HOOK - 3000KG Solis-75,90 CRDI MODELS

94 |21140A-1-1 |EEC DRAWBAR AND Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
AUTOMATIC CLEVIS

95 |22110A-1-1 |ACCELERATOR ASSEMBLY Solis-75,90 CRDI MODELS




Sr. | Sub Chapter Description Model
96 |23110A-1-1 |DRIVER SEAT Solis-75,90 CRDI MODELS
97 |23120A-1-1 |DRIVER SEAT Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
98 |24110A-1-1 |STICKERS Solis-75,90 CRDI MODELS
99 |24120A-1-1 |STICKERS SET FOR U.S Solis-75,90 CRDI MODELS
HOMOLOGATION
100|24130A-1-1  |STICKERS Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
101|25110A-1-1  |WHEELS & TYRES -FRONT Solis-75,90 CRDI MODELS
4WD
102|26110A-1-1  |WHEELS & TYRES -REAR Solis-75,90 CRDI MODELS
103|27110A-1-1  |FRONT WEIGHTS Solis-75,90 CRDI MODELS
104|28110A-1-1 |REAR WHEEL WEIGHTS Solis-75,90 CRDI MODELS
105|29110A-1-1  |INSTRUMENT CLUSTER Solis-75,90 CRDI MODELS
106|30110A-1-1  |ELECTRICALS Solis-75,90 CRDI MODELS
107|30110A-2-2 |ELECTRICALS Solis-75,90 CRDI MODELS H-TYPE AC CABIN MODELS
108|31110A-1-1 |ACCESSORIES Solis-75,90 CRDI MODELS
109|32110A-1-1  |AC CABIN STRUCTURE Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
110|32120A-1-1  |SIDE GLASS ASSY Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

111

32130A-1-1

STEERING UNIT

Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS




Sr. | Sub Chapter Description Model

11232140A-1-1 HVAC KIT Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
113/32150A-1-1  |HVAC MTG. Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
114|32160A-1-1  |CANOPY MTG. Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
115/32170A-1-1  |ROOF LINER Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
116 |32180A-1-1 FENDER COVER Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
11732190A-1-1 REAR FLOOR Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
11832200A-1-1 FRONT & REAR FLOOR ASSY. |Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
119/32210A-1-1 | DASHBOARD ASSY. Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
120|32220A-1-1  |DRIVER SEAT ASSY. Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
121/32230A-1-1 |REAR GLASS ASSY. Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
122 32240A-1-1 DOOR GLASS ASSY. Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
123 32270A-1-1 LINKAGES-1 Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
124 132280A-1-1 LINKAGES-2 Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
125/32290A-1-1  |LINKAGES-3 Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
126 |32291A-1-1  |LINKAGES-4 Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
127 |32300A-1-1  |COMPRESSOR MTG Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS




Sr. | Sub Chapter Description Model

128|32310A-1-1  |DIFFERENTIAL LOCK PEDAL  |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
LEVER ASSY.

129|32320A-1-1 |RPDM LEVER ASSY. (540*1000) |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

130|32330A-1-1 |BRAKE SYSTEM MTG.SYSTEM |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

131|32340A-1-1 |PTO LEVER MTG.BKT ASSY. |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

132|32350A-1-1  |RIGHT DOOR ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

133|32360A-1-1  |LEFT DOOR ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

134|32370A-1-1  |QUARTER GLASS ASSEMBLY |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
(LEFT)

135|32380A-1-1 |QUARTER GLASS ASSEMBLY |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
(RIGHT)

136 |32390A-1-1 |[FRONT GLASS Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

137|32400A-1-1 |PASSENGER SEAT BACKREST |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
ASSY.

138|32410A-1-1 |[FORWARD-REVERSE GEAR Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
LEVER ASSY.

139|32420A-1-1  |HYDRAULIC ARM MOUNTING |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
ASSY.

140|32430A-1-1  |SIGHT GLASS ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

141 |32440A-1-1 |FLOOR MAT AND QUADRANT |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
COVERING PARTS

142|32450A-1-1 |REAR GLASS ASSEMBLY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

143|32460A-1-1 |LEFT FENDER ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS




Sr. | Sub Chapter Description Model

144|32470A-1-1  |RIGHT FENDER ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

145|32480A-1-1  |RIGHT FRONT TRAPEZIUM Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
ASSY.

146|32490A-1-1 |LEFT REAR TRAPEZIUM ASSY. |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

147|32500A-1-1  |RIGHT REAR TRAPEZIUM Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
ASSY.

148|32510A-1-1  |INTERIOR COVERING PARTS |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
ASSY.

149|32520A-1-1 | BATTERY BOX ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

150|32530A-1-1  |LEFT FOOT STEP MOUNTING |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
ASSY.

151|32540A-1-1 |PASSENGER AND DRIVER Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
SEAT ASSY.

152|32550A-1-1 | MECHANISM GROUP ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

153|32550A-1-2 | MECHANISM GROUP ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

154|32550A-1-3 | MECHANISM GROUP ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

155|32560A-1-1 |SEAT BOTTOM PLATE ASSY. |Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

156|32570A-1-1 | DASHBOARD ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

157|32580A-1-1 |FRAME ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

158|32590A-1-1 |BRAKE PEDAL ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

159|32600A-1-1 |CLUTCH PEDAL ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS




Sr. | Sub Chapter Description Model

160 |32610A-1-1 LIFTOMATIC Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
161|32620A-1-1  |DISASSEMBLED ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
162|32630A-1-1  |CABIN ACESSORIES Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
163 32640A-1-1  |HVAC KITS Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
164 |32650A-1-1 REGISTRATION PLATE Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
165 |32660A-1-1 COMPRESSOR MTG ASSY SOLIS-75,90 CRDI WITH H-TYPE AC CABIN




01110A-1-1 MUFFLER ASSY. Solis-75,90 CRDI MODELS
01110A-1/1 UPDRAFT EXHAUST ASSY.
I !
I ;
3
\‘x
'
\ o
. \
b

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-90 CRDI MODELS 10083016AE |EXHAUST ASSY. 1

1 |Solis-90 CRDI MODELS 10083016AF |EXHAUST ASSY. 1

2 | Solis-75,90 CRDI MODELS |10018229AB |GASKET EXHAUST PIPE 1 INTERCHANGE
ABLE WITH
10018229AC
(ROHS)

2 |Solis-75,90 CRDI MODELS [10018229AC |GASKET EXHAUST PIPE 1 (ROHS)
INTERCHANGE
ABLE WITH
10018229AB

3 | Solis-75,90 CRDI MODELS |10067669AC |COVER FOR EXHAUST PIPE 1

4 | Solis-75,90 CRDI MODELS |10067958AA [COVER PLATE FOR EXHAUST 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 |Solis-75,90 CRDI MODELS |20003285AB |HEX SCREW M8X1.25X30 8-8 SA2JS 2
6 |Solis-75,90 CRDI MODELS |04030400008 |SPRING WASHER B-8 2 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
6 |Solis-75,90 CRDI MODELS [20005517AA |SPRING WASHER B-8 TYPE A IS: 2 YES [(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
7 | Solis-75,90 CRDI MODELS |20003355AB |HEX NUT M8X1.25 -8 SA2JS 2
8 |Solis-75,90 CRDI MODELS |20002015AB |HEX. HEAD SCREW M10 X 1.5 X 25 2
8-8 SA2JS
9 | Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 2
10 [Solis-75,90 CRDI MODELS [10067947AA |CROSS SLOTTED TRUSS HEAD 6
SCREW M6X16
11 | Solis-75,90 CRDI MODELS |04030800006 |M/CD WASHER DIA 6.4 *DIA 12.4*1.6 2




01120A-1-1

01120A-1/1

EXHAUST ASSY.

Solis-75,90 CRDI MODELS

DOWNDRAFT EXHAUST ASSY.

&
4

"\ \)
T S 3
I =
\éﬁ
- W 1
0l |Lﬂ|
/{r‘.j
"t L -\_II._! j -
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-90 CRDI MODELS 10067925AB |EXHAUST PIPE DOWN DRAFT 1 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT
CABIN
1 |Solis-75 CRDI MODELS 10094132AA |EXHAUST PIPE ASSY DOWNDRAFT 1 DOWNDRAFT
(DOWNDRAFT PIPE EXHAUST PIPE
VARIANT FOR WITHOUT VARIANT FOR
CABIN) WITHOUT
CABIN
2 |Solis-75,90 CRDI MODELS |10068204AA |DOWN DRAFT PIPE SUB ASSY 1 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT
CABIN
3 | Solis-75,90 CRDI MODELS |10067926AA |[COVER FOR EXHAUST PIPE 1 DOWNDRAFT
(DOWNDRAFT EXHAUST (DOWNDRAFT) EXHAUST PIPE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT

CABIN
4 | Solis-75,90 CRDI MODELS |20001089AA [Hex. head screw M8 x 1.25-25 8-8 SA 2 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT
CABIN
5 |Solis-75,90 CRDI MODELS |20003355AB |HEX NUT M8X1.25 -8 SA2JS 2 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT
CABIN
6 |Solis-75,90 CRDI MODELS |04030600008 |[plain washer DIA 8.4 *DIA 17*1.6 2 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT
CABIN
7 | Solis-75,90 CRDI MODELS |10068209AA |CLAMP ASSEMBLY 1 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT
CABIN
8 |Solis-75,90 CRDI MODELS |20004866AA [CROSS SLOTTED TRUSS HEAD 4 DOWNDRAFT
(DOWNDRAFT EXHAUST SCREW M6X12 EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT
CABIN
9 |Solis-75,90 CRDI MODELS |20003285AB [HEX SCREW M8X1.25X30 8-8 SA2JS 2 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT
CABIN

10 [Solis-75,90 CRDI MODELS [04030400008 |SPRING WASHER B-8 2 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT

CABIN

10 [Solis-75,90 CRDI MODELS [20005517AA |SPRING WASHER B-8 TYPE A IS: 2 YES [(ROHS)
(DOWNDRAFT EXHAUST 3067-1972 INTERCHANGE
PIPE VARIANT FOR ABLE WITH
WITHOUT CABIN) 04030400008

11 |[Solis-75,90 CRDI MODELS [20003355AB |HEX NUT M8X1.25 -8 SA2JS 2 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT

CABIN

12 | Solis-75,90 CRDI MODELS |20002015AB |Hex. head screw M10 x 1.5 x 25 8-8 4 DOWNDRAFT
(DOWNDRAFT EXHAUST SA2JS EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT

CABIN

13 [Solis-75,90 CRDI MODELS [04030600010 |PLAIN WASHER DIA 10.5 *DIA 30 *2. 4 DOWNDRAFT
(DOWNDRAFT EXHAUST 5 EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT

CABIN

14 |Solis-75,90 CRDI MODELS |10018229AB |GASKET EXHAUST PIPE 1 DOWNDRAFT
(DOWNDRAFT EXHAUST EXHAUST PIPE
PIPE VARIANT FOR VARIANT FOR
WITHOUT CABIN) WITHOUT

CABIN




01130A-1-1 EXHAUST ASSY. (INLINE Solis-75,90 CRDI MODELS
01130A-1/1 INLINE EXHAUST PIPE ASSY.
il
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10068061AB |EXHAUST PIPE ASSY FOR CRDI 1 INLINE TYPE
WITH INLINE TYPE INHOUSE CABIN EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
2 |Solis-75,90 CRDI MODELS |10085113AA |EXHUAST PIPE MESH ASSY. 1 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
3 |Solis-75,90 CRDI MODELS [10085114AA |EXHAUST PIPE TOP . 1 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
4 | Solis-75,90 CRDI MODELS |10085115AB |COVER FOR EXHAUST PIPE 1 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 |Solis-75,90 CRDI MODELS [10085137AA |CLAMP FOR EXHAUST 1 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
7 |Solis-75,90 CRDI MODELS [20003238AA |Hex screw M10x35 8-8 SASNS 2 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
8 |Solis-75,90 CRDI MODELS [20002016AB [Hex. head screw M10 x 1.5 x 30 8-8 6 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
9 |Solis-75,90 CRDI MODELS [20003357AB |HEX NUT M10 -8 SA2JS 6 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
9 |[Solis-75,90 CRDI MODELS [20003357AF |HEX NUT M10 -8 SA4GS 6 YES |interchange with|FOR NON EU
WITH INLINE TYPE 20003357AB  |MODELS-
EXHAUST PIPE FOR JZNSS869101S
CABIN MODELS M
FOR EU
MODELS-
MEMRZGTNEJK
HO07194
10 |Solis-75,90 CRDI MODELS |04030400008 |SPRING WASHER B-8 4 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
10 |Solis-75,90 CRDI MODELS |20005517AA |SPRING WASHER B-8 TYPE A IS: 4 YES [(ROHS)
WITH INLINE TYPE 3067-1972 INTERCHANGE
EXHAUST PIPE FOR ABLE WITH
CABIN MODELS 04030400008
11 |Solis-75,90 CRDI MODELS |10020767AA |HEX. FLANGED SCREW M8X1.25X15 4 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
12 |Solis-75,90 CRDI MODELS |04030400010 |SPRING WASHER B-10 8 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
13 |Solis-75,90 CRDI MODELS |40000529AA |GASKET FOR EXHAUST LINK TUBE 1 INLINE TYPE
WITH INLINE TYPE EXHAUST PIPE
EXHAUST PIPE FOR FOR CABIN
CABIN MODELS MODELS
13 [Solis-75,90 CRDI MODELS [40000529AB |Gasket for Exaust Linking Tube-IVECO 1 YES |(ROHS)
WITH INLINE TYPE ENG INTERCHANGE
EXHAUST PIPE FOR ABLE WITH
CABIN MODELS 40000529AA




DOWN DRAFT EXHAUST Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

01140A-1-1
01140A-1/1 DOWNDRAFT EXHAUST PIPE
T -“-.ﬁ.‘:"
15 -~ f
o J
T Tl
T AT - a .l;
v -
-
10
12 '
| |
14 3 | = :
11— N g
H“’“‘m,__q_ [, @ s&f"ﬁx r -.
A - 1 ' of
== _@..;L ““ﬂ-_\_\_\_\_\_\_\-\-5 I | | Ji || ‘|I'J
- k | Bt . |I 4 | .J' b
~ L | | | |
—~ g g - [ 5
, '.III s .:_¢ g - q % "k\‘_-_, -I
\ i W ¥ JC:'L [ & & ]
13 b fath, ¢ S i b
/ / f | o
L oy T
S 8
3 9 :
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 | Solis-75,90 CRDI WITH H- |10085137AB |CLAMP NEW SHIFTED ASSY 1
TYPE AC CABIN MODELS
2 | Solis-75,90 CRDI WITH H- |04030400010 [SPRING WASHER B-10 4
TYPE AC CABIN MODELS
3 |Solis-75,90 CRDI WITH H- [20003517AC |HEX FLANGE SCREW M6X1X16 8.8 2
TYPE AC CABIN MODELS SA2JS
4 | Solis-75,90 CRDI WITH H- |20001089AD |HEX HEAD SCREW M8X1.25X25 8.8 2
TYPE AC CABIN MODELS SA2JS
5 |Solis-75,90 CRDI WITH H- 04030400008 |SPRING WASHER B8 4 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20005517AA
(ROHS)
5 |Solis-75,90 CRDI WITH H- [20005517AA |SPRING WASHER B-8 TYPE A IS: 4 YES [(ROHS)
TYPE AC CABIN MODELS 3067-1972 INTERCHANGE
ABLE WITH
04030400008




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |Solis-75,90 CRDI WITH H- |04030800010 |CD WASHER 4
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI WITH H- |20003238AB |HEX HEAD SCREW M10X1.5X35 8.8 4
TYPE AC CABIN MODELS SA3NS
8 |Solis-75,90 CRDI WITH H- |20004866AB [CROSS SLOTTED TRUSS HEAD 4
TYPE AC CABIN MODELS SCREW M6X12
9 |Solis-75,90 CRDI WITH H- [300024586A |COVER FOR EXHAUST PIPE 1
TYPE AC CABIN MODELS
10 |Solis-75,90 CRDI WITH H- |10067926AB |MESH 1
TYPE AC CABIN MODELS
11 |[Solis-75,90 CRDI WITH H- [04040800008 |NUT M8X1.25 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20005504AA
(ROHS)
11 [Solis-75,90 CRDI WITH H- [20005504AA |HEX NUT M8X1.25 -8 SA4GS 2 YES |(ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04040800008
12 |Solis-75,90 CRDI WITH H- |10067925AC |EXHAUST PIPE DOWN DRAFT 1
TYPE AC CABIN MODELS
13 |Solis-75,90 CRDI WITH H- |10068204AB |DOWN DRAFT PIPE SUB ASSY NEW 1
TYPE AC CABIN MODELS
14 |Solis-75,90 CRDI WITH H- [04030600008 |PLAIN WASHER DIA8.4 *DIA 17*1.6 2
TYPE AC CABIN MODELS
15 [Solis-75,90 CRDI WITH H- [20003285AB |HEX SCREW M8X1.25X30 8-8 SA2JS 2
TYPE AC CABIN MODELS
16 [Solis-75,90 CRDI WITH H- [20003355AB |HEX NUT M8X1.25 -8 SA2JS 2

TYPE AC CABIN MODELS




02110A-1-1

02110A-1/2

COOLING SYSTEM

Solis-75,90 CRDI MODELS

COOLING SYSTEM ASSEMBLY

20

Ill:
(R
|

!

I8

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS [803413068B |FAN ASSY 1

2 | Solis-75,90 CRDI MODELS |10067939AA [SPACER DIA (72 X 25) 1 INTERCHANGE
ABLE WITH
10067939AB
(ROHS)

2 | Solis-75,90 CRDI MODELS |10067939AB [SPACER DIA (72 X 25) 1 (ROHS)
INTERCHANGE
ABLE WITH
10067939AA

3 |Solis-75,90 CRDI MODELS [10002388AA |HEX BOLT M8*1.25*70 8-8 SA3NS 4

4 | Solis-75,90 CRDI MODELS |10067634AA |AIR CLEANER MTG BKT 1 INTERCHANGE
ABLE WITH
10067634AB
(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
4 | Solis-75,90 CRDI MODELS |10067634AB |AIR CLEANER MTG. BKT. 1 (ROHS)
INTERCHANGE
ABLE WITH
10067634AA
5 |Solis-75,90 CRDI MODELS |903413013A |RADIATOR ASSY. 90HP(PERFECT 1
RAD.)4105FLT
5 |Solis-75,90 CRDI MODELS |903413013B |RADIATOR ASSY. 90HP(perfect Rad.) 1
4105FLT
6 |Solis-75,90 CRDI MODELS [10017720AF |RADIATOR SCREEN ASSY. 1
6 |Solis-75,90 CRDI MODELS |10017720BB |RADIATOR SCREEN ASSY. 1
6 |Solis-75,90 CRDI MODELS |10017720BC |RADIATOR SCREEN ASSY. 1 YES MEMDYFDU522
731CRDI
7 |Solis-75,90 CRDI MODELS [10017048AC |BRACKET FOR RADITOR MTG LH 2
ASSY (UNPAINTED)
8 |Solis-75,90 CRDI MODELS |20002016AB |HEX. HEAD SCREW M10 X 1.5 X 30 2
8-8 SA2JS
9 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 2
10 [Solis-75,90 CRDI MODELS [10016813AA |PAD FOR RADIATOR SCREEN ASSY 4 INTERCHANGE
ABLE WITH
10016813AB
(ROHS)
10 |Solis-75,90 CRDI MODELS |10016813AB |PAD FOR RADIATOR SCREEN ASSY 4 (ROHS)
INTERCHANGE
ABLE WITH
10016813AA
11 |[Solis-75,90 CRDI MODELS [10016823AA |SPACER 8.2X12X12 2 INTERCHANGE
ABLE WITH
10016823AB
(ROHS)
11 |[Solis-75,90 CRDI MODELS [10016823AB |SPACER 2 (ROHS)
INTERCHANGE
ABLE WITH
10016823AA
12 |Solis-75,90 CRDI MODELS |20001671AA |FLAT WASHER N8-30 2 INTERCHANGE
ABLE WITH
20001671AB
(ROHS)
12 |[Solis-75,90 CRDI MODELS [20001671AB |FLAT WASHER N8-30 2 (ROHS)
INTERCHANGE
ABLE WITH
20001671AA
13 [Solis-75,90 CRDI MODELS [10067711AA |COOLANT TANK MTG BKT 1
14 |Solis-75,90 CRDI MODELS [04040108020 |HEX SCREW M8*1.25*20 2 INTERCHANGE
ABLE WITH
300028644A
(ROHS)
14 |Solis-75,90 CRDI MODELS |300028644A |HEX. HEAD BOLT M8 X 1.25-20 8-8 2 (ROHS)
SA4GS INTERCHANGE
ABLE WITH
04040108020
15 [Solis-75,90 CRDI MODELS [20001670AA |FLAT WASHER N8-22 2 INTERCHANGE
ABLE WITH
20001670AB
(ROHS)
15 [Solis-75,90 CRDI MODELS [20001670AB |FLAT WASHER N8-22 2 (ROHS)
INTERCHANGE
ABLE WITH
20001670AA
16 |Solis-75,90 CRDI MODELS |10017718AB |TOP MTG PLATE ASSY FOR 2
INTERCOOLER
17 |Solis-75,90 CRDI MODELS [10017310AC |MOUNTING BKT INTERCOOLER 2




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
18 [Solis-75,90 CRDI MODELS [04040108020 |HEX SCREW M8*1.25*20 10 INTERCHANGE
ABLE WITH
300028644A
(ROHS)
18 |Solis-75,90 CRDI MODELS [300028644A [HEX. HEAD BOLT M8 X 1.25-20 8-8 10 (ROHS)
SA4GS INTERCHANGE
ABLE WITH
04040108020
19 |Solis-75,90 CRDI MODELS |04031400008 |SPRING WASHER B8 10
20 |Solis-75,90 CRDI MODELS |10067637AB |PIPE ASSY (WITHOUT END 1
CONNECTION)
21 |Solis-75,90 CRDI MODELS |10018469AC |HOSE (TURBO TO INTERCOOLER) 2
22 |Solis-75,90 CRDI MODELS |10017724AC [HOSE INTERCOOLER TO INGINE 1 INTERCHANGE
INTAKE ABLE WITH
10017724AE
(ROHS)
22 |Solis-75,90 CRDI MODELS |10017724AE |HOSE INTERCOOLER TO ENGINE 1 (ROHS)
INTAKE INTERCHANGE
ABLE WITH
10017724AC
23 |Solis-75,90 CRDI MODELS |10017317AC [HOSE (ENGINE TO RADIATOR) 1 INTERCHANGE
ABLE WITH
10017317AD
(ROHS)
23 |Solis-75,90 CRDI MODELS |10017317AD [HOSE (ENGINE TO RADIATOR) 1 (ROHS)
INTERCHANGE
ABLE WITH
10017317AC
24 |Solis-75,90 CRDI MODELS |10017255AC |HOSE ( RADIATOR TO ENGINE) 1 INTERCHANGE
ABLE WITH
10017255AF
(ROHS)
24 |Solis-75,90 CRDI MODELS |10017255AF |Hose Radiator To Engine 1 (ROHS)
INTERCHANGE
ABLE WITH
10017255AC
25 |Solis-75,90 CRDI MODELS |10067811AA |HOSE COOLANT TANK TO OUTLET 1 INTERCHANGE
ABLE WITH
10067811AB
(ROHS)
25 |Solis-75,90 CRDI MODELS |10067811AB |PIPE (COOLANT TANK TO OUTSIDE) 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
10067811AA
26 |Solis-75,90 CRDI MODELS |10023538AB |PIPE COOLANT TANK TO 1 INTERCHANGE
EXPANSION CAP ABLE WITH
10023538AC
(ROHS)
26 |Solis-75,90 CRDI MODELS |10023538AC |PIPE (RADIATOR TO COOLANT 1 YES |(ROHS)
TANK) INTERCHANGE
ABLE WITH
10023538AB
27 |Solis-75,90 CRDI MODELS |10017254AC |PIPE ASSY (TURBO TO 1
INTERCOOLER)
28 |Solis-75,90 CRDI MODELS [10017256AC |HOSE (TURBO TO PIPE INLET) 1
29 |Solis-75,90 CRDI MODELS |10017253AC |[PIPE ASSY INTERCOOLER TO AIR 1
INLET
30 |Solis-75,90 CRDI MODELS |10017329AC [HOSE (AIR CLEANER TO TURBO) 1
31 |Solis-75,90 CRDI MODELS |20004389AA |HOSE WORM CLAMP SAE 32 1

31

Solis-75,90 CRDI MODELS

20004389AB

HOSE WORM CLAMP SAE 32




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
32 |Solis-75,90 CRDI MODELS |20004393AA (WORM CLAMP 33-57 / SAE 28 4
NORMA
33 |Solis-75,90 CRDI MODELS |10067633AB [HOSE AIR CLEANER SUCTION PIPE 1
34 |Solis-75,90 CRDI MODELS |10067931AA |T BOLT HOSE CLAMP 10
35 |Solis-75,90 CRDI MODELS |20004392AA (WORM CLAMP 54-61.9/SAE40 1
NORMA
36 |Solis-75,90 CRDI MODELS |10067655AB |GROMMET RADIATOR SEALING 1
(HOT SIDE)
37 |Solis-75,90 CRDI MODELS |10067656AB |GROMMET RADIATOR SEALING 1
(COLD SIDE)
38 |Solis-75,90 CRDI MODELS |10067746AA |GROMMET HOLE DIA 32 1
39 |Solis-75,90 CRDI MODELS [04042905015 [SLOTTED CHEESE HD SCREW 6 INTERCHANGE
M5*15 ABLE WITH
20005534AA
(ROHS)
39 |Solis-75,90 CRDI MODELS |20005534AA [SLOTTED CHEASE HEAD SCREW 6 (ROHS)
M5*15 INTERCHANGE
ABLE WITH
04042905015
40 |Solis-75,90 CRDI MODELS |20004379AA [HEX NUT M5-8 SA2JS 4
41 |Solis-75,90 CRDI MODELS |04030600005 [PLAIN WASHER DIA 5.3 *DIA 15*1.5 6 INTERCHANGE
ABLE WITH
300032712A
(ROHS)
41 |Solis-75,90 CRDI MODELS |300032712A (WASHER 6 (ROHS)
INTERCHANGE
ABLE WITH
04030600005
42 |Solis-75,90 CRDI MODELS |10018117AA [GROOMET FOR DISCHARGE HOSE 1 INTERCHANGE
ABLE WITH
10018117AB
(ROHS)
42 |Solis-75,90 CRDI MODELS |10018117AB [GROOMET FOR DISCHARGE HOSE 1 (ROHS)
INTERCHANGE
ABLE WITH
10018117AA
43 |Solis-75,90 CRDI MODELS [900413011A [INTER COOLER ASSY. 60-90HP 1
(PERFECT RAD.)
43 |Solis-75,90 CRDI MODELS [900413011B  [Inter Cooler Assy. 60-90HP(Perfect 1
rad.)
44 |Solis-75,90 CRDI MODELS [10023524AA [COOLANT ASSY 1
44 |Solis-75,90 CRDI MODELS [10023524AB [COOLANT ASSY 1 YES [INTERCHANGE|FZUDE418742S
ABLE WITH 3
10023524AC
(ROHS)
44 |Solis-75,90 CRDI MODELS [10023524AC |COOLANT ASSY 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
10023524AB
45 |Solis-75,90 CRDI MODELS |20001568AB [Concentrate cooling liquid 5LTS
46 |Solis-75,90 CRDI MODELS [10070444AA [DRY AIR CLEANER ASSY. 1
46 |Solis-75,90 CRDI MODELS [10070444AC [DRY AIR CLEANER ASSY. 1 41000745AA (
ELEMENT
ASSEMBLY,
PRIMARY ),
41000746AA (
ELEMENT
ASSEMBLY,

SAFETY)




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

47

Solis-75,90 CRDI MODELS

10022202AD

CLAMP FOR AIR CLEANER ASSY
(LUMAX)

47

Solis-75,90 CRDI MODELS

10022202AF

CLAMP FOR AIR CLEANER ASSY
(LUMAX)

YES
AS
SET
WITH
0404
1000
008

BZJST618438S3

48

Solis-75,90 CRDI MODELS

20004205AA

HEX SCREW M8X70

INTERCHANGE
ABLE WITH
20005470AA
(ROHS)

48

Solis-75,90 CRDI MODELS

20005470AA

HEX SCREW M8X70 8.8 SA4GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
20004205AA

49

Solis-75,90 CRDI MODELS

10017467AB

SIDE FOAM ETRAC RH

50

Solis-75,90 CRDI MODELS

10017468AB

SIDE FOAM ETRAC LH

51

Solis-75,90 CRDI MODELS

10067950AA

FOAM FOR RADIATOR SEALING

BETWEEN
RADIATOR
AND FRONT
AXLE BKT
(NOT SHOWN
IN VIEW)

51

Solis-75,90 CRDI MODELS

10067950AB

FOAM FOR RADIATOR SEALING

BETWEEN
RADIATOR
AND FRONT
AXLE BKT
(NOT SHOWN
IN VIEW)

52

Solis-75,90 CRDI MODELS

10017469AB

TOP FOAM (FOR RADIATOR
SEALING)

53

Solis-75,90 CRDI MODELS

10017852AA

LOWER FOAM FOR RADIATOR
SEALING

BETWEEN
RADIATOR
AND
RADIATOR
SCREEN ASSY
(NOT SHOWN
IN VIEW)

53

Solis-75,90 CRDI MODELS

10017852AB

LOWER FOAM FOR RADIATOR
SEALING

BETWEEN
RADIATOR
AND
RADIATOR
SCREEN ASSY
(NOT SHOWN
IN VIEW)

54

Solis-75,90 CRDI MODELS

10071450AA

V-BELT BX-47

55

Solis-75,90 CRDI MODELS

10002390AA

WASHER (FAN LOCKING)

INTERCHANGE
ABLE WITH
10039309AA
(ROHS)

55

Solis-75,90 CRDI MODELS

10039309AA

WASHER (FAN LOCKING) EPA

(ROHS)
INTERCHANGE
ABLE WITH
10002390AA

56

Solis-75,90 CRDI MODELS

10070547AB

CAP (BIG)

INTERCHANGE
ABLE WITH
10070547AC
(ROHS)

56

Solis-75,90 CRDI MODELS

10070547AC

CAP (BIG)

(ROHS)
INTERCHANGE
ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10070547AB
57 |Solis-75,90 CRDI MODELS |20003978AA |HOSE WORM CLAMPS 1
57 |Solis-75,90 CRDI MODELS |20003978AC |HOSE WORM CLAMPS 1
58 |Solis-75,90 CRDI MODELS |10023569AA |CLAMP DIA 12.5 MM 2 INTERCHANGE
ABLE WITH
10023569AB
(ROHS)
58 |Solis-75,90 CRDI MODELS |10023569AB |CLAMP DIA 12.5 MM 2 YES [(ROHS)
INTERCHANGE
ABLE WITH
10023569AA
59 |Solis-75,90 CRDI MODELS |10024780AB |CLAMP ( RADIATOR) 10 INTERCHANGE
ABLE WITH
10039275AA
(ROHS)
59 |Solis-75,90 CRDI MODELS |10039275AA |CLAMP ( RADIATOR) 10 YES [(ROHS)
INTERCHANGE
ABLE WITH
10024780AB
60 |Solis-75,90 CRDI MODELS |10083522AD |[BEEDING FOR RADIATOR 1 VIEW NOT
SHOWN
61 |Solis-75,90 CRDI MODELS |04040708035 [HEX BOLT M8X35-Z 4 INTERCHANGE
ABLE WITH
20005597AA
(ROHS)
61 |Solis-75,90 CRDI MODELS |20005597AA |HEX HEAD BOLT M8X35_8.8 SA4GS 4 (ROHS)
INTERCHANGE
ABLE WITH
04040708035
62 |Solis-75,90 CRDI MODELS [10068038AC [BKT FOR INTERCOOLER 2
62 |Solis-75,90 CRDI MODELS |10068038AD |BKT FOR INTERCOOLER 2 NO MEMJYDF58313
QW
63 |WITH 10022202AF 04041000008 |[HEX NYLOCK NUT M8*1.25 1 NOT SHOWN, |BZJST618438S3
NEW PART
ADDED WITH
10022202AF
FROM
64 |Solis-75,90 CRDI MODELS |10071692AA |PROTECTION PLUG FOR M12 1 New Part Added|FOR NON EU
MODELS-
CZGDG804365S
3, FOR EU
MODELS-
MEMRZGFNECJ
H03456
65 |Solis-75 CRDI MODELS 10084581AB |COMPRESSOR V BELT AX39 1 VIEW NOT
WITH VISCOUS FAN COGGED SHOWN
65 |Solis-75 CRDI MODELS 10085796AA |XPA 1060 BELT 1 NO |VIEW NOT MEMSYKDNRCJ
WITH VISCOUS FAN SHOWN H03218




03110A-1-1

03110A-1/1

ENGINE ASSY.

Solis-75,90 CRDI MODELS

ENGINE ASSEMBLY

(ROHS)

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-90 CRDI MODELS 10017879AB |ENGINE ASSY 90HP CRDI 1
UW4105DC36H1H3C
1 |Solis-75 CRDI MODELS PR4105DD36 |4105CRDI_75hp (12+22cc) DOC,A. 1
H1H3C comp.
2 | Solis-75,90 CRDI MODELS |800410038A |[ECU. ASSY. EDC 17C53(NON-ETK) 1
BOSCH_CRS
3 | Solis-75,90 CRDI MODELS |903405098A [GASKET_EX. ELBOW (OUTLET) 1
CRDI
4 | Solis-90 CRDI MODELS 900414025A |INTERMEDIATE PIPE(EXHAUST 1
ELBOW DOC) CRDI
4 | Solis-90 CRDI MODELS 900414025C |INTERMEDIATE PIPE(EXHAUST 1
ELBOW DOC) CRDI
5 |Solis-75,90 CRDI MODELS |04040108025 |HEX HEAD SCREW M8 X 1.25-25 8-8 4 INTERCHANGE
SA2JS ABLE WITH
20005564AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

20005564AA

HEX HEAD SCREW M8X1.25-25 -8.8
SA4GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
04040108025

Solis-90 CRDI MODELS

803414016A

CATCON ASSY. CRDI_90HP (STAGE-
[1B)

Solis-75 CRDI MODELS

800414054B

DOC Assy._75HP (ECOCAT)

Solis-90 CRDI MODELS

900414113A

BRACKET FOR DOC/POC (CRDI)

INTERCHANGE
ABLE WITH
900414113B
(ROHS)

Solis-90 CRDI MODELS

900414113B

BRACKET _for DOC/POC (CRDI)

(ROHS)
INTERCHANGE
ABLE WITH
900414113A

Solis-75,90 CRDI MODELS

703414072A

CLAMP HOSE DIA 158

Solis-90 CRDI MODELS

900414028A

GASKET_DOC/POC INLET_CRDI

Solis-75 CRDI MODELS

700414107A

GASKET_DOC Inlet 75hp_CRDI
(Eccocat)

10

Solis-75,90 CRDI MODELS

10018229AB

GASKET EXHAUST PIPE

INTERCHANGE
ABLE WITH
10018229AC
(ROHS)

10

Solis-75,90 CRDI MODELS

10018229AC

GASKET EXHAUST PIPE

(ROHS)
INTERCHANGE
ABLE WITH
10018229AB

11

Solis-75,90 CRDI MODELS

04040708035

HEX BOLT M8X35-Z

INTERCHANGE
ABLE WITH
20005597AA
(ROHS)

11

Solis-75,90 CRDI MODELS

20005597AA

HEX HEAD BOLT M8X35_8.8 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
04040708035

12

Solis-75,90 CRDI MODELS

04040800008

NUT H M8 X 1.25 8 SA2JS

INTERCHANGE
ABLE WITH
20005504AA
(ROHS)

12

Solis-75,90 CRDI MODELS

20005504AA

HEX NUT M8X1.25 -8 SA4GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
04040800008

13

Solis-75,90 CRDI MODELS

04040712035

HEX BOLT M12X35-Z

INTERCHANGE
ABLE WITH
300031653A
(ROHS)

13

Solis-75,90 CRDI MODELS

300031653A

HEX BOLT

YES

(ROHS)
INTERCHANGE
ABLE WITH
04040712035

14

Solis-75,90 CRDI MODELS

04031400012

SPRING WASHER B-12 (BLACKNED)

INTERCHANGE
ABLE WITH
20004993AB
(ROHS)

14

Solis-75,90 CRDI MODELS

20004993AB

SPRING WASHER B-12TYPE-A IS:
3063-1972

YES

(ROHS)
INTERCHANGE
ABLE WITH
04031400012

15

Solis-75,90 CRDI MODELS

04040800012

HEX NUT M12*1.75

INTERCHANGE
ABLE WITH
20003358AE
(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
15 [Solis-75,90 CRDI MODELS [20003358AE |HEX NUT M12X1.75 -8 SA4GS 4 (ROHS)
INTERCHANGE
ABLE WITH
04040800012
16 [Solis-75,90 CRDI MODELS [800408170A |SPEED SENSOR (0 281 002 315) 1
17 |Solis-90 CRDI MODELS 900410095A |WIRING HARNESS_(CRDI) 1 VIEW NOT
MOTHERSON SHOWN
17 |Solis-90 CRDI MODELS 900410095E |WIRING HARNESS_(CRDI) 1 VIEW NOT
MOTHERSON SHOWN




03120A-1-1

03120A-1/2

ENGINE PRESSURE

Solis-75,90 CRDI MODELS

ENGINE PRESSURE SENSOR'S

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10017879AD |ENGINE ASSY 90HP CRDI 1
UW4105DC36H1H3C

2 | Solis-75,90 CRDI MODELS |800410038A [ECU. Assy. EDC 17C53(non-ETK) 1
BOSCH _CRS

3 | Solis-75,90 CRDI MODELS |903405098A [GASKET_Ex. Elbow (outlet) CRDI 1

4 | Solis-75,90 CRDI MODELS |900414025C [INTERMEDIATE PIPE ELBOW TO 1
DOC

5 |Solis-75,90 CRDI MODELS |703414094A [SPECIAL BOLT M8 4

6 |Solis-75,90 CRDI MODELS [803414016A [CATCON ASSY. CRDI_90HP (STAGE- 1

1IB)

7 |Solis-75,90 CRDI MODELS |900414113A |BRACKET FOR DOC/POC (CRDI) 1 INTERCHANGE
ABLE WITH
900414113B
(ROHS)




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

900414113B

BRACKET _for DOC/POC (CRDI)

(ROHS)
INTERCHANGE
ABLE WITH
900414113A

Solis-75,90 CRDI MODELS

703414072A

CLAMP HOSE DIA 158

Solis-75,90 CRDI MODELS

900414028A

GASKET_DOC/POC INLET_CRDI

10

Solis-75,90 CRDI MODELS

10018229AB

GASKET EXHAUST PIPE

INTERCHANGE
ABLE WITH
10018229AC
(ROHS)

10

Solis-75,90 CRDI MODELS

10018229AC

GASKET EXHAUST PIPE

(ROHS)
INTERCHANGE
ABLE WITH
10018229AB

11

Solis-75,90 CRDI MODELS

04040708035

HEX BOLT M8x35-Z

INTERCHANGE
ABLE WITH
20005597AA
(ROHS)

11

Solis-75,90 CRDI MODELS

20005597AA

HEX HEAD BOLT M8X35_8.8 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
04040708035

12

Solis-75,90 CRDI MODELS

04040800008

NUT H M8 x 1.25 8 SA2JS

INTERCHANGE
ABLE WITH
20005504AA
(ROHS)

12

Solis-75,90 CRDI MODELS

20005504AA

HEX NUT M8X1.25 -8 SA4GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
04040800008

13

Solis-75,90 CRDI MODELS

04040712035

HEX BOLT M12x35-Z

INTERCHANGE
ABLE WITH
300031653A
(ROHS)

13

Solis-75,90 CRDI MODELS

300031653A

HEX BOLT

YES

(ROHS)
INTERCHANGE
ABLE WITH
04040712035

14

Solis-75,90 CRDI MODELS

04031400012

SPRING WASHER B-12 (Blackned)

INTERCHANGE
ABLE WITH
20004993AB
(ROHS)

14

Solis-75,90 CRDI MODELS

20004993AB

SPRING WASHER B-12TYPE-A IS:
3063-1972

YES

(ROHS)
INTERCHANGE
ABLE WITH
04031400012

15

Solis-75,90 CRDI MODELS

04040800012

HEX NUT M12*1.75

INTERCHANGE
ABLE WITH
20003358AE
(ROHS)

15

Solis-75,90 CRDI MODELS

20003358AE

HEX NUT M12X1.75 -8 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
04040800012

16

Solis-75,90 CRDI MODELS

800408170A

SPEED SENSOR (0 281 002 315)

17

Solis-90 CRDI MODELS

900410095C

Wiring Harness_(CRDI) Motherson

VIEW NOT
SHOWN

17

Solis-90 CRDI MODELS

900410095E

Wiring Harness_(CRDI) Motherson

VIEW NOT
SHOWN

18

Solis-75,90 CRDI MODELS

04031400008

SPRING WASHER M8

19

Solis-75,90 CRDI MODELS

04040800008

NUT M8

INTERCHANGE
ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
20005504AA
(ROHS)
19 [Solis-75,90 CRDI MODELS [20005504AA |HEX NUT M8X1.25 -8 SA4GS 4 YES |(ROHS)
INTERCHANGE
ABLE WITH
04040800008
20 |Solis-75,90 CRDI MODELS |703414088C |MTG BKT DPS SENSOR 1
21 |Solis-75,90 CRDI MODELS [800408205A [DIFF PRESSURE SENSOR 1
22 |Solis-75,90 CRDI MODELS |04040106025 |[HEX SCREW M6X25 1 INTERCHANGE
ABLE WITH
20005570AA
(ROHS)
22 |Solis-75,90 CRDI MODELS |20005570AA |HEX SCREW M6X25 1 (ROHS)
INTERCHANGE
ABLE WITH
04040106025
23 |Solis-75,90 CRDI MODELS [04031400006 [SPRING WASHER M6 1
24 |Solis-75,90 CRDI MODELS [800414036A |PRESURE PIPE ASSY_IN 1
(INTERMEDIATE PIPE TO
PRESSURE SENSOR)
24 |Solis-75,90 CRDI MODELS |800414036C |PRESURE PIPE ASSY_IN 1 INTERCHANGE
(INTERMEDIATE PIPE TO ABLE WITH
PRESSURE SENSOR) 300118425A
(ROHS)
24 |Solis-75,90 CRDI MODELS |300118425A |PRESSURE PIPE ASSY P2( 1 (ROHS)
INTERMEDIATE PIPE INTERCHANGE
ABLE WITH
800414036C
25 |Solis-90 CRDI MODELS 800414037A |PRESURE PIPE ASSY_OUT 1
(PRESSURE SENSOR TO TAIL PIPE)
25 |Solis-90 CRDI MODELS 800414037B |PRESURE PIPE ASSY_OUT 1
(PRESSURE SENSOR TO TAIL PIPE)
25 |Solis-75 CRDI MODELS 800414055A |PRESURE PIPE ASSY_OUT 1
(PRESSURE SENSOR TO TAIL PIPE)
26 |Solis-90 CRDI MODELS 703414089A |L-HOSE (P2) 1
26 |Solis-90 CRDI MODELS 703414089B |L-HOSE (P2) 1 INTERCHANGE
ABLE WITH
703414089C
(ROHS)
26 |Solis-90 CRDI MODELS 703414089C |HOSE-P2 (L-type) 1 (ROHS)
INTERCHANGE
ABLE WITH
703414089B
27 |Solis-90 CRDI MODELS 703414090A |STRAIGHT HOSE P1 1
27 |Solis-90 CRDI MODELS 703414090B |STRAIGHT HOSE P1 1 INTERCHANGE
ABLE WITH
703414090C
(ROHS)
27 |Solis-90 CRDI MODELS 703414090C |HOSE-P1 (straight) 1 (ROHS)
INTERCHANGE
ABLE WITH
703414090B
28 |Solis-75,90 CRDI MODELS |04080400012 [WORM DRIVE CLAMP -12 1
29 |Solis-75,90 CRDI MODELS |04080400016 [WORM DRIVE CLAMP -16 3
30 |Solis-75,90 CRDI MODELS |703414091A |BRACKET_FOR PRESURE PIPE_P2 1
31 |Solis-75,90 CRDI MODELS |703414092A |BRACKET ASSY_FOR PRESURE 1

PIPE _P1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
32 |Solis-90 CRDI MODELS 703414095A |SPACER _FOR HOSE CLAMP 1
32 |Solis-90 CRDI MODELS 703414095B |SPACER _FOR HOSE CLAMP 1
33 |Solis-90 CRDI MODELS  |703414096A |U TYPE CLAMP FOR HOSE 2
33 |Solis-90 CRDI MODELS  |703414096B |U TYPE CLAMP FOR HOSE 2
34 |Solis-90 CRDI MODELS 703414097A |U TYPE CLAMP FOR PRESSURE 1
PIPE
34 |Solis-90 CRDI MODELS 703414097B |U TYPE CLAMP FOR PRESSURE 1
PIPE
35 |Solis-75,90 CRDI MODELS |703414100A |HEX SOCKET CAP SCREW M5X20 2
36 |Solis-75,90 CRDI MODELS |703414099A |HEX SOCKET CAP SCREW M5X14 4
37 |Solis-75,90 CRDI MODELS |04030400005 [SPRING WASHER B-5 6
38 |Solis-75,90 CRDI MODELS |703414098A |RUBBER PAD FOR PRESSURE PIPE 1 INTERCHANGE
CLAMP ABLE WITH
703414098B
(ROHS)
38 [Solis-75,90 CRDI MODELS [703414098B [RUBBER PAD (pressure pipe clamp) 1 (ROHS)
INTERCHANGE
ABLE WITH
703414098A
39 [Solis-90 CRDI MODELS 800414039A |[TAIL PIPE 1
39 |[Solis-90 CRDI MODELS  |800414039C |TAIL PIPE 1




04110A-1-1

04110A-1/1

CLUTCH ASSY.

Solis-75,90 CRDI MODELS

CLUTCH ASSY

Sr.

Model

Item Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10080431AA

DOUBLE CLUTCH ASSY.

INTERCHANGE
ABLE WITH
10080431AB
(ROHS)

Solis-75,90 CRDI MODELS

10080431AB

DOUBLE CLUTCH ASSY.

(ROHS)
INTERCHANGE
ABLE WITH
10080431AA

Solis-75,90 CRDI MODELS

20003491AB

HEX BOLT M10*1.5*55 8-8 SA2JS

INTERCHANGE
ABLE WITH
20003226AB
(ROHS)

Solis-75,90 CRDI MODELS

20003226AB

HEX. BOLT M12*1.75*55

YES

(ROHS)
INTERCHANGE
ABLE WITH
20003491AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

2 | Solis-75,90 CRDI MODELS |04030400008 [SPRING WASHER B-8 12 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)

2 | Solis-75,90 CRDI MODELS |20005517AA |SPRING WASHER B-8 TYPE A IS: 12 YES |(ROHS)

3067-1972 INTERCHANGE

ABLE WITH
04030400008

3 |Solis-75,90 CRDI MODELS (04042612042 |STUD M12*1.75%*42 1

4 | Solis-75,90 CRDI MODELS |10012342AA |RUST PREVENTIVE OIL(RPSB-106H) | 20ML




04111A-1-1 CLUTCH ASSY. Solis-75,90 CRDI MODELS

04111A-11 CLUTCH ASSY

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 [Solis-75,90 CRDI MODELS |10081997AA |COVER HOUSING 1 SUB PARTS
CODES OF
10080431AA

2 |Solis-75,90 CRDI MODELS [10081998AA  |LEVER KIT (MAIN) 1 SUB PARTS
CODES OF
10080431AA

3 |Solis-75,90 CRDI MODELS [10081999AA |LEVERKIT (PTO) 1 SUB PARTS
CODES OF
10080431AA

4 |Solis-75,90 CRDI MODELS [10082001AA |PRESSURE PLATE FOR PTO 1 SUB PARTS
CLUTCH CODES OF
10080431AA

5 |Solis-75,90 CRDI MODELS |10082002AA [PRESSURE PLATE FOR MAIN 1 SUB PARTS
CLUTCH CODES OF
10080431AA

6 |Solis-75,90 CRDI MODELS |10082003AA [DIAPHRAGM SPRING 1 APN [SUB PARTS
1002 |CODES OF
8755|10080431AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

AA

Solis-75,90 CRDI MODELS

10082004AA

RING

SUB PARTS
CODES OF
10080431AA

Solis-75,90 CRDI MODELS

10080432AA

DRIVEN PLATE ASSY. PTO

SUB PARTS
CODES OF
10080431AA

Solis-75,90 CRDI MODELS

10080433AA

DRIVEN PLATE ASSY.

SUB PARTS
CODES OF
10080431AA




04120A-1-1 CLUTCH CONTROLS Solis-75,90 CRDI MODELS
04120A-111 CLUTCH CONTROLS
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081136AA |DISC PUSHER 1
2 | Solis-75,90 CRDI MODELS |10081137AA |BEARING 1
3 | Solis-75,90 CRDI MODELS |10081138AA |SLEEVE PUSHER 1
4 |Solis-75,90 CRDI MODELS |10081139AA |BEARING 1
5 |Solis-75,90 CRDI MODELS |10081140AA |SLEEVE 1
6 |Solis-75,90 CRDI MODELS [10081141AA [PLUG 1
7 |Solis-75,90 CRDI MODELS |10081142AA |SLEEVE 1
8 |Solis-75,90 CRDI MODELS |10081143AA |SUPPORT 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

9 |Solis-75,90 CRDI MODELS |10081144AA [BOLT M8X25 3

10 [Solis-75,90 CRDI MODELS |10081145AA |BEARING 1

11 [Solis-75,90 CRDI MODELS [10081146AA |SNAP RING D50 1 FOR 12+12
TRANSM.

12 |Solis-75,90 CRDI MODELS |10081147AA |SPLIT PIN 5X14 4

13 |Solis-75,90 CRDI MODELS |10081148AA |CLUTCH CONTROL FORK 1

14 |Solis-75,90 CRDI MODELS [10081149AA |LEVER 1 DELETED

15 [Solis-75,90 CRDI MODELS [10081150AA |PIN 10X45 4

16 [Solis-75,90 CRDI MODELS [10081151AA |CLUTCH CONTROL FORK 1

17 |Solis-75,90 CRDI MODELS [10081152AA |LEVER 1 DELETED

19 |Solis-75,90 CRDI MODELS |10011990AA |BUSHING 4




04130A-1-1 CLUTCH SHAFTS Solis-75,90 CRDI MODELS

04130A-1-1 CLUTCH ASSY

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081154AA |SEAL RING 1

2 |Solis-75,90 CRDI MODELS [10081155AA |INPUT SHAFT 1 Not Servicable

2A |Solis-75,90 CRDI MODELS [10011538AA |INPUT SHAFT 1 NO

3 | Solis-75,90 CRDI MODELS |10081156AA |BUSH 1

4 | Solis-75,90 CRDI MODELS |10081157AA [PTO SHAFT (L-1170 MM) 1 Not Serviceable
4A |Solis-75,90 CRDI MODELS |10011528AA |PTO SHAFT (L-1285 MM) 1 NO e

5 |Solis-75,90 CRDI MODELS |10081158AA |INPUT SHAFT 1




05110A-1-1

05110A-1/3

GEAR BOX HOUSING

Solis-75,90 CRDI MODELS

CLUTCH HOUSING AND RELATED PARTS

—18

455

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10081647AA

PLUG FOR CLUTCH HSG.

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10080030AC

BRACKET FOR DIFF. LOCK PEDAL

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10080030BB

BRACKET FOR DIFF. LOCK PEDAL

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10082116AD

C.A. SHAFT ASSY. (PTO)

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10082095AD

C.A. SHAFT ASSY. (TRANSMISSION)

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083445BA

CLUTCH HOUSING

INTERCHANGE
ABLE WITH
10083445BG




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)
5 |Solis-75,90 CRDI MODELS,|10083445BG |CLUTCH HOUSING ASSY. 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10083445BA
6 |Solis-75,90 CRDI MODELS,|20003808AA |COUNTERSUNK HEAD SCREWWITH 4 INTERCHANGE
Solis-75,90 CRDI WITH H- HEXAGON SOCKET ABLE WITH
TYPE AC CABIN MODELS 10085762AA
(ROHS)
6 |Solis-75,90 CRDI MODELS,|20004904AA |ALLEN SCREW M8 X 25 4 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20005001AB
(ROHS)
6 |Solis-75,90 CRDI MODELS,|10085762AA |HEXAGON SOCKET COUNTERSUNK 4 YES |(ROHS)
Solis-75,90 CRDI WITH H- SCREW M8X20 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20003808AA
6 |Solis-75,90 CRDI MODELS,|20005001AB |HEX SOCKET HEAD CAP SCREW 4 (ROHS)
Solis-75,90 CRDI WITH H- M8*25 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004904AA
7 |Solis-75,90 CRDI MODELS,|10080847AE |DIPSTICK ASSY. 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI MODELS,|10086090AB |DIPSTICK ASSY. 1 YES |INTERCHANGE|MEMKYNDT685
Solis-75,90 CRDI WITH H- ABLE WITH 835W
TYPE AC CABIN MODELS 10086090AC
(ROHS)
7 |Solis-75,90 CRDI MODELS,|10086090AC |DIPSTIC ASSY. 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10086090AB
8 |Solis-75,90 CRDI MODELS,|10080848AA [DOWEL PIN FOR TRANSMISSION 1
Solis-75,90 CRDI WITH H- HOUSING
TYPE AC CABIN MODELS
9 |Solis-75,90 CRDI MODELS,|10006458AA [DOWEL PIN (FOR G.B.HSG & BELL 2
Solis-75,90 CRDI WITH H- HSG)
TYPE AC CABIN MODELS
9 |Solis-75,90 CRDI MODELS,|10006458AB [DOWEL PIN (FOR G.B.HSG & BELL 2 YES FOR NON EU
Solis-75,90 CRDI WITH H- HSG) MODELS-
TYPE AC CABIN MODELS DYASS873877S
3
FOR EU
MODELS-
MEMRZGFPEDK
H07334
10 |Solis-75,90 CRDI MODELS,|04020200020 |EXTERNAL CIRCLIP A20 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
11 [Solis-75,90 CRDI MODELS,[20003749AC |SLOTTED FLAT HD TAPPING 2
Solis-75,90 CRDI WITH H- SCREW ST 6.3, L1
TYPE AC CABIN MODELS
12 [Solis-75,90 CRDI MODELS,[10080817AA |FRONT GUARD (FOR FRONT PTO) 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
13 |Solis-75,90 CRDI MODELS,|10080845AA |GASKET FOR CLUTCH HSG. 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10086088AA
(ROHS)
13 [Solis-75,90 CRDI MODELS,[10086088AA |GASKET FOR CLUTCH HSG. 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10080845AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

14

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10009818AB

PIN

DELETED
FROM

FZLDU495984W

15

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

04010102025

SPLIT PIN DIA 2*25

16

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

04030600010

PLAIN WASHER DIA 10.5 *DIA 30 *2.
5

17

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20003972AA

HEX HEAD BOLT M14X104

17

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20003972AB

HEX HEAD BOLT M14X104 SA3NS

YES

BZLDF538647W

18

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20003359AA

HEX NUT M12X1.5 -8 SA3NS

19

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20003361AA

HEX NUT M14X2 -8 SA3NS

20

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

04030400012

SPRING WASHER B-12

21

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20003241AB

HEX SCREW M12X1.75X20 8-8
SA3NS

22

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20002059AA

HEX. HEAD SCREW M8 X 1.25 X 16
8-8 SA2JS

INTERCHANGE
ABLE WITH
20005559AA
(ROHS)

22

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20005559AA

HEX HEAD SCREW M8X1.25X16 -8.8
SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
20002059AA

23

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20004245AA

LOCTITE-574

0.890ML

IN ENGINE
ASSY. AREA

23

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20004245AB

LOCTITE-574

0.890

YES

IN ENGINE
ASSY. AREA,
IN ML

MEMMZGFF544
373S3

24

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10067960AB

KNOB FOR PTO LEVER

25

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20002016AB

HEX SCREW M10X1.5X30

26

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10082167AD

LEVER DIFFERENT SPEEDS

27

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20004249AA

SILICON SEALANT-1080

37.5ML

IN ENGINE
ASSY. AREA

28

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10082168AF

LEVER FOR RANGE

28

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10082168AG

LEVER FOR RANGE

29

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10080874AA

LINK PIN (BRAKE SIDE FOR WORLD
TRACK)

INTERCHANGE
ABLE WITH
300032085A
(ROHS)

29

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

300032085A

LINK PIN

YES

(ROHS)
INTERCHANGE
ABLE WITH
10080874AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
30 |Solis-75,90 CRDI MODELS,|04030800012 [M/CD WASHER DIA 13 *DIA 24*2.5 3 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20004940AB

(ROHS)

30 |Solis-75,90 CRDI MODELS,|20004940AB |M/C WASHER DIA 13*DIA 24*2.5 3 YES |(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

04030800012

31 |Solis-75,90 CRDI MODELS,[10080002AC [MOUNTING BRACKET FOR 1
Solis-75,90 CRDI WITH H- SHUTTLE
TYPE AC CABIN MODELS

31 |Solis-75,90 CRDI MODELS,|10080002BC [MOUNTING BRACKET FOR 1 YES |[INTERCHANGE |FZLDU495983W
Solis-75,90 CRDI WITH H- SHUTTLE ABLE WITH
TYPE AC CABIN MODELS 10080002BD

(ROHS)

31 |Solis-75,90 CRDI MODELS,|10080002BD [MOUNTING BRACKET FOR 1 (ROHS)
Solis-75,90 CRDI WITH H- SHUTTLE INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10080002BC

32 |Solis-75,90 CRDI MODELS,[10005187AA [LINK PIN 2 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10087974AA

(ROHS)

32 |Solis-75,90 CRDI MODELS,|10087974AA |LINK ASSY 2 YES |(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10005187AA

33 |Solis-75,90 CRDI MODELS,|10082276AD [PEDAL ASSY. FOR DIFF. LOCK 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

34 |Solis-75,90 CRDI MODELS,|20003806AA |EXTERNAL CIRCLIP A-15 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

35 |Solis-75,90 CRDI MODELS,|10051114AA |ADJUSTABLE TIE ROD ( CLUTCH 1 INTERCHANGE
Solis-75,90 CRDI WITH H- PEDAL)G.T. ABLE WITH
TYPE AC CABIN MODELS 10051114AB

(ROHS)

35 |Solis-75,90 CRDI MODELS,|10051114AB |ADJUSTABLE TIE ROD ( CLUTCH 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- PEDAL)G.T. INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10051114AA

36 |Solis-75,90 CRDI MODELS,|10080009AA |[PIN FOR PTO LEVER 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 300032341A

(ROHS)

36 |Solis-75,90 CRDI MODELS,|300032341A |PIN FOR ACCELERATOR 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10080009AA

37 |Solis-75,90 CRDI MODELS,|10080022AB |PIN FOR SHUTTLE LEVER 2 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10080022AD

(ROHS)

37 |Solis-75,90 CRDI MODELS,[10080022AD |PIN FOR SHUTTLE LEVER 2 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10080022AB

38 |Solis-75,90 CRDI MODELS,|04030600010 [PLAIN WASHER DIA 10.5 *DIA 30 *2. 2
Solis-75,90 CRDI WITH H- 5
TYPE AC CABIN MODELS

39 |Solis-75,90 CRDI MODELS,|04030600008 |PLAIN WASHER DIA 8.4 *DIA 17*1.6 4
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS
40 |Solis-75,90 CRDI MODELS,|10084558AA [KNOB FOR 540/540E LEVER 1

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

41 |Solis-75,90 CRDI MODELS,|10083098AA |PTO SHIFTER LEVER 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

41 |Solis-75,90 CRDI MODELS,|10083098CA [PTO SHIFTER LEVER 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10083098CB

(ROHS)

41 |Solis-75,90 CRDI MODELS,[10083098CB |PTO SHIFTER LEVER ASSY FOR AC 1 (ROHS)
Solis-75,90 CRDI WITH H- CABIN INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10083098CA

42 |Solis-75,90 CRDI MODELS,|10080826AA |REAR GUARD (FOR FRONT PTO) 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

43 |Solis-75,90 CRDI MODELS,|10080821AE |SHAFT FRONT PTO 4WD 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

43 |Solis-75,90 CRDI MODELS,[10080821AE [SHAFT FRONT PTO 4WD 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

43 |Solis-75,90 CRDI MODELS,|10080821AF |SHAFT FRONT PTO 4WD 1 YES MYYDT624982M
Solis-75,90 CRDI WITH H- S
TYPE AC CABIN MODELS

43 |Solis-75,90 CRDI MODELS,|10080822AE |SHAFT FRONT PTO 4WD(PAINTED) 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

43 |Solis-75,90 CRDI MODELS,|10080822AF [SHAFT FRONT PTO 4WD(PAINTED) 1 YES |APN MYYDT624982M
Solis-75,90 CRDI WITH H- 10080821AF S
TYPE AC CABIN MODELS

44 |Solis-75,90 CRDI MODELS,|10080085AB |[SHIFTER KNOB (DIFF SPEEDS) 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10086097AB

(ROHS)

44 |Solis-75,90 CRDI MODELS,|10086097AB |[SHIFTER KNOB (DIFF SPEEDS) 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10080085AB

45 |Solis-75,90 CRDI MODELS,|10080086AB [SHIFTER KNOB (RANGE) 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10086098AB

(ROHS)

45 |Solis-75,90 CRDI MODELS,|10086098AB |SHIFTER KNOB (RANGE) 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10080086AB

46 |Solis-75,90 CRDI MODELS,|10067962AA |SHIFTER KNOB (SHUTTLE) 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10086099AB

(ROHS)

46 |Solis-75,90 CRDI MODELS,[10086099AB [SHIFTER KNOB (SHUTTLE) 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10067962AA

47 |Solis-75,90 CRDI MODELS,|10082184AC |[SHUTTLE LEVER ASSY. 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

48 |Solis-75,90 CRDI MODELS,|10080820AC [SLEEVE FOR FRONT PTO SHAFT 2
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

49 |Solis-75,90 CRDI MODELS,|10084615AB |[LEVER ASSY 540/540E 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

49 |Solis-75,90 CRDI MODELS,|10084615AD [LEVER ASSY 540/540E 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10084615AE

(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
49 |Solis-75,90 CRDI MODELS,|10084615AE |LEVER ASSY 540/540E 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10084615AD
50 |Solis-75,90 CRDI MODELS,|10080010AA [SPACER 4
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
50 |Solis-75,90 CRDI MODELS,|10085060AA |washer for PTO dust cover 4 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10085060AB
(ROHS)
50 |Solis-75,90 CRDI MODELS,|10085060AB |WASHER FOR PTO DUST COVER 4 YES |(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10085060AA
51 |Solis-75,90 CRDI MODELS,|10080067AB |SPACER FOR DIFF. LOCK 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 300032575A
(ROHS)
51 |Solis-75,90 CRDI MODELS,|300032575A |SPACER FOR DIFF LOCK 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10080067AB
52 |Solis-75,90 CRDI MODELS,|04010102025 |SPLIT PIN DIA 2*25 6
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
53 |Solis-75,90 CRDI MODELS,|20002817AA |SPRING DOWEL SLEEVE LIGHT 2
Solis-75,90 CRDI WITH H- 6X30
TYPE AC CABIN MODELS
54 |Solis-75,90 CRDI MODELS,[20003127AA [SPRING PIN (HEAVY DUTY)6X36 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
55 |Solis-75,90 CRDI MODELS,|20004069AA |NORD LOCK WASHER B12 10 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20004069AC
(ROHS)
55 |Solis-75,90 CRDI MODELS,|20004069AC [NORD LOCK WASHER B12 10 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004069AA
56 |Solis-75,90 CRDI MODELS,|20004070AA |NORD LOCK WASHER B14 10
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
57 |Solis-75,90 CRDI MODELS,|04042612032 |STUD M12*1.75* 32 7
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
58 |Solis-75,90 CRDI MODELS,|20003357AB |HEX NUT M10 -8 SA2JS 2
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
58 |Solis-75,90 CRDI MODELS,|20003357AF |HEX NUT M10 -8 SA4GS 2 YES [interchange with|FOR NON EU
Solis-75,90 CRDI WITH H- 20003357AB MODELS-
TYPE AC CABIN MODELS JZNSS869101S
M
FOR EU
MODELS-
MEMRZGTNEJK
H07194
59 |Solis-75,90 CRDI MODELS,|04040614050 [STUD M14X50 9
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
60 |Solis-75,90 CRDI MODELS,|10083462AB |TIE ROD ASSY FOR SHUTTLE 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10083462AE
(ROHS)
60 |Solis-75,90 CRDI MODELS,|10083462AE |TIE ROD ASSY FOR SHUTTLE 1 (ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10083462AB

61 |Solis-75,90 CRDI MODELS,|10080016AB |TIE ROD ASSY. FOR DIFF. LOCK 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

61A |Solis-75,90 CRDI MODELS,|10080658AA |TIE ROD ASSY 1 CHILD PART
Solis-75,90 CRDI WITH H- OF TIE ROD
TYPE AC CABIN MODELS ASSY. FOR

DIFF. LOCK
61B | Solis-75,90 CRDI MODELS,|10081719AA [YOKE SUB ASSY 1 CHILD PART
Solis-75,90 CRDI WITH H- OF TIE ROD
TYPE AC CABIN MODELS ASSY. FOR
DIFF. LOCK

62 |Solis-75,90 CRDI MODELS,|10080065AB |TIE ROD ASSY. FOR PTO 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

62A |Solis-75,90 CRDI MODELS,|10080654AA |TIE ROD ASSY 1 CHILD PART
Solis-75,90 CRDI WITH H- OF TIE ROD
TYPE AC CABIN MODELS ASSY. FOR

PTO

62B | Solis-75,90 CRDI MODELS,|10081718AA |ANGLE JOINT & FORK HEAD ASSY 1 CHILD PART
Solis-75,90 CRDI WITH H- OF TIE ROD
TYPE AC CABIN MODELS ASSY. FOR

PTO

63 |Solis-75,90 CRDI MODELS,|10081717AA |[TRANSMISSION 4WD CARRARO 1 NOT SHOWN
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

64 |Solis-75,90 CRDI MODELS,|10084618AB [HUB ASSY 540/540E LEVER 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

65 |Solis-75,90 CRDI MODELS,|10080008AB [WASHER FOR PTO LEVER 2
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

66 |Solis-75,90 CRDI MODELS,|10080057AB [WASHER FOR SHUTTLE LEVER 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10080057AD

(ROHS)

66 |Solis-75,90 CRDI MODELS,|10080057AD |[WASHER FOR SHUTTLE LEVER 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10080057AB

67 |Solis-75,90 CRDI MODELS,|04030400010 [SPRING WASHER B-10 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

68 |Solis-75,90 CRDI MODELS,|10007903CA |GASKET COVER PLATE 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10007903CB

(ROHS)

68 |Solis-75,90 CRDI MODELS,[10007903CB |GASKET (COVER PLATE) 1 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10007903CA

69 |Solis-75,90 CRDI MODELS,|10007902CA |COVER PLATE BELL HOUSING 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

70 |Solis-75,90 CRDI MODELS,|04030400006 [SPRING WASHER B-6 6
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

71 |Solis-75,90 CRDI MODELS,|04040106016 [HEX SCREW M6*16 6
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS
72 |Solis-75,90 CRDI MODELS,|10024346AC |GASKET FOR BELL HOUSING 1

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

73 |Solis-75,90 CRDI MODELS,|10024347AA |CENTERING GUIDE 2
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

74 |Solis-75,90 CRDI MODELS,|20002396AB |[SWITCH FOR BRAKES-NORMALLY 2 INTERCHANGE
Solis-75,90 CRDI WITH H- CLOSED ABLE WITH
TYPE AC CABIN MODELS 10055930AA

(ROHS)

74 |Solis-75,90 CRDI MODELS,[10055930AA [SWITCH NC TYPE 2 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20002396AB

76 |Solis-75,90 CRDI MODELS,|10026280AA |TRANSMISSION OIL (ELF) 40.350
Solis-75,90 CRDI WITH H- Ltr.

TYPE AC CABIN MODELS

77 |Solis-75,90 CRDI MODELS,|20004466AA |LOCTITE 587 42.860 IN G.B AREA
Solis-75,90 CRDI WITH H- ML
TYPE AC CABIN MODELS

78 |Solis-75,90 CRDI MODELS,[10019095AA [LOCTITE 243 7.020 IN DIFF. AREA
Solis-75,90 CRDI WITH H- ML
TYPE AC CABIN MODELS

78 |Solis-75,90 CRDI MODELS,|10019095AB [LIQUID GASKET ANAEROBIC 2 0.150ML| YES MEMMZGFF544
Solis-75,90 CRDI WITH H- LOC574/ANA613E 37353
TYPE AC CABIN MODELS

79 |Solis-75,90 CRDI MODELS,|10011185AB [LOCTITE-577 1.5ML IN COUPLING
Solis-75,90 CRDI WITH H- AREA
TYPE AC CABIN MODELS

80 |[Solis-75,90 CRDI MODELS,|20004245AA |LOCTITE-574 2.0ML IN COUPLING
Solis-75,90 CRDI WITH H- AREA
TYPE AC CABIN MODELS

80 |Solis-75,90 CRDI MODELS,|20004245AB [LIQUID GASKET ANAEROBIC 2 0.890ML| YES MEMMZGFF544
Solis-75,90 CRDI WITH H- LOC574/ANA613E 37353
TYPE AC CABIN MODELS

81 |Solis-75,90 CRDI MODELS,|20003806AA |[EXTERNAL CIRCLIP A-15 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

82 |Solis-75,90 CRDI MODELS,[20003460AB |[CONICAL HEAD GRESE NIPPLE B 1 INTERCHANGE
Solis-75,90 CRDI WITH H- M8X1 1S:4009 ABLE WITH
TYPE AC CABIN MODELS 20003460AC

(ROHS)

82 |Solis-75,90 CRDI MODELS,|20003460AC |CONICAL HEAD GRESE NIPPLE B 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- M8X1 1S:4009 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20003460AB

83 |Solis-75,90 CRDI MODELS,|10003960AA |O-RING FOR C.A.SHAFT 4
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

84 |Solis-75,90 CRDI MODELS,|20004300AA [SPRING COTTER SLEEVE HEAVY 2
Solis-75,90 CRDI WITH H- 8X50
TYPE AC CABIN MODELS

85 |Solis-75,90 CRDI MODELS,|10083082AA |FLANGE BEARING 4WD LEVER 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10083082AB

(ROHS)

85 |Solis-75,90 CRDI MODELS,|10083082AB |FLANGE BEARING 4WD LEVER 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10083082AA

86 |Solis-75,90 CRDI MODELS,|04042905030 |SLOTTED CHEESE HD SCREW 2 INTERCHANGE
Solis-75,90 CRDI WITH H- M5*30 ABLE WITH
TYPE AC CABIN MODELS 200000385A

(ROHS)

86 |Solis-75,90 CRDI MODELS,|200000385A |SLOTTED CHEASE HEAD SCREW 2 (ROHS)
Solis-75,90 CRDI WITH H- M5*30 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

04042905030




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

87 |Solis-75,90 CRDI MODELS,|10083085AD [4 WD ACTUATOR ROD 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

88 |Solis-75,90 CRDI MODELS,|10008590AB |[SPECIAL BOLT (FOR PARKING 1 INTERCHANGE
Solis-75,90 CRDI WITH H- BRAKE) ABLE WITH
TYPE AC CABIN MODELS 300028488A

(ROHS)

88 |Solis-75,90 CRDI MODELS,|300028488A |SPECIAL BOLT (FOR 4WD LEVER) 1 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10008590AB

89 |Solis-75,90 CRDI MODELS,|10007237AB [SPRING (PARKING BRAKE) 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

90 |Solis-75,90 CRDI MODELS,|10006367AA |SPECIAL NUT(PARKING BRAKE) 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 300037176A

(ROHS)

90 |Solis-75,90 CRDI MODELS,|300037176A |SPECIAL NUT (PARKING BRAKE) 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10006367AA

91 |Solis-75,90 CRDI MODELS,|10083111AA [4WD LEVER MTG BKT. 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

92 |Solis-75,90 CRDI MODELS,|10006018AB |[HANDLE FOR PARKING BRAKE 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10006018AD

(ROHS)

92 |Solis-75,90 CRDI MODELS,[10006018AD [HANDLE FOR PUSH PULL ROD 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10006018AB

93 |Solis-75,90 CRDI MODELS,|04040106030 |[HEX SCREW M6*30 2 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20005568AA

(ROHS)

93 |Solis-75,90 CRDI MODELS,|20005568AA [HEX SCREW M6X30 SA4GS 2 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

04040106030

94 |Solis-75,90 CRDI MODELS,[04030400006 [SPRING WASHER B-6 2
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

95 |Solis-75,90 CRDI MODELS,|10080295AC |[ACTUATOR FORK 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 300030092A

(ROHS)

95 |Solis-75,90 CRDI MODELS,|300030092A [ACTUATOR FORK 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10080295AC

96 |[Solis-75,90 CRDI MODELS,[10080304AB |PIN 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10080304AD

(ROHS)

96 |Solis-75,90 CRDI MODELS,|10080304AD [PIN 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10080304AB

97 |Solis-75,90 CRDI MODELS,|20003790AA |EXTERNAL CIPCLIP TYPE -E DIA 6 X 1
Solis-75,90 CRDI WITH H- 0.7 IS
TYPE AC CABIN MODELS

98 |Solis-75,90 CRDI MODELS,|04030600006 [PLAIN WASHER DIA 6.4 *DIA 18 *1.5 1

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
99 |Solis-75,90 CRDI MODELS,|10083083AA [4WD LEVER LUG ASSY. 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
100 |Solis-75,90 CRDI MODELS,|10068291AA [DUST COVER FOR LEVER 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
101 [Solis-75,90 CRDI MODELS,[04010103025 |SPLIT PIN 3X25 1 DELETED FZLDU495984W
Solis-75,90 CRDI WITH H- FROM
TYPE AC CABIN MODELS
102 | Solis-75,90 CRDI MODELS,|20003230AA [HEX BOLT M10*1.5*40 8-8 SA3NS 1 NOT SHOWN, |FZLDU495984W
Solis-75,90 CRDI WITH H- IMPLEMENTED
TYPE AC CABIN MODELS HEX BOLT AND
HEX NUT
FROM
103 [Solis-75,90 CRDI MODELS,[04041000010 |HEX NYLOCK NUT M10 1 NOT SHOWN, |FZLDU495984W
Solis-75,90 CRDI WITH H- IMPLEMENTED
TYPE AC CABIN MODELS HEX BOLT AND
HEX NUT
FROM
104 | Solis-75,90 CRDI MODELS,|20004563AA |HEX BOLT M14X115 10.9 SA2JS 2 NOT SHOWN
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
105 |Solis-75,90 CRDI MODELS,|20004563AB [HEX.BOLT M14*2*115 10.9 SA2JS 2 YES [NOT SHOWN |MYJSF543803G
Solis-75,90 CRDI WITH H- 22,
TYPE AC CABIN MODELS MEMMZKFFE544
053W
106 |Solis-75,90 CRDI MODELS,|04010103025 |[SPLIT PIN 3X25 1 DELETED FZLDU495984W
Solis-75,90 CRDI WITH H- FROM

TYPE AC CABIN MODELS




05120A-1-1 TRANSMISSION FRONT Solis-75,90 CRDI MODELS
05120A-1/1 TRANSMISSION FRONT COVERS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081159AA |O.RING 1

2 | Solis-75,90 CRDI MODELS |10081160AA |BEARING 1

2 | Solis-75,90 CRDI MODELS |10083409AA [BEARING 1 YES
4 |Solis-75,90 CRDI MODELS |10081144AA |BOLT M8X25 4

5 |Solis-75,90 CRDI MODELS |10081162AA [SEAL RING 1

6 |Solis-75,90 CRDI MODELS |10081163AA |BOLT M8X30 4

7 |Solis-75,90 CRDI MODELS |10081164AA |COVER 1

8 |Solis-75,90 CRDI MODELS |10081165AA |PLUG M 12X1.5 1




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081166AA

O.RING

10

Solis-75,90 CRDI MODELS

10081167AA

SNAP RING D30

11

Solis-75,90 CRDI MODELS

10081168AA

BEARING

12

Solis-75,90 CRDI MODELS

10081169AA

COVER

13

Solis-75,90 CRDI MODELS

10081170AA

O.RING

14

Solis-75,90 CRDI MODELS

10081171AA

SHIM 0,5 MM

14

Solis-75,90 CRDI MODELS

10081172AA

SHIM 0,2 MM

14

Solis-75,90 CRDI MODELS

10081173AA

SHIM 0,15 MM

14

Solis-75,90 CRDI MODELS

10081174AA

SHIM 0,1 MM

15

Solis-75,90 CRDI MODELS

10081175AA

PLUG D38X10

16

Solis-75,90 CRDI MODELS

10081176AA

BOLT M 12X55

17

Solis-75,90 CRDI MODELS

10081177AA

PLUG M20.35X6




05130A-1-1 TRANSMISSION Solis-75,90 CRDI MODELS

05130A-1/1 TRANSMISSION HOUSING

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS |10081178AA |PLUG M20X1.53 1
2 | Solis-75,90 CRDI MODELS |10081179AA [BOLT M 10X25 8
3 | Solis-75,90 CRDI MODELS |10081180AA |UPPER COVER 1 Not Serviceable
3A |Solis-75,90 CRDI MODELS [10011529AA |UPPER COVER 1 NO e
4 | Solis-75,90 CRDI MODELS |10081181AA [PINA D15X51 1
5 |Solis-75,90 CRDI MODELS [10081182AA |PLUG M22X1.5 1
6 |Solis-75,90 CRDI MODELS |10081183AA |PLUG M10X1 1
7 |Solis-75,90 CRDI MODELS |10081184AA |TRANSMISSION HOUSING 1 Not Serviceable
part




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
7A |Solis-75,90 CRDI MODELS [10011530AA |TRANSMISSION HOUSING 1 NO
8 |Solis-75,90 CRDI MODELS |10081185AA |PLUG 4
9 |Solis-75,90 CRDI 2-WD 10081186AA |LOWER COVER 1 FOR 2-WD
MODELS MODELS TO
COVER THE
AREA WHERE
DROP BOX IS
FITTED
9 |Solis-75,90 CRDI 2-WD 10011991AA |LOWER COVER 1 NO |FOR 2-WD
MODELS MODELS TO
COVER THE
AREA WHERE
DROP BOX IS
FITTED
10 |Solis-75,90 CRDI 2-WD 10081187AA [BOLT M 12X25 4 FOR 2-WD
MODELS MODELS TO
COVER THE
AREA WHERE
DROP BOX IS
FITTED
11 |[Solis-75,90 CRDI MODELS [10081189AA |PLUG M22X1.5 1 Not Serviceable
part
12 |Solis-75,90 CRDI MODELS |10081188AA |PROTECTING SHIELD 1
13 |Solis-75,90 CRDI MODELS |10081190AA |BOLTM8X16 3
14 |Solis-75,90 CRDI MODELS [10081191AA |PLUG D50.15X10 2
15 [Solis-75,90 CRDI MODELS [10013433AA |SWITCH ( PTO SPEED 01

SENSOR/SPEED SENSOR)




05140A-1-1 PRIMARY SHAFT Solis-75,90 CRDI MODELS

05140A-1/2 PRIMARY SHAFT

0901012C; XXXX
X XX 26869 X @35
B

Sr. Model Item Code Description Qty | Int. Remarks

Cut Off

1 [Solis-75,90 CRDI MODELS |10081192AA |SNAP RING 1

2 |Solis-75,90 CRDI MODELS [10081193AA |SHIM 0.05MM

2 |Solis-75,90 CRDI MODELS [10081194AA |SHIM 0.1MM

2 |Solis-75,90 CRDI MODELS [10081195AA |SHIM 0.3MM

3 |Solis-75,90 CRDI MODELS [10081160AA |BEARING 3
3 |Solis-75,90 CRDI MODELS |10083409AA |BEARING 3 YES
5a |Solis-75,90 CRDI MODELS |10081197AA [SYNCHRONIZER KIT 1

5b |Solis-75,90 CRDI MODELS |10081198AA [SYNCHRONIZER KIT 1




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

13

Solis-75,90 CRDI MODELS

10081213AA

SHIM 0.5MM

14

Solis-75,90 CRDI MODELS

10081214AA

BEARING

15

Solis-75,90 CRDI MODELS

10081215AA

GEAR Z=34

15

Solis-75,90 CRDI MODELS

10081216AA

GEAR Z=37

Not Servicable
Part

16

Solis-75,90 CRDI MODELS

10081217AA

SHIM 0.1MM

16

Solis-75,90 CRDI MODELS

10081218AA

SHIM 0.3MM

17

Solis-75,90 CRDI MODELS

10081156AA

BUSH

18

Solis-75,90 CRDI MODELS

10081219AA

WASHER

19

Solis-75,90 CRDI MODELS

10081220AA

NEEDLES BEARING

19

Solis-75,90 CRDI MODELS

10012490AA

NEEDLES BEARING 374137

YES

21

Solis-75,90 CRDI MODELS
(For 12+12 transm)

10081222AA

GEAR Z52/33

For 12+12
transm.




05140A-2-2

05140A-2/2

PRIMARY SHAFT

Solis-75,90 CRDI MODELS

PRIMARY SHAFT

(s gy )

xL\
*,

-

e —————

Sr.

Model

ltem Code

Description

Qty

Int.

Remarks

Cut Off

22

Solis-75,90 CRDI MODELS

10081224AA

SPACER

23

Solis-75,90 CRDI MODELS

10081225AA

SPACER

24

Solis-75,90 CRDI MODELS
(For 12+12 transm)

10081226AA

GEAR Z=44

For 12+12
transm.

25

Solis-75,90 CRDI MODELS

10081228AA

SLEEVE

26

Solis-75,90 CRDI MODELS

10081229AA

GEAR Z 26

27

Solis-75,90 CRDI MODELS

10081230AA

BEARING

28

Solis-75,90 CRDI MODELS

10081231AA

SHIM 0.1MM

28

Solis-75,90 CRDI MODELS

10081232AA

SHIM 0.3MM




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
28 |Solis-75,90 CRDI MODELS |10081233AA |SHIM 0.5MM 3
29 |Solis-75,90 CRDI MODELS |10081234AA |SNAP RING D.90 1




05150A-1-1

05150A-1/2

SECONDARY SHAFT Solis-75,90 CRDI MODELS

SECONDARY SHAFT

i X
( 0901012C

s
A

- L

e -_—

@:xxzs&sa X &5

3=

-20a,20b
Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081235AA |GEAR Z=55 1 Alternate Part
Code is
10013653AA
2 | Solis-75,90 CRDI MODELS |10081236AA [SPACER 1
3 | Solis-75,90 CRDI MODELS |10081237AA |[BEARING 1
4 |Solis-75,90 CRDI MODELS [10081238AA |SECONDARY SHAFT Z=27 1 For 12+12
(For 12+12 transm) transm.
5 |Solis-75,90 CRDI MODELS [10081240AA |SPACER 1
5A |Solis-75,90 CRDI MODELS [10011531AA |SPACER 1 NO
6 |Solis-75,90 CRDI MODELS [10081241AA |BEARING NEEDLES 1.9
7 |Solis-75,90 CRDI MODELS [10081242AA |WASHER 1
8a |Solis-75,90 CRDI MODELS |10081243AA |SYNCHRONIZER KIT 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
8b |Solis-75,90 CRDI MODELS |10081244AA |SYNCHRONIZER KIT 1
17 |Solis-75,90 CRDI MODELS [10081251AA |GEAR Z=49 1 Alternate Part
Code is
10013654AA
18 |Solis-75,90 CRDI MODELS |10081252AA |BUSH 1
19 |Solis-75,90 CRDI MODELS |10081253AA |GEAR Z=43 1
20a |Solis-75,90 CRDI MODELS |10081254AA |SYNCHRONIZER KIT 1
20b |Solis-75,90 CRDI MODELS |10081255AA |SYNCHRONIZER KIT 1




05150A-2-2 SECONDARY SHAFT Solis-75,90 CRDI MODELS

05150A-2/2 SECONDARY SHAFT

[ 090101ZC} XXXX )
Fa

.

6}-{ 26869 X E

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
22 |Solis-75,90 CRDI MODELS |10081258AA |BEARING 1
23 [Solis-75,90 CRDI MODELS [10081259AA |GEAR Z=36/36 1
24 |Solis-75,90 CRDI MODELS |10081260AA |SNAP RING 1
25 [Solis-75,90 CRDI MODELS [10081261AA |BEARING 1

26 |Solis-75,90 CRDI MODELS |10081174AA |SHIM 0.1MM -

26 [Solis-75,90 CRDI MODELS [10081173AA [SHIM 0.15MM -

26 |Solis-75,90 CRDI MODELS |10081172AA [SHIM 0.2MM -

26 |Solis-75,90 CRDI MODELS |10081171AA [SHIM 0.5MM -




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

27

Solis-75,90 CRDI MODELS

10081262AA

SUPPORT BUSH

Deleted,
Alternate Part
Code is :
10013661AA
and
10013622AA

27A

Solis-75,90 CRDI MODELS

10013661AA

BUSHING 572082

S.NO.27A AND
27B ARE
SUPPLIED
AGAINST S.NO.
27 (NOT
SHOWN)

27B

Solis-75,90 CRDI MODELS

10013662AA

BUSHING 572083

S.NO.27A AND
27B ARE
SUPPLIED
AGAINST S.NO.
27 (NOT
SHOWN)

28

Solis-75,90 CRDI MODELS

10081263AA

SPACER




05160A-1-1 IDLE GEAR Solis-75,90 CRDI MODELS
05160A-1/1 IDLE GEAR
5
(&}
1
2

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS |10081264AA |BEARING NEEDLES 1

2 |Solis-75,90 CRDI MODELS |10081265AA [SHAFT 1

3 | Solis-75,90 CRDI MODELS |10081266AA [O.RING 1

4 | Solis-75,90 CRDI MODELS |10081267AA |GEAR Z=27 1 In place of
10081269AA &
10081267AA
order single
assy
300120498A (
GEAR z-27
AND BUSH
ASSY 433906 )

5 |Solis-75,90 CRDI MODELS |10081268AA |SPLIT PIN 1




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081269AA

BUSH

In place of
10081269AA &
10081267AA
order single
assy
300120498A (
GEAR z-27
AND BUSH
ASSY 433906 )

Solis-75,90 CRDI MODELS

10081270AA

WASHER

Solis-75,90 CRDI MODELS

10081271AA

SCREW M 12X47




06110A-1-1

06110A-1/1

SPEED LEVER COVER  Solis-75,90 CRDI MODELS

SPEED LEVER COVER

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081350AA |SCREW M8X16 2
2 |Solis-75,90 CRDI MODELS |10081351AA [COVER 1
3 | Solis-75,90 CRDI MODELS |10081352AA [O.RING 2
4 | Solis-75,90 CRDI MODELS |10081353AA [LEVER SUPPORT 1
5 |Solis-75,90 CRDI MODELS |10081354AA |SCREW M8X25 4
6 |Solis-75,90 CRDI MODELS [10081179AA |BOLT M 10X25 8
7 |Solis-75,90 CRDI MODELS |10081355AA |PLUG 1
8 |Solis-75,90 CRDI MODELS |10081356AA [COVER 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 [Solis-75,90 CRDI MODELS |10081357AA [PIN 2
10 |Solis-75,90 CRDI MODELS |10081358AA |PIN 2
11 | Solis-75,90 CRDI MODELS |10081359AA |COVER 1
12 [Solis-75,90 CRDI MODELS [10081360AA |BOLTM6X12 4




06120A-1-1

06120A-1/1

OUTER GEAR SHIFT

Solis-75,90 CRDI MODELS

OUTER GEAR SHIFT LEVERS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081361AA |BOOTH 1
2 |Solis-75,90 CRDI MODELS |10081362AA |HOSE CLAMP 1
3 | Solis-75,90 CRDI MODELS |10081363AA |SNAP RING D.16 2
4 | Solis-75,90 CRDI MODELS |10081364AA [SHIM 26X16.5X1 2
5 |Solis-75,90 CRDI MODELS [10081365AA |SPRING 2
6 |Solis-75,90 CRDI MODELS [10081366AA |LEVER 2
7 |Solis-75,90 CRDI MODELS |10081367AA |INNER ROD 1
8 |Solis-75,90 CRDI MODELS |10081368AA [INNER ROD 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 [Solis-75,90 CRDI MODELS |10081358AA [PIN 2
10 |Solis-75,90 CRDI MODELS |10081369AA |PIN D6X26 4
11 | Solis-75,90 CRDI MODELS |10081370AA |INNER LEVER 2




06130A-1-1

SPEED GEAR INNER

06130A-1/1

Solis-75,90 CRDI MODELS

SPEED GEAR INNER CONTROLS

Speed gears (17 27)

e /,r'
st
Speed gears (3°/4")

Sr. Model Item Code Description Qty | Int. Remarks Cut Off

1 [Solis-75,90 CRDI MODELS [10081371AA [BOLT 2

2 [Solis-75,90 CRDI MODELS [10081372AA |WASHER 2

3 |Solis-75,90 CRDI MODELS |10081373AA |FORK 1 ST-2ND 1

4 | Solis-75,90 CRDI MODELS |10081374AA |[LOCK PIN 1

5 |Solis-75,90 CRDI MODELS [10081375AA |ROD 3RD-4TH 1 Alternate Part
Code is
10013963AA

6 |Solis-75,90 CRDI MODELS [10081376AA |BLOCK 1

7 |Solis-75,90 CRDI MODELS [10081377AA  |PIN D6X30 2

8 |Solis-75,90 CRDI MODELS |10081378AA |FORK 3RD-4TH 1

9 |Solis-75,90 CRDI MODELS [10081379AA |BALL D.3/8 2




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10 [Solis-75,90 CRDI MODELS [10081380AA |BLOCK 1
11 [Solis-75,90 CRDI MODELS [10081381AA |ROD 1ST-2ND 1 Alternate Part
Code is
10013962AA
12 |Solis-75,90 CRDI MODELS |10081382AA |WASHER 2
13 |Solis-75,90 CRDI MODELS |10081383AA |BOLT 2
14 [Solis-75,90 CRDI MODELS [10081384AA |SPRING 2




06140A-1-1 REVERSER INNER Solis-75,90 CRDI MODELS
06140A-1/1 REVERSE INNER CONTROLS
-
.
3
LN 4 -~
;“ _99A >
AL / - ¥ i
..~."\ \ /_.?:—-'“I 5 _— g '/"L‘__‘ "_\ o~ ~
\'\ ‘\ .I [ ;l’ [ (?’, “‘Q’ s
w : ’-’__,—-- 1 <3 |\ ol — INER LEVER
Fra v - (N 21 /PN REY
k\\\\ % ’(::J‘\%x ° / -
f R_r -~ ﬁy | N 1 ’ \ / /,
. 7 [ Oy g
J 225 22
21 20 .
- 1"
A
B
s,
NE[O)n g
| g\.
12092/ (’@ O
13_7 A4 i
14 o
15 /
16164
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 Solis-75,90 CRDI MODELS |10081383AA |BOLT 1
2 |Solis-75,90 CRDI MODELS [10081382AA [WASHER 1
3 |Solis-75,90 CRDI MODELS [10081384AA |SPRING 1
4 |Solis-75,90 CRDI MODELS [10081379AA |BALL D.3/8 2
5 |Solis-75,90 CRDI MODELS [10081371AA |BOLT 1
6 |Solis-75,90 CRDI MODELS |10081372AA |WASHER 1
7 |Solis-75,90 CRDI MODELS [10081385AA |ROD 1 Alternate Part
Code is
10013958AA
8 |Solis-75,90 CRDI MODELS [10081386AA |FORK 1 APN
300162640A




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

9 | Solis-75,90 CRDI MODELS |10081387AA |INNER LEVER (FW-REV) 1 Not Serviceable
part

9A |ALL MODELS 10013657AA |INNER LEVER (FW-REV) 1 YES

10 [Solis-75,90 CRDI MODELS [10081388AA |PIN 1

11 | Solis-75,90 CRDI MODELS |10081183AA |PLUG M10X1 1

12 |Solis-75,90 CRDI MODELS |10081389AA |INNER ROD (FW-REV) 1 Not Serviceable
part

12A |ALL MODELS 10013656AA |INNER ROD (FW-REV) 1 YES

13 [Solis-75,90 CRDI MODELS [10081390AA |SPRING 1

14 [Solis-75,90 CRDI MODELS [10081328AA |SEAL RING 1

15 [Solis-75,90 CRDI MODELS [10081391AA |PIN 6X36 1

15A |ALL MODELS 10081486AA |PIN D6X36 1 DELETED

16 |Solis-75,90 CRDI MODELS |10081392AA |REVERSER LEVER 1 Not Serviceable
part

16A [Solis-75,90 CRDI MODELS [10011532AA |REVERSER LEVER 1 NO

17 |Solis-75,90 CRDI MODELS [10081393AA |SENSOR 1

18 [Solis-75,90 CRDI MODELS [10081394AA |WASHER 1

19 [Solis-75,90 CRDI MODELS [10081395AA |PIN D.9X17 1

20 |ALL MODELS 10013663AA |NUT 1 ADDED IN
PLACE OF S.
NO. 9,12 & 15A

21 |ALL MODELS 10013664AA |SCREW 1 ADDED IN
PLACE OF S.
NO. 9,12 & 15A

22 |ALL MODELS 10013659AA |WASHER 1 ADDED IN
PLACE OF S.

NO. 9,12 & 15A




06150A-1-1 RANGE GEARS INNER  Solis-75,90 CRDI MODELS

06150A-1/1 RANGE GEARS INNER CONTROLS

Ramge gears (madium - nignj

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081371AA |BOLT 2
2 |Solis-75,90 CRDI MODELS |10081372AA |WASHER 2
3 | Solis-75,90 CRDI MODELS |10081396AA |REDUCER FORK 1
4 | Solis-75,90 CRDI MODELS |10081397AA [SPEED FORK 1
5 |[Solis-75,90 CRDI MODELS [10081383AA |BOLT 2
6 |Solis-75,90 CRDI MODELS [10081382AA |WASHER 2
7 |Solis-75,90 CRDI MODELS |10081384AA |SPRING 2
8 |Solis-75,90 CRDI MODELS [10081379AA |BALL D.3/8 2




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081398AA

ROD SPEED/LOW

APN
10013975AA

10

Solis-75,90 CRDI MODELS

10081374AA

LOCK PIN

11

Solis-75,90 CRDI MODELS

10081377AA

PIN D6X30

12

Solis-75,90 CRDI MODELS

10081399AA

REDUCER ROD

13

Solis-75,90 CRDI MODELS

10081376AA

BLOCK

14

Solis-75,90 CRDI MODELS

10081380AA

BLOCK




06160A-1-1

06160A-1/1

PTO CONTROL

Solis-75,90 CRDI MODELS

PTO CONTROL

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081453AA |PTO CONTROL LEVER 1

2 | Solis-75,90 CRDI MODELS |10081268AA [PIN 6X36 2

3 | Solis-75,90 CRDI MODELS |10081454AA [PTO CONTROL FORK 1

4 | Solis-75,90 CRDI MODELS |10081455AA [SPRING 1

5 |Solis-75,90 CRDI MODELS [10081456AA |BALL 1

6 |Solis-75,90 CRDI MODELS [10081457AA |PTO CONTROL PIN 14

7 |Solis-75,90 CRDI MODELS |10081458AA |PTO CONTROL LEVER ASSY 1

8 |Solis-75,90 CRDI MODELS |10081459AA [SLIDING BLOCK 1




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081460AA

PIN 6X28

10

Solis-75,90 CRDI MODELS

10081301AA

O.RING

11

Solis-75,90 CRDI MODELS

10081461AA

PTO SELECTION PLATE

Not Serviceable
part

11A

Solis-75,90 CRDI MODELS

10011533AA

PTO SELECTION PLATE

11A

Solis-75,90 CRDI MODELS

10011992AA

PTO SELECTION PLATE

YES

12

Solis-75,90 CRDI MODELS

10081462AA

BOLTM8X16

13

Solis-75,90 CRDI MODELS

10081463AA

PTO CONTROL LEVER

14

Solis-75,90 CRDI MODELS

10081447AA

BALL

15

Solis-75,90 CRDI MODELS

10081446AA

SPRING

16

Solis-75,90 CRDI MODELS

10081328AA

SEAL RING

17

Solis-75,90 CRDI MODELS

10081464AA

PTO LEVER

18

Solis-75,90 CRDI MODELS

10081465AA

HANDLE




07110A-1-1 REAR DIFFERENTIAL Solis-75,90 CRDI MODELS

07110A-1/1 REAR DIFFERENTIAL

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS [10081286AA |DIFFERENTIAL KIT 1

2 |Solis-75,90 CRDI MODELS |10081287AA [THUST WASHER 4 KIT CODE:
10081286AA

3 | Solis-75,90 CRDI MODELS |10081288AA [THUST WASHER 2 KIT CODE:
10081286AA

4 | Solis-75,90 CRDI MODELS |10081289AA [SHAFT 2 KIT CODE:
10081286AA

5 |Solis-75,90 CRDI MODELS [10081290AA |BEARING 2

6 |Solis-75,90 CRDI MODELS [10081291AA [LOCKING FLANGE 1

7 |Solis-75,90 CRDI MODELS |10081292AA |BOLT M 12X80 8

8 |Solis-75,90 CRDI MODELS [10081231AA [SHIM 0,1MM




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081232AA

SHIM 0,3MM

Solis-75,90 CRDI MODELS

10081233AA

SHIM 0,5MM

Solis-75,90 CRDI MODELS

10081293AA

SHIM 0,05MM

Solis-75,90 CRDI MODELS

10081294AA

SNAP RING

10

Solis-75,90 CRDI MODELS

10081295AA

PIN D 12X30

11

Solis-75,90 CRDI MODELS

10081296AA

DIFFERENTIAL BOX

12

Solis-75,90 CRDI MODELS

10081297AA

PIN

13

Solis-75,90 CRDI MODELS

10081298AA

SPRING

14

Solis-75,90 CRDI MODELS

10081299AA

ROLLER

15

Solis-75,90 CRDI MODELS

10081300AA

SLEEVE




07120A-1-1

07120A-1/1

REAR DIFFERENTIAL

Solis-75,90 CRDI MODELS

REAR DIFFERENTIAL LOCK

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081301AA |O.RING 1
2 |Solis-75,90 CRDI MODELS |10081302AA |DIFF. LOCKING PIN 1
3 | Solis-75,90 CRDI MODELS |10081303AA [PIN 1
4 | Solis-75,90 CRDI MODELS |10081304AA |DIFF. LOCKING FORK 1
5 |Solis-75,90 CRDI MODELS |10081305AA [SPRING 1
6 |Solis-75,90 CRDI MODELS [10081306AA [PLUG M22X1.5 1
7 |Solis-75,90 CRDI MODELS |10081307AA |NUT 1
8 |Solis-75,90 CRDI MODELS |10081308AA [GRUB SCREW M10X50 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI MODELS |10081309AA |SNAP RING D.15 1
10 [Solis-75,90 CRDI MODELS [10081310AA |WASHER 1
11 [Solis-75,90 CRDI MODELS |[10081181AA |PIN X15X51 1
12 |Solis-75,90 CRDI MODELS |10081311AA |BUSH 1 KIT CODE:
10081312AA
13 |Solis-75,90 CRDI MODELS |10081312AA |DIFF. LOCK. LEVER KIT 1




07130A-1-1 BEVEL GEAR SET Solis-75,90 CRDI MODELS

07130A-1/1 BEVEL GEAR SET

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS |10081272AA |BEVEL GEAR SET Z=12/41 1 FOR 12+12,

(For 12+12 transm) TRANSM.

2 | Solis-75,90 CRDI MODELS |10081275AA [SHIM KIT (FROM 2.5MM TO 3.5MM) 1 KIT CODE:
10081272AA,
10081273AA,
10081274AA

3 | Solis-75,90 CRDI MODELS |10081276AA |BEARING 2

4 |Solis-75,90 CRDI MODELS [10081277AA |GEAR Z=52 1

5 |[Solis-75,90 CRDI MODELS [10081278AA |RING NUT M45X1.5 1 KIT CODE:
10081272AA,
10081273AA,
10081274AA

6 |Solis-75,90 CRDI MODELS |10081279AA |THRUST WASHER 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
7 |Solis-75,90 CRDI MODELS |10081280AA |BEARING NEEDLES 2
7A | Solis-75,90 CRDI MODELS |10011534AA |BEARING NEEDLES KIT 1 NO
8 |Solis-75,90 CRDI MODELS |10081281AA |GEAR Z=46/35 1 FOR 12+12
(For 12+12 transm) TRANSM.
9 |[Solis-75,90 CRDI MODELS [10081283AA |SPACER 1
10 |Solis-75,90 CRDI MODELS |10081284AA |COLLAR 1
11 [Solis-75,90 CRDI MODELS [10081285AA |CENTRAL CLUTCH 1




07140A-1-1

07140A-1/1

PTO OUTPUT SHAFT

Solis-75,90 CRDI MODELS

PTO OUTPUT SHAFT

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081427AA |PTO OUTPUT SHAFT 1
2 |Solis-75,90 CRDI MODELS |10081428AA [PTO GEAR 1
3 | Solis-75,90 CRDI MODELS |10081429AA |WASHER 2
4 | Solis-75,90 CRDI MODELS |10081430AA |BEARING 1
5 |Solis-75,90 CRDI MODELS |10081431AA |BEARING SUPPORT 1
6 |Solis-75,90 CRDI MODELS [10081284AA |PTO SLEEVE 1
7 | Solis-75,90 CRDI MODELS |10081432AA |PTO GEAR Z=58 1
8 |Solis-75,90 CRDI MODELS |10081433AA [SPACER 1




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081160AA

BEARING

10

Solis-75,90 CRDI MODELS

10081434AA

PTO COVER

11

Solis-75,90 CRDI MODELS

10081295AA

PIN D 12X30

12

Solis-75,90 CRDI MODELS

10081435AA

SEAL RING

13

Solis-75,90 CRDI MODELS

10081436AA

PTO HOOD

14

Solis-75,90 CRDI MODELS

10081437AA

BOLT M 10X30

15

Solis-75,90 CRDI MODELS

10081438AA

PLUG M16X2

16

Solis-75,90 CRDI MODELS

10081178AA

PLUG M20X1.5




07150A-1-1 PTO SHAFT Solis-75,90 CRDI MODELS

07150A-1/1 PTO SHAFT

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081439AA |PTO COUPLING ASSY 1
2 | Solis-75,90 CRDI MODELS |10081440AA [ELASTIC RING 1 KIT CODE:
10081439AA
3 | Solis-75,90 CRDI MODELS |10081441AA [SAFETY RING 1 KIT CODE:
10081439AA
4 | Solis-75,90 CRDI MODELS |10081442AA [THRUST WASHER 1 KIT CODE:
10081439AA
5 |Solis-75,90 CRDI MODELS (10081443AA |PTO BRAKE RING 1 KIT CODE:
10081439AA
6 |Solis-75,90 CRDI MODELS [10081444AA |PTO COUPLING 1 KIT CODE:
10081439AA
7 |Solis-75,90 CRDI MODELS |10081445AA |PIN 5X26 1 KIT CODE:
10081439AA
8 |Solis-75,90 CRDI MODELS |10081446AA |SPRING 2 KIT CODE:
10081439AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI MODELS [10081447AA |BALL 2 KIT CODE:
10081439AA
10 [Solis-75,90 CRDI MODELS [10081448AA |PTO COUPLING SLEEVE 1 KIT CODE:
10081439AA
11 |[Solis-75,90 CRDI MODELS [10081449AA |BEARING SUPPORT 1
12 |Solis-75,90 CRDI MODELS |10081450AA |BEARING 1
13 |Solis-75,90 CRDI MODELS |10081451AA |PTO SHAFT 1 APN
300168243A
14 |Solis-75,90 CRDI MODELS |10081452AA |BEARING 1




07160A-1-1

DROP BOX

07160A-1/2

DROP BOX TRANSMISSION

Solis-75,90 CRDI MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS |10081258AA |BEARING 2

2 | Solis-75,90 CRDI MODELS [10011993AA |GEAR Z=60 1 FOR
TRANSMISSIO
N OF CODE
10081717AA

3 | Solis-75,90 CRDI MODELS |10081467AA |WASHER 1

4 |Solis-75,90 CRDI MODELS [10081468AA |GEAR Z=13 1

5 |Solis-75,90 CRDI MODELS [10081469AA |SPRING 6

6 |Solis-75,90 CRDI MODELS |10081470AA |KEY 4X4X15 1

7 |Solis-75,90 CRDI MODELS |10081471AA |WASHER 1




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081472AA

SNAP RING D.52

Solis-75,90 CRDI MODELS

10081473AA

SLEEVE

10

Solis-75,90 CRDI MODELS

10081474AA

4WD SHAFT

11

Solis-75,90 CRDI MODELS

10081475AA

OIL SEAL

12

Solis-75,90 CRDI MODELS

10081476AA

COVER

13

Solis-75,90 CRDI MODELS

10081477AA

BOLT M8X20 (SELF-LOCK.)

14

Solis-75,90 CRDI MODELS

10081478AA

SPRING

15

Solis-75,90 CRDI MODELS

10081479AA

BALLD5/16

16

Solis-75,90 CRDI MODELS

10081480AA

PLUG

17

Solis-75,90 CRDI MODELS

10081481AA

FORK PIN 506

18

Solis-75,90 CRDI MODELS

10081482AA

PIN D5X30

19

Solis-75,90 CRDI MODELS

10081455AA

SPRING

20

Solis-75,90 CRDI MODELS

10081483AA

GRUB-SCREW M12X25

21

Solis-75,90 CRDI MODELS

10081484AA

NUT M.12

22

Solis-75,90 CRDI MODELS

10081485AA

LEVER

23

Solis-75,90 CRDI MODELS

10081486AA

PIN D6X36

24

Solis-75,90 CRDI MODELS

10081328AA

OIL SEAL

25

Solis-75,90 CRDI MODELS

10081487AA

BOLT M 12X30 (SELF-LOCK.)

26

Solis-75,90 CRDI MODELS

10081189AA

OILPLUGM22X1.5

Not Serviceable
part

26A

Solis-75,90 CRDI MODELS

10011535AA

OILPLUGM22X1.5

NO

27

Solis-75,90 CRDI MODELS

10081488AA

TRANSMISSION HOUSING

27A

Solis-75,90 CRDI MODELS

10011536AA

TRANSMISSION HOUSING

NO

28

Solis-75,90 CRDI MODELS

10081489AA

REAR COVER

29

Solis-75,90 CRDI MODELS

10081490AA

BUSH

30

Solis-75,90 CRDI MODELS

10081491AA

SPRING

31

Solis-75,90 CRDI MODELS

10081492AA

LEVER

32

Solis-75,90 CRDI MODELS

10081493AA

FORK




08110A-1-1

08110A-1/1

FINAL DRIVE HOUSING Solis-75,90 CRDI MODELS

FINAL DRIVE HOUSING

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081400AA |SEAL RING 2
2 |Solis-75,90 CRDI MODELS |10081401AA |BEARING 2
3 | Solis-75,90 CRDI MODELS |10081402AA |PIN D 15X35 4
4 | Solis-75,90 CRDI MODELS |10081403AA [TRUMPET HOUSING KIT 2
5 |Solis-75,90 CRDI MODELS [10081404AA |BOLTM14X100 16
6 |Solis-75,90 CRDI MODELS [10081405AA |GREASER NIPPLE M8X1 2
7 |Solis-75,90 CRDI MODELS |10081406AA |SEAL RING 2
8 |Solis-75,90 CRDI MODELS |10081407AA |BEARING 2




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI MODELS |10081408AA |[O.RING 2
10 [Solis-75,90 CRDI MODELS [10081409AA |CROWN GEAR Z=70 2 KIT CODE:
10081403AA
11 [Solis-75,90 CRDI MODELS [10011488AA |CARRARO WORLDTRACTRUMPET 2 SEPARATE
HSG. (642381) CODE OF

TRUMPET HSG
,APN
10081403AA




08120A-1-1

08120A-1/1

FINAL DRIVE HOUSING-WHEEL SHAFT

FINAL DRIVE HOUSING- Solis-75,90 CRDI MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS [10081410AA |PLANETARY CARRIER ASSY 2

2 | Solis-75,90 CRDI MODELS |10081411AA [BOLT M 10X35 6 KIT CODE:
10081410AA

3 | Solis-75,90 CRDI MODELS |10081412AA 6 KIT CODE:
10081410AA

4 | Solis-75,90 CRDI MODELS |10081413AA [ROLLER 5X10 6 KIT CODE:
10081410AA

5 |Solis-75,90 CRDI MODELS [10081414AA 12 KIT CODE:
10081410AA

6 |Solis-75,90 CRDI MODELS [10081415AA |GEAR Z=27 6 KIT CODE:
10081410AA

7 | Solis-75,90 CRDI MODELS |10081416AA 2

8 |Solis-75,90 CRDI MODELS |10081417AA |WHEEL SHAFT ASSY 2




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI MODELS |10081418AA [STUD BOLT M 18X58 16 KIT CODE:
10081417AA

10 [Solis-75,90 CRDI MODELS [10081419AA |HALF SHAFT Z=14 2

11 [Solis-75,90 CRDI MODELS [10081420AA |LOCK WASHER 2

12 |Solis-75,90 CRDI MODELS |10081421AA |BOLT M16X2 2

13 |Solis-75,90 CRDI MODELS |10081422AA |LOCK WASHER 2

14 [Solis-75,90 CRDI MODELS [10081423AA |SHIM 0,1MM -

14 [Solis-75,90 CRDI MODELS [10081424AA |SHIM 0,3MM -

14 [Solis-75,90 CRDI MODELS [10081425AA |SHIM 0,5MM -

14 |[Solis-75,90 CRDI MODELS [10081426AA |SHIM 0,05MM -




09110A-1-1 BRAKES Solis-75,90 CRDI MODELS

09110A-1/1 BRAKES

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS |10081313AA |PIN D.11 2

2 | Solis-75,90 CRDI MODELS |10081314AA |PIN LOCKING SPRING 2

3 |Solis-75,90 CRDI MODELS |10081315AA [TIE BAR 2

4 | Solis-75,90 CRDI MODELS |10081316AA |[BRAKE MECHANISM 2

5 |Solis-75,90 CRDI MODELS (10081317AA |BRAKE DISC 10

6 |Solis-75,90 CRDI MODELS [10081318AA |BRAKE COUNTER-PLATE 6

7 |Solis-75,90 CRDI MODELS |10081319AA |FLANGE 2

8 |Solis-75,90 CRDI MODELS |10081320AA [BOLT 4 KIT CODE:

10081316AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

9 |Solis-75,90 CRDI MODELS |10081321AA |TIE ROD 4 KIT CODE:
10081316AA

10 [Solis-75,90 CRDI MODELS [10081322AA |SPRING 6 KIT CODE:
10081316AA

11 |[Solis-75,90 CRDI MODELS [10081323AA |BALL 10 KIT CODE:
10081316AA

12 |Solis-75,90 CRDI MODELS |10081324AA |NUT 4 KIT CODE:
10081316AA

13 |Solis-75,90 CRDI MODELS |10081325AA |BOLT M 12X110 10

14 |Solis-75,90 CRDI MODELS [10081326AA |BRAKES FLANGE 2

15 |[Solis-75,90 CRDI MODELS [10081327AA |PIN D. 12X50 4




09120A-1-1 BRAKES CONTROL Solis-75,90 CRDI MODELS

09120A-1/1 BRAKES CONTROL
4

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081328AA |SEAL RING 20X30X7 2

2 | Solis-75,90 CRDI MODELS |10081329AA [PIN 8X36 2

3 | Solis-75,90 CRDI MODELS |10081330AA [BRAKES CONTROL SHAFT 1

4 |Solis-75,90 CRDI MODELS |10081331AA |O.RING 2

5 |Solis-75,90 CRDI MODELS |10081332AA [BRAKES CONTROL SHAFT 2 APN

10013953AA

6 |Solis-75,90 CRDI MODELS [10081333AA |BRAKES LEVER R.H. 1

7 |Solis-75,90 CRDI MODELS |10081334AA |PIN 11X33 2

8 |Solis-75,90 CRDI MODELS |10081335AA |COTTER PIN D3,2X32 2




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI MODELS |10081336AA [BOLT M 14X30 2
10 [Solis-75,90 CRDI MODELS [10081337AA |BRAKES LEVER L.H. 1




09130A-1-1

09130A-1/1

HANDBRAKES

Solis-75,90 CRDI MODELS

HANDBRAKES CONTROL

S
-

1

e, II|
e
e }ﬁ'{'n

Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081338AA |HANDBRAKE LEVER RH 1

2 | Solis-75,90 CRDI MODELS |10081339AA |ELASTIC RING D.8 2

3 | Solis-75,90 CRDI MODELS |10081340AA [BRAKE ROD 2

4 | Solis-75,90 CRDI MODELS |10081341AA |BRAKE ROD PIN D. 10X28 2

5 |Solis-75,90 CRDI MODELS [10081342AA |NUT 2

6 |Solis-75,90 CRDI MODELS [10081343AA |BRAKE ROD PIN D.12,5X31 2

7 |Solis-75,90 CRDI MODELS |10081344AA |HANDBRAKE NUT 2

7A |Solis-75,90 CRDI MODELS [10011537AA |HANDBRAKE BRACKET 2 NO

8 |Solis-75,90 CRDI MODELS |10081345AA |ELASTIC RING D.9 2




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI MODELS |10081346AA |HANDBRAKE LEVER RH 1
10 [Solis-75,90 CRDI MODELS [10081150AA |PIN 10X45 2
11 [Solis-75,90 CRDI MODELS [10081347AA |HANDBRAKE LEVER LH 1
12 |Solis-75,90 CRDI MODELS |10081348AA |HANDBRAKE LEVER LH 1
13 |Solis-75,90 CRDI MODELS |10081349AA |HANDBRAKE LEVER 2




10110A-1-1

10110A-1/1

LIFTOMATIC ASSEMBLY Solis-75,90 CRDI MODELS

LIFTOMATIC ASSEMBLY

Sr.

Model

Item Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS [10082714AA

NEW MITA HYDRAULIC LIFT WITH
LIFTOMATIC

INTERCHANGE
ABLE WITH
10082714AB
(ROHS)

Solis-75,90 CRDI MODELS [10082714AB

NEW MITA HYD. LIFT WITH
LIFTOMATIC

Solis-75,90 CRDI MODELS [10082714AB

New Mita Hydraulic Lift with liftomatic

(ROHS)
INTERCHANGE
ABLE WITH
10082714AA

Solis-75,90 CRDI MODELS |10082814AA

MITA LIFTOMATIC SWITCH ASSY

INTERCHANGE
ABLE WITH
10082814AB
(ROHS)

Solis-75,90 CRDI MODELS [10082814AB

MITA LIFTOMATIC SWITCH ASSY

(ROHS)
INTERCHANGE
ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10082814AA
3 | Solis-75,90 CRDI MODELS |10082756AB |COVER FOR LIFTOMATIC SWITCH 1 INTERCHANGE
ABLE WITH
10082756AC
(ROHS)
3 |Solis-75,90 CRDI MODELS [10082756AC |COVER FOR LIFTOMATIC SWITCH 1
3 |Solis-75,90 CRDI MODELS [10082756AC |COVER FOR LIFTOMATIC SWITCH 1 (ROHS)
INTERCHANGE
ABLE WITH
10082756AB
4 | Solis-75,90 CRDI MODELS |10067986AA [METALLIC SPACER (DIA 9X DIA 2 INTERCHANGE
14X8) ABLE WITH
10067986AB
(ROHS)
4 | Solis-75,90 CRDI MODELS |10067986AB |[METALLIC SPACER (DIA 9X DIA 2 (ROHS)
14X8) INTERCHANGE
ABLE WITH
10067986AA
5 |Solis-75,90 CRDI MODELS (04030400008 |SPRING WASHER B-8 2 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
5 |Solis-75,90 CRDI MODELS |20005517AA |SPRING WASHER B-8 TYPE A IS: 2 YES |(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
6 |Solis-75,90 CRDI MODELS |20001089AA |HEX. HEAD SCREW M8 X 1.25-25 8-8 2
SA2JS
7 |Solis-75,90 CRDI MODELS [10067802AA [LIFTOMATIC CABLE HOLDING 1 INTERCHANGE
CLAMP ABLE WITH
10067802AB
(ROHS)
7 |Solis-75,90 CRDI MODELS |10067802AB |LIFTOMATIC CABLE HOLDING 1 (ROHS)
CLAMP INTERCHANGE
ABLE WITH
10067802AA
8 |Solis-75,90 CRDI MODELS |20003517AA [HEX FLANGE SCREW M6*1*16-8.8 2
SA2JS
9 |Solis-75,90 CRDI MODELS |10067744AB [LIFTOMATIC CABLE ASSY 1
10 |Solis-75,90 CRDI MODELS |10082764AB |SQUARE HEAD PIN 1 INTERCHANGE
ABLE WITH
10082764AD
(ROHS)
10 [Solis-75,90 CRDI MODELS [10082764AD |SQUARE HEAD PIN 1 (ROHS)
INTERCHANGE
ABLE WITH
10082764AB
11 |[Solis-75,90 CRDI MODELS [04030600006 |PLAIN WASHER DIA 6.4 *DIA 18 *1.5 1
12 |[Solis-75,90 CRDI MODELS (04010102025 |SPLIT PIN DIA 2*25 1
13 |Solis-75,90 CRDI MODELS |10067748AA |BRACKET FOR LIFTOMATIC CABLE 1
ASSY
14 |Solis-75,90 CRDI MODELS |04042612037 |STUD M12*1.75*37 1
15 [Solis-75,90 CRDI MODELS [10070072AB |RUBBER GROMMET ( HAND 1 INTERCHANGE
ACCELERATOR) ABLE WITH
10070072AC
(ROHS)
15 [Solis-75,90 CRDI MODELS [10070072AC |RUBBER GROMMET ( HAND 1 (ROHS)
ACCELERATOR) INTERCHANGE
ABLE WITH

10070072AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
16 [Solis-75,90 CRDI MODELS [10026434AB |BREATHER ASSY. 1 INTERCHANGE
ABLE WITH
10026434AC
(ROHS)
16 [Solis-75,90 CRDI MODELS [10026434AC |BREATHER ASSY. 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
10026434AB
17 |Solis-75,90 CRDI MODELS |10014066AC |STICKER AUTO LIFT 1 NOT SHOWN, |BZZDF537608S3
STICKER
ADDED IN
LIFTOMATIC
MODELS
FROM
18 [WITH LIFTOMATIC 10041112AA |COVER FOR LIFTOMATIC SWITCH 1 COVER FOR |CZLDF599916W
MODELS EXCEPT CABIN LIFTOMATIC
MODELS SWITCH FROM
19 |WITH LIFTOMATIC 04030400006 [SPRING WASHER B-6 2 PART FITTED [CZLDF599916W
MODELS EXCEPT CABIN WITH COVER
MODELS FOR
LIFTOMATIC
SWITCH FROM
20 |WITH LIFTOMATIC 20003354AB |HEX NUT M6 -8 SA2JS 2 PART FITTED |CZLDF599916W
MODELS EXCEPT CABIN WITH COVER
MODELS FOR
LIFTOMATIC
SWITCH FROM
21 |WITH LIFTOMATIC 20004652AA |TRUSS PHILIPS M/C SCREW M6X20 2 PART FITTED |CZLDF599916W
MODELS EXCEPT CABIN WITH COVER
MODELS FOR
LIFTOMATIC

SWITCH FROM




10120A-1-1

10120A-1/2

SUCTION AND

Solis-75,90 CRDI MODELS

SUCTION AND DELIVERY LINE

64

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10082714AA |MITA HYDRAULIC LIFT FOR 1 INTERCHANGE
LIFTOMATIC ABLE WITH
10082714AB
(ROHS)
1 |Solis-75,90 CRDI MODELS [10082714AB |NEW MITA HYD. LIFT WITH 1
LIFTOMATIC
1 |Solis-75,90 CRDI MODELS |10082714AB |New Mita Hydraulic Lift with liftomatic 1 (ROHS)
INTERCHANGE
ABLE WITH
10082714AA
2 |Solis-75,90 CRDI MODELS [10067646AA |SECONDARY PIPE ASSY (PUMP TO 1
HYD. LIFT)
2 | Solis-75,90 CRDI MODELS |10067646AB [SECONDARY PIPE ASSY (PUMP TO 1
HYD. LIFT)
2 | Solis-90 CRDI MODELS 10067646BA |SECONDARY PIPE ASSY (PUMP TO 1 YES |BOM900ID5741 [IMEMSYFDNRKJ
HYD. LIFT) LDBGUDET2 [H02916




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
3 | Solis-75,90 CRDI MODELS |10084876AA |ORFS CONNECTION M22X1.5/1.3/16- 1
12 UN
4 | Solis-75,90 CRDI MODELS |10012575AA |BONDED SEAL FOR M22 1
5 |Solis-75,90 CRDI MODELS |10018471AB |INTERMIDIATE PIPE FROM PUMP 1
TO HYDRAULIC LIFT
6 |Solis-75,90 CRDI MODELS [10067722AA |CLAMP ASSY FOR DELIVERY PIPE 1 INTERCHANGE
ABLE WITH
10067722AB
(ROHS)
6 |Solis-75,90 CRDI MODELS |10067722AB |CLAMP ASSY FOR DELIVERY PIPE 1 (ROHS)
INTERCHANGE
ABLE WITH
10067722AA
7 |Solis-75,90 CRDI MODELS |04030400016 |SPRING WASHER B-16 1 INTERCHANGE
ABLE WITH
20004994AB
(ROHS)
7 |Solis-75,90 CRDI MODELS [20004994AB |[SPRING WASHER B-16 TYPE-A IS: 1 YES [(ROHS)
3063-1972 INTERCHANGE
ABLE WITH
04030400016
8 |Solis-75,90 CRDI MODELS |20003987AA [HEX SCREW M16X2X38 GRADE 12.9 1
9 |Solis-75,90 CRDI MODELS |10067649AB |CLAMP ASSY-3 1
9 |Solis-75,90 CRDI MODELS |10067649AC |CLAMP ASSY-3 1 INTERCHANGE
ABLE WITH
10067649AD
(ROHS)
9 |[Solis-75,90 CRDI MODELS [10067649AD |CLAMP ASSY-3 1 (ROHS)
INTERCHANGE
ABLE WITH
10067649AC
10 [Solis-75,90 CRDI MODELS [10018470AA |PRIMARY PIPE (PUMP TO HYD. LIFT) 1
11 |[Solis-75,90 CRDI MODELS [10081850AA |SOCKET HEAD CAP SCREW M6X25 4
12 |[Solis-75,90 CRDI MODELS [04030400006 |SPRING WASHER B-6 8
13 [Solis-75,90 CRDI MODELS [10025556AC |JIC FLANGE CONNECTION 020 1 INTERCHANGE
ABLE WITH
10025556AE
(ROHS)
13 |Solis-75,90 CRDI MODELS |10025556AE |JIC FLANGE CONNECTION 020 1 (ROHS)
INTERCHANGE
ABLE WITH
10025556AC
14 |[Solis-75,90 CRDI MODELS [10012392AA |O-RING @20X@2.62 1
15 |[Solis-75,90 CRDI MODELS [10012391AA |INLET MANIFOLD ASSY. 1
16 |[Solis-75,90 CRDI MODELS [10007240AA |O-RING (DIA 23.5*1.78) 1
16 |Solis-75,90 CRDI MODELS |10000690AB |O-RING @24.7xJ1.9 1 YES [QTY IS 1 FOR |EZESF576067S3
ALL MECH
STG. MODELS
WHERE PART
CODE
10004708BC/10
012484AA, QTY
IS2 ALL
POWER STG.
MODELS
WHERE PART

CODE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10004708BC/10
012484AA
USED

17 |Solis-75,90 CRDI MODELS [10027642AC |O-RING ©@36.5X &2.6 1

18 |Solis-75,90 CRDI MODELS |04040708045 |HEX. HEAD BOLT M8 X 1.25-45 8-8 4 INTERCHANGE

SA2JS ABLE WITH
20005548AA
(ROHS)

18 [Solis-75,90 CRDI MODELS [20005548AA |HEX BOLT M8X1.25-45 -8.8 SA4GS 4 YES [(ROHS)
INTERCHANGE
ABLE WITH
04040708045

19 [Solis-75,90 CRDI MODELS [04030400008 |SPRING WASHER B-8 4 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)

19 |Solis-75,90 CRDI MODELS |20005517AA |SPRING WASHER B-8 TYPE A IS: 4 YES [(ROHS)

3067-1972 INTERCHANGE
ABLE WITH
04030400008

20 |Solis-75,90 CRDI MODELS |04040706045 [HEX BOLT M6*45 4

21 |Solis-75,90 CRDI MODELS |10026685AA |BRACKET FOR FILTER 1

22 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 2

23 |Solis-75,90 CRDI MODELS |20003235AB |HEX SCREW M10X20 8-8 SA3NS 2

24 |Solis-75,90 CRDI MODELS [20001089AA [HEX. HEAD SCREW M8 X 1.25-25 8-8 2

SA2JS

25 |Solis-75,90 CRDI MODELS [04030800008 [M/CD WASHER DIA 8.4 *DIA 17*1.6 2

26 |Solis-75,90 CRDI MODELS |10027559BA |ADOPTER HYDRAULIC FILTER 1

27 |Solis-75,90 CRDI MODELS |10027339AB |HYDRAULIC FILTER 1

28 |Solis-75,90 CRDI MODELS |10029322AA |HOSE PIPE (SUCTION SIDE-60 LPM 1

FILTER)
28 |Solis-75,90 CRDI MODELS |10029322AB |HOSE PIPE (SUCTION SIDE-60 LPM 1 YES [INTERCHANGE|GYDDU486150M
FILTER) ABLE WITH S
10029322AC
(ROHS)
28 |Solis-75,90 CRDI MODELS [10029322AC |HOSE PIPE (SUCTION SIDE-60 LPM 1 (ROHS)
FILTER) INTERCHANGE
ABLE WITH
10029322AB

29 |Solis-75,90 CRDI MODELS |10067648AB |CLAMP ASSY-2 1

30 |Solis-75,90 CRDI MODELS |10081597AA |VIBRATION DAMPER 3

31 |Solis-75,90 CRDI MODELS |10067647AA |CLAMP ASSY-1 2 INTERCHANGE
ABLE WITH
10067647AC
(ROHS)

31 |Solis-75,90 CRDI MODELS [10067647AC |[CLAMP ASSY-1 2 (ROHS)
INTERCHANGE
ABLE WITH
10067647AA

32 |Solis-75,90 CRDI MODELS |10081598AA |VIBRATION DAMPER 3 INTERCHANGE
ABLE WITH
10081598AB
(ROHS)

32 |Solis-75,90 CRDI MODELS |10081598AB |VIBRATION DAMPER 3 YES |(ROHS)
INTERCHANGE

ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10081598AA

33 |Solis-75,90 CRDI MODELS |10024489AA |[STICKER FOR MAGNETIC STRAINER 1

34 |Solis-75,90 CRDI MODELS |10082862AA |[SUCTION PIPE STRAINER TO HOSE 1

35 |Solis-75,90 CRDI MODELS [10023560AC |MAGNETIC STRAINER ASSY 1 INTERCHANGE
ABLE WITH
10023560AD
(ROHS)

35 |Solis-75,90 CRDI MODELS |10023560AD |MAGNETIC STRAINER ASSY 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
10023560AC

36 |Solis-75,90 CRDI MODELS |10023561AA |WIRE CLIP 1

37 |Solis-75,90 CRDI MODELS |04080400060 [HOSE WARM CLIP DIA 60 2 INTERCHANGE
ABLE WITH
20003661AB
(ROHS)

37 |Solis-75,90 CRDI MODELS [20003661AB |[HOSE WORM CLAMP DIA 60 1S:4762 2 YES [(ROHS)
INTERCHANGE
ABLE WITH
04080400060

38 |Solis-75,90 CRDI MODELS |10007137AB |HOSE PIPE (FOR SUCTION 2

STRAINER)

39 |Solis-75,90 CRDI MODELS |04080400036 [HOSE WARM CLIP DIA 36 4 INTERCHANGE
ABLE WITH
20003660AB
(ROHS)

39 |Solis-75,90 CRDI MODELS [20003660AB |HOSE WARM CLIP DIA 36 4 YES [(ROHS)
INTERCHANGE
ABLE WITH
04080400036

40 |Solis-75,90 CRDI MODELS |20003244AB [HEX SCREW M12X1.75X35 8-8 1

SA3NS

41 |Solis-75,90 CRDI MODELS |04030400012 [SPRING WASHER B-12 1

42 |Solis-75,90 CRDI MODELS |10080937AA |O-RING 1 INTERCHANGE
ABLE WITH
10080937AE
(ROHS)

42 |Solis-75,90 CRDI MODELS [10080937AE |O-RING DIA41.5X DIA 1.8 1 (ROHS)
INTERCHANGE
ABLE WITH
10080937AA

43 |Solis-75,90 CRDI MODELS |10082863AA |SUCTION PIPE WITH FLANGE 1

(STRAINER TO DIFF HSG.)
43 |Solis-75,90 CRDI MODELS |10082863AB [SUCTION PIPE WITH FLANGE 1
(STRAINER TO DIFF HSG.)

44 |Solis-75,90 CRDI MODELS |20003355AB |[HEX NUT M8X1.25 -8 SA2JS 2

45 |Solis-75,90 CRDI MODELS |20002253AA [STRAINER-160 MICRONS 1 INTERCHANGE
ABLE WITH
20002253AC
(ROHS)

45 |Solis-75,90 CRDI MODELS [20002253AC [STRAINER-160 MICRONS 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
20002253AA

46 |Solis-75,90 CRDI MODELS |20002016AB |HEX. HEAD SCREW M10 X 1.5 X 30 1

8-8 SA2JS
47 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 1
48 |Solis-75,90 CRDI MODELS |20004245AA |LOCTITE-574 2.57 QTY. IN ML




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
48 |Solis-75,90 CRDI MODELS |20004245AB [LIQUID GASKET ANAEROBIC 2 2.57 | YES MEMMZGFF544
LOC574/ANA613E 373S3
49 |Solis-75,90 CRDI MODELS [10011185AB |[LOCTITE-577 3.29 QTY. IN ML
50 |Solis-75,90 CRDI MODELS |10011185AB [LOCTITE-577 0.66 QTY. IN ML
51 |Solis-75,90 CRDI MODELS |10084469AA |ADDITIONAL CYLINDER 1 WITH 3000 KG
WITH 3000 KG LIFTING LIFTING
CAPACITY MODELS CAPACITY
51 |Solis-75,90 CRDI MODELS |10084469AB |ADDITIONAL CYLINDER 1 WITH 3000 KG
WITH 3000 KG LIFTING LIFTING
CAPACITY MODELS CAPACITY
52 |Solis-75,90 CRDI MODELS |20004324AA |EXTERNAL CIRLIP A-25 (HEAVY 1 WITH 3000 KG
WITH 3000 KG LIFTING DUTY) 1S:3075 - 1965 LIFTING
CAPACITY MODELS CAPACITY
53 |Solis-75,90 CRDI MODELS |04020200022 [EXTERNAL CIRCLIP A-22 1 WITH 3000 KG
WITH 3000 KG LIFTING LIFTING
CAPACITY MODELS CAPACITY
54 |Solis-75,90 CRDI MODELS |10084708AB |90 °ADJUSTABLE STUD ELBOW G3/4 1 WITH 3000 KG
WITH 3000 KG LIFTING & 1 3/16-12UN LIFTING
CAPACITY MODELS CAPACITY
54 |Solis-75,90 CRDI MODELS [10084708AC |90 °ADJUSTABLE STUD ELBOW G3/4 1 WITH 3000 KG
WITH 3000 KG LIFTING & 1 3/16-12UN LIFTING
CAPACITY MODELS CAPACITY
55 |Solis-75,90 CRDI MODELS |10004984AA [PLASTIC STRAP 1 WITH 3000 KG
WITH 3000 KG LIFTING LIFTING
CAPACITY MODELS CAPACITY
55 |Solis-75,90 CRDI MODELS |10004984AB [PLASTIC STRAP 1 YES |(ROHS)
WITH 3000 KG LIFTING INTERCHANGE
CAPACITY MODELS ABLE WITH
10004984AA
56 |Solis-75,90 CRDI MODELS [10084642AB |PIPE ASSY (HYD LIFT TO 1 WITH 3000 KG
WITH 3000 KG LIFTING ADDITIONAL CYL) LIFTING
CAPACITY MODELS CAPACITY
56 |Solis-75,90 CRDI MODELS |10084642BA |PIPE ASSY (HYD LIFT TO 1 WITH 3000 KG
WITH 3000 KG LIFTING ADDITIONAL CYL) LIFTING
CAPACITY MODELS CAPACITY
57 |Solis-75,90 CRDI MODELS |20003896AA |BENJO BOLT M18X1.5 1 WITH 3000 KG
WITH 3000 KG LIFTING LIFTING
CAPACITY MODELS CAPACITY
58 |Solis-75,90 CRDI MODELS [10012573AA [BONDED SEAL FOR M18 2 WITH 3000 KG
WITH 3000 KG LIFTING LIFTING
CAPACITY MODELS CAPACITY
59 |Solis-75,90 CRDI MODELS |10029816AB |ADOPTER 3/8 BSP 1 WITH 3000 KG
WITH 3000 KG LIFTING LIFTING
CAPACITY MODELS CAPACITY
60 |Solis-75,90 CRDI MODELS |10012585AB |BONDED SEAL FOR 3/8” BSP 1 WITH 3000 KG
WITH 3000 KG LIFTING LIFTING
CAPACITY MODELS CAPACITY
61 |Solis-75 CRDI WITH H- 10068308AB |BRACKET FOR COUPLING HEADS 1
TYPE AC CABIN MODELS
61 |Solis-75 CRDI WITH H- 10068308AC |BRACKET FOR COUPLING HEADS 1 YES [BOM7501D5752 IMEMSYFDNRKJ
TYPE AC CABIN MODELS LDBGUDE H02916
62 |Solis-75 CRDI WITH H- 300061683A |MOUNTING PLATE 1 DELETE FROM [MEMSYFDNRKJ
TYPE AC CABIN MODELS CRDI-75 H- H02916
TYPE
BOM750ID5752
LDBGUDE
63 |Solis-75 CRDI WITH H- 300061684A |SUPPORTING BKT. 1 DELETE FROM [MEMSYFDNRKJ
TYPE AC CABIN MODELS CRDI-75H-  |H02916
TYPE
BOM750ID5752
LDBGUDE
64 |Solis-75,90 CRDI H-TYPE |10068333AA |SEC PIPE ASSY(CON VAV TO 1 INTERCHANGE
WITH DATB OPTION COUPLING HEAD ABLE WITH

10068333AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)
64 |Solis-75,90 CRDI H-TYPE |300084203A |SECONDARY PIPE FROM CONTROL 1 YES MEMSYKDPRKJ
WITH DATB OPTION VALVE TO COU H03075
64 |Solis-75,90 CRDI H-TYPE |10068333AB |SEC PIPE CONTROL VALVE TO 1 (ROHS)
WITH DATB OPTION COUPLING HEAD INTERCHANGE
ABLE WITH
10068333AA
65 |Solis-75,90 CRDI H-TYPE |10068333AA |SEC PIPE ASSY(CON VAV TO 1 INTERCHANGE
WITH DATB OPTION COUPLING HEAD ABLE WITH
10068333AB
(ROHS)
65 |Solis-75,90 CRDI H-TYPE |[300084209A |[SECONDARY PIPE FROM CONTROL 1 YES MEMSYKDPRKJ
WITH DATB OPTION VALVE TO COU H03075
65 |Solis-75,90 CRDI H-TYPE |10068333AB |[SEC PIPE CONTROL VALVE TO 1 (ROHS)
WITH DATB OPTION COUPLING HEAD INTERCHANGE
ABLE WITH
10068333AA
66 |Solis-75,90 CRDI H-TYPE |10068375AA |[INT FLEX PIPE ASSY(DUAL BRK 1
WITH DATB OPTION VALVE HISLA
66 |Solis-75,90 CRDIH-TYPE [300084134A |(INTERMEDIATE FLEX PIPE ASSY 1 YES MEMSYKDPRKJ
WITH DATB OPTION FOR DUAL BRK HO03075
67 |Solis-75,90 CRDI H-TYPE |10068373AA |FLEXIBLE INTERMEDIATE PIPE 1
WITH DATB OPTION FROM BRKE VAV
67 |Solis-75,90 CRDI H-TYPE |[300084136A |INTERMEDIATE FLEXIBLE PIPE 1 YES MEMSYKDPRKJ
WITH DATB OPTION ASSY FOR DU H03075
68 |Solis-75,90 CRDI H-TYPE |10067954AA |PIPE FROM EQUAL TEE TO 1
WITH DATB OPTION RESERVOIR LH
68 |Solis-75,90 CRDI H-TYPE |300084199A |PIPE FROM EQUAL TEE TO 1 YES MEMSYKDPRKJ
WITH DATB OPTION RESRVIOR LH HO03075
69 |Solis-75,90 CRDI H-TYPE [10080939AB |FLEXIBLE PIPE FROM DCV TO REAR| 2
WITH DATB OPTION COVER
69 |Solis-75,90 CRDI H-TYPE |300083732A |FLEXIBLE PIPE FROM DCV TO QRC 2 YES MEMSYKDPRKJ

WITH DATB OPTION

H03075




10121A-1-1

10121A-1/3

SUCTION AND

Solis-75,90 CRDI MODELS

SUCTION AND DELIVERY LINE
WITH HYD. TRAILER BRAKE

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10082864AA |FLEXIBLE PIPE FROM HYD. 1
TRAILOR BRAKE VALVE TO QRC
1 |Solis-75,90 CRDI MODELS [10082864AB |FLEXIBLE PIPE FROM HYD. 1
TRAILOR BRAKE VALVE TO QRC
2 | Solis-75,90 CRDI MODELS |10082861AA |[FLEXIBLE PIPE FROM HYD. 1
TRAILOR BRAKE VALVE TO REAR
TANK
3 |[Solis-75,90 CRDI MODELS [10067904AA |PRIMARY PIPE ASSY FROM 1
HYDRAULIC TRAILER BRAKE VALVE
TO HYD LIFT
4 | Solis-75,90 CRDI MODELS |10067905AA [SECONDARY PIPE ASSY FROM 1
PUMP TO HYDRAULIC TRAILER
BRAKE VALVE
5 |Solis-75,90 CRDI MODELS |10082633AA |BANJO BOLT (M18X1.5) 5 INTERCHANGE
ABLE WITH
200000443A
(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 |Solis-75,90 CRDI MODELS |200000443A |BENJO BOLT M18X1.5 1S:3174-1974 5 (ROHS)
INTERCHANGE
ABLE WITH
10082633AA
6 |Solis-75,90 CRDI MODELS |10012573AA |BONDED SEAL FOR M18 10
7 |Solis-75,90 CRDI MODELS [10028332AA |BOSCH BRAKE VALVE 1
8 |Solis-75,90 CRDI MODELS [10002388AA |HEX BOLT M8*1.25*70 8-8 SA3NS 2
9 | Solis-75,90 CRDI MODELS |04030400008 |[SPRING WASHER B-8 2 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
9 |Solis-75,90 CRDI MODELS |20005517AA |SPRING WASHER B-8 TYPE A IS: 2 YES |(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
10 |Solis-75,90 CRDI MODELS |10083460AB |TRAILER BRAKE VALVE MTG BKT 1
11 | Solis-75,90 CRDI MODELS |20003987AA |HEX SCREW M16X2X38 GRADE 12.9 1
12 [Solis-75,90 CRDI MODELS [04030400016 |SPRING WASHER B-16 1 INTERCHANGE
ABLE WITH
20004994AB
(ROHS)
12 |[Solis-75,90 CRDI MODELS [20004994AB |SPRING WASHER B-16 TYPE-A IS: 1 YES |(ROHS)
3063-1972 INTERCHANGE
ABLE WITH
04030400016
13 |Solis-75,90 CRDI MODELS |20002021AA |HEX HEAD SCREW M12 x1.75x25 1
10.9 SA2JS
13 |Solis-75,90 CRDI MODELS |20002021AC |HEX. HEAD SCREW M12X1.75X25 1 YES |INTERCHANGE|BMGSF536902G
ABLE WITH
20005682AA
(ROHS)
13 [Solis-75,90 CRDI MODELS [20005682AA |HEX SCREW M12X1.75X25 -10.9 1 (ROHS)
SA4GS INTERCHANGE
ABLE WITH
20002021AC
14 [Solis-75,90 CRDI MODELS [04030400012 |SPRING WASHER B-12 1
15 |Solis-75,90 CRDI MODELS |10028327AB |FRONT PLATE 1 INTERCHANGE
ABLE WITH
10028327AC
(ROHS)
15 [Solis-75,90 CRDI MODELS [10028327AC |FRONT PLATE 1 (ROHS)
INTERCHANGE
ABLE WITH
10028327AB
16 [Solis-75,90 CRDI MODELS [20000104AA |SCREW M6X10 2 INTERCHANGE
ABLE WITH
20005573AA
(ROHS)
16 |Solis-75,90 CRDI MODELS |20005573AA |HEX SCREW M6X10 2 YES [(ROHS)
INTERCHANGE
ABLE WITH
20000104AA
17 |Solis-75,90 CRDI MODELS [04030400006 |SPRING WASHER B-6 2
18 [Solis-75,90 CRDI MODELS [10083457AB |ACTUATOR LUG 1
18 [Solis-75,90 CRDI MODELS [10083457AC |ACTUATOR LUG 1 INTERCHANGE
ABLE WITH
10083457AD

(ROHS)




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

18

Solis-75,90 CRDI MODELS

10083457AD

ACTUATOR LUG

(ROHS)
INTERCHANGE
ABLE WITH
10083457AC

19

Solis-75,90 CRDI MODELS

04010102025

SPLIT PIN DIA 2*25

20

Solis-75,90 CRDI MODELS

04030800010

M/CD WASHER DIA 10.5 *DIA 2172

21

Solis-75,90 CRDI MODELS

10083458AB

PLUNGER ACTUATOR LEVER

INTERCHANGE
ABLE WITH
10083458AC
(ROHS)

21

Solis-75,90 CRDI MODELS

10083458AC

PLUNGER ACTUATOR LEVER

(ROHS)
INTERCHANGE
ABLE WITH
10083458AB

22

Solis-75,90 CRDI MODELS

10084463AB

PIN FOR HYD. TRAILER BRAKE
VALVE

INTERCHANGE
ABLE WITH
10084463AD
(ROHS)

22

Solis-75,90 CRDI MODELS

10084463AD

PIN FOR ROD

(ROHS)
INTERCHANGE
ABLE WITH
10084463AB

23

Solis-75,90 CRDI MODELS

20003355AB

HEX NUT M8X1.25 -8 SA2JS

24

Solis-75,90 CRDI MODELS

10083455AA

ROD FOR HYDRAULIC TRAILER
BRAKE VALVE

24

Solis-75,90 CRDI MODELS

10083455AB

ROD FOR HYDRAULIC TRAILER
BRAKE VALVE

INTERCHANGE
ABLE WITH
10083455AC
(ROHS)

24

Solis-75,90 CRDI MODELS

10083455AC

ROD FOR HYDRAULIC TRAILER
BRAKE VALVE

(ROHS)
INTERCHANGE
ABLE WITH
10083455AB

25

Solis-75,90 CRDI MODELS

10004163AC

FRONT FORK

INTERCHANGE
ABLE WITH
10057668AA
(ROHS)

25

Solis-75,90 CRDI MODELS

10057668AA

FRONT FORK

(ROHS)
INTERCHANGE
ABLE WITH
10004163AC

26

Solis-75,90 CRDI MODELS

04010116020

SPLIT PIN DIA 1.6*20

INTERCHANGE
ABLE WITH
20005527AA
(ROHS)

26

Solis-75,90 CRDI MODELS

20005527AA

SPLIT PIN DIA 1.6*20

(ROHS)
INTERCHANGE
ABLE WITH
04010116020

27

Solis-75,90 CRDI MODELS

04030600006

PLAIN WASHER DIA 6.4 *DIA 18 *1.5

28

Solis-75,90 CRDI MODELS

10004164AB

PIN FOR ACCELRATOR

INTERCHANGE
ABLE WITH
300031308A
(ROHS)

28

Solis-75,90 CRDI MODELS

300031308A

PIN FOR ACCELRATOR

(ROHS)
INTERCHANGE
ABLE WITH
10004164AB

29

Solis-75,90 CRDI MODELS

10082630AA

ADOPTER 3/4 BSP

30

Solis-75,90 CRDI MODELS

10067660AA

BONDED SEAL FOR 3/4” BSP




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
31 |Solis-75,90 CRDI MODELS |10005409AB |[FEMALE QUICK CONNECT 1
COUPLING-1/2 BSP
32 |Solis-75,90 CRDI MODELS |10005405AA |MALE QUICK CONNECT COUPLER- 1 INTERCHANGE
1/2 BSP ABLE WITH
10039219AA
(ROHS)
32 |Solis-75,90 CRDI MODELS |10039219AA |MALE QUICK CONNECT COUPLER- 1 (ROHS)
1/2"BSP INTERCHANGE
ABLE WITH
10005405AA
33 |Solis-75,90 CRDI MODELS |10005406AA |FEMALE DUST PLUG RED SPAV 1 INTERCHANGE
13002 ABLE WITH
10005406AB
(ROHS)
33 |Solis-75,90 CRDI MODELS |10013166AA |FEMALE DUST PLUG 1 YES MEMBZKFU470
130S3
33 |Solis-75,90 CRDI MODELS |10005406AB [FEMALE DUST PLUG-RED SPAV. 1 YES [(ROHS)
13002 INTERCHANGE
ABLE WITH
10005406AA
34 |Solis-75,90 CRDI MODELS |10005407AA |MALE DUST PLUG YELLOW 1
SPAV13003
34 |Solis-75,90 CRDI MODELS |10013165AA |[MALE DUST PLUG 1 YES MEMBZKFU470
130S3
35 |Solis-75,90 CRDI MODELS |10067646AA |SECONDARY PIPE ASSY (PUMP TO 1
HYD. LIFT)
35 |Solis-75,90 CRDI MODELS |10067646AB |SECONDARY PIPE ASSY (PUMP TO 1
HYD. LIFT)
36 |Solis-75,90 CRDI MODELS |10084876AA |ORFS CONNECTION M22X1.5/1.3/16- 1
12 UN
37 |Solis-75,90 CRDI MODELS [10012575AA [BONDED SEAL FOR M22 1
42 |Solis-75,90 CRDI MODELS [10067649AB |[CLAMP ASSY-3 1
42 |Solis-75,90 CRDI MODELS |10067649AC |CLAMP ASSY-3 1 INTERCHANGE
ABLE WITH
10067649AD
(ROHS)
42 |Solis-75,90 CRDI MODELS |10067649AD |CLAMP ASSY-3 1 (ROHS)
INTERCHANGE
ABLE WITH
10067649AC
43 |Solis-75,90 CRDI MODELS |10018470AA |PRIMARY PIPE (PUMP TO HYD. LIFT) 1
44 |Solis-75,90 CRDI MODELS [10081850AA [SOCKET HEAD CAP SCREW M6X25 4
45 |Solis-75,90 CRDI MODELS |04030400006 [SPRING WASHER B-6 8
46 |Solis-75,90 CRDI MODELS |10025556AC [JIC FLANGE CONNECTION 020 1 INTERCHANGE
ABLE WITH
10025556AE
(ROHS)
46 |Solis-75,90 CRDI MODELS |10025556AE [JIC FLANGE CONNECTION 020 1 (ROHS)
INTERCHANGE
ABLE WITH
10025556AC
47 |Solis-75,90 CRDI MODELS |10012392AA [O-RING @20X@2.62 1
48 |Solis-75,90 CRDI MODELS |10012391AA |INLET MANIFOLD ASSY. 1
49 |Solis-75,90 CRDI MODELS |10007240AA |O-RING (DIA 23.5*1.78) 1
49 |Solis-75,90 CRDI MODELS |10000690AB [O-RING &24.7xJ1.9 1 YES |QTY IS1FOR |EZESF576067S3
ALL MECH

STG. MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
WHERE PART
CODE
10004708BC/10
012484AA, QTY
IS2 ALL
POWER STG.
MODELS
WHERE PART
CODE
10004708BC/10
012484AA
USED
50 |Solis-75,90 CRDI MODELS |10027642AC [O-RING J36.5X @2.6 1
51 |Solis-75,90 CRDI MODELS [04040708045 [HEX. HEAD BOLT M8 X 1.25-45 8-8 4 INTERCHANGE
SA2JS ABLE WITH
20005548AA
(ROHS)
51 |Solis-75,90 CRDI MODELS |20005548AA |HEX BOLT M8X1.25-45 -8.8 SA4GS 4 YES [(ROHS)
INTERCHANGE
ABLE WITH
04040708045
52 |Solis-75,90 CRDI MODELS |04030400008 [SPRING WASHER B-8 4 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
52 |Solis-75,90 CRDI MODELS [20005517AA |SPRING WASHER B-8 TYPE A IS: 4 YES [(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
53 |Solis-75,90 CRDI MODELS |04040706045 [HEX BOLT M6*45 4
54 |Solis-75,90 CRDI MODELS |10026685AA |BRACKET FOR FILTER 1
55 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 2
56 |Solis-75,90 CRDI MODELS |20003235AB |HEX SCREW M10X20 8-8 SA3NS 2
57 |Solis-75,90 CRDI MODELS [20001089AA [HEX. HEAD SCREW M8 X 1.25-25 8-8 2
SA2JS
58 |Solis-75,90 CRDI MODELS |04030800008 [M/CD WASHER DIA 8.4 *DIA 17*1.6 2
59 |Solis-75,90 CRDI MODELS |10027559BA |ADOPTER HYDRAULIC FILTER 1
60 |Solis-75,90 CRDI MODELS |10027339AB |HYDRAULIC FILTER 1
61 |Solis-75,90 CRDI MODELS |10029322AA |HOSE PIPE (SUCTION SIDE-60 LPM 1
FILTER)
61 |Solis-75,90 CRDI MODELS |10029322AB |HOSE PIPE (SUCTION SIDE-60 LPM 1 YES |[INTERCHANGE|GYDDU486150M
FILTER) ABLE WITH S
10029322AC
(ROHS)
61 |Solis-75,90 CRDI MODELS [10029322AC |HOSE PIPE (SUCTION SIDE-60 LPM 1 (ROHS)
FILTER) INTERCHANGE
ABLE WITH
10029322AB
62 |Solis-75,90 CRDI MODELS |10067648AB |CLAMP ASSY-2 1
63 |Solis-75,90 CRDI MODELS |10081597AA |VIBRATION DAMPER 3
64 |Solis-75,90 CRDI MODELS |10067647AA |CLAMP ASSY-1 2 INTERCHANGE
ABLE WITH
10067647AC
(ROHS)
64 |Solis-75,90 CRDI MODELS [10067647AC |CLAMP ASSY-1 2 (ROHS)

INTERCHANGE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
ABLE WITH
10067647AA

65 |Solis-75,90 CRDI MODELS |10081598AA |VIBRATION DAMPER 2 INTERCHANGE
ABLE WITH
10081598AB
(ROHS)

65 |Solis-75,90 CRDI MODELS |[10081598AB |VIBRATION DAMPER 2 YES [(ROHS)
INTERCHANGE
ABLE WITH
10081598AA

66 |Solis-75,90 CRDI MODELS |10024489AA |[STICKER FOR MAGNETIC STRAINER 1

67 |Solis-75,90 CRDI MODELS |10082862AA [SUCTION PIPE STRAINER TO HOSE 1

68 |Solis-75,90 CRDI MODELS |10023560AC |MAGNETIC STRAINER ASSY 1 INTERCHANGE
ABLE WITH
10023560AD
(ROHS)

68 |Solis-75,90 CRDI MODELS [10023560AD |MAGNETIC STRAINER ASSY 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
10023560AC

69 |Solis-75,90 CRDI MODELS |10023561AA |WIRE CLIP 1

70 |Solis-75,90 CRDI MODELS |04080400060 [HOSE WARM CLIP DIA 60 2 INTERCHANGE
ABLE WITH
20003661AB
(ROHS)

70 |Solis-75,90 CRDI MODELS |20003661AB |HOSE WORM CLAMP DIA 60 1S:4762 2 YES |(ROHS)
INTERCHANGE
ABLE WITH
04080400060

71 |Solis-75,90 CRDI MODELS [10007137AB |HOSE PIPE (FOR SUCTION 2

STRAINER)

72 |Solis-75,90 CRDI MODELS |04080400036 |[HOSE WARM CLIP DIA 36 4 INTERCHANGE
ABLE WITH
20003660AB
(ROHS)

72 |Solis-75,90 CRDI MODELS |20003660AB |[HOSE WARM CLIP DIA 36 4 YES |(ROHS)
INTERCHANGE
ABLE WITH
04080400036

73 |Solis-75,90 CRDI MODELS [20003244AB |HEX SCREW M12X1.75X35 8-8 1

SA3NS

74 |Solis-75,90 CRDI MODELS |04030400012 [SPRING WASHER B-12 1

75 |Solis-75,90 CRDI MODELS |10080937AA |O-RING 1 INTERCHANGE
ABLE WITH
10080937AE
(ROHS)

75 |Solis-75,90 CRDI MODELS |10080937AE |O-RING DIA 41.5 X DIA 1.8 1 (ROHS)
INTERCHANGE
ABLE WITH
10080937AA

76 |Solis-75,90 CRDI MODELS [10082863AA [SUCTION PIPE WITH FLANGE 1

(STRAINER TO DIFF HSG.)
76 |Solis-75,90 CRDI MODELS [10082863AB [SUCTION PIPE WITH FLANGE 1
(STRAINER TO DIFF HSG.)

77 |Solis-75,90 CRDI MODELS |20003355AB |[HEX NUT M8X1.25 -8 SA2JS 2

78 |Solis-75,90 CRDI MODELS |20002253AA [STRAINER-160 MICRONS 1 INTERCHANGE
ABLE WITH
20002253AC
(ROHS)

78 |Solis-75,90 CRDI MODELS |20002253AC [STRAINER-160 MICRONS 1 YES |(ROHS)

INTERCHANGE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
ABLE WITH
20002253AA
79 |Solis-75,90 CRDI MODELS |20002016AB |HEX. HEAD SCREW M10 X 1.5 X 30 1
8-8 SA2JS
80 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 1




10122A-1-1

10122A-1/2

SUCTION & DELIVERY  Solis-75,90 CRDI MODELS

SUCTION AND DELIVERY LINE

Sr. Model Item Code Description Qty | Int. Remarks Cut Off

1 | Solis-75,90 CRDI MODELS |10068246AA |SUCTION FILTER HOSE 1

2 | Solis-75,90 CRDI MODELS |10068107AA |Adaptor for Suction Filter 1

3 | Solis-75,90 CRDI MODELS |10068095AA |Suction Filter Mounting Bracket 1

4 | Solis-75,90 CRDI MODELS |20002016AB  [Hex. head screw M10 x 1.5 x 30 8-8 2

5 |[Solis-75,90 CRDI MODELS [04030400010 |SPRING WASHER B-10 2

6 |Solis-75,90 CRDI MODELS [10068091AA [Suction Filter Hose 1 INTERCHANGE
ABLE WITH
10068091AB
(ROHS)

6 |Solis-75,90 CRDI MODELS [10068091AB |SUCTION FILTER HOSE 1 (ROHS)
INTERCHANGE
ABLE WITH
10068091AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

04080400060

HOSE WARM CLIP DIA 60

INTERCHANGE
ABLE WITH
20003661AB
(ROHS)

Solis-75,90 CRDI MODELS

20003661AB

HOSE WORM CLAMP DIA 60 1S:4762

YES

(ROHS)
INTERCHANGE
ABLE WITH
04080400060

Solis-75,90 CRDI MODELS

10017868AA

Vibration Damper for 38 OD Tube

INTERCHANGE
ABLE WITH
10017868AB
(ROHS)

Solis-75,90 CRDI MODELS

10017868AB

VIBRATION DAMPER SUCTION PIPE
OD 38

(ROHS)
INTERCHANGE
ABLE WITH
10017868AA

Solis-75,90 CRDI MODELS

10068096AA

Clamp Assy (Suction Pipe)

10

Solis-75,90 CRDI MODELS

10068097AA

Clamp Assy (Suction And Delivery
Pipe)

INTERCHANGE
ABLE WITH
10068097AB
(ROHS)

10

Solis-75,90 CRDI MODELS

10068097AB

Clamp Assy (Suction And Delivery
Pipe)

(ROHS)
INTERCHANGE
ABLE WITH
10068097AA

11

Solis-75,90 CRDI MODELS

10068090AB

Suction Pipe from Strainer to Filter

12

Solis-75,90 CRDI MODELS

04080400070

HOSE WARM CLIP DIA 70

13

Solis-75,90 CRDI MODELS

20002253AB

SUCTION FILTER

13

Solis-75,90 CRDI MODELS

20002253AA

SUCTION FILTER

INTERCHANGE
ABLE WITH
20002253AC
(ROHS)

13

Solis-75,90 CRDI MODELS

20002253AC

STRAINER-160 MICRONS

YES

(ROHS)
INTERCHANGE
ABLE WITH
20002253AA

14

Solis-75,90 CRDI MODELS

10068089AA

Suction Strainer Hose

15

Solis-75,90 CRDI MODELS

04080400060

HOSE WARM CLIP DIA 60

INTERCHANGE
ABLE WITH
20003661AB
(ROHS)

15

Solis-75,90 CRDI MODELS

20003661AB

HOSE WORM CLAMP DIA 60 1S:4762

YES

(ROHS)
INTERCHANGE
ABLE WITH
04080400060

16

Solis-75,90 CRDI MODELS

10017868AA

Vibration Damper for 38 OD Tube

INTERCHANGE
ABLE WITH
10017868AB
(ROHS)

16

Solis-75,90 CRDI MODELS

10017868AB

VIBRATION DAMPER SUCTION PIPE
OD 38

(ROHS)
INTERCHANGE
ABLE WITH
10017868AA

17

Solis-75,90 CRDI MODELS

10068097AA

Clamp Assy (Suction And Delivery
Pipe)

INTERCHANGE
ABLE WITH
10068097AB
(ROHS)

17

Solis-75,90 CRDI MODELS

10068097AB

Clamp Assy (Suction And Delivery
Pipe)

(ROHS)
INTERCHANGE
ABLE WITH
10068097AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
18 [Solis-75,90 CRDI MODELS [10068088AB |Suction pipe from Differential to 1 INTERCHANGE
Strainer ABLE WITH
10068088AC
(ROHS)
18 [Solis-75,90 CRDI MODELS [10068088AC |Suction pipe from Differential to Strain 1 (ROHS)
INTERCHANGE
ABLE WITH
10068088AB
19 [Solis-75,90 CRDI MODELS [10068105AA |Adaptor for 4wD Clutch Port on 1
Transmission
20 [Solis-75,90 CRDI MODELS [10068106AA [Clamp Assy (4WD Clutch Line) 1 INTERCHANGE
ABLE WITH
10068106AB
(ROHS)
20 [Solis-75,90 CRDI MODELS [10068106AB |CLAMP ASSY (4WD CLUTCH LINE) 1 (ROHS)
INTERCHANGE
ABLE WITH
10068106AA
21 |Solis-75,90 CRDI MODELS |10068103AA |Pipe assy from Hydraulic Manifold to 1
4WD Clutch Port on Transmission
22 |Solis-75,90 CRDI MODELS [10017177AA  [Vibration Damper for 10 OD Tube 1 INTERCHANGE
ABLE WITH
10017177AB
(ROHS)
22 |Solis-75,90 CRDI MODELS |10017177AB |VIBRATION DAMPER FOR 10 OD 1 (ROHS)
PIPE INTERCHANGE
ABLE WITH
10017177AA
23 |Solis-75,90 CRDI MODELS |10012585AB |Bonded Seal for 3/8 BSP 1
24 |Solis-75,90 CRDI MODELS [10068102AA |Adaptor G3/8 Male x M14x1.5 Female 1
25 |Solis-75,90 CRDI MODELS [10068120AA [Clamp Assy (4WD Clutch Line) 1
26 [Solis-75,90 CRDI MODELS [10017177AA  |Vibration Damper for 10 OD Tube 1 INTERCHANGE
ABLE WITH
10017177AB
(ROHS)
26 |Solis-75,90 CRDI MODELS |10017177AB |VIBRATION DAMPER FOR 10 OD 1 (ROHS)
PIPE INTERCHANGE
ABLE WITH
10017177AA
27 |Solis-75,90 CRDI MODELS [04080100014 |BENJO BOLT M14*1.5*26 1 INTERCHANGE
ABLE WITH
20005003AB
(ROHS)
27 |Solis-75,90 CRDI MODELS |20005003AB |[BENJO BOLT M14*1.5*26 SA4GS 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
04080100014
28 |Solis-75,90 CRDI MODELS |10012571AA |Bonded Seal for M14 2
29 |Solis-75,90 CRDI MODELS |10081598AA |VIBRATION DAMPER 1 INTERCHANGE
ABLE WITH
10081598AB
(ROHS)
29 |Solis-75,90 CRDI MODELS |10081598AB |VIBRATION DAMPER 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
10081598AA
30 [Solis-75,90 CRDI MODELS [10017177AA |Vibration Damper for 10 OD Tube 1 INTERCHANGE
ABLE WITH
10017177AB
(ROHS)
30 |Solis-75,90 CRDI MODELS |10017177AB |VIBRATION DAMPER FOR 10 OD 1 (ROHS)
PIPE INTERCHANGE




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

ABLE WITH
10017177AA

31

Solis-75,90 CRDI MODELS

10068116AA

Clamp Assy for 5.5 cc port Delivery
Line

INTERCHANGE
ABLE WITH
10068116AB
(ROHS)

31

Solis-75,90 CRDI MODELS

10068116AB

CLAMP ASSY FOR 5.5 CC PORT

(ROHS)
INTERCHANGE
ABLE WITH
10068116AA

32

Solis-75,90 CRDI MODELS

10017177AA

Vibration Damper for 10 OD Tube

INTERCHANGE
ABLE WITH
10017177AB
(ROHS)

32

Solis-75,90 CRDI MODELS

10017177AB

VIBRATION DAMPER FOR 10 OD
PIPE

(ROHS)
INTERCHANGE
ABLE WITH
10017177AA

33

Solis-75,90 CRDI MODELS

20004832AA

Hex Bolt M8x75-8.8 - SA2JS

INTERCHANGE
ABLE WITH
20004832AB
(ROHS)

33

Solis-75,90 CRDI MODELS

20004832AB

HEX HEAD BOLT M8X1.25X75 8.8
SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
20004832AA

34

Solis-75,90 CRDI MODELS

04040708045

Hex. head Bolt M8 x 1.25-45 8-8 SA2

INTERCHANGE
ABLE WITH
20005548AA
(ROHS)

34

Solis-75,90 CRDI MODELS

20005548AA

HEX BOLT M8X1.25-45 -8.8 SA4GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
04040708045

35

Solis-75,90 CRDI MODELS

04030400008

SPRING WASHER B-8

INTERCHANGE
ABLE WITH
20005517AA
(ROHS)

35

Solis-75,90 CRDI MODELS

20005517AA

SPRING WASHER B-8 TYPE A IS:
3067-1972

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030400008

36

Solis-75,90 CRDI MODELS

04030800010

M/CD WASHER DIA 10.5 *DIA 2172

37

Solis-75,90 CRDI MODELS

10068092AB

Suction Pipe from Filter to Pump with
Pump

38

Solis-75,90 CRDI MODELS

10068112AA

Clamp Assy for 5.5 cc port Delivery
Line

INTERCHANGE
ABLE WITH
10068112AB
(ROHS)

38

Solis-75,90 CRDI MODELS

10068112AB

Clamp Assy for 5.5 cc port Delivery
Line

(ROHS)
INTERCHANGE
ABLE WITH
10068112AA

39

Solis-75,90 CRDI MODELS

10017177AA

Vibration Damper for 10 OD Tube

INTERCHANGE
ABLE WITH
10017177AB
(ROHS)

39

Solis-75,90 CRDI MODELS

10017177AB

VIBRATION DAMPER FOR 10 OD
PIPE

(ROHS)
INTERCHANGE
ABLE WITH
10017177AA

40

Solis-75,90 CRDI MODELS

10068117AA

Clamp Assy for 5.5 cc port Delivery
Line

INTERCHANGE
ABLE WITH
10068117AB
(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
40 [Solis-75,90 CRDI MODELS [10068117AB [CLAMP ASSY FOR 5.5 CC PORT 1 (ROHS)
DELIVERY LINE INTERCHANGE
ABLE WITH
10068117AA
41 [Solis-75,90 CRDI MODELS [10068109AA [PRIMARY PIPE FROM 5.5CC PORT 1
OF TANDEM PUMP TO 4WD CLUTCH
42 [Solis-75,90 CRDI MODELS [10012585AB |Bonded Seal for 3/8 BSP 1
43 |Solis-75,90 CRDI MODELS |10068102AA |Adaptor G3/8 Male x M14x1.5 Female 1
44 |Solis-75,90 CRDI MODELS [10012571AA |Bonded Seal for M14 2
45 [Solis-75,90 CRDI MODELS [04080100014 [BENJO BOLT M14*1.5*26 1 INTERCHANGE
ABLE WITH
20005003AB
(ROHS)
45 [Solis-75,90 CRDI MODELS [20005003AB [BENJO BOLT M14*1.5*26 SA4GS 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
04080100014
46 [Solis-75,90 CRDI MODELS [10068111AA |[SECONDARY PIPE FROM TANDEM 1
PUMP TO 4WD CLUTCH BLOCK
47 |Solis-75,90 CRDI MODELS [10068108AA |Adaptor 3/8 BSP x M16 x 1.5 with 24 2 INTERCHANGE
degree cone for 10 od Tube ABLE WITH
10068108AB
(ROHS)
47 |Solis-75,90 CRDI MODELS [10068108AB |ADAPTOR 3/8" X M16 X 1.5 WITH 24 2 (ROHS)
DEGREE INTERCHANGE
ABLE WITH
10068108AA
48 [Solis-75,90 CRDI MODELS [10012585AB |Bonded Seal for 3/8 BSP 2
49 |Solis-75,90 CRDI MODELS |10068113AA [Primary Pipe from Hydraulic Manifold 1 INTERCHANGE
T1 to tank Port on Transmission ABLE WITH
10068113AB
(ROHS)
49 |[Solis-75,90 CRDI MODELS [10068113AB |PRI PIPE HYD MANIFOLD 'T1' TO 1 (ROHS)
TANK PORT INTERCHANGE
ABLE WITH
10068113AA
50 [Solis-75,90 CRDI MODELS [04080100014 [BENJO BOLT M14*1.5*26 1 INTERCHANGE
ABLE WITH
20005003AB
(ROHS)
50 [Solis-75,90 CRDI MODELS [20005003AB [BENJO BOLT M14*1.5*26 SA4GS 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
04080100014
51 [Solis-75,90 CRDI MODELS [10012571AA |Bonded Seal for M14 2
52 |Solis-75,90 CRDI MODELS |10068123AA [Secondary Pipe from Hydraulic 1
Manifold T1 to tank Port on
Transmission
53 [Solis-75,90 CRDI MODELS [10082802AA |ADOPTER M14X1.5-G 1/2 A 1 INTERCHANGE
ABLE WITH
10082802AB
(ROHS)
53 |Solis-75,90 CRDI MODELS |10082802AB |Adoptor for flexible pipe from steering 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
10082802AA
54 |Solis-75,90 CRDI MODELS [10012579AB [BONDED SEAL FOR 1/2” BSP 1
55 |[Solis-75,90 CRDI MODELS [10053156BA [90° Adjustable Stud Elbow 10 x G1/4-A 1 INTERCHANGE
ABLE WITH

10053156CC




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)
55 |Solis-75,90 CRDI MODELS |10053156CC [90° ADJUSTABLE STUD ELBOW 10 X 1 (ROHS)
G1/4-A INTERCHANGE
ABLE WITH
10053156BA
56 |Solis-75,90 CRDI MODELS |10068104AA |Primary Pipe from Hydraulic Manifold 1
T to tank Port on Transmission
57 |Solis-75,90 CRDI MODELS [10017177AA [Vibration Damper for 10 OD Tube 2 INTERCHANGE
ABLE WITH
10017177AB
(ROHS)
57 |Solis-75,90 CRDI MODELS [10017177AB [VIBRATION DAMPER FOR 10 OD 2 (ROHS)
PIPE INTERCHANGE
ABLE WITH
10017177AA
58 |Solis-75,90 CRDI MODELS [10068110AA [Clamp Assy (Hydraulic Manifold Tank 1 INTERCHANGE
Line) ABLE WITH
10068110AB
(ROHS)
58 |Solis-75,90 CRDI MODELS [10068110AB [CLAMP ASSY (HYD MANIFOLD TANK 1 (ROHS)
LINE) INTERCHANGE
ABLE WITH
10068110AA
59 |Solis-75,90 CRDI MODELS |10012579AB |(BONDED SEAL FOR 1/2” BSP 1
60 |Solis-75,90 CRDI MODELS [10080935AA [ADOPTER M14X1.5-G 1/2 A 1
61 |Solis-75,90 CRDI MODELS |10012571AA [Bonded Seal for M14 2
62 |Solis-75,90 CRDI MODELS |04080100014 [BENJO BOLT M14*1.5*26 1 INTERCHANGE
ABLE WITH
20005003AB
(ROHS)
62 |Solis-75,90 CRDI MODELS |20005003AB [BENJO BOLT M14*1.5*26 SA4GS 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
04080100014
63 |Solis-75,90 CRDI MODELS |10068124AA [Secondary Pipe from Hydraulic 1
Manifold T to tank Port on
Transmission
64 |Solis-75,90 CRDI MODELS |10068093AA [Hydraulic Manifold for 4WD Actuation 1
65 |Solis-90 CRDI MODELS 10068094AA |Mounting Bracket (4WD Hydraulic 1
Block)
65 |Solis-90 CRDI MODELS 10068094AB |Mounting Bracket (4WD Hydraulic 1 INTERCHANGE
Block) ABLE WITH
10068094AC
(ROHS)
65 |Solis-90 CRDI MODELS 10068094AC |Mounting Bracket for 4WD Clutch 1 (ROHS)
Manifold INTERCHANGE
ABLE WITH
10068094AB
66 |Solis-75,90 CRDI MODELS |04030400008 [SPRING WASHER B-8 2 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
66 |Solis-75,90 CRDI MODELS |20005517AA [SPRING WASHER B-8 TYPE A IS: 2 YES [(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
67 |Solis-75,90 CRDI MODELS |20001096AA [Hex. head screw M8 x 1.25 x 20 8-8 2 INTERCHANGE
ABLE WITH
20005565AA

(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
67 |Solis-75,90 CRDI MODELS |20005565AA |HEX HEAD SCREW M8X1.25X20 -8.8 2 YES |(ROHS)
SA4GS INTERCHANGE
ABLE WITH

20001096AA




10130A-1-1 STEERING TANK ASSY. Solis-75,90 CRDI MODELS
10130A-1/2 STEERING TANK ASSY.
1

Sr. Model Item Code Description Qty | Int. Remarks Cut Off

1 |[Solis-75,90 CRDI MODELS [40000741AA |CCC STEERING UNIT 1

2 |Solis-75,90 CRDI MODELS [10012579AB |BONDED SEAL FOR 1/2 BSP 5

3 | Solis-75,90 CRDI MODELS [10022135AC |ADOPTER M18X1.5/G1/2A 1 INTERCHANGE
ABLE WITH
10039266AB
(ROHS)

3 |Solis-75,90 CRDI MODELS [10039266AB |ADOPTER M18X1.5/ & G-1/2" A 1 (ROHS)
INTERCHANGE
ABLE WITH
10022135AC

4 |Solis-75,90 CRDI MODELS [10082802AA |ADOPTOR FOR FLEXIBLE PIPE 1 INTERCHANGE

FROM STEERING ABLE WITH

10082802AB
(ROHS)

4 | Solis-75,90 CRDI MODELS |10082802AB |Adoptor for flexible pipe from steering 1 YES |(ROHS)
INTERCHANGE
ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10082802AA
5 |Solis-75,90 CRDI MODELS |10080935AB |ADOPTER M14X1.5-G 1/2 A 1
6 |Solis-75,90 CRDI MODELS |10080934AB |ADOPTER M16X1.5-G 1/2A 1 INTERCHANGE
ABLE WITH
300031578A
(ROHS)
6 |Solis-75,90 CRDI MODELS [300031578A |ADOPTER(M16X1.5/G1/2 A) 1 (ROHS)
INTERCHANGE
ABLE WITH
10080934AB
7 | Solis-75,90 CRDI MODELS |10083384AB |FLEXIBLE PIPE( STG. UNIT (T) TO 1
STG. TANK
8 |Solis-75,90 CRDI MODELS |10025103AA |ADOPTER ACCUMULATOR 1
8 |Solis-75,90 CRDI MODELS |10025103AB |ADOPTER ACCUMULATOR 1 YES |[INTERCHANGE|CZZDE465045S
ABLE WITH 3
10025103AC
(ROHS)
8 |[Solis-75,90 CRDI MODELS [10025103AC |ADOPTER ACCUMULATOR 1 (ROHS)
INTERCHANGE
ABLE WITH
10025103AB
9 |Solis-75,90 CRDI MODELS |10011516AF [METALLIC STEERING TANK ASSY. 1
9 |Solis-75,90 CRDI MODELS |10011516AH [METALLIC STEERING TANK ASSY. 1 YES |INTERCHANGE |GYDDT634650M
ABLE WITH S
10011516AK
(ROHS)
9 |[Solis-75,90 CRDI MODELS [10011516AK |STEERING TANK ASSY. 1 (ROHS)
INTERCHANGE
ABLE WITH
10011516AH
10 [Solis-75,90 CRDI MODELS [10011708AB |STICKER FOR STEERING TANK 1
10 [Solis-75,90 CRDI MODELS [10011708AD |STICKER FOR STEERING TANK 1 YES BYDDG706891M
S
11 [Solis-75,90 CRDI MODELS [10029751AA |O-RING @19.9X @2.7 1
12 [Solis-75,90 CRDI MODELS [10027447AA |DEXRON II-D STEERING OIL 2.5LTS Not Serviceable
part
13 |[Solis-75,90 CRDI MODELS [10017784AC |STG. TANK MTG. BKT. ASSY 1
14 |Solis-75,90 CRDI MODELS [20003235AB |HEX SCREW M10X20 8-8 SA3NS 2
15 [Solis-75,90 CRDI MODELS [04030400010 |SPRING WASHER B-10 2
16 |Solis-75,90 CRDI MODELS |10067976AA |CLAMP ASSY FOR SUCTION PIPE 1
(HOSE TO HOSE
16 |Solis-75,90 CRDI MODELS |10067976AB |CLAMP ASSY FOR SUCTION PIPE 1
(HOSE TO HOSE
17 |Solis-75,90 CRDI MODELS [20003355AB |HEX NUT M8X1.25 -8 SA2JS 3
18 [Solis-75,90 CRDI MODELS [04030400008 |SPRING WASHER B-8 3 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
18 [Solis-75,90 CRDI MODELS [20005517AA |SPRING WASHER B-8 TYPE A IS: 3 YES |(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
19 |Solis-75,90 CRDI MODELS |10026286AA |HOSE PIPE 1
19 [Solis-75,90 CRDI MODELS [10026286AC |HOSE PIPE(SUCTION) 1 YES |[INTERCHANGE|MZIDU477516S3

ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10026286AD
(ROHS)
19 [Solis-75,90 CRDI MODELS [10026286AD |HOSE PIPE(SUCTION) 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
10026286AC
20 |Solis-75,90 CRDI MODELS |10006904AA |VIBRATION DAMPER(SUCTION 1 INTERCHANGE
PIPE) ABLE WITH
10006904AB
(ROHS)
20 |Solis-75,90 CRDI MODELS |10006904AB |VIBRATION DAMPER(SUCTION 1 YES [(ROHS)
PIPE) INTERCHANGE
ABLE WITH
10006904AA
21 |Solis-75,90 CRDI MODELS |10017473AD [SUCTION PIPE FROM HOS TO HOSE 1
22 |Solis-75,90 CRDI MODELS |10008144AB [SUCTION PIPE HOSE 1
23 |Solis-75,90 CRDI MODELS |04080400036 |[HOSE WARM CLIP DIA 36 4 INTERCHANGE
ABLE WITH
20003660AB
(ROHS)
23 |Solis-75,90 CRDI MODELS |20003660AB |[HOSE WARM CLIP DIA 36 4 YES [(ROHS)
INTERCHANGE
ABLE WITH
04080400036
24 |Solis-75,90 CRDI MODELS |10081863AA |[SUCTION PIPE SMALL PUMP 1 INTERCHANGE
ABLE WITH
10081863AB
(ROHS)
24 |Solis-75,90 CRDI MODELS [10081863AB [SUCTION PIPE SMALL PUMP 1 (ROHS)
INTERCHANGE
ABLE WITH
10081863AA
25 |Solis-75,90 CRDI MODELS |04030400006 [SPRING WASHER B-6 8
26 |Solis-75,90 CRDI MODELS |04040706045 [HEX BOLT M6*45 4
27 |Solis-75,90 CRDI MODELS |10004708BC |DELIVERY ADOPTER 1
28 |Solis-75,90 CRDI MODELS |04040706040 [HEX BOLT M6*40 4 INTERCHANGE
ABLE WITH
300028444A
(ROHS)
28 |Solis-75,90 CRDI MODELS [300028444A [HEX BOLT M6*40 SA4GS 4 (ROHS)
INTERCHANGE
ABLE WITH
04040706040
29 |Solis-75,90 CRDI MODELS |10082320AA |PRIMARY PIPE (SMALL PUMP TO 1
STG. TANK)
30 |Solis-75,90 CRDI MODELS |10082677AA |HYDRAULIC HOSE(RIGID PIPE RO 1
LH STG CYL)
31 |Solis-75,90 CRDI MODELS |40000735AB |HYD.HOSE FROM RIGID PIPE TO R. 1
H STR. CYL
32 |Solis-75,90 CRDI MODELS [20002793AA |CC JIC L CONN. 9/16IN.TUBE DIA 10 2
33 |Solis-75,90 CRDI MODELS [10067930AA |[CLAMP PLATE FOR POWER STR 1
PIPE
34 |Solis-75,90 CRDI MODELS |10067508AA |CLAMP ASSY FOR P.S PIPE 1 INTERCHANGE
ABLE WITH
10067508AB
(ROHS)
34 |Solis-75,90 CRDI MODELS |10067508AB |CLAMP ASSY FOR P.S PIPE 1 (ROHS)
INTERCHANGE
ABLE WITH

10067508AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
35 |Solis-75,90 CRDI MODELS |10083035AC |FLEXIBLE PIPE ( STG UNITL TO STG 1
CYL LH
36 |Solis-75,90 CRDI MODELS |10083036AC |FLEXIBLE PIPE ( STG UNIT L TO STG 1
CYL LH

37 |Solis-75,90 CRDI MODELS |10004984AA |PLASTIC STRAP 2 INTERCHANGE
ABLE WITH
10004984AB
(ROHS)

37 |Solis-75,90 CRDI MODELS [10004984AB [PLASTIC STRAP 2 YES [(ROHS)
INTERCHANGE
ABLE WITH
10004984AA

38 |Solis-75,90 CRDI MODELS |04080100014 [BENJO BOLT M14*1.5*26 2 INTERCHANGE
ABLE WITH
20005003AB
(ROHS)

38 |Solis-75,90 CRDI MODELS |20005003AB |[BENJO BOLT M14*1.5*26 SA4GS 2 YES |(ROHS)
INTERCHANGE
ABLE WITH
04080100014

39 |Solis-75,90 CRDI MODELS [10012571AA |[BONDED SEAL FOR M14 4

40 |Solis-75,90 CRDI MODELS |10012572AA |BONDED SEAL FOR M16 2

41 |Solis-75,90 CRDI MODELS |04080700016 [BENJO BOLT M16*1.5*28 (4 HOLES) 1

42 |Solis-75,90 CRDI MODELS |10000690AB [O-RING ©@24.7XJ1.9 1

43 |Solis-75,90 CRDI MODELS |10083385AB |FLEXIBLE PIPE( STG. PUMP TO 1

STORAGE UNIT)




10131A-1-1 LIFT BODY ASSY Solis-75,90 CRDI MODELS
10131A-1/1 LIFT BODY ASSY.
6
3 2
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10082714AA |MITA HYDRAULIC LIFT FOR 1 INTERCHANGE
LIFTOMATIC ABLE WITH

10082714AB
(ROHS)

1 |Solis-75,90 CRDI MODELS [10082714AB |NEW MITA HYD. LIFT WITH 1

LIFTOMATIC

1 |Solis-75,90 CRDI MODELS |10082714AB |New Mita Hydraulic Lift with liftomatic 1 (ROHS)
INTERCHANGE
ABLE WITH
10082714AA

2 |Solis-75,90 CRDI MODELS [10080984AA |CLOSING FLANGA 1 CHILD PART
OF
10082714AA
AND
10082714AB

3 | Solis-75,90 CRDI MODELS |10080985AA |SCREW TE M8X35 UNI5737 ZN 8.8 3 CHILD PART

OF




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10080986AA

CONIC WASHER

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10080987AA

BUSH

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10080988AA

BUSH

CHILD PART
OF
10082714AA
AND
10082714AB
(NOT
SERVICEABLE
PART)

Solis-75,90 CRDI MODELS

10087427AA

MITA BUSH (900354)

YES

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10080989AA

BUSH

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10080990AA

SAFETY TYRE

CHILD PART
OF
10082714AA
AND
10082714AB

8A

Solis-75,90 CRDI MODELS

10012525AA

RELIEF VALVE (SAFETY TYRE)

NO

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10080991AA

PLUG 3/4G

CHILD PART
OF
10082714AA
AND
10082714AB

10

Solis-75,90 CRDI MODELS

10080992AA

BUSH DU D55/60X30

CHILD PART
OF
10082714AA
AND
10082714AB
(NOT
SERVICEABLE
PART)

10

Solis-75,90 CRDI MODELS

10087426AA

MITA BUSH (900331)

YES

CHILD PART
OF
10082714AA
AND
10082714AB

11

Solis-75,90 CRDI MODELS

10080993AA

BUSH

CHILD PART
OF
10082714AA
AND
10082714AB
(NOT
SERVICEABLE
PART)




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

11

Solis-75,90 CRDI MODELS

10087428AA

MITA BUSH (900470)

YES

CHILD PART
OF
10082714AA
AND
10082714AB

12

Solis-75,90 CRDI MODELS

10080994AA

PLUG 3/8G

CHILD PART
OF
10082714AA
AND
10082714AB

13

Solis-75,90 CRDI MODELS

10080995AA

WASHER

CHILD PART
OF
10082714AA
AND
10082714AB

14

Solis-75,90 CRDI MODELS

10080996AA

KIT GASKET

CHILD PART
OF
10082714AA
AND
10082714AB




10132A-1-1 CYLINDER ASSY Solis-75,90 CRDI MODELS

10132A-1-1 CYLINDER ASSY.

/
SN . \ /

2.0

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 [Solis-75,90 CRDI MODELS |10080997AA |CYLINDER M60 WITH PLUG 1 CHILD PART
OF
10082714AA
AND
10082714AB

2 |Solis-75,90 CRDI MODELS [10080998AA |SPECIAL WASHER 1 CHILD PART
OF
10082714AA
AND
10082714AB

3 | Solis-75,90 CRDI MODELS [10080999AA |OR D=15.54X2.62 SH90 1 CHILD PART
OF
10082714AA
AND
10082714AB

4 |Solis-75,90 CRDI MODELS [10081000AA |SCREW M14X35 UNI5739 8.8 8 CHILD PART
OF




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081001AA

BALSELE 95/110X12.5

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081002AA

PISTON

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081003AA

OR 6212 D=53.34X5.34 SH70/80

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081004AA

LINK

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081005AA

SCREW M10X20 UNI 5925

CHILD PART
OF
10082714AA
AND
10082714AB

10

Solis-75,90 CRDI MODELS

10081006AA

PIN

CHILD PART
OF
10082714AA
AND
10082714AB

11

Solis-75,90 CRDI MODELS

10081007AA

SEEGER E55 UNI7435

CHILD PART
OF
10082714AA
AND
10082714AB

12

Solis-75,90 CRDI MODELS

10081008AA

ARM BALL

CHILD PART
OF
10082714AA

12

Solis-75,90 CRDI MODELS

10081008AA

ARM BALL

CHILD PART
OF
10082714AB

AND WITH S.

NO 18

13

Solis-75,90 CRDI MODELS

10081009AA

RING

CHILD PART
OF
10082714AA
AND
10082714AB

14

Solis-75,90 CRDI MODELS

10081010AA

BALSELE 55/70X8-10

CHILD PART
OF
10082714AA
AND
10082714AB

15

Solis-75,90 CRDI MODELS

10081011AA

ELASTIC PIN

CHILD PART
OF
10082714AA
AND
10082714AB

16

Solis-75,90 CRDI MODELS

10081012AA

CRANK

CHILD PART
OF
10082714AA
AND

10082714AB




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

17

Solis-75,90 CRDI MODELS

10081013AA

SHAFT

CHILD PART
OF
10082714AA
AND
10082714AB

18

Solis-75,90 CRDI MODELS

10039838AA

CYLINDER ARM

CHILD PART
OF
10082714AB

19

Solis-75,90 CRDI MODELS

10039839AA

PIN

CHILD PART
OF
10082714AB

20

Solis-75,90 CRDI MODELS

10085420AA

NUT

CHILD PART
OF
10082714AB




10150A-1-1

10150A-1/1

SUPPORT TOP LINK

Solis-75,90 CRDI MODELS

SUPPORT TOP LINK ASSY

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081049AA

PLATE

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081050AA

LEVER

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081051AA

ROLLER

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081052AA

FLANGE

CHILD PART
OF




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081053AA

TIE ROD

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081054AA

SPRING COVER

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081055AA

SUPPORT

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081056AA

TIE ROD

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10080985AA

SCREW M8X35 DIN 931-BG

CHILD PART
OF
10082714AA
AND
10082714AB

10

Solis-75,90 CRDI MODELS

10081057AA

SCREW M12 X30 DIN 933-8G

CHILD PART
OF
10082714AA
AND
10082714AB

11

Solis-75,90 CRDI MODELS

10081058AA

NUT M10-8G

CHILD PART
OF
10082714AA
AND
10082714AB

12

Solis-75,90 CRDI MODELS

10081059AA

NUT M16X1.5 DIN982

CHILD PART
OF
10082714AA
AND
10082714AB

13

Solis-75,90 CRDI MODELS

10081060AA

LOCKERDS.1 DIN 7980

CHILD PART
OF
10082714AA
AND
10082714AB

14

Solis-75,90 CRDI MODELS

10081061AA

WASHER

CHILD PART
OF
10082714AA
AND
10082714AB

15

Solis-75,90 CRDI MODELS

10081018AA

SEEGER RS7

CHILD PART
OF
10082714AA
AND
10082714AB

16

Solis-75,90 CRDI MODELS

10081062AA

PIN

CHILD PART
OF
10082714AA
AND
10082714AB

17

Solis-75,90 CRDI MODELS

10081063AA

PIN

CHILD PART
OF
10082714AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

AND
10082714AB

18

Solis-75,90 CRDI MODELS

10081064AA

COVER

CHILD PART
OF
10082714AA
AND
10082714AB

19

Solis-75,90 CRDI MODELS

10081065AA

OR 3200 D50,47X2,62 SH 70/80

CHILD PART
OF
10082714AA
AND
10082714AB

20

Solis-75,90 CRDI MODELS

10081066AA

OR 4093 D23AX3,53 SH 70/80

CHILD PART
OF
10082714AA
AND
10082714AB

21

Solis-75,90 CRDI MODELS

10081023AA

PIN D6X35UNI 6873

CHILD PART
OF
10082714AA
AND
10082714AB

22

Solis-75,90 CRDI MODELS

10081067AA

ELASTIC FIN D6X35 DIN 1481

CHILD PART
OF
10082714AA
AND
10082714AB

23

Solis-75,90 CRDI MODELS

10081068AA

BUSH D8/20X19

CHILD PART
OF
10082714AA
AND
10082714AB

24

Solis-75,90 CRDI MODELS

10081069AA

FITTING 45 M10X1

CHILD PART
OF
10082714AA
AND
10082714AB

25

Solis-75,90 CRDI MODELS

10081070AA

FITTING M10X1

CHILD PART
OF
10082714AA
AND
10082714AB

26

Solis-75,90 CRDI MODELS

10081070AA

FITTING 90 M10X1-GREASE NIPPLE

CHILD PART
OF
10082714AA
AND
10082714AB

27

Solis-75,90 CRDI MODELS

10081071AA

WASHER 16,15/24,8X0,5-ZN

CHILD PART
OF
10082714AA
AND
10082714AB

28

Solis-75,90 CRDI MODELS

10081072AA

SCREW M8X8

CHILD PART
OF
10082714AA
AND
10082714AB

29

Solis-75,90 CRDI MODELS

10081073AA

PIN D25

CHILD PART
OF
10082714AA
AND
10082714AB

30

Solis-75,90 CRDI MODELS

10081074AA

SPLIT PINS

CHILD PART
OF
10082714AA
AND




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AB




10160A-1-1

10160A-1-1

CONTROL LEVER ASSY Solis-75,90 CRDI MODELS

CONTROL LEVER ASSY.

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081016AA

SEEGER E16 UNI7435

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081075AA

SHAFT

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081076AA

SCREW TE M8X55 U55 U5931 8G ZN

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081077AA

SCREW TCEI M8X30 U59318G ZN

CHILD PART
OF
10082714AA
AND
10082714AB




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081078AA

POSITION LEVER

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081060AA

LOCKERDS.1 DIN 7980

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081079AA

SCREW TCEI M6X40 U5931 8G ZN

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081080AA

SPRING

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081081AA

OR 3043 D=10.77X2.62 SH 70/80

CHILD PART
OF
10082714AA
AND
10082714AB

10

Solis-75,90 CRDI MODELS

10081082AA

DRAFT LEVER WITH SHAFT

CHILD PART
OF
10082714AA
AND
10082714AB

11

Solis-75,90 CRDI MODELS

10081083AA

FRICTION

CHILD PART
OF
10082714AA
AND
10082714AB

12

Solis-75,90 CRDI MODELS

10081084AA

CLUTCH HUB

CHILD PART
OF
10082714AA
AND
10082714AB

13

Solis-75,90 CRDI MODELS

10081085AA

OR D=20.24XT2.62 70/75SH

CHILD PART
OF
10082714AA
AND
10082714AB

14

Solis-75,90 CRDI MODELS

10081086AA

COMMAND SUPPORT

CHILD PART
OF
10082714AA
AND
10082714AB

15

Solis-75,90 CRDI MODELS

10081087AA

SCREW M8X25 UNI5931 8G

CHILD PART
OF
10082714AA
AND
10082714AB

16

Solis-75,90 CRDI MODELS

10081070AA

FITTING 90 M10X1-GREASE NIPPLE

CHILD PART
OF
10082714AA
AND
10082714AB




10170A-1-1

10170A-1/2

CONTROL VALVE ASSY Solis-75,90 CRDI MODELS

CONTROL VALVE ASSY.

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081088AA

DISTRIBUTOR

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS |-

NOT AVAIABLE AS SPARE PARTS

NOT AVAIABLE

AS SPARE
PARTS

Solis-75,90 CRDI MODELS

10081089AA

VALVE

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081090AA

VALVE WHIT RINGS

CHILD PART
OF
10082714AA
AND




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AB

Solis-75,90 CRDI MODELS

NOT AVAIABLE AS SPARE PARTS

NOT AVAIABLE

AS SPARE
PARTS

Solis-75,90 CRDI MODELS

10081091AA

PLUG M14X1

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081092AA

SPRING De=8,2 L=40

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081093AA

PARBAK 8-016 D15,6

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081094AA

PARBAK 8-018 D18,7

CHILD PART
OF
10082714AA
AND
10082714AB

10

Solis-75,90 CRDI MODELS

10081095AA

OR 15,6 TI,78 80/90SH

CHILD PART
OF
10082714AA
AND
10082714AB

11

Solis-75,90 CRDI MODELS

10081096AA

OR D18,77X1,78 70/80SH

CHILD PART
OF
10082714AA
AND
10082714AB

12

Solis-75,90 CRDI MODELS

10081097AA

SPACER

CHILD PART
OF
10082714AA
AND
10082714AB

13

Solis-75,90 CRDI MODELS

10081098AA

COVER

CHILD PART
OF
10082714AA
AND
10082714AB

14

Solis-75,90 CRDI MODELS

10081099AA

GASKET DIN 936

CHILD PART
OF
10082714AA
AND
10082714AB

15

Solis-75,90 CRDI MODELS

10081100AA

FRICTION INSERT

CHILD PART
OF
10082714AA
AND
10082714AB

16

Solis-75,90 CRDI MODELS

10081101AA

RING NUT MIOxI

CHILD PART
OF
10082714AA
AND
10082714AB

17

Solis-75,90 CRDI MODELS

10081102AA

PLATE

CHILD PART
OF
10082714AA
AND
10082714AB

18

Solis-75,90 CRDI MODELS

10081103AA

SPACER 6/12X5

CHILD PART




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

OF
10082714AA
AND
10082714AB

19

Solis-75,90 CRDI MODELS

10081104AA

VALVE

CHILD PART
OF
10082714AA
AND
10082714AB

20

Solis-75,90 CRDI MODELS

10081105AA

VALVE SEAT

CHILD PART
OF
10082714AA
AND
10082714AB

21

Solis-75,90 CRDI MODELS

10081106AA

VALVE

CHILD PART
OF
10082714AA
AND
10082714AB

22

Solis-75,90 CRDI MODELS

10081107AA

LEVER

CHILD PART
OF
10082714AA
AND
10082714AB

23

Solis-75,90 CRDI MODELS

10081108AA

VALVE SEAT

CHILD PART
OF
10082714AA
AND
10082714AB

24

Solis-75,90 CRDI MODELS

NOT AVAILABLE AS SPARE PARTS

NOT
AVAILABLE AS
SPARE PARTS

25

Solis-75,90 CRDI MODELS

10081109AA

SCREW M6X25 DIN 912-8G

CHILD PART
OF
10082714AA
AND
10082714AB

26

Solis-75,90 CRDI MODELS

10081110AA

SCREW M6X16 DIN 912-8G

CHILD PART
OF
10082714AA
AND
10082714AB

27

Solis-75,90 CRDI MODELS

10081111AA

DOWEL M8X20 DIN915 12.9

CHILD PART
OF
10082714AA
AND
10082714AB

28

Solis-75,90 CRDI MODELS

10081112AA

SCREW TCEI M6X16 DIN 912-8G

CHILD PART
OF
10082714AA
AND
10082714AB

29

Solis-75,90 CRDI MODELS

10081113AA

NUT M8 PAL DIN 7967

CHILD PART
OF
10082714AA
AND
10082714AB

30

Solis-75,90 CRDI MODELS

10081114AA

SPRING De=6,5 L=32

CHILD PART
OF
10082714AA
AND
10082714AB

31

Solis-75,90 CRDI MODELS

10081115AA

SPRING D11X30

CHILD PART
OF
10082714AA
AND




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AB

32

Solis-75,90 CRDI MODELS

10081116AA

SPRING

CHILD PART
OF
10082714AA
AND
10082714AB

33

Solis-75,90 CRDI MODELS

10081117AA

SPRING

CHILD PART
OF
10082714AA
AND
10082714AB

34

Solis-75,90 CRDI MODELS

10081118AA

PARBAK 8-225 D47,2

CHILD PART
OF
10082714AA
AND
10082714AB

35

Solis-75,90 CRDI MODELS

10081119AA

OR D47,63 73,53 80/90SH OR

CHILD PART
OF
10082714AA
AND
10082714AB

36

Solis-75,90 CRDI MODELS

10081120AA

3,53X58.74SH80-90 OR D12,37

CHILD PART
OF
10082714AA
AND
10082714AB

37

Solis-75,90 CRDI MODELS

10081121AA

TP,62 P80-90 OR D3,68X1,78

CHILD PART
OF
10082714AA
AND
10082714AB

38

Solis-75,90 CRDI MODELS

10081122AA

80/90SH OR D12,42 T1,78

CHILD PART
OF
10082714AA
AND
10082714AB

39

Solis-75,90 CRDI MODELS

10081123AA

80/90SH OR D=14X 1.78 SH 80/90

CHILD PART
OF
10082714AA
AND
10082714AB

40

Solis-75,90 CRDI MODELS

10081124AA

ELASTIC PIN 4X36 DIN 7343

CHILD PART
OF
10082714AA
AND
10082714AB

41

Solis-75,90 CRDI MODELS

10081125AA

BUSH M6/14

CHILD PART
OF
10082714AA
AND
10082714AB

42

Solis-75,90 CRDI MODELS

10081126AA

BUSH

CHILD PART
OF
10082714AA
AND
10082714AB

43

Solis-75,90 CRDI MODELS

10081127AA

BALL

CHILD PART
OF
10082714AA
AND
10082714AB

44

Solis-75,90 CRDI MODELS

10081128AA

BALL 9/32 D=7,144

CHILD PART
OF
10082714AA
AND




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AB

45

Solis-75,90 CRDI MODELS

10081129AA

PIN D4X19,8

CHILD PART
OF
10082714AA
AND
10082714AB

46

Solis-75,90 CRDI MODELS

10081130AA

LEVER

CHILD PART
OF
10082714AA
AND
10082714AB

47

Solis-75,90 CRDI MODELS

10081131AA

SPACER

CHILD PART
OF
10082714AA
AND
10082714AB

48

Solis-75,90 CRDI MODELS

10081132AA

GASKIT DIN 936

CHILD PART
OF
10082714AA
AND
10082714AB

49

Solis-75,90 CRDI MODELS

10081133AA

SEAL KIT CONTROL VALVEPOS=8-9-
10-11-14-34-35-36-37-38-39-40

CHILD PART
OF
10082714AA
AND
10082714AB




10180A-1-1

10180A-1-1

INTERNAL LEVERS

Solis-75,90 CRDI MODELS

INTERNAL LEVER ASSY.

30

g e 18\

16 5

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10081014AA

PIN

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081015AA

WASHER

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081016AA

SEEGER E16 UNI7435

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081017AA

SCREW M8x8 UNI 5929

CHILD PART
OF




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081018AA

SEEGER RS 7 DIN 6799

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081024AA

PLATE

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081020AA

LINK

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081021AA

PIN

CHILD PART
OF
10082714AA
AND
10082714AB

Solis-75,90 CRDI MODELS

10081022AA

CAM

CHILD PART
OF
10082714AA
AND
10082714AB

10

Solis-75,90 CRDI MODELS

10085417AA

SUPPORT PLATE

CHILD PART
OF
10082714AA
AND
10082714AB

11

Solis-75,90 CRDI MODELS

10081024AA

PLATE

CHILD PART
OF
10082714AA
AND
10082714AB

12

Solis-75,90 CRDI MODELS

10081025AA

ROLLER

CHILD PART
OF
10082714AA
AND
10082714AB

13

Solis-75,90 CRDI MODELS

10081026AA

WASHER D10.5 UNI6592

CHILD PART
OF
10082714AA
AND
10082714AB

14

Solis-75,90 CRDI MODELS

10081027AA

LINK

CHILD PART
OF
10082714AA
AND
10082714AB

15

Solis-75,90 CRDI MODELS

10081028AA

COMPENSATOR

CHILD PART
OF
10082714AA
AND
10082714AB

16

Solis-75,90 CRDI MODELS

10081029AA

LEVER

CHILD PART
OF
10082714AA
AND
10082714AB

17

Solis-75,90 CRDI MODELS

10081030AA

PIN

CHILD PART
OF
10082714AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

AND
10082714AB

18

Solis-75,90 CRDI MODELS

10081031AA

LINK

CHILD PART
OF
10082714AA
AND
10082714AB

19

Solis-75,90 CRDI MODELS

10081032AA

ROLLER

CHILD PART
OF
10082714AA
AND
10082714AB

20

Solis-75,90 CRDI MODELS

10081033AA

ROLLER

CHILD PART
OF
10082714AA
AND
10082714AB

21

Solis-75,90 CRDI MODELS

10081034AA

SEEGER RS 6 DIN 6799

CHILD PART
OF
10082714AA
AND
10082714AB

22

Solis-75,90 CRDI MODELS

10081035AA

LINK

CHILD PART
OF
10082714AA
AND
10082714AB

23

Solis-75,90 CRDI MODELS

10081036AA

SCREW M8x12 UNI 5925

CHILD PART
OF
10082714AA
AND
10082714AB

24

Solis-75,90 CRDI MODELS

10081037AA

POSITION CAM WITH PIN

CHILD PART
OF
10082714AA
AND
10082714AB

25

Solis-75,90 CRDI MODELS

10081038AA

END STROKE TIE ROD

CHILD PART
OF
10082714AA
AND
10082714AB

26

Solis-75,90 CRDI MODELS

10081039AA

SEEGER E15

CHILD PART
OF
10082714AA
AND
10082714AB

27

Solis-75,90 CRDI MODELS

10081040AA

SCREW

CHILD PART
OF
10082714AA
AND
10082714AB

28

Solis-75,90 CRDI MODELS

10081041AA

NUT

CHILD PART
OF
10082714AA
AND
10082714AB

29

Solis-75,90 CRDI MODELS

10081042AA

SPACER

CHILD PART
OF
10082714AA
AND
10082714AB

30

Solis-75,90 CRDI MODELS

10085418AA

LEVER ASSY

CHILD PART
OF
10082714AA
AND




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AB

31

Solis-75,90 CRDI MODELS

10085419AA

LEVER

CHILD PART
OF
10082714AA
AND
10082714AB

32

Solis-75,90 CRDI MODELS

10085420AA

NUT

CHILD PART
OF
10082714AA
AND
10082714AB

33

Solis-75,90 CRDI MODELS

10081046AA

PIN

CHILD PART
OF
10082714AA
AND
10082714AB

34

Solis-75,90 CRDI MODELS

10081047AA

SPRING

CHILD PART
OF
10082714AA
AND
10082714AB

35

Solis-75,90 CRDI MODELS

10081048AA

PIN SPRING

CHILD PART
OF
10082714AA
AND
10082714AB

36

Solis-75,90 CRDI MODELS

10085421AA

LEVER ASSY

CHILD PART
OF
10082714AA
AND
10082714AB

37

Solis-75,90 CRDI MODELS

10085422AA

SCREW TE M6x30 UNI5739 8.8

CHILD PART
OF
10082714AA
AND
10082714AB

38

Solis-75,90 CRDI MODELS

10085423AA

NUT

CHILD PART
OF
10082714AA
AND
10082714AB

39

Solis-75,90 CRDI MODELS

10085424AA

GROWER D=6.1 DIN 7980 ZN

CHILD PART
OF
10082714AA
AND
10082714AB

40

Solis-75,90 CRDI MODELS

10085425AA

WASHER

CHILD PART
OF
10082714AA
AND
10082714AB

41

Solis-75,90 CRDI MODELS

10085426AA

PIN

CHILD PART
OF
10082714AA
AND
10082714AB

42

Solis-75,90 CRDI MODELS

10085427AA

PIN

CHILD PART
OF
10082714AA
AND
10082714AB

43

Solis-75,90 CRDI MODELS

10085428AA

PIN

CHILD PART
OF
10082714AA
AND




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10082714AB

44

Solis-75,90 CRDI MODELS

10085429AA

PIN

CHILD PART
OF
10082714AA
AND
10082714AB

45

Solis-75,90 CRDI MODELS

10085430AA

SPRING

CHILD PART
OF
10082714AA
AND
10082714AB

46

Solis-75,90 CRDI MODELS

10081023AA

PIN D6x35 UNI 6873

CHILD PART
OF
10082714AA
AND
10082714AB

47

Solis-75,90 CRDI MODELS

10085431AA

PIN D4x24

CHILD PART
OF
10082714AA
AND
10082714AB

48

Solis-75,90 CRDI MODELS

10085432AA

SEAL O-RING

CHILD PART
OF
10082714AA
AND
10082714AB




10410A-1-1 REAR COVER ASSY. Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH FLOW
CONTROL VALVE
10410A-1/1 REAR COVER ASSY.
12
3
10

Sr. Model Iltem Code Description Qty Int. Remarks Cut Off

1 Solis-90 CRDI MODELS 10039826AA |M14x1 1SO - H MASCHIA 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

2 |Solis-90 CRDI MODELS 10088052AA |PREASSEMBLY BODY 087013 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

3 |Solis-90 CRDI MODELS 10039828AA |KIT RELIFE VALVE 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

4 | Solis-90 CRDI MODELS 10080984AA |CLOSING FLANGE 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 |Solis-90 CRDI MODELS 10080985AA |SCREW TE M8x35 UNI5737 ZN 8.8 3 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
6 |Solis-90 CRDI MODELS 10080995AA |COPPER WASHER 17/23x1.5 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
7 |Solis-90 CRDI MODELS 10051990AA |WASHER D=10/20x2,6 Zn 3 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
8 |Solis-90 CRDI MODELS 10080993AA |BUSH 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE (NOT
SERVICEABLE
PART)
8 |[Solis-90 CRDI MODELS 10087428AA |MITA BUSH (900470) 1 YES |CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
9 |Solis-90 CRDI MODELS 10080992AA |BUSH DU D55/60x30 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE (NOT
SERVICEABLE
PART)
9 |Solis-90 CRDI MODELS 10087426AA |MITA BUSH (900331) 1 YES |CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
10 [Solis-90 CRDI MODELS 10080988AA |BUSH 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE (NOT
SERVICEABLE
PART)
10 |Solis-90 CRDI MODELS 10087427AA |MITA BUSH (900354) 2 YES |CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
11 |[Solis-90 CRDI MODELS 10080987AA |BUSH 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
12 |[Solis-90 CRDI MODELS 10013993AA |BUSH 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
13 |Solis-90 CRDI MODELS 10080991AA |PLUG 3/4G 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
14 [Solis-90 CRDI MODELS 10080994AA |PLUG 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
15 [Solis-90 CRDI MODELS 10039829AA |HYDR. LIFT SEAL KIT 1 APN
WITH 10085928AA MITA 300163332A,
LIFT WITH FLOW CHILD PART
CONTROL VALVE OF

10040878AA




10420A-1-1

10420A-1/1

CYLINDER ASSY.

Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH FLOW

CONTROL VALVE

CYLINDER ASSY.

CONTROL VALVE

Pens
13)
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-90 CRDI MODELS 10081009AA |RING 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
2 | Solis-90 CRDI MODELS 10081004AA |LINK 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
3 | Solis-90 CRDI MODELS 10081012AA |CRANK 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE
4 | Solis-90 CRDI MODELS 10081013AA |SHAFT 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

5 |Solis-90 CRDI MODELS 10081006AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

6 |Solis-90 CRDI MODELS 10081002AA |PISTON 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

7 |Solis-90 CRDI MODELS 10039838AA |LIFT ARM 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

8 |Solis-90 CRDI MODELS 10039839AA |PIN 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

9 |Solis-90 CRDI MODELS 10080997AA |CYLINDER M60 WITH PLUG 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

10 |Solis-90 CRDI MODELS 10080998AA |SPECIAL WASHER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

11 |[Solis-90 CRDI MODELS 10080999AA |OR 114 d=15.54x2.62 Sh90 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

12 [Solis-90 CRDI MODELS 10081010AA |BASL 55/70x8-10 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

13 |Solis-90 CRDI MODELS 10081003AA |OR 6212 d=53.34x5.34 Sh70/80 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

14 [Solis-90 CRDI MODELS 10081005AA |SCREW M10X20 UNI 5925 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

15 [Solis-90 CRDI MODELS 10081007AA |SEEGER E55 UNI7435 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

16 |Solis-90 CRDI MODELS 10081000AA |SCREW M14X35 UNI5739 8.8 8 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

17 |[Solis-90 CRDI MODELS 10081011AA |ELASTIC PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

18 [Solis-90 CRDI MODELS 10081001AA |BALSELE 95/110x12.5 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

19 |Solis-90 CRDI MODELS 10085420AA |NUT M14x1.5 DIN9 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA

CONTROL VALVE




10430A-1-1

10430A-1/2

CONTROL VALVE

INTERNAL LEVER ASSY.

INTERNAL LEVER ASSY Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH FLOW

9 11 12 13 II".

16 5

CONTROL VALVE

w048
30

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-90 CRDI MODELS  [10081014AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

2 |Solis-90 CRDI MODELS  |10081015AA |WASHER 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

3 |Solis-90 CRDI MODELS 10081016AA |SEEGER E16 UNI7435 3 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

4 |Solis-90 CRDI MODELS  |10081017AA |SCREW M8x8 UNI 5929 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

5 |Solis-90 CRDI MODELS 10081018AA |SEEGER RS 7 DIN 6799 3 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

6 |Solis-90 CRDI MODELS 10081024AA |PLATE 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

7 |Solis-90 CRDI MODELS 10081020AA |LINK 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

8 |Solis-90 CRDI MODELS 10081021AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

9 |Solis-90 CRDI MODELS 10081022AA |CAM 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

10 |Solis-90 CRDI MODELS 10085417AA |SUPPORT PLATE 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

11 |[Solis-90 CRDI MODELS 10081024AA |PLATE 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

12 [Solis-90 CRDI MODELS 10081025AA |ROLLER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

13 |Solis-90 CRDI MODELS 10081026AA |WASHER D10.5 UNI6592 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

14 [Solis-90 CRDI MODELS 10081027AA |LINK 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

15 [Solis-90 CRDI MODELS 10081028AA |COMPENSATOR 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

16 |Solis-90 CRDI MODELS 10081029AA |LEVER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

17 |[Solis-90 CRDI MODELS 10081030AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

18 [Solis-90 CRDI MODELS 10081031AA |LINK 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

19 |Solis-90 CRDI MODELS 10081032AA |ROLLER 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

20 |Solis-90 CRDI MODELS 10081033AA |ROLLER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

21 |Solis-90 CRDI MODELS 10081034AA |SEEGER RS 6 DIN 6799 8 CHILD PART
WITH 10085928AA MITA OF




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
LIFT WITH FLOW 10085928AA
CONTROL VALVE

22 |Solis-90 CRDI MODELS 10081035AA |LINK 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

23 |Solis-90 CRDI MODELS 10081036AA |SCREW M8x12 UNI 5925 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

24 |Solis-90 CRDI MODELS 10081037AA |POSITION CAM WITH PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

25 |Solis-90 CRDI MODELS 10081038AA |END STROKE TIE ROD 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

26 |Solis-90 CRDI MODELS 10081039AA |SEEGERE15 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

27 |Solis-90 CRDI MODELS 10081040AA |SCREW 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

28 |Solis-90 CRDI MODELS 10081041AA |NUT 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

29 |Solis-90 CRDI MODELS 10081042AA |SPACER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

30 |Solis-90 CRDI MODELS 10085418AA |LEVER ASSY 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

31 |Solis-90 CRDI MODELS 10085419AA |LEVER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

32 |Solis-90 CRDI MODELS 10081045AA |NUT 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

33 |Solis-90 CRDI MODELS 10081046AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

34 |Solis-90 CRDI MODELS 10081047AA |SPRING 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

35 |Solis-90 CRDI MODELS 10081048AA |PIN SPRING 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

36 |Solis-90 CRDI MODELS 10085421AA |LEVER ASSY 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

37 |Solis-90 CRDI MODELS 10085422AA |SCREW TE M6x30 UNI5739 8.8 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA

CONTROL VALVE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

38 |Solis-90 CRDI MODELS 10085423AA |INUT 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

39 |Solis-90 CRDI MODELS 10085424AA |GROWER D=6.1 DIN 7980 ZN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

40 |Solis-90 CRDI MODELS 10085425AA |WASHER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

41 |Solis-90 CRDI MODELS 10085426AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

42 |Solis-90 CRDI MODELS 10085427AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

43 |Solis-90 CRDI MODELS 10085428AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

44 |Solis-90 CRDI MODELS 10085429AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

45 |Solis-90 CRDI MODELS 10085430AA |SPRING 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

46 |Solis-90 CRDI MODELS 10081023AA |PIN D6x35 UNI 6873 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

47 |Solis-90 CRDI MODELS 10085431AA |PIN D4x24 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

48 |Solis-90 CRDI MODELS 10085432AA |SEAL O-RING 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA

CONTROL VALVE




10440A-1-1

10440A-1-1

SUPPORT TOP LINK

Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH FLOW

CONTROL VALVE

SUPPORT TOP LINK ASSY

1013 Kgm

12—

-
r
e

] WHIT LOCTITE 243
= | ASSEMBLY WHIT L it

CONTROL VALVE

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-90 CRDI MODELS 10081049AA |PLATE 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

2 | Solis-90 CRDI MODELS 10081050AA |LEVER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

3 | Solis-90 CRDI MODELS 10081051AA |ROLLER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

4 | Solis-90 CRDI MODELS 10081052AA |FLANGE 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

5 |Solis-90 CRDI MODELS 10081053AA |TIE ROD 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

6 |Solis-90 CRDI MODELS 10081054AA |SPRING COVER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

7 |Solis-90 CRDI MODELS 10081055AA |SUPPORT 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

8 |Solis-90 CRDI MODELS 10081056AA |TIE ROD 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

9 |Solis-90 CRDI MODELS 10080985AA |SCREW M8X35 D1N 931-BG 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

10 |Solis-90 CRDI MODELS 10081057AA |SCREW M12x30 D1N933-8G 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

11 |[Solis-90 CRDI MODELS 10081058AA |NUT M10 - 8G 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

12 [Solis-90 CRDI MODELS 10081059AA |NUT M16x1,5 DIN982 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

13 |Solis-90 CRDI MODELS 10081060AA |LOCKWASHER D8.1 DIN7980 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

14 [Solis-90 CRDI MODELS 10081061AA |WASHER 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

15 [Solis-90 CRDI MODELS 10081018AA |SEEGER RS7 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

16 |Solis-90 CRDI MODELS 10081062AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

17 |[Solis-90 CRDI MODELS 10081063AA |PIN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

18 [Solis-90 CRDI MODELS 10081064AA |SPRING 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

19 |Solis-90 CRDI MODELS 10081065AA |OR 3200 D50,47x2,62 Sh70/80 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

20 |Solis-90 CRDI MODELS 10081066AA |OR 4093 D23Ax3,53 Sh70/80 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

21 |Solis-90 CRDI MODELS 10081023AA |PIN D6X35UNI 6873 2 CHILD PART
WITH 10085928AA MITA OF




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
LIFT WITH FLOW 10085928AA
CONTROL VALVE

22 |Solis-90 CRDI MODELS 10081067AA |PIN D6x25 UNI 6873 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

23 |Solis-90 CRDI MODELS 10081068AA |BUSH D8/20x19 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

24 |Solis-90 CRDI MODELS 10081069AA |FITTING 45°M10x1 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

25 |Solis-90 CRDI MODELS 10081070AA |FITTING M10x1 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

26 |Solis-90 CRDI MODELS 10081070AA |FITTING 90° M10x1-GREASE NIPPLE 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

27 |Solis-90 CRDI MODELS 10081071AA |WASHER 16,15/24,8x0,5-Zn 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

28 |Solis-90 CRDI MODELS 10081072AA |SCREW M8x8 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

29 |Solis-90 CRDI MODELS 10081073AA |PIN D25 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

30 |Solis-90 CRDI MODELS 10081074AA |SPLIT PINS 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA

CONTROL VALVE




10450A-1-1

10450A-1/1

CONTROL VALVE

CONTROL LEVER ASSY.

CONTROL LEVER ASSY. Solis-90 CRDI MODELS WITH 10085928AA MITA LIFT WITH FLOW

1

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-90 CRDI MODELS 10081016AA |SEEGER E16 UNI7435 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

2 | Solis-90 CRDI MODELS 10081075AA |SHAFT 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

3 |Solis-90 CRDI MODELS 10081076AA |SCREW TE M8x55 U5931 8G ZN 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

4 | Solis-90 CRDI MODELS 10081077AA |SCREW TCEI M8x30 U5931 8G ZN 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

5 |Solis-90 CRDI MODELS 10081078AA |POSITION LEVER 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

6 |Solis-90 CRDI MODELS 10081060AA |LOCK WASHER D8.1 DIN 7980 4 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

7 |Solis-90 CRDI MODELS 10081079AA |SCREW TCEI M6x40 U5931 8G ZN 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

8 |Solis-90 CRDI MODELS 10081080AA |SPRING 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

9 |Solis-90 CRDI MODELS 10081081AA |OR 3043 d=10.77x2.62 Sh70/80 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

10 |Solis-90 CRDI MODELS 10081082AA |DRAFT LEVER WITH SHAFT 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

11 |[Solis-90 CRDI MODELS 10081083AA |FRICTION 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

12 [Solis-90 CRDI MODELS 10081084AA |CLUTCH HUB 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

13 |Solis-90 CRDI MODELS 10081085AA |OR D=20.24xT2.62 70/75Sh 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

14 [Solis-90 CRDI MODELS 10081086AA |COMMAND SUPPORT 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

15 [Solis-90 CRDI MODELS 10081087AA |SCREW M8x25 UNI5931 8G 2 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA
CONTROL VALVE

16 |Solis-90 CRDI MODELS 10081070AA |GREASE NIPPLE M10x1 1 CHILD PART
WITH 10085928AA MITA OF
LIFT WITH FLOW 10085928AA

CONTROL VALVE




11110A-1-1

11110A-1/2

DCV OPERATING

DCV OPERATING SECTOR ASSEMBLY

Solis-75,90 CRDI MODELS

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

20003749AC

SLOTTED FLAT HD TAPPING
SCREW ST 6.3, L1

Solis-75,90 CRDI MODELS

10080283AD

KNOB POSITION LEVER

INTERCHANGE
ABLE WITH
10080283AE
(ROHS)

Solis-75,90 CRDI MODELS

10080283AE

KNOB POSITION LEVER

YES

(ROHS)
INTERCHANGE
ABLE WITH
10080283AD

Solis-75,90 CRDI MODELS

10080284AD

KNOB DRAFT LEVER

INTERCHANGE
ABLE WITH
10080284AE
(ROHS)

Solis-75,90 CRDI MODELS

10080284AE

KNOB DRAFT LEVER

YES

(ROHS)
INTERCHANGE
ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10080284AD
4 [Solis-75,90 CRDI MODELS [10080054AG |POSITION LEVER ASSY 1 INTERCHANGE
ABLE WITH
10080054AH
(ROHS)
4 |Solis-75,90 CRDI MODELS [10080054AH |POSITION LEVER ASSY 1 (ROHS)
INTERCHANGE
ABLE WITH
10080054AG
5 |Solis-75,90 CRDI MODELS |10080055AD |DRAFT LEVER ASSY 1 INTERCHANGE
ABLE WITH
10080055AE
(ROHS)
5 |Solis-75,90 CRDI MODELS |10080055AE |DRAFT LEVER ASSY 1 (ROHS)
INTERCHANGE
ABLE WITH
10080055AD
6 |Solis-75,90 CRDI MODELS [10080052AA |SPACER FOR LEVERS 2
7 | Solis-75,90 CRDI MODELS |10080056AA |SIDE COVER 1
7 |Solis-75,90 CRDI W/O 10069433AC [SIDE COVER FOR OPERATING 1 YES |INTERCHANGE[FOR NON EU
CABIN MODELS SECTOR ABLE WITH MODEL-
300030087A 1671 DGB00402W
(ROHS) , FOR EU
MODELS-
MEMRYKDHRLJ
H03640
7 | Solis-75,90 CRDI W/O 300030087A |SIDE COVER FOR OPERATING 1 (ROHS)
CABIN MODELS SECTOR INTERCHANGE
ABLE WITH
10069433AC
8 |Solis-75,90 CRDI MODELS |10080287AA |SLIDING KNOB ASSY 1
9 |[Solis-75,90 CRDI MODELS [10080290AA |KNOB ASSY 1
10 |[Solis-75,90 CRDI MODELS [20003517AA |HEX FLANGE SCREW M6*1*16-8.8 3
SA2JS
11 |Solis-75,90 CRDI MODELS [10080053AB |SUPPORT SIDE COVER 1 INTERCHANGE
ABLE WITH
10086474AB
(ROHS)
11 |Solis-75,90 CRDI MODELS [10086474AB |SUPPORT SIDE COVER 1 (ROHS)
INTERCHANGE
ABLE WITH
10080053AB
12 |Solis-75,90 CRDI MODELS |20003519AA |HEX FLANGE SCREW M8*1.25*20-8.8 2 INTERCHANGE
SA2JS ABLE WITH
20005539AA
(ROHS)
12 |Solis-75,90 CRDI MODELS [20005539AA |HEX FLANGE SCREW M8*1.25*20 2 YES |(ROHS)
-8.8 SA4GS INTERCHANGE
ABLE WITH
20003519AA
13 [Solis-75,90 CRDI MODELS [04040106030 |HEX SCREW M6*30 1 INTERCHANGE
ABLE WITH
20005568AA
(ROHS)
13 |Solis-75,90 CRDI MODELS |20005568AA |HEX SCREW M6X30 SA4GS 1 (ROHS)
INTERCHANGE
ABLE WITH
04040106030
14 |Solis-75,90 CRDI MODELS [04030800006 |M/CD WASHER DIA 6.4 *DIA 12.4*1.6| 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
15 [Solis-75,90 CRDI MODELS [10067969AA |LINK ACTUATOR POSITION 1
16 [Solis-75,90 CRDI MODELS [10067968AA |LINK ACTUATOR DRAFT 1
17 [Solis-75,90 CRDI MODELS [10080304AB |PIN 4 INTERCHANGE
ABLE WITH
10080304AD
(ROHS)
17 | Solis-75,90 CRDI MODELS |10080304AD |PIN 4 YES [(ROHS)
INTERCHANGE
ABLE WITH
10080304AB
18 [Solis-75,90 CRDI MODELS [10080295AC |ACTUATOR FORK 4 INTERCHANGE
ABLE WITH
300030092A
(ROHS)
18 [Solis-75,90 CRDI MODELS [300030092A |ACTUATOR FORK 4 (ROHS)
INTERCHANGE
ABLE WITH
10080295AC
19 |Solis-75,90 CRDI MODELS |20003790AA |EXTERNAL CIPCLIP TYPE -E DIA 6 X 4
0.7 IS
20 |Solis-75,90 CRDI MODELS |20003355AB |HEX NUT M8X1.25 -8 SA2JS 6
21 |Solis-75,90 CRDI MODELS |10080939AB |FLEXIBLE PIPE FROM DCV TO REAR 4 INTERCHANGE
COVER ABLE WITH
10080939AC
(ROHS)
21 |Solis-75,90 CRDI MODELS |10080939AC |FLEXIBLE PIPE FROM DCV TO REAR 4 YES |(ROHS)
COVER INTERCHANGE
ABLE WITH
10080939AB
22 |Solis-75,90 CRDI MODELS [20003896AA [BENJO BOLT M18X1.5 4 INTERCHANGE
ABLE WITH
20005628AA
(ROHS)
22 |Solis-75,90 CRDI MODELS |20005628AA |BENJO BOLT M18X1.5 1S:3174-1974 4 (ROHS)
INTERCHANGE
ABLE WITH
20003896AA
23 |Solis-75,90 CRDI MODELS |10081875AB |ADOPTER 18X1.5 2 INTERCHANGE
ABLE WITH
10081875AD
(ROHS)
23 |Solis-75,90 CRDI MODELS [10081875AD |ADOPTER 18X1.5 2 (ROHS)
INTERCHANGE
ABLE WITH
10081875AB
24 |Solis-75,90 CRDI MODELS |10012573AA |BONDED SEAL FOR M18 10
25 |Solis-75,90 CRDI MODELS |04040308025 [HEX SOCKET HEAD CAP SCREW 2
M8*25
26 |Solis-75,90 CRDI MODELS |20004067AA |HEX BOLT M10*1.5*120 8-8 SA3NS 3
26 |Solis-75,90 CRDI MODELS [20004067AB [HEX BOLT M10*1.5*120 8-8 SASNS 3 YES BYDDF536462M
S
27 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 3
28 |Solis-75,90 CRDI MODELS |10080716AB |[HYDRAULIC VALVE(DCV) 2 INTERCHANGE
ABLE WITH
10080716AC
(ROHS)
28 |Solis-75,90 CRDI MODELS |10080716AC [Hydraulic Valve 2 (ROHS)
INTERCHANGE
ABLE WITH

10080716AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
28A | Solis-75,90 CRDI MODELS [300112662A |GASKETS KIT_950023024 1 WITH
10080716AB
29 |Solis-75,90 CRDI MODELS |10067985AA |DCV LEVER OUTER CRDI 1
29 |Solis-75,90 CRDI MODELS |10067985AC |[DCV LEVER OUTER CRDI 1
30 |Solis-75,90 CRDI MODELS |10067984AA |DCV LEVER INNER CRDI 1
30 |Solis-75,90 CRDI MODELS [10067984AC |DCV LEVER INNER CRDI 1
31 |Solis-75,90 CRDI MODELS |10004846AB |KNOB (ROD ASSY / HANDLER PTO) 2 INTERCHANGE
ABLE WITH
300007872A
(ROHS)
31 |Solis-75,90 CRDI MODELS |300007872A |KNOB (ROD ASSY / HANDLER PTO) 2 YES |(ROHS)
INTERCHANGE
ABLE WITH
10004846AB
32 |Solis-75,90 CRDI MODELS |10081768AD |BACK PLATE ASSY. 1
32 |Solis-75,90 CRDI MODELS [10081768AF [BACK PLATE ASSY. 1
32 |Solis-75,90 CRDI MODELS |10081768AG |BACK PLATE ASSY. 1 YES [INTERCHANGE|HZLDU503877W
ABLE WITH
10081768AH
(ROHS)
32 |Solis-75,90 CRDI MODELS |10081768AH |BACK PLATE ASSY. 1 (ROHS)
INTERCHANGE
ABLE WITH
10081768AG
33 |Solis-75,90 CRDI MODELS |20003235AB |HEX SCREW M10X20 8-8 SA3NS 2
34 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 2
35 |Solis-75,90 CRDI MODELS |10005409AB [FEMALE QUICK CONNECT 4
COUPLING-1/2 BSP
36 |Solis-75,90 CRDI MODELS |10005406AA |FEMALE DUST PLUG-RED SPAV. 4 INTERCHANGE
13002 ABLE WITH
10005406AB
(ROHS)
36 |Solis-75,90 CRDI MODELS |10005406AB |[FEMALE DUST PLUG-RED SPAV. 4 YES |(ROHS)
13002 INTERCHANGE
ABLE WITH
10005406AA
37 |Solis-75,90 CRDI MODELS [10005407AA |MALE DUST PLUG-YELLOW SPAV. 4
13003
38 |Solis-75,90 CRDI MODELS |10005405AA |MALE QUICK CONNECT COUPLER- 4 INTERCHANGE
1/2 BSP ABLE WITH
10039219AA
(ROHS)
38 |Solis-75,90 CRDI MODELS |10039219AA |MALE QUICK CONNECT COUPLER- 4 (ROHS)
1/2"BSP INTERCHANGE
ABLE WITH
10005405AA
39 |Solis-75,90 CRDI MODELS |04031021026 |SEALING WASHER DIA 21* DIA26*1.5 4
39 |Solis-75,90 CRDI MODELS [10012579AB |BONDED SEAL FOR 2 BSP 4 YES |BONDED SEAL IMEMGZHFU490
IMPLEMENT 19483
40 |Solis-75,90 CRDI MODELS |[10082809AA |FLEXIBLE SHAFT 2
41 |Solis-75,90 CRDI MODELS |10081659AA |CONNECTING BUSH 2 INTERCHANGE
ABLE WITH
10081659AC
(ROHS)
41 |Solis-75,90 CRDI MODELS |10081659AC [CONNECTING BUSH 2 YES [(ROHS)

INTERCHANGE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
ABLE WITH
10081659AA

45 |Solis-75,90 CRDI MODELS |10081652AA |KNOB ASSY. 2

46 |Solis-75,90 CRDI MODELS |20004047AA |SOCKET SET SCREW,ISO 4026- 2

M4X8L
47 |Solis-75,90 CRDI MODELS [20004048AA [SPRING PIN ISO 8752,DIA 4X18L 4
48 |Solis-75,90 CRDI MODELS [10080035AB |STICKER DRAFT & POSITION 1 INTERCHANGE
INDICATION ABLE WITH
10080035AC
(ROHS)
48 |Solis-75,90 CRDI MODELS |10080035AC |STICKER DRAFT & POSITION 1 (ROHS)
INDICATION INTERCHANGE
ABLE WITH

10080035AB




12110A-1-1

12110A-1/M1

CAB MTG. ASSEMBLY  Solis-75,90 CRDI MODELS

CAB MTG. ASSEMBLY

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10082987AJ

STRUCTURE ASSEMBLY 90 HP
(WITHOUT CABIN WITH PAINT)

Solis-75,90 CRDI MODELS

10082986AJ

STRUCTURE ASSEMBLY 90 HP
(WITHOUT CABIN WITHOUT PAINT)

Solis-75,90 CRDI MODELS

10082987BF

STRUCTURE ASSEMBLY 90 HP
(WITHOUT CABIN WITH PAINT)

Solis-75,90 CRDI MODELS

10082986BF

STRUCTURE ASSEMBLY 90 HP
(WITHOUT CABIN WITHOUT PAINT)

Solis-75,90 CRDI MODELS

10082039AF

MTG BKT ASSY RH

Solis-75,90 CRDI MODELS

10082053AE

MTG BKT ASSY LH

Solis-90 CRDI MODELS

10082053AF

MTG BKT ASSY LH

YES

BOM900ID5741
LDBGUDET2

MEMSYFDNRKJ
H02916

Solis-75,90 CRDI MODELS

10022328AA

HEX BOLT (FENDER MTG.)

INTERCHANGE
ABLE WITH
300031520A




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

(ROHS)

Solis-75,90 CRDI MODELS

300031520A

HEX BOLT FOR FENDER MTG.

YES

(ROHS)
INTERCHANGE
ABLE WITH
10022328AA

Solis-75,90 CRDI MODELS

10008029AA

WASHER(REAR AXLE)

INTERCHANGE
ABLE WITH
10039371AA
(ROHS)

Solis-75,90 CRDI MODELS

10039371AA

WASHER FOR EPA

YES

(ROHS)
INTERCHANGE
ABLE WITH
10008029AA

Solis-75,90 CRDI MODELS

20003362AC

HEX NUT M16X2 -8 SA2JS

INTERCHANGE
ABLE WITH
20003719AB
(ROHS)

Solis-75,90 CRDI MODELS

20003719AB

HEX NUT M16X2 - 8, SA2GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
20003362AC

Solis-75,90 CRDI MODELS

10082106AB

FRONT MTG. DAMPER ASSY

Solis-75,90 CRDI MODELS

20002021AA

HEX HEAD SCREW M12 x1.75x25
10.9 SA2JS

Solis-75,90 CRDI MODELS

20002021AC

HEX. HEAD SCREW M12X1.75X25

YES

INTERCHANGE
ABLE WITH
20005682AA
(ROHS)

BMGSF536902G

Solis-75,90 CRDI MODELS

20005682AA

HEX SCREW M12X1.75X25 -10.9
SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
20002021AC

Solis-75,90 CRDI MODELS

04030400012

SPRING WASHER B-12

10

Solis-75,90 CRDI MODELS

10083025AA

FRONT BOLT CAP PLATE

11

Solis-75,90 CRDI MODELS

04040106020

HEX SCREW M6*1*20

INTERCHANGE
ABLE WITH
20005569AA
(ROHS)

11

Solis-75,90 CRDI MODELS

20005569AA

HEX SCREW M6X1X20

(ROHS)
INTERCHANGE
ABLE WITH
04040106020

12

Solis-75,90 CRDI MODELS

04030400006

SPRING WASHER B-6

13

Solis-75,90 CRDI MODELS

10080871AB

RUBBER PAD

INTERCHANGE
ABLE WITH
10086516AA
(ROHS)

13

Solis-75,90 CRDI MODELS

10086516AA

RUBBER PAD

(ROHS)
INTERCHANGE
ABLE WITH
10080871AB

14

Solis-75,90 CRDI MODELS

20004504AA

HEX BOLT M20X2.5X150 10.9 SA2JS

INTERCHANGE
ABLE WITH
20004504AB
(ROHS)

14

Solis-75,90 CRDI MODELS

20004504AB

HEX BOLT M20X2.5X150

(ROHS)
INTERCHANGE
ABLE WITH
20004504AA

15

Solis-75,90 CRDI MODELS

20003361AA

HEX NUT M14X2 -8 SA3NS







13110A-1-1 ROPS STRUCTURE Solis-75,90 CRDI MODELS
13110A-1/1 ROPS STRUCTURE ASSEMBLY
=
=
2
() ﬂ ( \ @’
".39 / & \ I.)%. ﬁ E_:_:_:_'_:@
3 Y =0
- Y, \
e h
6" \ \ A
A 9 =
Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10082981AC |ROPS UPPER STRUCTURE ASSY 1
1 |Solis-75,90 CRDI MODELS [10082981AE |ROPS UPPER STRUCTURE ASSY 1
2 | Solis-75,90 CRDI MODELS |20004593AA |HEX HEAD BOLT M20*2.5*140 SA2JS 2 INTERCHANGE
ABLE WITH
20004593AB
(ROHS)
2 |Solis-75,90 CRDI MODELS [20004593AB |HEX HEAD BOLT M20*2.5*140 2 (ROHS)
SA4GS INTERCHANGE
ABLE WITH
20004593AA
3 | Solis-75,90 CRDI MODELS |20004092AA [HEX NYLOC NUT M 20 2 INTERCHANGE
ABLE WITH
20005460AA
(ROHS)
3 | Solis-75,90 CRDI MODELS |20005460AA [HEX NYLOCK NUT M 20 SA4GS 2 (ROHS)
INTERCHANGE
ABLE WITH




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

20004092AA

Solis-75,90 CRDI MODELS

20004091AA

PUNCHED WASHER A 22

INTERCHANGE
ABLE WITH
20004091AB
(ROHS)

Solis-75,90 CRDI MODELS

20004091AB

PUNCHED WASHER A 22

(ROHS)
INTERCHANGE
ABLE WITH
20004091AA

Solis-75,90 CRDI MODELS

10029181AA

SPACER (FOR ROPS)

Solis-75,90 CRDI MODELS

20004101AA

HEX SCREW M16X2X50 8.8 SA2JS

INTERCHANGE
ABLE WITH
20005467AA
(ROHS)

Solis-75,90 CRDI MODELS

20005467AA

HEX SCREW M16X2X50 8.8 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
20004101AA

Solis-75,90 CRDI MODELS

20003372AB

HEX LOCK NUT M16 SA2JS

INTERCHANGE
ABLE WITH
20003372AE
(ROHS)

Solis-75,90 CRDI MODELS

20003372AE

HEX LOCK NUT M16X2 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
20003372AB

Solis-75,90 CRDI MODELS

10083003AA

PIVOT PIN (FOR ROPS)

INTERCHANGE
ABLE WITH
10083003AB
(ROHS)

Solis-75,90 CRDI MODELS

10083003AB

PIVOT PIN FOR ROPS

(ROHS)
INTERCHANGE
ABLE WITH
10083003AA

Solis-75,90 CRDI MODELS

20002245AA

SAFETY PIN-DIA 6

10

Solis-75,90 CRDI MODELS

10067987AA

ROPS DATA PLATE

11

Solis-75,90 CRDI MODELS

10004896AA

SPECIAL RIVET SMALL

INTERCHANGE
ABLE WITH
10004896AB
(ROHS)

11

Solis-75,90 CRDI MODELS

10004896AB

SPECIAL RIVET SMALL

(ROHS)
INTERCHANGE
ABLE WITH
10004896AA




14110A-1-1 MOUNTED ACC. Solis-75,90 CRDI MODELS

14110A-1/1 MOUNTED ACC.

~
—
.,-'-""-Fﬂ-ﬂ-
= I‘--___-rf'

12 e
—n ¥
=
% .
5 ., 20
2 | \ /
el i
H r
e
11 ;
16
=
= 5 1/
"
- "\_ =10
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10067504AA |STARTER MOTOTR AND 1
HYDRAULIC PUMP COVER BKT
2 | Solis-75,90 CRDI MODELS |10067074AA |STARTER MOTOR & HYDRAULIC 1
PUMP COVER
2 | Solis-75,90 CRDI MODELS |10067074AB |STARTER MOTOR & HYDRAULIC 1 YES MEMEYFDT660
PUMP COVER 014W
3 | Solis-75,90 CRDI MODELS [10067072AA |FIP COVER 1
3 | Solis-75,90 CRDI MODELS [10067072AD |FIP COVER 1 YES FOR NON EU
MODELS-
BZKDS806511M
S, FOR EU
MODELS-
MMEMRYKDHR
BKH03724




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
4 |Solis-75,90 CRDI MODELS |10067073AB |BRACKET FIP COVER 1
4 |Solis-75,90 CRDI MODELS |10067073AC |BRACKET FIP COVER 1
5 |Solis-75,90 CRDI MODELS |20003517AA |HEX FLANGE SCREW M6*1*16-8.8 6
SA2JS
6 |Solis-75,90 CRDI MODELS |10028884AA |TOOL BOX ASSY.(PLASTIC) 1 INTERCHANGE
ABLE WITH
10028884AB
(ROHS)
6 |Solis-75,90 CRDI MODELS |10028884AB |TOOL BOX ASSY.(PLASTIC) 1 (ROHS)
INTERCHANGE
ABLE WITH
10028884AA
7 |Solis-75,90 CRDI MODELS [10004254AB |RUBBER PAD FOR TOOL BOX. 2 INTERCHANGE
ABLE WITH
10004254AC
(ROHS)
7 |Solis-75,90 CRDI MODELS |10004254AC |RUBBER PAD FOR TOOL BOX. 2 (ROHS)
INTERCHANGE
ABLE WITH
10004254AB
8 |Solis-75,90 CRDI MODELS |20004204AA |HEX SCREW M8X45 2 INTERCHANGE
ABLE WITH
200000482A
(ROHS)
8 [Solis-75,90 CRDI MODELS [200000482A |HEX SCREW M8X45 SA4GS 2 (ROHS)
INTERCHANGE
ABLE WITH
20004204AA
9 | Solis-75,90 CRDI MODELS |04030800008 [M/CD WASHER DIA 8.4 *DIA 17*1.6 2
10 |[Solis-75,90 CRDI MODELS [20003355AB |HEX NUT M8X1.25 -8 SA2JS 2
11 |Solis-75,90 CRDI MODELS [10067843AB |REAR VIEW MIRROR LH 1
12 |Solis-75,90 CRDI MODELS [10067844AB |REAR VIEW MIRROR RH 1
13 |Solis-75,90 CRDI MODELS [10067932AB |CAP FOR MIRROR HUB 2
14 [Solis-75,90 CRDI MODELS [20003358AA |HEX NUT M12X1.75 -8 SA2JS 4 INTERCHANGE
ABLE WITH
20005502AA
(ROHS)
14 |Solis-75,90 CRDI MODELS [20005502AA |HEX NUT M12X1.75 -8 SA4GS 4 (ROHS)
INTERCHANGE
ABLE WITH
20003358AA
14 |Solis-75,90 CRDI MODELS [20003358AE |HEX NUT M12X1.75 -8 SA4GS 4 YES |INTERCHANGE[FOR NON EU
WITH MODELS-
20003358AA | DXKSS873355B
FOR EU
MODELS-
MEMRMKSNSD
KH07283
15 |[Solis-75,90 CRDI MODELS [10083050AA |REVOLVING LIGHT 1
16 [Solis-75,90 CRDI MODELS [10023312AA |SMV EMBLEM (MOULDED) 1
17 |Solis-75,90 CRDI MODELS [10082939AA |SMV EMBLEM MTG. PLATE 1
18 |Solis-75,90 CRDI MODELS [20003517AA |HEX FLANGE SCREW M6*1*16-8.8 2

SA2JS

19

Solis-75,90 CRDI MODELS

10067784AA

PLOUGH LAMP ASSY




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
19 [Solis-75,90 CRDI MODELS [10068853AC |PLOUGH LIGHT 1 YES GZLDT639663W
20 |Solis-75,90 CRDI MODELS |10071473AA |PLOUGH LAMP RUBBER 2 INTERCHANGE
ABLE WITH
10071473AB
(ROHS)
20 |Solis-75,90 CRDI MODELS [10071473AB |PLOUGH LAMP RUBBER 2 (ROHS)
INTERCHANGE
ABLE WITH
10071473AA
21 |Solis-75,90 CRDI MODELS |20003520AA |HEX FLANGE SCREW M8*1.25*25-8.8 4
SA2JS
22 |Solis-75,90 CRDI MODELS |04030800008 [M/CD WASHER DIA 8.4 *DIA 17*1.6 4
23 |Solis-75,90 CRDI MODELS |04041000008 [HEX NYLOCK NUT M8*1.25 4 INTERCHANGE
ABLE WITH
20004917AB
(ROHS)
23 |Solis-75,90 CRDI MODELS [20004917AB [HEX NYLOC NUT M8*1.25 8 4 (ROHS)
INTERCHANGE
ABLE WITH

04041000008




14120A-1-1

14120A-1/2

CAB INTERIOR ASSY.

Solis-75,90 CRDI MODELS

CAB INTERIOR ASSY.

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10010851AE |FENDER SIDE COVER RIGHT 1 INTERCHANGE
ABLE WITH
10010851AF
(ROHS)
1 |Solis-75,90 CRDI MODELS [10010851AF |FENDER SIDE COVER RIGHT 1 (ROHS)
INTERCHANGE
ABLE WITH
10010851AE
2 |Solis-75,90 CRDI MODELS [10010852AE |FENDER SIDE COVER LEFT 1
3 |[Solis-75,90 CRDI MODELS [10067947AA |CROSS SLOTTED CHESE HEAD 18
SCREW M6*16
4 | Solis-75,90 CRDI MODELS |10017798AE |[STEERING MOUNTING COVER 1
UPPER
4 | Solis-75,90 CRDI MODELS |10017798AG [STEERING MOUNTING COVER 1
UPPER




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
4 | Solis-75,90 CRDI MODELS |10017798AH [STEERING MOUNTING COVER 1 YES MEMJYFDF5831
UPPER 39W
5 |[Solis-75,90 CRDI MODELS [10017799AE |STEERING MOUNTING COVER 1
LOWER
5 |Solis-75,90 CRDI MODELS |10017799AF |STEERING MOUNTING COVER 1
LOWER
5 |Solis-75,90 CRDI MODELS |10017799AG |STEERING MOUNTING COVER 1 YES MEMJYFDF5831
LOWER 39W
6 |Solis-75,90 CRDI MODELS [10067873AA |REAR SUPPORT TRIM 1
6 |Solis-75,90 CRDI MODELS |10067873AB |REAR SUPPORT TRIM 1
7 | Solis-75,90 CRDI MODELS |10081882AA |PUSH PIN 4 INTERCHANGE
ABLE WITH
10081882AB
(ROHS)
7 |Solis-75,90 CRDI MODELS |10081882AB |PUSH PIN 4 YES |(ROHS)
INTERCHANGE
ABLE WITH
10081882AA
8 |[Solis-75,90 CRDI MODELS [10067824AB |FLOOR MAT FRONT 1
9 |Solis-75,90 CRDI MODELS |10067849AC [FLOOR MAT COVER LH 1
9 |Solis-75,90 CRDI MODELS |10067849AD [FLOOR MAT COVER LH 1 INTERCHANGE
ABLE WITH
10067849BA
(ROHS)
9 |Solis-75,90 CRDI MODELS |10067849BA [FLOOR MAT COVER LH 1 (ROHS)
INTERCHANGE
ABLE WITH
10067849AD
10 |Solis-75,90 CRDI MODELS |10067850AC |FLOOR MAT COVER RH 1
10 [Solis-75,90 CRDI MODELS [10067850AD |FLOOR MAT COVER RH 1 INTERCHANGE
ABLE WITH
10067850BA
(ROHS)
10 [Solis-75,90 CRDI MODELS [10067850BA |LOOR MAT COVER RH 1 (ROHS)
INTERCHANGE
ABLE WITH
10067850AD
11 | Solis-75,90 CRDI MODELS |10067826AA |FLOOR FOAM MAT LH 1
12 |Solis-75,90 CRDI MODELS |10067827AA |FLOOR FOAM MAT RH 1
13 [Solis-75,90 CRDI MODELS [10067951AA |CROSS SLOTTED CHESE HEAD 4
SCREW M6*16
14 |Solis-75,90 CRDI MODELS [10082157AB |TILTABLE & TELESCOPIC STEERING 1
COLUMN
14 |Solis-75,90 CRDI MODELS [10082157AC |TILTABLE & TELESCOPIC STEERING 1
COLUMN
15 [Solis-75,90 CRDI MODELS [10017869AA |CLOSING CAP FOR FENDER 1
15 |Solis-75,90 CRDI MODELS |10017869AB |CLOSING CAP FOR FENDER 1 INTERCHANGE
ABLE WITH
10017869AC
(ROHS)
15 [Solis-75,90 CRDI MODELS [10017869AC |CLOSING CAP FOR FENDER 1 (ROHS)
INTERCHANGE
ABLE WITH
10017869AB
17 |Solis-75,90 CRDI MODELS [10084954AA |GROMMET (GEAR SHIFT) 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
18 [Solis-75,90 CRDI MODELS [10082264BA |GROMMET FOR SHUTTLE LEVER 1
18 [Solis-75,90 CRDI MODELS [10068778AA |GROMMET ASSY SHUTTLE LEVER 1 YES LZLDU534155W
19 [Solis-75,90 CRDI MODELS [20004174AC |TRUSS HEAD MACHINE SCREW 12 INTERCHANGE
M4X16 ABLE WITH
200000427A
(ROHS)
19 |Solis-75,90 CRDI MODELS |200000427A |TRUSS HEAD MACHINE SCREW 12 (ROHS)
M4X20 INTERCHANGE
ABLE WITH
20004174AC
20 |Solis-75,90 CRDI MODELS |10082094AE |[SERVICE GLASS 1
21 |Solis-75,90 CRDI MODELS |10082105AD |[SERVICE GLASS BEADING 1
22 |Solis-75,90 CRDI MODELS |10010849AC |REAR LOCK ASSY 1 INTERCHANGE
ABLE WITH
10010849AF
(ROHS)
22 |Solis-75,90 CRDI MODELS [10010849AF [REAR LOCK ASSY 1 (ROHS)
INTERCHANGE
ABLE WITH
10010849AC
23 |Solis-75,90 CRDI MODELS |10082845AA |COMBINATION SWITCH 1
24 |Solis-75,90 CRDI MODELS |10067882AB |REAR RUBBER MAT FOR AC CABIN 1
25 |Solis-75,90 CRDI MODELS |10082261AA |GROMMET FOR ACC. PEDAL 1 INTERCHANGE
ABLE WITH
10082261AB
(ROHS)
25 |Solis-75,90 CRDI MODELS [10082261AB |GROMMET FOR ACC. PEDAL 1 (ROHS)
INTERCHANGE
ABLE WITH
10082261AA
26 |Solis-75,90 CRDI MODELS |10017585AB |ACRYLIC SHEET WITHOUT CABIN 1
LH
27 |Solis-75,90 CRDI MODELS |10017586AB [ACRYLIC SHEET WITHOUT CABIN 1
RH
28 |Solis-75,90 CRDI MODELS |10067843AB |REAR VIEW MIRROR LH 1
29 |Solis-75,90 CRDI MODELS [10067844AB |REAR VIEW MIRROR RH 1
30 |[Solis-75,90 CRDI MODELS [10067932AB |CAP FOR MIRROR HUB 2
39 |Solis-75,90 CRDI MODELS |10080975AF |CUP HOLDER ASSY. 1
39 |Solis-75,90 CRDI MODELS |10080975AG [CUP HOLDER ASSY. 1
40 |Solis-75,90 CRDI MODELS |20003931AA |CROSS SLOTTED TRUSS HEAD 3
SCREW M6
41 |Solis-75,90 CRDI MODELS |10067645AB |SEAT BASE PLATE 1
41 |Solis-75,90 CRDI MODELS [10067645AC |SEAT BASE PLATE 1
42 |Solis-75,90 CRDI MODELS [10081882AA |PUSH PIN 14 INTERCHANGE
ABLE WITH
10081882AB
(ROHS)
42 |Solis-75,90 CRDI MODELS |10081882AB [PUSH PIN 14 YES |(ROHS)
INTERCHANGE
ABLE WITH
10081882AA
43 |Solis-75,90 CRDI MODELS |10017334AA |CLUSTER ASSY. 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
43 |Solis-75,90 CRDI MODELS [10017334AB |CLUSTER ASSY. 1
44 |Solis-75,90 CRDI MODELS [10067622AB [BECON LIGHT MTG BKT 1
45 |Solis-75,90 CRDI MODELS [20003229AB  [HEX BOLT M12*1.75*75 8-8 SA2JS 3
45 |Solis-75,90 CRDI MODELS [20003229AC  |[HEX BOLT M12*1.75*75 8-8 SA2JS 3 | YES [INTERCHANGE|BYHSF538876B
ABLE WITH
200000510A
(ROHS)
45 |Solis-75,90 CRDI MODELS |200000510A |HEX BOLT M12X1.75X75 8.8 SA4GS 3 (ROHS)
INTERCHANGE
ABLE WITH
20003229AC
46 |Solis-75,90 CRDI MODELS |20003358AA |HEX NUT M12X1.75 -8 SA2JS 2 INTERCHANGE
ABLE WITH
20005502AA
(ROHS)
46 |Solis-75,90 CRDI MODELS [20005502AA |HEX NUT M12X1.75 -8 SA4GS 2 (ROHS)
INTERCHANGE
ABLE WITH
20003358AA
46 |Solis-75,90 CRDI MODELS [20003358AE |HEX NUT M12X1.75 -8 SA4GS 2 YES [INTERCHANGE|FOR NON EU
WITH MODELS-
20003358AA  IDXKSS873355B
FOREU
MODELS-
MEMRMKSNSD
KH07283
47 |Solis-75,90 CRDI MODELS |04030400012 [SPRING WASHER B-12 2
48 |Solis-75,90 CRDI MODELS |04030800012 |M/CD WASHER DIA 13 *DIA 24*2.5 2 INTERCHANGE
ABLE WITH
20004940AB
(ROHS)
48 |Solis-75,90 CRDI MODELS [20004940AB  |[M/C WASHER DIA 13*DIA 24*2.5 2 | YES|(ROHS)
INTERCHANGE
ABLE WITH
04030800012
49 |Solis-75,90 CRDI MODELS [20003358AA |HEX NUT M12X1.75 -8 SA2JS 4 INTERCHANGE
ABLE WITH
20005502AA
(ROHS)
49 |Solis-75,90 CRDI MODELS [20005502AA [HEX NUT M12X1.75 -8 SA4GS 4 (ROHS)
INTERCHANGE
ABLE WITH
20003358AA
49 |Solis-75,90 CRDI MODELS [20003358AE  |HEX NUT M12X1.75 -8 SA4GS 4 | YES [INTERCHANGE|FOR NON EU
WITH MODELS-
20003358AA | DXKSS873355B
FOR EU
MODELS-
MEMRMKSNSD
KH07283
52 |Solis-75,90 CRDI MODELS |10019095AA |LOCTITE 243 3.23 ML
52 |Solis-75,90 CRDI MODELS [10019095AB [LIQUID GASKET ANAEROBIC 2 3.23 ML| YES MEMMZGFF544
LOC574/ANAG13E 37333
53 |Solis-75,90 CRDI MODELS [20004245AA  |LOCTITE-574 1.38 ML
53 |Solis-75,90 CRDI MODELS |20004245AB |LIQUID GASKET ANAEROBIC 2 1.38 ML| YES MEMMZGFF544
LOC574/ANA613E 37333
54 |Solis-75,90 CRDI MODELS [20004248AA [LOCTITE-542 1.34 ML




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

55

Solis-75,90 CRDI MODELS

10082259AB

GROMMET (FOR DIFF LOCK LEVER)

INTERCHANGE
ABLE WITH
10082259AC
(ROHS)

55

Solis-75,90 CRDI MODELS

10082259AC

GROMMET (FOR DIFF LOCK LEVER)

(ROHS)
INTERCHANGE
ABLE WITH
10082259AB

56

Solis-75,90 CRDI MODELS

10067732AA

GROMMET FOR FENDER




14121A-1-1

14121A-1-1

FRONT MUD GUARD & BASE PLATE ASSY

FRONT MUD GUARD & Solis-75,90 CRDI MODELS EXCEPT HISARLAR CABIN

ABLE WITH

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [20005028AA |HEX NYLOCK NUT (M20X1.5) 2
EXCEPT HISARLAR CABIN
1 |Solis-75,90 CRDI MODELS [20005330AA |CASTLE NUT M20X1.5 1S:2232 2 NO |INTERCHANGE|MEMDYFDF584
EXCEPT HISARLAR CABIN ABLE WITH 136W
20005330AB
(ROHS)
1 |Solis-75,90 CRDI MODELS [20005330AB |CASTLE NUT M20X1.5 1S:2232 2 (ROHS)
EXCEPT HISARLAR CABIN INTERCHANGE
ABLE WITH
20005330AA
2 |Solis-75,90 CRDI MODELS (04010104040 |SPLIT PIN DIA 4*40 2 INTERCHANGE
EXCEPT HISARLAR CABIN ABLE WITH
20005449AA
(ROHS)
2 | Solis-75,90 CRDI MODELS |20005449AA [SPLIT PIN DIA 4*40 2 YES |(ROHS)
EXCEPT HISARLAR CABIN INTERCHANGE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
04010104040
3 | Solis-75,90 CRDI MODELS |10082899BA |BASE ASSY 2
EXCEPT HISARLAR CABIN
3 | Solis-75,90 CRDI MODELS |10082899CA |BASE ASSY 2 NO MEMDYFDF584
EXCEPT HISARLAR CABIN 136W
6 |Solis-75,90 CRDI MODELS |10095121AA |BASE PLATE ASSY 2 INTERCHANGE
EXCEPT HISARLAR CABIN ABLE WITH
10095121AB
(ROHS)
6 |Solis-75,90 CRDI MODELS |10095121AB |BASE PLATE ASSY 2 (ROHS)
EXCEPT HISARLAR CABIN INTERCHANGE
ABLE WITH
10095121AA
7 |Solis-75,90 CRDI MODELS [10086402AA |MTG PIN (FOR BASE PLATE) 2 Not-Serviceable
EXCEPT HISARLAR CABIN child part
of 10095121AA
7 | Solis-75,90 CRDI MODELS |10086402AB |MTG PIN (FOR BASE PLATE) 2 NO MEMDYFDF584
EXCEPT HISARLAR CABIN 136W
8 |Solis-75,90 CRDI MODELS [10086403AA |BASE PLATE 2 Not-Serviceable
EXCEPT HISARLAR CABIN child part
of 10095121AA
8 |Solis-75,90 CRDI MODELS |10086403AB |BASE PLATE 2 NO MEMDYFDF584
EXCEPT HISARLAR CABIN 136W
9 |[Solis-75,90 CRDI MODELS [10082783AB |BASE FRAME ASSY LH 1
EXCEPT HISARLAR CABIN
9 |Solis-75,90 CRDI MODELS |10082783BA [BASE FRAME ASSY LH 1 NO MEMDYFDF584
EXCEPT HISARLAR CABIN 136W
10 |Solis-75,90 CRDI MODELS |10082782AB |BASE FRAME ASSY RH 1
EXCEPT HISARLAR CABIN
10 |Solis-75,90 CRDI MODELS |10082782BA |BASE FRAME ASSY RH 1 NO MEMDYFDF584
EXCEPT HISARLAR CABIN 136W
11 [Solis-75,90 CRDI MODELS [20004101AA |HEX SCREW M16X2X50 8.8 SA2JS 2 INTERCHANGE
EXCEPT HISARLAR CABIN ABLE WITH
20005467AA
(ROHS)
11A | Solis-75,90 CRDI MODELS |20005342AA |SPECIAL BOLT M18X1.5-10.9 2 NO MEMDYFDF584
EXCEPT HISARLAR CABIN 136W
11 |[Solis-75,90 CRDI MODELS [20005467AA |HEX SCREW M16X2X50 8.8 SA4GS 2 (ROHS)
EXCEPT HISARLAR CABIN INTERCHANGE
ABLE WITH
20004101AA
12 |Solis-75,90 CRDI MODELS |20003362AC |HEX NUT M16X2 -8 SA2JS 2 INTERCHANGE
EXCEPT HISARLAR CABIN ABLE WITH
20003719AB
(ROHS)
12A [Solis-75,90 CRDI MODELS [20005351AA |HEX NYLOC NUT M18X1.5-10 2 NO MEMDYFDF584
EXCEPT HISARLAR CABIN SA4GS 136W
12 |Solis-75,90 CRDI MODELS |20003719AB |HEX NUT M16X2 - 8, SA2GS 2 YES [(ROHS)
EXCEPT HISARLAR CABIN INTERCHANGE
ABLE WITH
20003362AC
13 [Solis-75,90 CRDI MODELS [04030400016 |SPRING WASHER B-16 2 INTERCHANGE
EXCEPT HISARLAR CABIN ABLE WITH
20004994AB
(ROHS)
13 [Solis-75,90 CRDI MODELS [20005350AA |PUNCHED WASHER A 20 1S:2016 2 NO MEMDYFDF584
EXCEPT HISARLAR CABIN STEEL 136W
13 [Solis-75,90 CRDI MODELS [20004994AB |SPRING WASHER B-16 TYPE-A IS: 2 YES |(ROHS)
EXCEPT HISARLAR CABIN 3063-1972 INTERCHANGE
ABLE WITH
04030400016
14 |[Solis-75,90 CRDI MODELS [10082780AC |FRONT MUDGUARD FRAME ASSY 1

EXCEPT HISARLAR CABIN

RH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

14 |Solis-75,90 CRDI MODELS [10082780BA |FRONT MUDGUARD FRAME ASSY 1 NO MEMDYFDF584
EXCEPT HISARLAR CABIN RH 136W

14 |Solis-90 CRDI MODELS 10082780BB |FRONT MUDGUARD FRAME ASSY 1 YES DZLDF588938W
EXCEPT HISARLAR CABIN RH

15 [Solis-75,90 CRDI MODELS [10082781AC |FRONT MUDGUARD FRAME ASSY 1
EXCEPT HISARLAR CABIN LH

15 [Solis-75,90 CRDI MODELS [10082781BA |FRONT MUDGUARD FRAME ASSY 1 NO MEMDYFDF584
EXCEPT HISARLAR CABIN LH 136W

15 |Solis-90 CRDI MODELS 10082781BB |FRONT MUDGUARD FRAME ASSY 1 YES DZLDF588938W
EXCEPT HISARLAR CABIN LH

16 [Solis-75,90 CRDI MODELS [10083153AA |FRONT MUDGAURD 1
EXCEPT HISARLAR CABIN

16 [Solis-75,90 CRDI MODELS [10083153BA |FRONT MUDGAURD 1 NO MEMDYFDF584

EXCEPT HISARLAR CABIN

136W




14130A-1-1 STG. MOUNTING ASSY. Solis-75,90 CRDI MODELS

14130A-1/1 STG. MOUNTING ASSY.
12
l
3
B | ,
2 =)
o}
==
10
o
N
|
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS,|10067789AA |COVER PLATE FOR STR MTG 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

2 | Solis-75,90 CRDI MODELS,|20002059AA |HEX. HEAD SCREW M8 X 1.25 X 16 7 INTERCHANGE
Solis-75,90 CRDI WITH H- 8-8 SA2JS ABLE WITH
TYPE AC CABIN MODELS 20005559AA

(ROHS)

2 |Solis-75,90 CRDI MODELS,[20005559AA |HEX HEAD SCREW M8X1.25X16 -8.8 7 (ROHS)
Solis-75,90 CRDI WITH H- SA4GS INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20002059AA

3 | Solis-75,90 CRDI MODELS,|04030600008 |PLAIN WASHER DIA 8.4 *DIA 17*1.6 7
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

4 | Solis-75,90 CRDI MODELS,|10082157AB [TILTABLE & TELESCOPIC STEERING 1
Solis-75,90 CRDI WITH H- COLUMN
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

4 | Solis-75,90 CRDI MODELS,|10082157AC [TILTABLE & TELESCOPIC STEERING 1
Solis-75,90 CRDI WITH H- COLUMN
TYPE AC CABIN MODELS

5 |Solis-75,90 CRDI MODELS,|20003285AB |HEX SCREW M8X1.25X30 8-8 SA2JS 3
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

6 |Solis-75,90 CRDI MODELS,[|04030400008 [SPRING WASHER B-8 3 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20005517AA

(ROHS)

6 |Solis-75,90 CRDI MODELS,|20005517AA |SPRING WASHER B-8 TYPE A IS: 3 YES |(ROHS)
Solis-75,90 CRDI WITH H- 3067-1972 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

04030400008

7 |Solis-75,90 CRDI MODELS,|20003230AA [HEX BOLT M10*1.5*40 8-8 SA3NS 4
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

8 |Solis-75,90 CRDI MODELS,[{04030600010 |PLAIN WASHER DIA 10.5 *DIA 30 *2. 4
Solis-75,90 CRDI WITH H- 5
TYPE AC CABIN MODELS

9 |Solis-75,90 CRDI MODELS,|10017798AE [STEERING MOUNTING COVER 1
Solis-75,90 CRDI WITH H- UPPER
TYPE AC CABIN MODELS

9 |Solis-75,90 CRDI MODELS,|10017798AG [STEERING MOUNTING COVER 1
Solis-75,90 CRDI WITH H- UPPER
TYPE AC CABIN MODELS

9 |[Solis-75,90 CRDI MODELS,[10017798AH |STEERING MOUNTING COVER 1 YES MEMJYFDF5831
Solis-75,90 CRDI WITH H- UPPER 39W
TYPE AC CABIN MODELS

10 [Solis-75,90 CRDI MODELS,[10017799AE |STEERING MOUNTING COVER 1
Solis-75,90 CRDI WITH H- LOWER
TYPE AC CABIN MODELS

10 [Solis-75,90 CRDI MODELS,[10017799AF |STEERING MOUNTING COVER 1
Solis-75,90 CRDI WITH H- LOWER
TYPE AC CABIN MODELS

10 |Solis-75,90 CRDI MODELS,|10017799AG |STEERING MOUNTING COVER 1 YES MEMJYFDF5831
Solis-75,90 CRDI WITH H- LOWER 39W
TYPE AC CABIN MODELS

11 |[Solis-75,90 CRDI MODELS,[10082157AB |TILTABLE & TELESCOPIC STEERING 1
Solis-75,90 CRDI WITH H- COLUMN
TYPE AC CABIN MODELS

11 |[Solis-75,90 CRDI MODELS,[10082157AC |TILTABLE & TELESCOPIC STEERING 1
Solis-75,90 CRDI WITH H- COLUMN
TYPE AC CABIN MODELS

12 |Solis-75,90 CRDI MODELS,|10082845AA |COMBINATION SWITCH 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

13 [Solis-75,90 CRDI MODELS,[10067989AA |STEERING WHEEL ASSY. 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

14 [Solis-75,90 CRDI MODELS,[04030400018 |SPRING WASHER B-18 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20005522AA

(ROHS)

14 |Solis-75,90 CRDI MODELS,|20005522AA |SPRING WASHER B-18 TYPE A IS: 1 (ROHS)
Solis-75,90 CRDI WITH H- 3067-1972 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

04030400018

15 [Solis-75,90 CRDI MODELS,[10082799AA |HEX NUT M18X1.5-8.8 SA2JS 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10082799AC

(ROHS)

15 [Solis-75,90 CRDI MODELS,[10082799AC |HEX NUT M18X1.5-8.8 SA4GS 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10082799AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
16 [Solis-75,90 CRDI MODELS,|04030400008 |SPRING WASHER B-8 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20005517AA

(ROHS)

16 |[Solis-75,90 CRDI MODELS,|20005517AA |SPRING WASHER B-8 TYPE A IS: 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- 3067-1972 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

04030400008

17 | Solis-75,90 CRDI MODELS,|20003355AB |HEX NUT M8X1.25 -8 SA2JS 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

18 [Solis-75,90 CRDI MODELS,[10082350AB |LOGO FOR STEERING WHEEL 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

19 [Solis-75,90 CRDI MODELS,|04042904015 |SLOTTED CHEESE HD SCREW 3 INTERCHANGE
Solis-75,90 CRDI WITH H- M4*15 ABLE WITH
TYPE AC CABIN MODELS 300028650A

(ROHS)

19 |Solis-75,90 CRDI MODELS,|300028650A |SLOTTED CHEESE HD SCREW 3 (ROHS)
Solis-75,90 CRDI WITH H- M4*15 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

04042904015

20 |Solis-75,90 CRDI MODELS,|10082775AD |KNOB FOR TILTING LEVER 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10082775AE

(ROHS)

20 |Solis-75,90 CRDI MODELS,|10082775AE |KNOB FOR TILTING LEVER 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

20 |Solis-75,90 CRDI MODELS,[10082775AE |KNOB FOR TILTING LEVER 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10082775AD

21 |Solis-75,90 CRDI MODELS,|20004816AA |[HARDWARE FOR TILTABLE 1 INTERCHANGE
Solis-75,90 CRDI WITH H- STEERING KNOB ABLE WITH
TYPE AC CABIN MODELS 20004816AB

(ROHS)

21 |Solis-75,90 CRDI MODELS,|20004816AB |SLOTTED CHEESE HEAD SCREW 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20004816AA

22 |Solis-75,90 CRDI MODELS,[20003352AA [HEX NUT M4-8 SA3NS 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 300037247A

(ROHS)

22 |Solis-75,90 CRDI MODELS,|300037247A |HEX NUT M4-8 SA4G 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20003352AA




15110A-1-1 BONNET ASSEMBLY Solis-75,90 CRDI MODELS

15110A-11 BONNET ASSEMBLY

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10017431AJ |BONNET ASSY ETRAC (W/O PAINT) 1
1 |Solis-75,90 CRDI MODELS [10017431AL |BONNET ASSY ETRAC (W/O PAINT) 1

1 [Solis-75,90 CRDI MODELS |10017433AJ |BONNET ASSY ETRAC (BLUE PAINT) 1

1 [Solis-75,90 CRDI MODELS |10017433AL |BONNET ASSY ETRAC (BLUE PAINT) 1

1 [Solis-75,90 CRDI MODELS |10017432AM |BONNET ASSY ETRAC (RED PAINT) 1 RED PAINTED
CODE OF
10017433AL
1 [Solis-75,90 CRDI MODELS |10017431AM |BONNET ASSY ETRAC (W/O PAINT) 1 YES MYIDG709284W
10
1 [Solis-75,90 CRDI MODELS |10017433AM |BONNET ASSY ETRAC (BLUE PAINT) 1 YES MYIDG709284W
10
2 |Solis-75,90 CRDI MODELS [10018461AB |SUPPORT BRACKET FOR BONNET 1

RH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
3 | Solis-75,90 CRDI MODELS |10067834AB |SUPPORT BRACKET FOR BONNET 1
LH
4 | Solis-75,90 CRDI MODELS |10018460AB [BONNET HINGE PIN 2 INTERCHANGE
ABLE WITH
10018460AC
(ROHS)
4 | Solis-75,90 CRDI MODELS |10018460AC |Bonnet Hinge Pin 2 (ROHS)
INTERCHANGE
ABLE WITH
10018460AB
5 |Solis-75,90 CRDI MODELS |20002461AA |BEATA PIN 2 INTERCHANGE
ABLE WITH
10087903AA
(ROHS)
5 |Solis-75,90 CRDI MODELS |10087903AA |BEATA PIN 2 YES |(ROHS)
INTERCHANGE
ABLE WITH
20002461AA
6 |Solis-75,90 CRDI MODELS [20002244AA |FLAT WASHER - 31 X 56 X 4 SA2JS 2 INTERCHANGE
ABLE WITH
200000514A
(ROHS)
6 |Solis-75,90 CRDI MODELS |200000514A |FLAT WASHER -31X56X4 SA4GS 2 (ROHS)
INTERCHANGE
ABLE WITH
20002244AA
7 |Solis-75,90 CRDI MODELS |10017405AD |[BONNET BEEDING (WITHOUT AC 1
CABIN)
7 |Solis-75,90 CRDI MODELS |10017405AE |[BONNET BEEDING (WITHOUT AC 1
CABIN)
8 |Solis-75,90 CRDI MODELS [20003355AB |HEX NUT M8X1.25 -8 SA2JS 6
9 |[Solis-75,90 CRDI MODELS [04030800008 |M/CD WASHER DIA 8.4 *DIA 17*1.6 6
10 [Solis-75,90 CRDI MODELS [10016662AC |BONNET BEEDING - ETRAC-90 1
11 |[Solis-75,90 CRDI MODELS [10017096AD |LOCK PIN MTG. BKT(ETRAC-90) 1
11 [Solis-75,90 CRDI MODELS [10017096AE |LOCK PIN MTG. BKT(ETRAC-90) 1 INTERCHANGE
ABLE WITH
10017096AF
(ROHS)
11 [Solis-75,90 CRDI MODELS [10017096AF |LOCK PIN MTG. BKT(ETRAC-90) 1 (ROHS)
INTERCHANGE
ABLE WITH
10017096AE
12 |[Solis-75,90 CRDI MODELS [04030400008 |SPRING WASHER B-8 2 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
12 |[Solis-75,90 CRDI MODELS [20005517AA |SPRING WASHER B-8 TYPE A IS: 2 YES |(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
13 |Solis-75,90 CRDI MODELS |20003285AB |HEX SCREW M8X1.25X30 8-8 SA2JS 2
14 |Solis-75,90 CRDI MODELS |10071239AB |ADJUSTABLE GROMMET 1
15 [Solis-75,90 CRDI MODELS [10017495AB |BONNET LOCK PLATE 1 INTERCHANGE
ABLE WITH
10017495AC
(ROHS)
15 [Solis-75,90 CRDI MODELS [10017495AC |BONNET LOCK PLATE 1 (ROHS)
INTERCHANGE
ABLE WITH

10017495AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

16 [Solis-75,90 CRDI MODELS [10070082AF |BONNET LOCK 1

17 |[Solis-75,90 CRDI MODELS [10070463AB |THREADED ROD FOR LOCK 1 INTERCHANGE
ABLE WITH
10071897AB
(ROHS)

17 |Solis-75,90 CRDI MODELS |10071897AB |THREADED ROD FOR LOCK 1 (ROHS)
INTERCHANGE
ABLE WITH
10070463AB

18 [Solis-75,90 CRDI MODELS [10017927AB |BONNET EMBLEM 1

19 [Solis-75,90 CRDI MODELS [10084761AA |RUBBER WASHER 2 APN
10017927AB

20 |Solis-75,90 CRDI MODELS |10084762AA [LOCKING WASHER 2

21 |Solis-75,90 CRDI MODELS |20004250AA [LOCTITE-401 1.08ML NOT SHOWN

22 |Solis-75,90 CRDI MODELS [20004250AA |LOCTITE-401 9.51ML NOT SHOWN

23 |Solis-75,90 CRDI MODELS [10017545AB |GAS SPRING FOR ETRAC 90 2

24 |Solis-75,90 CRDI MODELS |10071020AA |KEY SET ASSY WITHOUT KEY 1




15120A-1-1 DASHBOARD Solis-75,90 CRDI MODELS

15120A-1/1 DASHBOARD ASSEMBLY

1
\
e
ASSY., VIEW

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10067631AB |DASHBOARD MID 1
1 |Solis-75,90 CRDI MODELS [10067631AC |DASHBOARD MID 1
2 | Solis-75,90 CRDI MODELS |10067632AB |[DASHBOARD LOWER 1
2 | Solis-75,90 CRDI MODELS |10067632AC |[DASHBOARD LOWER 1
3 |Solis-75,90 CRDI MODELS [10067630AC |DASHBORAD UPPER 1
3 |Solis-75,90 CRDI MODELS [10067630AE |DASHBORAD UPPER 1
4 | Solis-75,90 CRDI MODELS |10067742AC |DASHBAORD SEALING COVER 1
4 | Solis-75,90 CRDI MODELS |10067742AD |DASHBAORD SEALING COVER 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

5 |Solis-75,90 CRDI MODELS |10067743AB |DASHBORD COVER 1

5 |Solis-75,90 CRDI MODELS |10067743AC |DASHBORD COVER 1

6 |Solis-75,90 CRDI MODELS |20004649AA |TAPPING SCREW M5X20 9

7 |Solis-75,90 CRDI MODELS [20004652AA |TRUSS PPHILIPS M/C SCREW M6X 12 INTERCHANGE

20 ABLE WITH

20004652AB
(ROHS)

7 | Solis-75,90 CRDI MODELS |20004652AB |TRUSS PHILIPS M/C SCREW M6X20 12 (ROHS)
INTERCHANGE
ABLE WITH
20004652AA

8 |Solis-75,90 CRDI MODELS |10067836AA [HAND ACC GROMMET 1 INTERCHANGE
ABLE WITH
10067836AB
(ROHS)

8 |[Solis-75,90 CRDI MODELS [10067836AB |HAND ACC GROMMET 1 (ROHS)
INTERCHANGE
ABLE WITH
10067836AA

9 |Solis-75,90 CRDI MODELS [10067792AA |RUBBER BEADING 2

10 [Solis-75,90 CRDI MODELS |20004424AA |CLIP NUT M5 9

11 [Solis-75,90 CRDI MODELS [10081882AA |PUSH PIN 5 INTERCHANGE
ABLE WITH
10081882AB
(ROHS)

11 | Solis-75,90 CRDI MODELS |10081882AB |PUSH PIN 5 YES [(ROHS)
INTERCHANGE
ABLE WITH

10081882AA




15130A-1-1 FRONT MESH Solis-75,90 CRDI MODELS

15130A-1/1 FRONT MESH ASSEMBLY

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10017403AE |FRONT MESH ASSY 90HP DEUTZ 1
1 |Solis-75,90 CRDI MODELS [10017403AF |FRONT MESH ASSY 90HP DEUTZ 1
2 | Solis-75,90 CRDI MODELS |20003519AA |HEX FLANGE SCREW M8*1.25*20-8.8 12 INTERCHANGE
SA2JS ABLE WITH
20005539AA
(ROHS)
2 | Solis-75,90 CRDI MODELS |20005539AA [HEX FLANGE SCREW M&8*1.25*20 12 YES [(ROHS)
-8.8 SA4GS INTERCHANGE
ABLE WITH
20003519AA
3 | Solis-75,90 CRDI MODELS |04030400008 [SPRING WASHER B-8 12 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
3 | Solis-75,90 CRDI MODELS |20005517AA |SPRING WASHER B-8 TYPE A IS: 12 YES |(ROHS)
3067-1972 INTERCHANGE

ABLE WITH
04030400008

4 | Solis-75,90 CRDI MODELS |20003355AB |HEX NUT M8X1.25 -8 SA2JS 12

5 |Solis-75,90 CRDI MODELS (10017931AB |HEADLAMP FOAM 2

6 |Solis-75,90 CRDI MODELS [10017894AA [HEAD LAMP FRAME RH 1

7 |Solis-75,90 CRDI MODELS |10017895AA |HEAD LAMP FRAME LH 1

8 |Solis-75,90 CRDI MODELS |10067947AA [CROSS SLOTTED TRUSS HEAD 8

SCREW M6X16

9 |Solis-75,90 CRDI MODELS |04030600006 |[PLAIN WASHER DIA 6.4 *DIA 18 *1.5 8

10 [Solis-75,90 CRDI MODELS [04041000006 |[HEX NYLOC NUT M6 8 INTERCHANGE
ABLE WITH
20004915AB
(ROHS)

10 |Solis-75,90 CRDI MODELS |20004915AB |HEX NYLOC NUT M6 8 8 YES [(ROHS)
INTERCHANGE
ABLE WITH
04041000006

11 |[Solis-75,90 CRDI MODELS [04030400006 |SPRING WASHER B-6 8

12 [Solis-75,90 CRDI MODELS [10017930AB |SOLIS LOGO 1

13 [Solis-75,90 CRDI MODELS [10084761AA |RUBBER WASHER 3 APN
10017927AB

14 | Solis-75,90 CRDI MODELS |10084762AA |LOCKING WASHER 3




16110A-1-1

16110A-1/2

FUEL SYSTEM ASSY.

Solis-75,90 CRDI MODELS

FUEL SYSTEM ASSY.

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10084935AB |FUEL TANK ASSY. 1
1 |Solis-90 CRDI MODELS 10084935AC |FUEL TANK ASSY. 1
WITH CABIN
1 |Solis-90 CRDI MODELS 10084935AD |FUEL TANK ASSY. 1 YES MEMBYFDF536
WITH CABIN 716W
1 |Solis-75,90 CRDI MODELS [10085476AC |FUEL TANK ASSY 1
2 | Solis-75,90 CRDI MODELS |10084897AA [FRONT MTG BKT FOR FUEL TANK 1
2 | Solis-75,90 CRDI MODELS |10084897AC [FRONT MTG BKT FOR FUEL TANK 1
3 | Solis-75,90 CRDI MODELS |20002059AA [HEX. HEAD SCREW M8 X 1.25 X 16 4 INTERCHANGE
8-8 SA2JS ABLE WITH
20005559AA
(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
3 | Solis-75,90 CRDI MODELS |20005559AA [HEX HEAD SCREW M8X1.25X16 -8.8 4 (ROHS)
SA4GS INTERCHANGE
ABLE WITH
20002059AA
4 | Solis-75,90 CRDI MODELS |04030400008 [SPRING WASHER B-8 4 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
4 |[Solis-75,90 CRDI MODELS [20005517AA |SPRING WASHER B-8 TYPE A IS: 4 YES [(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
5 |Solis-75,90 CRDI MODELS |04030600008 |PLAIN WASHER DIA 8.4 *DIA 17*1.6 4
6 |Solis-75,90 CRDI MODELS |10085216AA |RUBBER PAD FOR FUEL TANK 2
7 |Solis-75,90 CRDI MODELS |10004589AA |RUBBER BUTTON (SMALL) 2 INTERCHANGE
ABLE WITH
10004589AB
(ROHS)
7 |Solis-75,90 CRDI MODELS [10004589AB |RUBBER BUTTON (SMALL) 2 (ROHS)
INTERCHANGE
ABLE WITH
10004589AA
8 |Solis-75,90 CRDI MODELS |10084899AB [FUEL TANK BOTTOM PLATE 1
9 |Solis-75,90 CRDI MODELS |10084940AA |FRONT MOUNTING STRAP (FOR 1
FUEL TANK)
10 [Solis-75,90 CRDI MODELS [20003241AB |HEX SCREW M12X1.75X20 8-8 4
SA3NS
11 | Solis-75,90 CRDI MODELS |04030400012 |SPRING WASHER B-12 4
12 |Solis-75,90 CRDI MODELS |04030800012 |M/CD WASHER DIA 13 *DIA 24*2.5 4 INTERCHANGE
ABLE WITH
20004940AB
(ROHS)
12 [Solis-75,90 CRDI MODELS [20004940AB |M/C WASHER DIA 13*DIA 24*2.5 4 YES |(ROHS)
INTERCHANGE
ABLE WITH
04030800012
13 [Solis-75,90 CRDI MODELS [10084939AA |REAR MTG STRAP FOR FUEL TANK 1
14 |Solis-75,90 CRDI MODELS |10084937AB |FUEL TANK SAFETY PLATE 1
(UNPAINTED)
15 |Solis-75,90 CRDI MODELS |10082054BA |REAR MTG PLATE FOR FUEL TANK 1
16 [Solis-75,90 CRDI MODELS [10004600AA |RUBBER BUTTON (BIG) FOR FUEL 5 INTERCHANGE
TNK MTG PLT ABLE WITH
10004600AB
(ROHS)
16 [Solis-75,90 CRDI MODELS [10004600AB |RUBBER BUTTON (BIG) FOR FUEL 5 YES |(ROHS)
TNK MTG PLT INTERCHANGE
ABLE WITH
10004600AA
17 |Solis-75,90 CRDI MODELS |10003341AC |FUEL TANK DRAIN PLUG 1 INTERCHANGE
ABLE WITH
10039389AA
(ROHS)
17 |Solis-75,90 CRDI MODELS [10039389AA |FUEL TANK DRAIN PLUG FOR EPA 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
10003341AC
18 [Solis-75,90 CRDI MODELS [10084898AB |FUEL TANK OUTER MTG BKT 1
18 [Solis-75,90 CRDI MODELS [10084898AC |FUEL TANK OUTER MTG BKT 1 YES FOR EU

MODELS-




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
MEMSYKDNCJK
HO07141
FOT NON EU
MODELS-
DWDDS872022
MS
19 [Solis-75,90 CRDI MODELS [20003357AB |HEX NUT M10 -8 SA2JS 2
19 |Solis-75,90 CRDI MODELS |20003357AF |HEX NUT M10 -8 SA4GS 2 YES |interchange with|FOR NON EU
20003357AB  |MODELS-
JZNSS869101S
M
FOR EU
MODELS-
MEMRZGTNEJK
H07194
20 |Solis-75,90 CRDI MODELS [20000100AA |[M/CD WASHER 10.5*21*2 4 INTERCHANGE
ABLE WITH
20005625AA
(ROHS)
20 |Solis-75,90 CRDI MODELS |20005625AA |M/CD WASHER 10.5*21*2 4 YES |(ROHS)
INTERCHANGE
ABLE WITH
20000100AA
21 |Solis-75,90 CRDI MODELS |20002016AB |HEX. HEAD SCREW M10 X 1.5 X 30 4
8-8 SA2JS
22 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 2
23 |Solis-75,90 CRDI MODELS [10084941AA |[TANK UNIT 1
24 |Solis-75,90 CRDI MODELS |04042905012 [SLOTTED CHEESE HD SCREW 6
M5*12
25 |Solis-75,90 CRDI MODELS |10084900AA |FUEL CAP 1
26 |Solis-75,90 CRDI MODELS |10082100BA |REAR FILLING PIPE ASSY 1
27 |Solis-75,90 CRDI MODELS |10018068AA |HOSE FUEL TANK (AC CABIN 1
105HP)
27 |Solis-75,90 CRDI MODELS |10018068AB |HOSE FUEL TANK (AC CABIN 1
105HP)
28 |Solis-75,90 CRDI MODELS [20004004AA [HOSE WORM CLAMP DIA 68 1S-4762 2 INTERCHANGE
ABLE WITH
20004004AB
(ROHS)
28 |Solis-75,90 CRDI MODELS |20004004AB |[HOSE WORM CLAMP DIA 68 1S-4762 2 YES |(ROHS)
INTERCHANGE
ABLE WITH
20004004AA
29 |Solis-75,90 CRDI MODELS |10083075AA |FUEL TANK REAR MOUNTING CLIP 2
(FOR HISARLA
30 |[Solis-75,90 CRDI MODELS [10083043AA |SLOTTED CHEESE HD SCREW 4 INTERCHANGE
M5*30 ABLE WITH
20005004AB
(ROHS)
30 |Solis-75,90 CRDI MODELS |20005004AB |SLOTTEED CHEESE HEAD SCREWS 4 (ROHS)
M5*30 INTERCHANGE
ABLE WITH
10083043AA
31 |Solis-75,90 CRDI MODELS |04030600005 [PLAIN WASHER DIA 5.3 *DIA 15*1.5 4 INTERCHANGE
ABLE WITH
300032712A
(ROHS)
31 |Solis-75,90 CRDI MODELS [300032712A |WASHER 4 (ROHS)
INTERCHANGE

ABLE WITH




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

04030600005

32

Solis-75,90 CRDI MODELS

10084917AA

SLOTTED PAN HEAD MACHINE
SCREW

33

Solis-75,90 CRDI MODELS

10067736AA

CLAMP FOR FUEL PIPE

34

Solis-75,90 CRDI MODELS

10067967AA

FUEL PIPE

INTERCHANGE
ABLE WITH
10067967AB
(ROHS)

34

Solis-75,90 CRDI MODELS

10067967AB

FUEL PIPE

YES

(ROHS)
INTERCHANGE
ABLE WITH
10067967AA

MEMSYKDNRE
KH06873

35

Solis-75,90 CRDI MODELS

10018202AB

FUEL PIPES ASSEMBLY

35

Solis-75,90 CRDI MODELS

10068187AA

FUEL PIPES ASSEMBLY

INTERCHANGE
ABLE WITH
10068187AB
(ROHS)

35

Solis-75,90 CRDI MODELS

10068187AB

FUEL PIPES ASSEMBLY

(ROHS)
INTERCHANGE
ABLE WITH
10068187AA

36

Solis-75,90 CRDI MODELS

20002779AB

STAUFF CLAMP - D16/13.5

37

Solis-75,90 CRDI MODELS

04030400006

SPRING WASHER B-6

CHILD PART
OF S.NO.36
(STAUFF
CLAMP -
D16/13.5)

38

Solis-75,90 CRDI MODELS

04040706040

HEX BOLT M6*40

CHILD PART
OF S.NO.36
(STAUFF
CLAMP -
D16/13.5)

39

Solis-75,90 CRDI MODELS

20003354AB

HEX NUT M6 -8 SA2JS

CHILD PART
OF S.NO.36
(STAUFF
CLAMP -
D16/13.5)

40

Solis-75,90 CRDI MODELS

20004171AA

HOSE WORM CLAMP DIA 1S:4762

INTERCHANGE
ABLE WITH
20004171AB
(ROHS)

40

Solis-75,90 CRDI MODELS

20004171AB

HOSE WORM CLAMP DIA IS:
4762

(ROHS)
INTERCHANGE
ABLE WITH
20004171AA

41

Solis-75,90 CRDI MODELS

04080700014

SPL BENJO BOLT M14*1.5*M10*1*26

INTERCHANGE
ABLE WITH
20005057AB
(ROHS)

41

Solis-75,90 CRDI MODELS

20005057AB

SPL BENJO BOLT M14*1.5*M10*1*26

(ROHS)
INTERCHANGE
ABLE WITH
04080700014

42

Solis-75,90 CRDI MODELS

04080100010

BENJO BOLT M10*1*19

INTERCHANGE
ABLE WITH
20005051AB
(ROHS)

42

Solis-75,90 CRDI MODELS

20005051AB

BENJO BOLT M10*1*19

(ROHS)
INTERCHANGE
ABLE WITH
04080100010




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
43 |Solis-75,90 CRDI MODELS |04030210013 |[COPPER WASHER DIA 10.2*DIA13. 2
4*1

44 |Solis-75,90 CRDI MODELS |04032618022 |[SEALING WASHER DIA 18.2*DIA 1

22*1.5(CU)
45 |Solis-75,90 CRDI MODELS |04030216020 |SEALING WASHER DIA 16.2* DIA 20 * 1
1.5

46 |Solis-75,90 CRDI MODELS [20002016AB |HEX. HEAD SCREW M10 X 1.5 X 30 2
8-8 SA2JS

47 |Solis-75,90 CRDI MODELS [10067740AA |FUEL PIPE (FUEL TANK TO 1
STRAINER)

48 |Solis-75,90 CRDI MODELS |10018141AA |FUEL PIPE (STRAINER TO FUEL 1
FILTER)

49 |Solis-75,90 CRDI MODELS |04080100014 [BENJO BOLT M14*1.5*26 1 INTERCHANGE
ABLE WITH
20005003AB
(ROHS)

49 |Solis-75,90 CRDI MODELS |20005003AB [BENJO BOLT M14*1.5*26 SA4GS 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
04080100014

50 [Solis-75,90 CRDI MODELS [10018199AB |FUEL PIPES ASSEMBLY 1

50 |Solis-75,90 CRDI MODELS |10018199AC |[FUEL PIPES ASSEMBLY 1

51 |Solis-75,90 CRDI MODELS |10071321AA |T-COUPLER 1

52 |Solis-75,90 CRDI MODELS |10067733AB |CLAMP FOR T-COUPLER 1

52 |Solis-75,90 CRDI MODELS |10067733AC |CLAMP FOR T-COUPLER 1 INTERCHANGE
ABLE WITH
10067733AD
(ROHS)

52 |Solis-75,90 CRDI MODELS [10067733AD |[CLAMP FOR T-COUPLER 1 (ROHS)
INTERCHANGE
ABLE WITH
10067733AC

53 |Solis-75,90 CRDI MODELS |10067734AA |CLAMP FOR T-COUPLER 1 INTERCHANGE
ABLE WITH
10067734AB
(ROHS)

53 |Solis-75,90 CRDI MODELS |10067734AB |CLAMP FOR T-COUPLER 1 (ROHS)
INTERCHANGE
ABLE WITH
10067734AA

54 |Solis-75,90 CRDI MODELS [20003354AB [HEX NUT M6 -8 SA2JS 2

55 |Solis-75,90 CRDI MODELS |20003235AB |HEX SCREW M10X20 8-8 SA3NS 1

56 |Solis-75,90 CRDI MODELS |20003390AA |PLAIN WASHER A 10.51S:5370 1

STEEL
56 |Solis-75,90 CRDI MODELS |20003390AB [PLAIN WASHER A 10.51S:5370 1 INTERCHANGE
STEEL ABLE WITH
20005523AA
(ROHS)

56 |Solis-75,90 CRDI MODELS [20005523AA |PLAIN WASHER A 10.51S:5370 1 YES [(ROHS)

STEEL INTERCHANGE
ABLE WITH
20003390AB

57 |Solis-75,90 CRDI MODELS |20004171AA |[HOSE WORM CLAMP DIA IS: 2 INTERCHANGE

4762 ABLE WITH
20004171AB
(ROHS)

57 |Solis-75,90 CRDI MODELS |20004171AB |[HOSE WORM CLAMP DIA IS: 2 (ROHS)

4762 INTERCHANGE
ABLE WITH

20004171AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
58 |Solis-75,90 CRDI MODELS 04042905012 [SLOTTED CHEESE HD SCREW 2
M5*12
59 |Solis-75,90 CRDI MODELS |20003353AA |HEX NUT M5 -8 SASNS 2 INTERCHANGE
ABLE WITH
300028453A
(ROHS)
59 |Solis-75,90 CRDI MODELS [300028453A |HEX NUT M5-8 SA2JS 2 (ROHS)
INTERCHANGE
ABLE WITH
20003353AA
60 |Solis-75,90 CRDI MODELS |10067737AA |CLAMP FOR STRAINER 1
61 |Solis-75,90 CRDI MODELS |10067738AA |U-CLAMP FOR STRAINER 1
62 |Solis-75,90 CRDI MODELS |10051627AA |FUEL FILTER 30N6200400 1 INTERCHANGE
(STRAINER) ABLE WITH
10055269AA
(ROHS)
62 |Solis-75,90 CRDI MODELS |10055269AA |FUEL FILTER (STRAINER) 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
10051627AA
63 |Solis-75,90 CRDI MODELS |10067739AA |CLAMP FOR FUEL PIPE 1
64 |Solis-75,90 CRDI MODELS |10067720AA [INTERMEDIATE MTG. BKT. 1
64 |Solis-75,90 CRDI MODELS |10067720AB [INTERMEDIATE MTG. BKT. 1
65 |Solis-75,90 CRDI MODELS |20003518AA |HEX FLANGE SCREW M6*1*20-8.8 4 INTERCHANGE
SA2JS ABLE WITH
20005541AA
(ROHS)
65 |Solis-75,90 CRDI MODELS |20005541AA |HEX FLANGE SCREW M6*1*20 -8.8 4 YES [(ROHS)
SA4GS INTERCHANGE
ABLE WITH
20003518AA
66 |Solis-75,90 CRDI MODELS |20004586AA |BS4 FUEL 12LTS.
67 |Solis-75,90 CRDI MODELS [10019095AA [LOCTITE 243 0.150ML
67 |Solis-75,90 CRDI MODELS |10019095AB [LIQUID GASKET ANAEROBIC 2 0.150ML| YES MEMMZGFF544
LOC574/ANA613E 37353
68 |Solis-75,90 CRDI MODELS [10095629AA [FUEL TANK CAP & KEY 1
69 [Solis-75,90 CRDI MODELS [10085506AA |FUEL PIPE FUEL TANK TO WATER 1 NOT SHOWN

SEPRATOR




17110A-1-1 CLUTCH PEDAL ASSY. Solis-75,90 CRDI MODELS

17110A-1/1 CLUTCH PEDAL ASSY.

31
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10010524AB |TENSION SPRING (CLUTCH ASSY.) 1
2 | Solis-75,90 CRDI MODELS |10053758AA |CLUTCH SAFETY SWITCH 1
2 | Solis-75,90 CRDI MODELS |300119996A [PLUNGER SWITCH NC 1 YES FOR NON EU
MODELS-
FYNDS852132W|
NT
FOR EU
MODELS-
MEMSYEDHCFK
H05802
3 | Solis-75,90 CRDI MODELS |10082177AC [BRAKE PEDAL MTG PIN 1 INTERCHANGE
ABLE WITH
10082177AD
(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

3 | Solis-75,90 CRDI MODELS |10082177AD |BRAKE & CLUTCH PEDAL MTG PIN 1 (ROHS)
INTERCHANGE
ABLE WITH
10082177AC

4 | Solis-75,90 CRDI MODELS |10017536AB [CLUTCH PEDAL ASSY 1

4 |Solis-75,90 CRDI MODELS [10017536AE |CLUTCH PEDAL ASSY 1

5 |Solis-75,90 CRDI MODELS [10082346AE |CLUTCH WIRE 1

6 |Solis-75,90 CRDI MODELS |10006738AB |WASHER [BRACKE PEDAL] 1

7 |Solis-75,90 CRDI MODELS |20002549AA |CIRCLIP 25*1.2N,IS:3075 [PART-1] 1

8 |Solis-75,90 CRDI MODELS |10082095AD [CA SHAFT ASSY TRANSMISSION 1

9 |Solis-75,90 CRDI MODELS |10083086AA |HANDLE FOR I.P.T.O 1 INTERCHANGE
ABLE WITH
10083086AB
(ROHS)

9 |Solis-75,90 CRDI MODELS (10083086AB |HANDLE FOR PARKING BRAKE 1 (ROHS)
INTERCHANGE
ABLE WITH
10083086AA

10 [Solis-75,90 CRDI MODELS [04040108035 |HEX SCREW M8*1.25*35 4

11 |[Solis-75,90 CRDI MODELS [04030600008 |PLAIN WASHER DIA 8.4 *DIA 17*1.6 4

12 |[Solis-75,90 CRDI MODELS [10082345AF |IPTO CLUTCH WIRE 1

13 |Solis-75,90 CRDI MODELS |10083690AA |CIRCLIP 1

14 |Solis-75,90 CRDI MODELS |10083104AA |PIN FOR ACCELRATOR 1 INTERCHANGE
ABLE WITH
300028437A
(ROHS)

14 [Solis-75,90 CRDI MODELS [300028437A |PIN FOR BRAKE HANDLE 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
10083104AA

15 [Solis-75,90 CRDI MODELS (04010102025 |SPLIT PIN DIA 2*25 1

16 | Solis-75,90 CRDI MODELS |10083094AA |FORK FOR SERVICE BRAKE 1 INTERCHANGE
ABLE WITH
300036223A
(ROHS)

16 [Solis-75,90 CRDI MODELS [300036223A |FORK PARKING BRAKE 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
10083094AA

17 |Solis-75,90 CRDI MODELS [10083112AA |ES BOLT (FOR10X40 FORK HEAD) 1 INTERCHANGE

WITH SECURI ABLE WITH

300062998A
(ROHS)

17 |Solis-75,90 CRDI MODELS |300062998A |ES BOLT 1 (ROHS)
INTERCHANGE
ABLE WITH
10083112AA

18 [Solis-75,90 CRDI MODELS [10082116AD |CA SHAFT FOR PTO 1 NEW PART
ADDED

19 [Solis-75,90 CRDI MODELS [10082095AE |CA SHAFT ASSY TRANSMISSION 1 NEW PART
ADDED

20 |Solis-75,90 CRDI MODELS |20003460AB |CONICAL HEAD GRESE NIPPLE B 1 NEW PART

M8X1 IS ADDED(NOT

SHOWN)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
20 |Solis-75,90 CRDI MODELS |20003460AC |CONICAL HEAD GRESE NIPPLE B 1 YES |(ROHS)
M8X1 1S:4009 INTERCHANGE
ABLE WITH
20003460AB
21 |Solis-75,90 CRDI MODELS |10094504AA |MTG BKT ASSY FOR CLUTCH 1 NEW PART
SPRING UPPER ADDED
22 |Solis-75,90 CRDI MODELS |20004833AA |STUD M14 X 2X55 2 NEW PART
ADDED
23 |Solis-75,90 CRDI EXCEPT [10094505AA |MTG BKT ASSY FOR CLUTCH 1
HISARLAR CABIN SPRING LOWER
MODELS
23 |Solis-75,90 CRDI EXCEPT |10094505AB |MTG BKT ASSY FOR CLUTCH 1 YES [NEW PART MEMAYFDT631
HISARLAR CABIN SPRING LOWER ADDED 265W
MODELS
24 |Solis-75,90 CRDI MODELS |20002021AA |Hex head screw M12 x1.75x25 10.9 SA 1 NEW PART
ADDED
25 |Solis-75,90 CRDI MODELS 04030800012 [M/CD WASHER DIA 13 *DIA 24*2.5 1 NEW PART
ADDED
25 |Solis-75,90 CRDI MODELS |[20004940AB |M/C WASHER DIA 13*DIA 24*2.5 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
04030800012
26 |Solis-75,90 CRDI MODELS |10094506AB | BKT ASSY FOR CLUTCH SPRING 1 NEW PART
ADDED
27 |Solis-75,90 CRDI MODELS |20002015AB [Hex. head screw M10 x 1.5 x 25 8-8 2 NEW PART
ADDED
28 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 2 NEW PART
ADDED
29 |Solis-75,90 CRDI MODELS |10004496AB |TENSION SPRING (BRAKE & 1 NEW PART
CLUTCH MAJOR ASSY.) ADDED
30 |Solis-75,90 CRDI MODELS [10004837AA |RUBBER RING FOR EXHAUST 4 NEW PART MEMSYKDHRKJ
CLAMP ASSY. ADDED H02930
31 |Solis-90 CRDI MODELS 10094505AB |MTG BKT ASSY FOR CLUTCH 1 NEW PART MEMSYKDHRKJ
(BOM900ID5741LDBGUDE SPRING LOWER ADDED H02930

T2)




17120A-1-1 BRAKE CABLE ASSY. Solis-75,90 CRDI MODELS

17120A-1/2 BERAKE CABLE ASSY.
4.
pm T
cl Rk 19
L 3 oS

WO

!
PP
\!
—_—:.1,:_:-':=$f
3¢
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10083143AB |SERVICE BRAKE CALBE 2
2 | Solis-75,90 CRDI MODELS |10006738AB |WASHER [BRACKE PEDAL] 1
3 | Solis-75,90 CRDI MODELS |20002549AA |CIRCLIP 25*1.2N,1S:3075 [PART-1] 1
4 | Solis-75,90 CRDI MODELS |10010523AB |[TENSION SPRING (BRAKE ASSY.) 2
5 |Solis-75,90 CRDI MODELS [10082156AA |BRAKE PEDAL SHAFT 1
5 |Solis-75,90 CRDI MODELS [10082156BA |BRAKE PEDAL SHAFT 1 NO MEMKZLFU5270
90w

6 |Solis-75,90 CRDI MODELS |10017530AB |BRAKE PEDAL ASSY LEFT 1
6 |Solis-75,90 CRDI MODELS [10017530AD |BRAKE PEDAL ASSY LEFT 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
7 |Solis-75,90 CRDI MODELS |10017531AB |BRAKE PEDAL ASSY RIGHT 1
7 |Solis-75,90 CRDI MODELS |10017531AD |BRAKE PEDAL ASSY RIGHT 1
8 |Solis-75,90 CRDI MODELS |10083088AD [BRAKE WIRE MOUNTING BRACKET 1
8 |[Solis-75,90 CRDI MODELS (10083088AE |BRAKE WIRE MOUNTING BRACKET . 1 YES MEMKZLFU5270)
9OWwW
9 |Solis-75,90 CRDI MODELS |10083047AC [HANDLE FOR PARKING BRAKE 1
10 [Solis-75,90 CRDI MODELS [04040108035 |HEX SCREW M8*1.25*35 4
11 | Solis-75,90 CRDI MODELS |04030600008 |PLAIN WASHER DIA 8.4 *DIA 17*1.6 4
12 |Solis-75,90 CRDI MODELS |10082837AD |PARKING BRAKE CABLE 1
13 [Solis-75,90 CRDI MODELS [10083690AA |CIRCLIP 1
14 |Solis-75,90 CRDI MODELS [10083104AA |PIN FOR ACCELRATOR 1 INTERCHANGE
ABLE WITH
300028437A
(ROHS)
14 [Solis-75,90 CRDI MODELS [300028437A |PIN FOR BRAKE HANDLE 1 YES |(ROHS)
INTERCHANGE
ABLE WITH
10083104AA
15 |Solis-75,90 CRDI MODELS |04010102025 |SPLIT PIN DIA 2*25 1
16 [Solis-75,90 CRDI MODELS [10083093AA |FORK PARKING BRAKE 1 INTERCHANGE
ABLE WITH
300031864A
(ROHS)
16 [Solis-75,90 CRDI MODELS [300031864A |FORK FOR PARKING BRAKE 1 (ROHS)
INTERCHANGE
ABLE WITH
10083093AA
17 |[Solis-75,90 CRDI MODELS [10083095AA |ES BOLT (FOR10X20 FORK HEAD) 1
WITH SECURI
18 |Solis-75,90 CRDI MODELS |10083091AB |HUB PARKING BRAKE 1 INTERCHANGE
ABLE WITH
300074223A
(ROHS)
18 |[Solis-75,90 CRDI MODELS [300074223A |PARKING BRAKE HUB ASSY 1 (ROHS)
INTERCHANGE
ABLE WITH
10083091AB
19 [Solis-75,90 CRDI MODELS [10017544AB |BRAKE PEDAL MTG. PIN (FOR 90HP 1 INTERCHANGE
DEUTZ) ABLE WITH
10017544AC
(ROHS)
19 |Solis-75,90 CRDI MODELS |10017544AC |BRAKE PEDAL MTG. PIN (FOR 90HP 1 (ROHS)
DEUTZ) INTERCHANGE
ABLE WITH
10017544AB
20 |Solis-75,90 CRDI MODELS |10082158AB [HUB FOR BRAKE PEDAL LINKS LEFT] 1
20 |Solis-75,90 CRDI MODELS |10082158AC [HUB FOR BRAKE PEDAL LINKS LEFT] 1
21 |Solis-75,90 CRDI MODELS |10083094AA |FORK FOR SERVICE BRAKE 4 INTERCHANGE
ABLE WITH
300036223A
(ROHS)
21 |Solis-75,90 CRDI MODELS [300036223A |FORK PARKING BRAKE 4 YES [(ROHS)
INTERCHANGE
ABLE WITH

10083094AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
22 |Solis-75,90 CRDI MODELS |10083112AA |ES BOLT (FOR10X40 FORK HEAD) 4 DELETED MEMKZLFU5270)
WITH SECURI WITH 90W
10082854BA
FROM
23 |Solis-75,90 CRDI MODELS |10082159AF [LUG ASSEMBLY (RIGHT BRAKE 1
LINK)
23 |Solis-75,90 CRDI MODELS |10082159BA [LUG ASSEMBLY (RIGHT BRAKE 1 NO MEMKZLFU5270)
LINKS) 90w
24 |Solis-75,90 CRDI MODELS |20002016AB |HEX. HEAD SCREW M10 X 1.5 X 30 2
8-8 SA2JS
25 |Solis-75,90 CRDI MODELS |04040708065 [HEX. HEAD BOLT M8 X 1.25-65 8-8 1 INTERCHANGE
SA2JS-Z ABLE WITH
20005598AA
(ROHS)
25 |Solis-75,90 CRDI MODELS [20005598AA |HEX HEAD BOLT M8X65_8.8 SA4GS 1 (ROHS)
INTERCHANGE
ABLE WITH
04040708065
26 |Solis-75,90 CRDI MODELS 04030400008 [SPRING WASHER B-8 1 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
26 |Solis-75,90 CRDI MODELS |20005517AA |SPRING WASHER B-8 TYPE A IS: 1 YES |(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
27 |Solis-75,90 CRDI MODELS [04041000008 [HEX NYLOCK NUT M8*1.25 1 INTERCHANGE
ABLE WITH
20004917AB
(ROHS)
27 |Solis-75,90 CRDI MODELS |20004917AB |[HEX NYLOC NUT M8*1.25 8 1 (ROHS)
INTERCHANGE
ABLE WITH
04041000008
28 |Solis-75,90 CRDI MODELS |10004497AA |WASHER BRAKE PEDAL SHAFT 3
29 |Solis-75,90 CRDI MODELS |04020200030 [EXTERNAL CIRCLIP A - 30 3
30 |Solis-75,90 CRDI MODELS [10019095AA [LOCTITE 243 2.270ML
30 |Solis-75,90 CRDI MODELS |10019095AB [LIQUID GASKET ANAEROBIC 2 2.270ML| YES MEMMZGFF544
LOC574/ANAG13E 373S3
31 |Solis-75,90 CRDI MODELS |10082854AC |ADJUSTABLE BRAKE TIE ROD 2
31 |Solis-75,90 CRDI MODELS [10082854BA |ADJUSTABLE BRAKE TIE ROD 2 NO |INTERCHANGE|MEMKZLFU5270)
ABLEWITH  |9ow
300074152A
(ROHS)
31 |Solis-75,90 CRDI MODELS |300074152A |ADJUSTABLE BRAKE TIE ROD 2 YES |(ROHS)
INTERCHANGE
ABLE WITH
10082854BA
32 |Solis-75,90 CRDI MODELS |10005187AA |LINK PIN 4 INTERCHANGE
ABLE WITH
10087974AA
(ROHS)
32 |Solis-75,90 CRDI MODELS [10087974AA |LINK ASSY 4 YES [(ROHS)
INTERCHANGE
ABLE WITH
10005187AA
33 |Solis-75,90 CRDI MODELS |10083094AA |FORK FOR SERVICE BRAKE 4 DELETED MEMKZLFU5270
WITH 90w
10082854BA

FROM




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

33

Solis-75,90 CRDI MODELS

300036223A

FORK PARKING BRAKE

YES

(ROHS)
INTERCHANGE
ABLE WITH
10083094AA

34

Solis-75,90 CRDI MODELS

04010102025

SPLIT PIN DIA 2*25

QTY INC BY 4
WITH
10082156BA
FROM

MEMKZLFU5270
90w

35

Solis-75,90 CRDI MODELS

10086892AA

ACTUATOR ASSY FOR BRAKE

WITH
10082854BA
FROM

MEMKZLFU5270)
90w

35

Solis-75,90 CRDI MODELS

10086892AB

ACTUATOR ASSY FOR BRAKE

YES

INTERCHANGE
ABLE WITH
10086892AC
(ROHS)

MEMMZKFF543
439W

35

Solis-75,90 CRDI MODELS

10086892AC

ACTUATOR ASSY FOR BRAKE

(ROHS)
INTERCHANGE
ABLE WITH
10086892AB

36

Solis-75,90 CRDI MODELS

04030800010

M/CD WASHER DIA 10.5 *DIA 21*2

WITH
10082854BA
FROM

MEMKZLFU5270)
90w

37

Solis-75,90 CRDI MODELS

10005187AB

LINK PIN

WITH
10082854BA
FROM

MEMKZLFU5270
90w

38

Solis-75,90 CRDI MODELS

10028306AA

LINK PIN (FOR 3 CYL OIB MODELS)

WITH
10082854BA
FROM

MEMKZLFU5270
90w




17121A-1-1

17121 A-1-1

MODIFIED BRAKE

Solis-75,90 CRDI MODELS

MODIFIED BRAKE ARRANGEMENT

12,13

Sr. Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

1 [Solis-75,90 CRDI MODELS

10083088AE

BRAKE WIRE MOUNTING BRACKET .

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270)
90w

2 |Solis-75,90 CRDI MODELS

10086892AA

ACTUATOR ASSY FOR BRAKE

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270)
90w

2 |Solis-75,90 CRDI MODELS

10086892AB

ACTUATOR ASSY FOR BRAKE

YES

INTERCHANGE
ABLE WITH
10086892AC
(ROHS)

MEMMZKFF543
439W

2 |Solis-75,90 CRDI MODELS

10086892AC

ACTUATOR ASSY FOR BRAKE

(ROHS)




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

INTERCHANGE
ABLE WITH
10086892AB

Solis-75,90 CRDI MODELS

10082156BA

BRAKE PEDAL SHAFT

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270
90w

Solis-75,90 CRDI MODELS

04010102025

Split Pin DIA 2*25

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270
90w

Solis-75,90 CRDI MODELS

04030800010

M/CD WASHER DIA 10.5 *DIA 21*2

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270)
90w

Solis-75,90 CRDI MODELS

10005187AB

LINK PIN

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270
90w

Solis-75,90 CRDI MODELS

10028306AA

LINK PIN (FOR 3 CYL OIB MODELS)

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270
90w

Solis-75,90 CRDI MODELS

10082135BA

BRAKE PEDAL ASSY LEFT

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270)
90w

10

Solis-75,90 CRDI MODELS

10082136BA

BRAKE PEDAL ASSY RIGHT

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270
90w

11

Solis-75,90 CRDI MODELS

10082854BA

ADJUSTABLE BRAKE TIE ROD

MODIFIED
BRAKE
ARRANGEMEN
T
IMPLEMENTED
FROM

MEMKZLFU5270
90w

11

Solis-75,90 CRDI MODELS

300074152A

ADJUSTABLE BRAKE TIE ROD

YES

(ROHS)
INTERCHANGE
ABLE WITH
10082854BA

12

Solis-75,90 CRDI MODELS

10082159BA

LUG ASSEMBLY (RIGHT BRAKE
LINKS)

OPTIONAL
FOR
HYDRAULIC
TRAILER &
WITHOUT
TRAILER
BRAKE
MODELS

MEMKZLFU5270
90w

13

Solis-75,90 CRDI MODELS

10083048BA

BRAKE LUG ASSY.(RT) FOR AIR
BRAKE

OPTIONAL AIR
TRAILER
BRAKE
MODELS

MEMKZLFU5270)
90w







18110A-1-1

18110A-1/1

FRONT AXLE BKT FOR 4-WD

FRONT AXLE BKT FOR Solis-75,90 CRDI MODELS

ABLE WITH

Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10017890AD |FRONT AXLE BRACKET (SG CI) -4 1
WD
1 |Solis-90 CRDI MODELS 10017890BB |FRONT AXLE BRACKET (SG Cl) -4 1 NO MEMHYFDT653
(9001D4028LDBGUDE, WD 873W
9001D4296L.DBGUDE)
1 |Solis-90 CRDI MODELS 10017890AD |FRONT AXLE BRACKET (SG Cl) -4 1
WD
1 | Solis-90 CRDI MODELS 10017890BB |FRONT AXLE BRACKET (SG Cl) -4 1 NO |INTERCHANGE|MEMKYFDT685
WD ABILITY AS  |g40W
SET WITH
ENGINE AS
PER BOM
2 | Solis-75,90 CRDI MODELS |04030400020 [SPRING WASHER B-20 4 INTERCHANGE
ABLE WITH
20005457AA
(ROHS)
2 |Solis-75,90 CRDI MODELS |20005457AA [SPRING WASHER B-20 JIS B 1251 4 (ROHS)
NO.2 20S INTERCHANGE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
04030400020
3 | Solis-75,90 CRDI MODELS |20003995AA [HEX HEAD SCREW M20X2.5X70-10.9 4 INTERCHANGE
SA2JD ABLE WITH
20005465AA
(ROHS)
3 | Solis-75,90 CRDI MODELS |20005465AA |HEX HEAD SCREW M20*2.5*70 10.9 4 YES [(ROHS)
SA4GS INTERCHANGE
ABLE WITH
20003995AA

4 | Solis-75,90 CRDI MODELS |10018143AA [SAFETY PLATE RIGHT 1

5 |Solis-75,90 CRDI MODELS |10018144AA |SAFETY PLATE LEFT 1

5 |Solis-75,90 CRDI MODELS |10018144AB |SAFETY PLATE ASSY LH 1 YES |GUARD ASSY. IMEMKYFDF595

FORFILTER [ooq1w
ADDED
6 |Solis-75,90 CRDI MODELS |20004094AA |HEX BOLT M16*2*50 14 INTERCHANGE
ABLE WITH
20005453AA
(ROHS)
6 |Solis-75,90 CRDI MODELS |20005453AA |HEX BOLT M16X2X55 8.8 SA4GS 14 (ROHS)
INTERCHANGE
ABLE WITH
20004094AA
7 |Solis-75,90 CRDI MODELS |04030400016 |SPRING WASHER B-16 14 INTERCHANGE
ABLE WITH
20004994AB
(ROHS)
7 |Solis-75,90 CRDI MODELS |20004994AB |SPRING WASHER B-16 TYPE-A IS: 14 YES [(ROHS)
3063-1972 INTERCHANGE
ABLE WITH
04030400016
8 |Solis-75,90 CRDI MODELS |10095000AB [PROTECTION GAURD ASSY FOR 1 PART ADDED [MEMKYFDF595
OIL FILTER WITH 201W
10018144AB
FROM
10 [Solis-75,90 CRDI MODELS [04030600010 |PLAIN WASHER DIA 10.5 *DIA 30 *2. 2 PART ADDED |MEMKYFDF595
5 WITH 221W
10018144AB
FROM
11 [Solis-75,90 CRDI MODELS [04030400010 |SPRING WASHER B-10 2 PART ADDED [MEMKYFDF595
WITH 221W
10018144AB
FROM

12 [Solis-90 CRDI MODELS 20002015AB |Hex. head screw M10 x 1.5 x 25 8-8 2 PART ADDED |[MEMKYFDF595
(9001D4028LDBGUDE, WITH 201W
9001D4296L.DBGUDE) 10018144AB

FROM

13 [Solis-90 CRDI MODELS 10067515AA |DOWEL 2 PART ADDED |MEMHYFDT653
(9001D4028L.DBGUDE, WITH 873W
9001D4296L.DBGUDE) 10017890BB

FROM

13 [Solis-90 CRDI MODELS 10067515AA |DOWEL 2 PART ADDED [MEMKYFDT685
WITH 840W
10017890BB
FROM

14 |Solis-90 CRDI MODELS 20004071AA |[NORD LOCK WASHER B16 6
(9001D4028LDBGUDE,
9001D4296LDBGUDE)

14 |[Solis-90 CRDI MODELS 20005046AA |NORD LOCK WASHER B18 6 NO MEMHYFDT653
(9001D4028LDBGUDE, 873W
9001D4296L.DBGUDE)

14 |[Solis-90 CRDI MODELS 20004071AA |[NORD LOCK WASHER B16 6




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

14 |[Solis-90 CRDI MODELS 20005046AA |[NORD LOCK WASHER B18 6 NO MEMKYFDT685

840W

15 |Solis-90 CRDI MODELS 20003362AC [HEX NUT M16X2 -8 SA2JS 6 INTERCHANGE
(9001D4028LDBGUDE, ABLE WITH
9001D4296LDBGUDE) 20003719AB

(ROHS)

15 [Solis-90 CRDI MODELS 20005047AA |HEX NUT M18*1.5 6 NO [INTERCHANGE|MEMHYFDT653
(900ID4028L.DBGUDE, ABLE WITH 873W
9001D4296L.DBGUDE) 300031362A

(ROHS)

15 |Solis-90 CRDI MODELS  [20003362AC [HEX NUT M16X2 -8 SA2JS 6 INTERCHANGE
ABLE WITH
20003719AB
(ROHS)

15 |Solis-90 CRDI MODELS 20005047AA |HEX NUT M18*1.5 6 NO |INTERCHANGE|MEMKYFDT685
ABLE WITH 840W
300031362A
(ROHS)

15 [Solis-90 CRDI MODELS 20003719AB |HEX NUT M16X2 - 8, SA2GS 6 YES |(ROHS)

(900ID4028L.DBGUDE, INTERCHANGE
9001D4296L.DBGUDE) ABLE WITH
20003362AC

15 |Solis-90 CRDI MODELS  [20003719AB [HEX NUT M16X2 - 8, SA2GS 6 YES |[(ROHS)
INTERCHANGE
ABLE WITH
20003362AC

15 |Solis-90 CRDI MODELS  [300031362A [HEX NUT 6 (ROHS)

(9001D4028LDBGUDE, INTERCHANGE
9001D4296LDBGUDE) ABLE WITH
20005047AA

15 |Solis-90 CRDI MODELS  [300031362A |[HEX NUT 6 (ROHS)
INTERCHANGE
ABLE WITH
20005047AA

16 |Solis-90 CRDI MODELS  [AUW4105D36 (W4105CTI-CRDI_DC(12+22cc) U/H,A. 1
(9001D4296L.DBGUDE) H1H3C comp. AC

16 [Solis-90 CRDI MODELS  [AUW4105D36 |W4105TLCRDI_DC(12+22cc)U/H,A. 1 NO MEMHYFDT653
(9001D4296LDBGUDE) H13CB comp.AC,M18 873W

16 [Solis-90 CRDI MODELS UW4105D36H |W4105CTI_DC (12+22-6.7cc) U/H,A. 1
(9001D4028L.DBGUDE) 1H6C comp.

16 |Solis-90 CRDI MODELS  [UW4105D36H (W4105TLCRDI_DC (12+22-6.7cc) U/H, 1 NO MEMHYFDT653
(900ID4028LDBGUDE) 16CB M18 873W

16 [Solis-90 CRDI MODELS AUW4105D36 |W4105CTI_DC (12+22-6.7cc) U/H,A. 1

H1H6C comp AC
16 [Solis-90 CRDI MODELS AUW4105D36 |W4105CTI-CRDI_DC(12+22cc) U/H,A. 1
H1H3C comp. AC
16 |Solis-90 CRDI MODELS  [AUW4105D36 (W4105TLCRDI_DC(12+22cc)U/H,A. 1 NO |INTERCHANGE|MEMKYFDT685
H13CB comp.AC,M18 ABILITY AS  |g40W
SET WITH
10017890BB
16 |Solis-90 CRDI MODELS UW4105D36H |W4105CTI_DC (12+22-6.7cc) U/H,A. 1
1H6C comp.
16 [Solis-90 CRDI MODELS UW4105D36H |[W4105TLCRDI_DC (12+22-6.7cc) U/H, 1 NO [INTERCHANGE|MEMKYFDT685
16CB M18 ABILITY AS 840W
SET WITH
10017890BB
16 [Solis-90 CRDI MODELS UW4105D36H1|W4105CTI_DC (12+22-6.7cc) U/H,A. 1
H6C comp.
16 |Solis-90 CRDI MODELS  [UW4105D36H (W4105TLCRDI_DC (12+22-6.7cc) U/H, 1 NO |INTERCHANGE|MEMKYFDT685
16CB M18 ABILITY AS  |g40W
SET WITH
10017890BB
16 |Solis-90 CRDI MODELS AUW4105D36 [W4105TLCRDI_DC(12+22-6.7cc)U/H, 1 NO |INTERCHANGE|MEMKYFDT685
H16CB AC, M18 ABILITY AS 840W

SET WITH




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10017890BB




18120A-1-1 MUD GUARD Solis-75,90 CRDI MODELS
18120A-1/1 MUD GUARD
;
\ 14 5
|
2 _ .'
H\\E P e i
— T I|
_13 HHH_H__ . \ I|
G s A
1T W\
-\--\""‘-\-.. T |
RH"" 'ﬂ-._\_\__\_":' LT
15 s Ay
-~ s 1., ==
RER‘“‘R q\k‘\-%- 'I .
T i
-H-"""-\-\.._ &
17 ™%
19 —_ .
T
21 &, .
Hﬂ"“-\-\. fr rE
x"“‘-».._:_' 5 =
™ -
" ., W
E: 'hl =~
Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS |10083153BA |FRONT MUDGAURD 2
2 |Solis-75,90 CRDI MODELS (10082780BB |FRONT MUDGUARD FRAME ASSY 1
RH
3 |Solis-75,90 CRDI MODELS (10082781BB |FRONT MUDGUARD FRAME ASSY 1
LH
4 | Solis-75,90 CRDI MODELS |10082901AB |SLOTTED PLATE 4 INTERCHANGE
ABLE WITH
10082901AC
(ROHS)
4 |Solis-75,90 CRDI MODELS [10082901AC |SLOTTED PLATE 4 YES [(ROHS)
INTERCHANGE
ABLE WITH
10082901AB
5 |Solis-75,90 CRDI MODELS |10067946AA |CROSS SLOTTED TRUSS HEAD 8
SCREW M8X25
11 |Solis-75,90 CRDI MODELS |10082782BA |BASE FRAME ASSY RH 1




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

12

Solis-75,90 CRDI MODELS

10082783BA

BASE FRAME ASSY LH

13

Solis-75,90 CRDI MODELS

20004376AC

HEX BOLT M12*1.75*50 (GRADE
10.9)SA4NS

14

Solis-75,90 CRDI MODELS

04041000012

HEX NYLOCK NUT M12

INTERCHANGE
ABLE WITH
300031316A
(ROHS)

14

Solis-75,90 CRDI MODELS

300031316A

HEX NYLOCK NUT

YES

(ROHS)
INTERCHANGE
ABLE WITH
04041000012

15

Solis-75,90 CRDI MODELS

10082899CA

BASE ASSY

17

Solis-75,90 CRDI MODELS

10082903AA

STOPPER PLATE

INTERCHANGE
ABLE WITH
10082903AB
(ROHS)

17

Solis-75,90 CRDI MODELS

10082903AB

STOPPER PLATE

YES

(ROHS)
INTERCHANGE
ABLE WITH
10082903AA

18

Solis-75,90 CRDI MODELS

20002015AB

HEX HEAD SCREW M10x1.5x25 8-8
SA2JS

19

Solis-75,90 CRDI MODELS

10082914AB

TORSIONAL SPRING RH

INTERCHANGE
ABLE WITH
10082914AC
(ROHS)

19

Solis-75,90 CRDI MODELS

10082914AC

TORSIONAL SPRING RH

(ROHS)
INTERCHANGE
ABLE WITH
10082914AB

20

Solis-75,90 CRDI MODELS

10082913AB

TORSIONAL SPRING LH

INTERCHANGE
ABLE WITH
10082913AC
(ROHS)

20

Solis-75,90 CRDI MODELS

10082913AC

TORSIONAL SPRING LH

(ROHS)
INTERCHANGE
ABLE WITH
10082913AB

21

Solis-75,90 CRDI MODELS

10095121AA

BASE PLATE ASSY

INTERCHANGE
ABLE WITH
10095121AB
(ROHS)

21

Solis-75,90 CRDI MODELS

10095121AB

BASE PLATE ASSY

(ROHS)
INTERCHANGE
ABLE WITH
10095121AA




19120A-1-1

19120A-1/1

AXLE HOUSING

AXLE HOUSING

Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AB)

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

WITH 10080814AB

10081494AA

AXLE HOUSING

WITH
10080814AB

WITH 10080814AB

10081495AA

BREATHER PLUG M10X1

ALT.CODE :
21000023AA,
WITH
10080814AB

WITH 10080814AB

10081496AA

FRONT SUPPORT

WITH
10080814AB

WITH 10080814AB

10081497AA

WITH
10080814AB,
DELETED
WITH
10080814AE

WITH 10080814AB

10081498AA

WITH
10080814AB

WITH 10080814AB

10081499AA

GREASER NIPPLE M6X1

ALT.CODE :
21000002AA,




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

WITH
10080814AB,
DELETED
WITH
10080814AE

WITH 10080814AB

10081500AA

BELLEVILLE WASHER

ALT.CODE :
21000105AA

WITH 10080814AB

10081501AA

BUSHING

ALT.CODE :
21000137AA,
WITH
10080814AB

WITH 10080814AB

10081502AA

SEAL RING

WITH
10080814AB

10

WITH 10080814AB

10081503AA

BUSHING

WITH
10080814AB

11

WITH 10080814AB

10081504AA

SPHERICAL BEARING

ALT.CODE :
21000075AA

12

WITH 10080814AB

10081505AA

BELLEVILLE WASHER

ALT.CODE :
21000118AA

13

WITH 10080814AB

10081506AA

DIFFERENTIAL SUPPORT

WITH
10080814AB

14

WITH 10080814AB

10081507AA

BOLT M 12X33

ALT.CODE :
21000106AA,
WITH
10080814AB,
DELETED
WITH
10080814AE

15

WITH 10080814AB

10081508AA

BOLT M 12X150

WITH
10080814AB,
DELETED
WITH
10080814AE

16

WITH 10080814AB

10081509AA

PLUG M24X1.5

ALT.CODE :
21000004AA

17

WITH 10080814AB

10081510AA

REAR SUPPORT

WITH
10080814AB

18

WITH 10080814AB

10081511AA

BUSHING

ALT.CODE :
21000093AA

19

WITH 10080814AB

10081402AA

PIN D15X35

ALT.CODE :
21000085AA,
WITH
10080814AB,
DELETED
WITH
10080814AE

20

WITH 10080814AB

10081512AA

GREASER NIPPLE M10X1

WITH
10080814AB,
DELETED
WITH
10080814AE

21

WITH 10080814AB

10080814AB

FRONT AXLE BEAM FROM
CARRARO FOR WORLDTRAC

21

WITH 10080814AB

10080814AE

FRONT AXLE BEAM FROM
CARRARO FOR WORLDTRAC

YES

BZHDT611247W




19121A-1-1

19121A-1/1

AXLE HOUSING

Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-

10080814AE)

AXLE HOUSING

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |WITH 10080814AE 10039840AA |AXLE HOUSING 1 WITH
10080814AE
2 |WITH 10080814AE 21000341AA |Breather M10x1(642014) 1 WITH
10080814AE
3 |WITH 10080814AE 10039841AA |FRONT SUPPORT 1 WITH
10080814AE
5 |WITH 10080814AE 21000086AA |BUSH 2 WITH
10080814AE
7 |WITH 10080814AE 10081500AA |BELLEVILLE WASHER 2 ALT.CODE :
21000105AA
8 |WITH 10080814AE 10013856AA |BUSH 2 WITH
10080814AE
9 [WITH 10080814AE 10013981AA |Qil Seal 2 WITH
10080814AE
10 |WITH 10080814AE 21000096AA |Bush 2 WITH
10080814AE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
11 |WITH 10080814AE 10081504AA |SPHERICAL BEARING 2 ALT.CODE :
21000075AA
12 |WITH 10080814AE 10081505AA |BELLEVILLE WASHER 2 ALT.CODE :
21000118AA
13 [WITH 10080814AE 21000115AA |DIFFERENTIAL SUPPORT 1 WITH
10080814AE
16 |WITH 10080814AE 10081509AA |PLUG M24X1.5 2 ALT.CODE :
21000004AA
17 |WITH 10080814AE 10039842AA |REAR SUPPORT 1 WITH
10080814AE
18 |WITH 10080814AE 10081511AA |BUSHING 4 ALT.CODE :
21000093AA
21 |WITH 10080814AE 10080814AB |FRONT AXLE BEAM FROM 1
CARRARO FOR WORLDTRAC
21 |WITH 10080814AE 10080814AE |FRONT AXLE BEAM FROM 1 YES BZHDT611247W
CARRARO FOR WORLDTRAC
22 |WITH 10080814AE 21000005AA |O.RING 1 NEW PART
ADDED WITH
10080814AE
23 |WITH 10080814AE 21000067AA |BUSH 2 NEW PART
ADDED WITH
10080814AE
24 |WITH 10080814AE 10039843AA |Bolt 1 NEW PART
ADDED WITH
10080814AE
25 |WITH 10080814AE 10039844AA |Bolt 1 NEW PART
ADDED WITH
10080814AE
26 |WITH 10080814AE 10013907AA |Bolt M14x75 4 NEW PART
ADDED WITH
10080814AE
27 |WITH 10080814AE 21000084AA |Centering bush 4 NEW PART
ADDED WITH
10080814AE
28 |WITH 10080814AE 10039845AA |washer 2 NEW PART
ADDED WITH
10080814AE
29 |WITH 10080814AE 10081499AA |GREASER NIPPLE M6X1 2 ALT.CODE :

21000002AA




19130A-1-1

19130A-1/1

10080814AB)

SWIVEL HOUSINGS AND Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-

SWIVEL HOUSINGS AND STEERING CYLINDER

Sr. Iltem Code Description Qty | Int. Remarks Cut Off
1 |WITH 10080814AB 10081499AA |GREASER NIPPLE M6X1 4 ALT.CODE :
21000002AA
2 |WITH 10080814AB 10081487AA |BOLT M 12X30 16 ALT.CODE :
21000111AA
3 |WITH 10080814AB 10081513AA |KING PIN 2 ALT.CODE :
21000121AA
4 |WITH 10080814AB 10081514AA |PLUG 8 WITH
10080814AB
5 |WITH 10080814AB 10081515AA |SWIVEL HOUSING LH 1
6 |WITH 10080814AB 10081516AA |NUT M20X1.5 2 ALT.CODE :
21000006AA
7 |WITH 10080814AB 10081517AA |KING PIN 2 ALT.CODE :
21000120AA
8 |[WITH 10080814AB 10081518AA |STEERING ARM ASSY 2




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |[WITH 10080814AB 10081519AA |BALL JOINT 2 Alternate Part
Code is :
21000007AA Kit
Code:
10081518AA
9 |[WITH 10080814AB 10011995AA |BALL JOINT 2 NO
10 |WITH 10080814AB 10081520AA |NUT 2 Kit Code:
10081518AA,
ALT.CODE :
21000008AA
11 |WITH 10080814AB 10081521AA |TIE ROD 2 Kit Code:
10081518AA
11 |WITH 10080814AB 10011996AA |TIE ROD 2 NO
12 |WITH 10080814AB 10081522AA |STEERING CYLINDER 1 WITH
10080814AB
13 |WITH 10080814AB 10081523AA |BOLT M 12X35 4 WITH
10080814AB
14 |WITH 10080814AB 10081524AA |SWIVEL HOUSING RH 1
15 |WITH 10080814AB 10081525AA |NUT M16 2 ALT.CODE :
21000070AA
16 |WITH 10080814AB 10081526AA |BOLT M 16X100 2 ALT.CODE :
21000098AA
17 |WITH 10080814AB 10081527AA |CYLINDER ROD 1 Kit Code:
10081522AA,
WITH
10080814AB
18 |WITH 10080814AB 10081528AA |CYLINDER HEAD 1 Kit Code:
10081522AA,
WITH
10080814AB
19 |WITH 10080814AB 10081529AA |SEAL KIT 1 Kit Code:
10081522AA,
WITH
10080814AB
20 |WITH 10080814AB 10081530AA |CYLINDER HEAD 1 Kit Code:
10081522AA
21 |WITH 10080814AB 10081531AA |SEAL RING 2
22 |WITH 10080814AB 10081532AA |BUSHING 2 ALT.CODE :

21000102AA




19131A-1-1 SWIVEL HOUSINGS AND Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AE)

19131A-1/1 SWIVEL HOUSINGS STEERING CYLINDER

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |WITH 10080814AE 10081499AA |GREASER NIPPLE M6X1 4 ALT.CODE :
21000002AA
2 |WITH 10080814AE 10081487AA |BOLT M 12X30 16 ALT.CODE :
21000111AA
3 |WITH 10080814AE 10081513AA |KING PIN 2 ALT.CODE :
21000121AA
4 |WITH 10080814AE 21000077AA |Plug D14.6x9.5 8 WITH
10080814AE
5 |WITH 10080814AE 10081515AA |SWIVEL HOUSING LH 1
6 |WITH 10080814AE 10081516AA |NUT M20X1.5 2 ALT.CODE :
21000006AA
7 |WITH 10080814AE 10081517AA |KING PIN 2 ALT.CODE :
21000120AA
8 |WITH 10080814AE 10081518AA |STEERING ARM ASSY 2




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |[WITH 10080814AE 10081519AA |BALL JOINT 2 Alternate Part
Code is :
21000007AA Kit
Code:
10081518AA
10 |WITH 10080814AE 10081520AA |NUT 2 Kit Code:
10081518AA,
ALT.CODE :
21000008AA
11 |WITH 10080814AE 10081521AA |TIE ROD 2 Kit Code:
10081518AA
12 |WITH 10080814AE 21000025AA |STEERING CYLINDER 1 WITH
10080814AE
13 |WITH 10080814AE 21000117AA |Bolt M12x45 4 WITH
10080814AE
14 [WITH 10080814AE 10081524AA |SWIVEL HOUSING RH 1
15 |WITH 10080814AE 10081525AA |NUT M16 2 ALT.CODE :
21000070AA
16 |WITH 10080814AE 10081526AA |BOLT M 16X100 2 ALT.CODE :
21000098AA
17 |WITH 10080814AE 21000011AA |ROD 1 WITH
10080814AE
18 |WITH 10080814AE 21000081AA |CYLINDER HEAD 1 WITH
10080814AE
19 |WITH 10080814AE 21000012AA |Qil seal kit 1 WITH
10080814AE
20 |WITH 10080814AE 10081530AA |CYLINDER HEAD 1 Kit Code:
10081522AA
21 |WITH 10080814AE 10081531AA |SEAL RING 2
22 |WITH 10080814AE 10081532AA |BUSHING 2 ALT.CODE :

21000102AA




19140A-1-1 BEVEL GEAR SET Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AB)
19140A-11 BEVEL GEAR SET
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |WITH 10080814AB 10081533AA |BEVEL GEAR SET Z15/32 1 WITH
10080814AB
2 |WITH 10080814AB 10081534AA |SHIM 2.50MM
2 |WITH 10080814AB 10081535AA |SHIM 2.60MM
2 |WITH 10080814AB 10081536AA |SHIM 2.70MM
2 |WITH 10080814AB 10081537AA |SHIM 2.80MM
2 |WITH 10080814AB 10081538AA |SHIM 2.90MM
2 |WITH 10080814AB 10081539AA [SHIM 3.00MM
2 |WITH 10080814AB 10081540AA |SHIM 3.10MM




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

WITH 10080814AB

10081541AA

SHIM 3.20MM

WITH 10080814AB

10081542AA

SHIM 3.30MM

WITH 10080814AB

10081543AA

SHIM 3.40MM

WITH 10080814AB

10081544AA

BEARING

ALT.CODE :
21000074AA

WITH 10080814AB

10081545AA

WASHER

Kit Code:
10081533AA,
ALT.CODE :
21000013AA

WITH 10080814AB

10081546AA

COLLAPSIBLE SPACER

Kit Code:
10081533AA,
ALT.CODE :
21000104AA

WITH 10080814AB

10081547AA

LOCKWASHER

Kit Code:
10081533AA,
ALT.CODE :
21000133AA,
WITH
10080814AB

WITH 10080814AB

10081548AA

RING NUT M35X1.5

Kit Code:
10081533AA,
ALT.CODE :
21000095AA

WITH 10080814AB

10081549AA

O.RING

WITH
10080814AB,
DELETED
WITH
10080814AE

WITH 10080814AB

10081550AA

COVER

WITH
10080814AB,
DELETED
WITH
10080814AE

10

WITH 10080814AB

10081475AA

SEAL RING

WITH
10080814AB




19141A-1-1 BEVEL GEAR SET Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AE)
19141A-1/1 3EVEL GEAR SET
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |WITH 10080814AE 10039846AA |Bevel gear set Z15/32 1 WITH
10080814AE
2 |WITH 10080814AE 10081534AA |SHIM 2.50MM -
2 |WITH 10080814AE 10081535AA |SHIM 2.60MM -
2 |WITH 10080814AE 10081536AA |SHIM 2.70MM -
2 |WITH 10080814AE 10081537AA |SHIM 2.80MM -
2 |WITH 10080814AE 10081538AA |SHIM 2.90MM -
2 |WITH 10080814AE 10081539AA [SHIM 3.00MM -
2 |WITH 10080814AE 10081540AA |SHIM 3.10MM -




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

WITH 10080814AE

10081541AA

SHIM 3.20MM

WITH 10080814AE

10081542AA

SHIM 3.30MM

WITH 10080814AE

10081543AA

SHIM 3.40MM

WITH 10080814AE

10081544AA

BEARING

ALT.CODE :
21000074AA

WITH 10080814AE

10081545AA

WASHER

Kit Code:
10081533AA,
ALT.CODE :
21000013AA

WITH 10080814AE

10081546AA

COLLAPSIBLE SPACER

Kit Code:
10081533AA,
ALT.CODE :
21000104AA

WITH 10080814AE

10013895AA

LOCKWASHER

WITH
10080814AE

WITH 10080814AE

10081548AA

RING NUT M35X1.5

Kit Code:
10081533AA,
ALT.CODE :
21000095AA

WITH 10080814AE

10081549AA

O.RING

WITH
10080814AB,
DELETED
WITH
10080814AE

WITH 10080814AE

10081550AA

COVER

WITH
10080814AB,
DELETED
WITH
10080814AE

10

WITH 10080814AE

10039859AA

OIL SEAL RING

WITH
10080814AE




19150A-1-1

19150A-1/1

DIFFERENTIAL

Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-

10080814AB)

DIFFERENTIAL

Sr.

Model

ltem Code

Description

Qty

Int.

Remarks

Cut Off

WITH 10080814AB

10081551AA

RING NUT KIT M70X2

WITH
10080814AB,
DELETED
WITH
10080814AE

WITH 10080814AB

10081552AA

BUSHING

Kit Code:
10081551AA,
WITH
10080814AB,
DELETED
WITH
10080814AE

WITH 10080814AB

10081553AA

DIFFERENTIAL GEARS KIT

WITH
10080814AB

WITH 10080814AB

10081554AA

THRUST WASHER

Kit Code:
10081553AA
ALT.CODE :




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

21000088AA

WITH 10080814AB

10081555AA

DIFFERENTIAL PIN

Kit Code:
10081553AA,
WITH
10080814AB

WITH 10080814AB

10081556AA

BEARING

WITH
10080814AB

WITH 10080814AB

10081557AA

SNAP RING

WITH
10080814AB,
DELETED
WITH
10080814AE

WITH 10080814AB

10081558AA

THRUST WASHER

WITH
10080814AB,
DELETED
WITH
10080814AE

WITH 10080814AB

10081559AA

DIFF. COUNTER PLATE

10

ALT.CODE :
21000091AA,
WITH
10080814AB,
DELETED
WITH
10080814AE

10

WITH 10080814AB

10081560AA

DIFF. PLATE

ALT.CODE :
21000092AA,
WITH
10080814AB,
DELETED
WITH
10080814AE

11

WITH 10080814AB

10081561AA

DIFF. PLATE

ALT.CODE :
21000090AA,
WITH
10080814AB,
DELETED
WITH
10080814AE

12

WITH 10080814AB

10081562AA

BOLT M 10X25

10

WITH
10080814AB

13

WITH 10080814AB

10081563AA

PIN D35X6

Kit Code:
10081553AA,
WITH
10080814AB

14

WITH 10080814AB

10081564AA

DIFFERENTIAL HOUSING

WITH
10080814AB




19151A-1-1 DIFFERENTIAL Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-
10080814AE)

19151A-1/1 DIFFERENTIAL

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |WITH 10080814AE 21000026AA |DIFFERENTIAL KIT 1 WITH
10080814AE
2 |WITH 10080814AE 10081554AA |THRUST WASHER 2 ALT.CODE :
21000088AA
3 |WITH 10080814AE 10013893AA |Shaft 1 WITH
10080814AE
4 |WITH 10080814AE 21000073AA |Bearing 2 WITH
10080814AE
5 |WITH 10080814AE 21000343AA |Clutch Pack (460294) 2 WITH
10080814AE
6 |WITH 10080814AE 10013904AA |Bolt m10x75 2 WITH
10080814AE
7 |WITH 10080814AE 21000015AA |Pin 1 WITH
10080814AE
8 |WITH 10080814AE 21000342AA |DIFFERENTIAL HOUSING 1 WITH
10080814AE




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

WITH 10080814AE

10013915AA

Bolt m6x40

NEW PART
ADDED WITH
10080814AE,
APN
21000116AA

10

WITH 10080814AE

10013892AA

Locking Plate

NEW PART
ADDED WITH
10080814AE,
APN
21000089AA

11

WITH 10080814AE

10013905AA

Ring nut

NEW PART
ADDED WITH
10080814AE,
APN
21000087AA




19160A-1-1

19160A-1/1

DOUBLE U-JOINT

Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-

10080814AB)

DOUBLE U-JOINT

OF SOURCE:B

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10081565AA |DOUBLE JOINT RH 1
1 |Solis-75,90 CRDI MODELS [10011997AA |DOUBLE JOINT RH 1 YES
2 | Solis-75,90 CRDI MODELS |10081566AA [DOUBLE JOINT LH 1
2 |Solis-75,90 CRDI MODELS |10011998AA [DOUBLE JOINT LH 1 YES
3 | Solis-75,90 CRDI MODELS |10081567AA |FORK (DIFF. SIDE) 1 KIT CODE:
10011997AA,
PART CODE
OF SOURCE:A
(GKN)
3A |Solis-75,90 CRDI MODELS [10011999AA |FORK (DIFF. SIDE) 1 NO |KIT CODE:
10011997AA,
PART CODE




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

(ELBE)

Solis-75,90 CRDI MODELS

10081568AA

FORK (DIFF. SIDE)

KIT CODE:
10011998AA,
PART CODE
OF SOURCE:A
(GKN)

3A

Solis-75,90 CRDI MODELS

10012000AA

FORK (DIFF. SIDE)

NO

KIT CODE:
10011998AA,
PART CODE
OF SOURCE:B
(ELBE)

Solis-75,90 CRDI MODELS

10012001AA

SPIDER

KIT CODE:
10011997AA-
10011998AA,
PART CODE
OF SOURCE:A
(GKN)

Solis-75,90 CRDI MODELS

10012491AA

SPIDER

4A

Solis-75,90 CRDI MODELS

10012002AA

SPIDER

NO

KIT CODE:
10011997AA-
10011998AA,
PART CODE
OF SOURCE:B
(ELBE)

Solis-75,90 CRDI MODELS

10081570AA

CENTRAL BODY

KIT CODE:
10011997AA-
10011998AA,
PART CODE
OF SOURCE:A
(GKN)

5A

Solis-75,90 CRDI MODELS

10012003AA

CENTRAL BODY

NO

KIT CODE:
10011997AA-
10011998AA,
PART CODE
OF SOURCE:B
(ELBE)

Solis-75,90 CRDI MODELS

10012004AA

FORK (WHEEL SIDE)

KIT CODE:
10011997AA-
10011998AA,
PART CODE
OF SOURCE:A
(GKN)

6A

Solis-75,90 CRDI MODELS

10012005AA

FORK (WHEEL SIDE)

NO

KIT CODE:
10011997AA-
10011998AA,
PART CODE
OF SOURCE:B
(ELBE)

Solis-75,90 CRDI MODELS

10081572AA

WASHER

ALT.CODE :
21000112AA

Solis-75,90 CRDI MODELS

10081573AA

TRUST WASHER

ALT.CODE :
21000134AA

Solis-75,90 CRDI MODELS

10081574AA

SNAP RING D.45

ALT.CODE :
21000071AA




19170A-1-1

19170A-11

WHEEL HUB

Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-

10080814AB)

WHEEL HUB

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |WITH 10080814AB 10081575AA |SEAL RING 2 ALT.CODE :
21000017AA
2 |WITH 10080814AB 10081576AA |BEARING 4 ALT.CODE :
21000094AA
3 |WITH 10080814AB 10081577AA |WHEEL HUB KIT 2 WITH
10080814AB
4 |WITH 10080814AB 10081578AA |STUD 16 Kit Code:
10081577AA,
ALT.CODE :
21000110AA
5 |WITH 10080814AB 10081579AA |O.RING 2 ALT.CODE :
21000018AA
6 |WITH 10080814AB 10081580AA |LOCKRING 2 ALT.CODE :
21000019AA
7 |WITH 10080814AB 10081581AA |WHEEL CARRIER 2 ALT.CODE :
21000119AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
8 |[WITH 10080814AB 10081582AA |BUSH 12 ALT.CODE :
21000114AA
9 [WITH 10080814AB 10081583AA |BOLT M 10X45 12 ALT.CODE :
21000068AA
10 [WITH 10080814AB 10081584AA |CROWN GEAR Z=60 2




19171A-1-1

19171A-1/1

WHEEL HUB

Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-

10080814AE)

WHEEL HUB

Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |WITH 10080814AE 10081575AA |SEAL RING 2 ALT.CODE :
21000017AA
2 |WITH 10080814AE 10081576AA |BEARING 4 ALT.CODE :
21000094AA
3 |WITH 10080814AE 21000078AA |WHEEL HUB KIT 2 WITH
10080814AE
4 |WITH 10080814AE 10081578AA |STUD 16 ALT.CODE :
21000110AA
5 |WITH 10080814AE 10081579AA |O.RING 2 ALT.CODE :
21000018AA
6 |WITH 10080814AE 10081580AA |LOCKRING 2 ALT.CODE :
21000019AA
7 |WITH 10080814AE 10081581AA |WHEEL CARRIER 2 ALT.CODE :
21000119AA
8 |WITH 10080814AE 10081582AA |BUSH 12 ALT.CODE :
21000114AA
9 [WITH 10080814AE 10081583AA |BOLT M 10X45 12 ALT.CODE :
21000068AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10

WITH 10080814AE

10081584AA

CROWN GEAR Z=60




19180A-1-1

19180A-1/1

FINAL REDUCTION

Solis-75,90 CRDI MODELS (ALL 4-WD CARRARO F.A BEAM-

10080814AB,10080814AE)

FINAL REDUCTION

21000022AA

Sr. Model Iltem Code Description Qty | Int Remarks Cut Off

1 |ALL MODELS 10081585AA |BOLT M8X20 4 ALT.CODE :
21000069AA

2 |ALL MODELS 10081586AA |PLUG M30X2 2 APN
21000020AA

3 |WITH 10080814AB 10081587AA |PLANETARY CARRIER KIT 2 WITH
10080814AB

3 |WITH 10080814AE 10039851AA |Planetary carrier assy 2 NO [WITH
10080814AE

4 |ALL MODELS 10081588AA |THRUST WASHER 6 ALT.CODE :
21000021AA

5 |ALL MODELS 10081589AA |BEARING NEEDLES (BY TENS) 18

6 |ALL MODELS 10081590AA |GEAR Z=23 6

7 |ALL MODELS 10081591AA |THRUST WASHER 2 ALT.CODE :
21000097AA

8 |ALL MODELS 10081592AA |SNAP RING D34 6 ALT.CODE :




19200A-1-1

19200A-1/1

STG. CYL.

MTG WITH

Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)

STEERING CYLINDER

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10028583AA

HYDRAULIC CYLINDER ASSEMBLY

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

20004376AA

HEX BOLT M12*1.75*50, 10.9 SA3NS

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

20004376AB

Hex Bolt M12X1.75X 50 (10.9 Grade)

SA3NS

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

04030400012

SPRING WASHER B-12

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10028596AC

TIE ROD ASSY

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

20004420AA

TRANSMISSION OIL - ROTRA MULTI

THT

6.5

INLITRES







19210A-1-1

19210A-1/1

Planet Carrier RH & LH

Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)

PLANET CARRIER LH&RH

(ALL 4-WD INHOUSE

AXLE 4WD)

Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10028427AF |PLANET CARRIER SUB ASSY 2
(ALL 4-WD INHOUSE
BEAM)
1 |Solis-75,90 CRDI MODELS [10028427AH |PLANET CARRIER SUB ASSY 2
(ALL 4-WD INHOUSE
BEAM)
2 |Solis-75,90 CRDI MODELS |[10028492AA |O-RING (216xQ2.5) 2
(ALL 4-WD INHOUSE
BEAM)
3 | Solis-75,90 CRDI MODELS |20004015AA [SOCKET FLAT HEAD SCREW DIN 4
(ALL 4-WD INHOUSE 7991-M8X20-10.9
BEAM)

1.1 [Solis-75,90 CRDI MODELS [10027599AE |PLANET CARRIER 2 CHILD PART
(ALL 4-WD INHOUSE OF S.NO.1
BEAM)

1.1 |Solis-75,90 CRDI MODELS [10027599AG |PLANET CARRIER 2
(ALL 4-WD INHOUSE
BEAM)

1.2 [Solis-75,90 CRDI MODELS [10027637AD |PIN FOR PLANET CARRIER (FRONT 6




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

BEAM)




19220A-1-1 Wheel Hub RH & LH SUB Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)
19220A-1M1 WHEEL HUB LH&RH SUB ASSY.
2
L
0,
i

Sr. Model Iltem Code Description Qty Int. Remarks Cut Off
1 Solis-75,90 CRDI MODELS |10027627AD |WHEEL HUB KIT (FRONT AXLE 4WD) 2

(ALL 4-WD INHOUSE

BEAM)
1 Solis-75,90 CRDI MODELS |10027627AF |WHEEL HUB KIT (FRON AXLE 4WD) 2

(ALL 4-WD INHOUSE

BEAM)
2 |Solis-75,90 CRDI MODELS |10028543AA |STUD( FRONT AXLE 4WD) 16

(ALL 4-WD INHOUSE

BEAM)
2 |Solis-75,90 CRDI MODELS [10028543AB |[STUD 16

(ALL 4-WD INHOUSE

BEAM)
3 | Solis-75,90 CRDI MODELS |20004034AA [SEAL(130X160X14) 2

(ALL 4-WD INHOUSE

BEAM)
4 |Solis-75,90 CRDI MODELS |20004023AA |TAPER ROLLER BEARING 4

(ALL 4-WD INHOUSE
BEAM)

JL819349/JL.819310




19230A-1-1

19230A-1/1

Reduction Gear

Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)

REDUCTION GEAR (PLANTERY)

(ALL 4-WD INHOUSE
BEAM)

=
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10028427AF |PLANET CARRIER SUB ASSY 2
(ALL 4-WD INHOUSE
BEAM)
1 |Solis-75,90 CRDI MODELS [10028427AH |PLANET CARRIER SUB ASSY 2
(ALL 4-WD INHOUSE
BEAM)
3 |Solis-75,90 CRDI MODELS (10027498AB |WASHER FOR PLANET GEAR 6
(ALL 4-WD INHOUSE
BEAM)
4 | Solis-75,90 CRDI MODELS |10027538AC |PLANET GEAR Z-24 6
(ALL 4-WD INHOUSE
BEAM)
5 |Solis-75,90 CRDI MODELS |10027495AD |TRIANGULAR WASHER FOR 2
(ALL 4-WD INHOUSE PLANET GEAR
BEAM)
6 |Solis-75,90 CRDI MODELS |20004035AA |NEEDLE BEARING (25.6X4) 180




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

20003818AA

CIRCLIP 34 X 1.5N (1S:3075, PART -1
)

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10028548AC

PLUG M30X2 ASSY

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10028548AF

PLUG M30X2 ASSY

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10028305AB

SPACER

10

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10028546AA

O-RING @27X @2.5

1.1

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10027599AE

PLANET CARRIER

CHILD PART
OF S.NO.1

1.1

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10027599AG

PLANET CARRIER

CHILD PART
OF S.NO.1

1.2

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10027637AD

PIN FOR PLANET CARRIER (FRONT
AXLE 4WD)

CHILD PART
OF S.NO.1




19240A-1-1

19240A-1/1

Wheel carrier - AXLE

WHEEL CARRIER-AXLE ASSY.

Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10027627AD

WHEEL HUB KIT (FRONT AXLE 4WD)

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10027627AF

WHEEL HUB KIT (FRON AXLE 4WD)

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

20004013AA

BLACK HEXAGON BOLT IS 1363-

M10X45-12.9

12

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10012308AA

SPECIAL BOLT (M10X45)

12

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10027494AB

THURST WASHER

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10027504AC

WASHER




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 |Solis-75,90 CRDI MODELS |20004263AA |EXTERNAL CIRCLIP A IS 3075-1965 2

(ALL 4-WD INHOUSE D-42 PART 1

BEAM)
6 |Solis-75,90 CRDI MODELS |10028794AC |UNIVERSAL JOINT ASSY. (FRONT 2

(ALL 4-WD INHOUSE
BEAM)

AXLE 4-WD)




19250A-1-1 Wheel Carrier RH & LH  Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)

19250A-1/1 WHEEL CARRIER LH-RH

Sr. Model Item Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS [10027548AE |WHEEL CARRIER (FRONT AXLE 2
(ALL 4-WD INHOUSE 4WD)
BEAM)

2 | Solis-75,90 CRDI MODELS |10027536AC |INTERNAL GEAR FOR PLANET 2
(ALL 4-WD INHOUSE CARRIER
BEAM)

3 |Solis-75,90 CRDI MODELS [10027496AA |RING FOR INTERNAL GEAR 2
(ALL 4-WD INHOUSE
BEAM)

4 | Solis-75,90 CRDI MODELS |10027555AE [BUSH (FRONT AXLE 4WD) 12
(ALL 4-WD INHOUSE
BEAM)




19260A-1-1

19260A-1/1

UNIVERSAL JOINT

Solis-75,90 CRDI MODELS (ALL 4-WD INHOUSE BEAM)

UNIVERSAL JOINT ASSY. LH-RH

SONRLI

INTERMATIONAL

6

—_
<
u

-

SwivelSub

assembly

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10027507AD

KING PIN

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10027499AD

DISC SPRING

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

20004029AA

GREASE NIPPLE M6X1

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

10028494AE

KING PIN ASSY.

Solis-75,90 CRDI MODELS
(ALL 4-WD INHOUSE
BEAM)

20004016AA

BLACK HEXAGON BOLT IS 1363-
M12X30-10.9

16

(ALL 4-WD INHOUSE
BEAM)

Solis-75,90 CRDI MODELS |-

SWIVEL SUB ASSY




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

8 |Solis-75,90 CRDI MODELS |10028794AC [UNIVERSAL JOINT ASSY. (FRONT 2
(ALL 4-WD INHOUSE AXLE 4-WD)
BEAM)

9 |Solis-75,90 CRDI MODELS |10012008AA [DISC SPRING (61X43) 2
(ALL 4-WD INHOUSE
BEAM)

9 |[Solis-75,90 CRDI MODELS [10012008AB |DISC SPRING (61X43) 2
(ALL 4-WD INHOUSE
BEAM)

10 [Solis-75,90 CRDI MODELS [04030400012 |SPRING WASHER B-12 16
(ALL 4-WD INHOUSE
BEAM)

11 [Solis-75,90 CRDI MODELS [10028516AA |SPECIAL WASHER FOR FRONT 2
(ALL 4-WD INHOUSE AXLE
BEAM)

4.2 |Solis-75,90 CRDI MODELS |10028493AB |SPHERICAL CAP 2
(ALL 4-WD INHOUSE
BEAM)

5.1 |Solis-75,90 CRDI MODELS |10028334AC |SPHERICAL BUSHING 2

(ALL 4-WD INHOUSE
BEAM)




20110A-1-1 BATTERY BOX & FOOT Solis-75,90 CRDI MODELS

20110A-1/1 BATTERY BOX & FOOT STEP

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

A | Solis-75,90 CRDI MODELS |10067776AB |[BATTERY BOX ASSEMBLY 1 CHILD PART
OF S.NO.1-
BATTERY BOX
ASSY
10085242AA
(NOT SHOWN)

B [Solis-75,90 CRDI MODELS [10067777AB |BATTERY BOX MTG BKT ASSY 1 CHILD PART
OF S.NO.1-
BATTERY BOX
ASSY
10085242AA
(NOT SHOWN)

C |Solis-75,90 CRDI MODELS |10067780AA |PIN FOR HINGE 1 CHILD PART
OF S.NO.1-
BATTERY BOX
ASSY
10085242AA
(NOT SHOWN)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

D |Solis-75,90 CRDI MODELS [20002248AA |SPLIT PIN 2 CHILD PART
OF S.NO.1-
BATTERY BOX
ASSY
10085242AA
(NOT SHOWN)

E |[Solis-75,90 CRDI MODELS [20003653AA |PUNCHED WAHER A20 2 CHILD PART
OF S.NO.1-
BATTERY BOX
ASSY
10085242AA
(NOT SHOWN)

A |Solis-75,90 CRDI MODELS [10068538AA |BATTERY BOX ASSEMBLY 1 CHILD PART
OF S.NO.1-
BATTERY BOX
ASSY
10085242AA
(NOT SHOWN)

1 |Solis-75,90 CRDI MODELS [10085242AA |BATTERY BOX ASSY 1

1 |Solis-75,90 CRDI MODELS [10085242AE |BATTERY BOX ASSY 1

1 |Solis-90 CRDI MODELS 10094915AA |BATTERY BOX ASSY 1

WITH INHOUSE CABIN
1 | Solis-75 CRDI MODELS 10068537AC |BATTER BOX ASSY 1
WITH LOCALIZED CABIN

2 |Solis-75,90 CRDI MODELS [10067934AA |SUPPORT BKT BATTERY BOX TAB. 1

3 | Solis-75,90 CRDI MODELS |10067782AB |REAR PLATE FOR BATTERY BOX 1

4 | Solis-75,90 CRDI MODELS |10067847AB |RESTING PLATE ASSY 1

4 | Solis-75,90 CRDI MODELS |10067847AE |RESTING PLATE ASSY 1

4 | Solis-75 CRDI MODELS 10094944AA |RESTING PLATE ASSY 1 INTERCHANGE

WITH LOCALIZED CABIN ABLE WITH
10094944AB
(ROHS)

4 |Solis-75 CRDI MODELS 10094944AB |RESTING PLATE ASSY 1 (ROHS)

WITH LOCALIZED CABIN INTERCHANGE
ABLE WITH
10094944AA

5 |Solis-75,90 CRDI MODELS |10067781AB |ROD FOR BATTERY 2

5 |Solis-75,90 CRDI MODELS |10067781AA |ROD FOR BATTERY 2 INTERCHANGE
ABLE WITH
10067781AB
(ROHS)

5 |Solis-75,90 CRDI MODELS [10067781AB |ROD FOR BATTERY 2 (ROHS)
INTERCHANGE
ABLE WITH
10067781AA

6 |Solis-75,90 CRDI MODELS |10027062AC |THUMB SCREW 3

7 |Solis-75,90 CRDI MODELS |04041208030 |HEX BOLT M8*1*30 8 INTERCHANGE
ABLE WITH
20003646AB
(ROHS)

7 |Solis-75,90 CRDI MODELS |20003646AB |HEX BOLT M8*1*30 8-8 SA4GS 8 (ROHS)
INTERCHANGE
ABLE WITH
04041208030

8 |[Solis-75,90 CRDI MODELS (04030600008 |PLAIN WASHER DIA 8.4 *DIA 17*1.6 8

9 |Solis-75,90 CRDI MODELS |20003245AA [HEX SCREW M12X1.75X40 8-8 6

SA3NS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI MODELS |20003245AB [HEX SCREW M12X1.75X40 8-8 6 YES |[INTERCHANGE [BSASF98611S3
SA3NS ABLE WITH
20003245AC
(ROHS)
9 | Solis-75,90 CRDI MODELS |20003245AC [HEX. SCREW M12X1.75X40 -8.8 6 (ROHS)
SA4GS INTERCHANGE
ABLE WITH
20003245AB
10 |Solis-75,90 CRDI MODELS |04030400012 |SPRING WASHER B-12 6
11 |[Solis-75,90 CRDI MODELS (04030800012 |M/CD WASHER DIA 13 *DIA 24*2.5 6 INTERCHANGE
ABLE WITH
20004940AB
(ROHS)
11 [Solis-75,90 CRDI MODELS [20004940AB |M/C WASHER DIA 13*DIA 24*2.5 6 YES |(ROHS)
INTERCHANGE
ABLE WITH
04030800012
12 |Solis-75,90 CRDI MODELS |20003357AB |HEX NUT M10 -8 SA2JS 2
12 |Solis-75,90 CRDI MODELS |20003357AF |HEX NUT M10 -8 SA4GS 2 YES [interchange with|FOR NON EU
20003357AB  |MODELS-
JZNSS869101S
M
FOR EU
MODELS-
MEMRZGTNEJK
H07194
13 [Solis-75,90 CRDI MODELS [20003243AB  [HEX SCREW M12X1.75X30 8-8 2 INTERCHANGE
SA3NS ABLE WITH
200000502A
(ROHS)
13 [Solis-75,90 CRDI MODELS [200000502A |HEX SCREW M12X1.75X30 8.8 2 YES |(ROHS)
SA4GS INTERCHANGE
ABLE WITH
20003243AB
14 |Solis-75,90 CRDI MODELS |04030400012 |SPRING WASHER B-12 2
15 |Solis-75,90 CRDI MODELS |04030800012 |M/CD WASHER DIA 13 *DIA 24*2.5 2 INTERCHANGE
ABLE WITH
20004940AB
(ROHS)
15 [Solis-75,90 CRDI MODELS [20004940AB |M/C WASHER DIA 13*DIA 24*2.5 2 YES |(ROHS)
INTERCHANGE
ABLE WITH
04030800012
16 [Solis-75,90 CRDI MODELS [10004589AA |RUBBER BOTTON 1 INTERCHANGE
ABLE WITH
10004589AB
(ROHS)
16 |Solis-75,90 CRDI MODELS |10004589AB |RUBBER BUTTON (SMALL) 1 (ROHS)
INTERCHANGE
ABLE WITH
10004589AA
17 |Solis-75,90 CRDI MODELS [10067853AB |FOOT STEP ASSY (RH) 1
18 [Solis-75,90 CRDI MODELS [10067854AB |FOOT STEP ASSY (LH) 1
18 [Solis-75 CRDI MODELS 10068423AB |LEFT FOOT STEP ASSY 1
WITH LOCALIZED CABIN
18 |Solis-90 CRDI MODELS 10068000AB |FOOT STEP ASSY (LEFT) 1
18 |Solis-90 CRDI MODELS 10068000AC |FOOT STEP ASSY (LEFT) 1 YES |[BOM900ID5741 IMEMSYFDNRKJ

LDBGUDET2

H02916




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
19 [Solis-75,90 CRDI MODELS [20002015AB |HEX. HEAD SCREW M10 X 1.5 X 25 5
8-8 SA2JS
20 |Solis-75,90 CRDI MODELS |04030400010 [SPRING WASHER B-10 5
21 |Solis-75,90 CRDI MODELS |10084539AA |MAINTENANCE FREE BATTERY 1
110AH (AMCOQO)
21 |Solis-75,90 CRDI MODELS [10054102AA |BATTERY 12V 110AH 800CCA 1
22 |Solis-75,90 CRDI MODELS [10067982AA |RUBBER FLAP 2
23 |Solis-75,90 CRDI MODELS |10067863AA |GROOMET FOR HINGE 1
24 |Solis-75,90 CRDI MODELS |10004256AA [LINCH PIN ASSY 1 INTERCHANGE
ABLE WITH
10004256AB
(ROHS)
24 |Solis-75,90 CRDI MODELS |10004256AB [LINCH PIN ASSY 1 YES |(ROHS)
INTERCHANGE
ABLE WITH

10004256AA




20120A-1-1

20120A-1/1

BATTERY BOX ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

BATTERY BOX ASSY.

G B @
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10068549AA |BATTERY CUT OFF SWITCH 1
TYPE AC CABIN MODELS
2 |Solis-75,90 CRDI WITH H- |10087556AA [BATTERY CUT OFF MTG. BKT ASSY 1
TYPE AC CABIN MODELS
2 | Solis-75,90 CRDI WITH H- |10087556AB [BATTERY CUTOFF MTG. BKT ASSY 1 YES MEMSYFDHRJJ
TYPE AC CABIN MODELS H02351
3 | Solis-75,90 CRDI WITH H- |10087557AA |COVER(BATTERY CUT OFF BKT) 1
TYPE AC CABIN MODELS
4 | Solis-75,90 CRDI WITH H- |20004174AC |TRUSS HEAD MACHINE SCREW 4 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
200000427A
(ROHS)
4 | Solis-75,90 CRDI WITH H- |200000427A |TRUSS HEAD MACHINE SCREW 4 (ROHS)
TYPE AC CABIN MODELS M4X20 INTERCHANGE
ABLE WITH
20004174AC




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 |Solis-75,90 CRDI WITH H- |04040106030 |HEX HEAD SCREW M6X1X30 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20005568AA
(ROHS)
5 |Solis-75,90 CRDI WITH H- |20005568AA |HEX SCREW M6X30 SA4GS 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04040106030

6 |Solis-75,90 CRDI WITH H- [04030400006 |SPRING WASHER B6 2
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI WITH H- |20003243AB |HEX HEAD SCREW M12X1.75X30 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
200000502A
(ROHS)

7 |Solis-75,90 CRDI WITH H- |200000502A |HEX SCREW M12X1.75X30 8.8 2 YES |(ROHS)

TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20003243AB

8 |[Solis-75,90 CRDI WITH H- [04031400012 |SPRING WASHER B12 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20004993AB
(ROHS)

8 |Solis-75,90 CRDI WITH H- |20004993AB |SPRING WASHER B-12TYPE-A IS: 2 YES [(ROHS)

TYPE AC CABIN MODELS 3063-1972 INTERCHANGE
ABLE WITH
04031400012

9 |Solis-75,90 CRDI WITH H- |10068537AC [BATTERY BOX ASSY. 1
TYPE AC CABIN MODELS
10 [Solis-75,90 CRDI WITH H- [300025104B |BATTERY CUT OFF SWITCH MTG 1
TYPE AC CABIN MODELS BKT ASSY
10 |Solis-75,90 CRDI WITH H- |300025104C |BATTERY CUT OFF SWITCH MTG 1 YES MEMSYFDHRJJ

TYPE AC CABIN MODELS

BKT ASSY

H02351




21110A-1-1 THREE POINT Solis-75,90 CRDI MODELS

THREE POINT LINKAGES
2500KG

g Tl
F.

21110A-1/1

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS [10080288AE |SUPPORT PLATE ASSY LH 1

2 | Solis-75,90 CRDI MODELS |10080289AE [SUPPORT PLATE ASSY. RH 1

3 | Solis-75,90 CRDI MODELS |10080041AC [STABLIZER ASSY 2

3 | Solis-75,90 CRDI MODELS |10080041AD [STABLIZER ASSY 2

4 |Solis-75,90 CRDI MODELS [10080043AB |PIN SUPPORT PLATE 2 INTERCHANGE
ABLE WITH
10086454AB
(ROHS)

4 | Solis-75,90 CRDI MODELS |10086454AB |PIN SUPPORT PLATE 2 (ROHS)
INTERCHANGE
ABLE WITH
10080043AB




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10080109AB

LINCH PIN ASSY.(@7)

INTERCHANGE
ABLE WITH
10087923AA
(ROHS)

Solis-75,90 CRDI MODELS

10087923AA

LINCH PIN ASSY.(97)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10080109AB

Solis-75,90 CRDI MODELS

10080050AB

TOP LINK ASSY

Solis-75,90 CRDI MODELS

10004900AA

LINCH PIN

INTERCHANGE
ABLE WITH
10004900AB
(ROHS)

Solis-75,90 CRDI MODELS

10004900AB

LINCH PIN

YES

(ROHS)
INTERCHANGE
ABLE WITH
10004900AA

Solis-75,90 CRDI MODELS

10082752AA

PIN

INTERCHANGE
ABLE WITH
10082752AB
(ROHS)

Solis-75,90 CRDI MODELS

10082752AB

PIN FOR TOP LINK

(ROHS)
INTERCHANGE
ABLE WITH
10082752AA

Solis-75,90 CRDI MODELS

10080049AA

TIE ROD ASSY LH

Solis-75,90 CRDI MODELS

10080049AC

TIE ROD ASSY LH

10

Solis-75,90 CRDI MODELS

10080048AA

TIE ROD ASSY RH(WITH HANDLE)

10

Solis-75,90 CRDI MODELS

10080048AC

TIE ROD ASSY RH(WITH HANDLE)

11

Solis-75,90 CRDI MODELS

10080047AB

PIN

11

Solis-75,90 CRDI MODELS

10080047AC

PIN

YES

FZKDE421221W

11

Solis-75,90 CRDI MODELS

10080047AD

PIN

YES

AYDDU483303M
S

12

Solis-75,90 CRDI MODELS

10080039AB

TUBE ASSY

INTERCHANGE
ABLE WITH
10080039AD
(ROHS)

12

Solis-75,90 CRDI MODELS

10080039AD

TUBE ASSY

(ROHS)
INTERCHANGE
ABLE WITH
10080039AB

13

Solis-75,90 CRDI MODELS

10080040AF

SHAFT LOWER LINK

INTERCHANGE
ABLE WITH
10080040AH
(ROHS)

13

Solis-75,90 CRDI MODELS

10080040AH

SHAFT LOWER LINK

YES

(ROHS)
INTERCHANGE
ABLE WITH
10080040AF

14

Solis-75,90 CRDI MODELS

10080036AB

BUSH SHAFT LOWER LINK

INTERCHANGE
ABLE WITH
10080036AD
(ROHS)

14

Solis-75,90 CRDI MODELS

10080036AD

BUSH SHAFT LOWER LINK

YES

(ROHS)
INTERCHANGE
ABLE WITH
10080036AB

15

Solis-75,90 CRDI MODELS

10080038AB

LOCKING PLATE

INTERCHANGE
ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10080038AD
(ROHS)
15 |[Solis-75,90 CRDI MODELS [10080038AD |LOCKING PLATE 2 (ROHS)
INTERCHANGE
ABLE WITH
10080038AB
16 |Solis-75,90 CRDI MODELS |20003286AB |HEX SCREW M8X1.25X35 8-8 SA2JS 1
17 | Solis-75,90 CRDI MODELS |04030400008 |SPRING WASHER B-8 1 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
17 |Solis-75,90 CRDI MODELS [20005517AA |SPRING WASHER B-8 TYPE A IS: 1 YES |(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
18 [Solis-75,90 CRDI MODELS [04030800008 |M/CD WASHER DIA 8.4 *DIA 17*1.6 1
19 |Solis-75,90 CRDI MODELS |10080046AB |DRAW BAR 1
19 |Solis-75,90 CRDI MODELS |10069556AA |DRAW BAR 1 YES DZLDU519465W
20 |Solis-75,90 CRDI MODELS |10080051AA |LOWER LINK ASSY 2
21 |Solis-75,90 CRDI MODELS |10080037AB |PLATE TIE ROD 2
22 |Solis-75,90 CRDI MODELS |10019095AA [LOCTITE 243 1.310ML
22 |Solis-75,90 CRDI MODELS |10019095AB [LIQUID GASKET ANAEROBIC 2 1.310ML| YES MEMMZGFF544

LOC574/ANA613E

373S3




21111A-1-1 THREE POINT Solis-75,90 CRDI MODELS

THREE POINT LINKAGES

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS [10080288AE |SUPPORT PLATE ASSY LH 1

2 | Solis-75,90 CRDI MODELS |10080289AE [SUPPORT PLATE ASSY. RH 1

3 | Solis-75,90 CRDI MODELS |10080041AC [STABLIZER ASSY 2

3 | Solis-75,90 CRDI MODELS |10080041AD [STABLIZER ASSY 2

4 |Solis-75,90 CRDI MODELS [10080043AB |PIN SUPPORT PLATE 2 INTERCHANGE
ABLE WITH
10086454AB
(ROHS)

4 | Solis-75,90 CRDI MODELS |10086454AB |PIN SUPPORT PLATE 2 (ROHS)
INTERCHANGE
ABLE WITH
10080043AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

5 |Solis-75,90 CRDI MODELS |10080109AB |LINCH PIN ASSY.(97) 6 INTERCHANGE
ABLE WITH
10087923AA
(ROHS)

5 |Solis-75,90 CRDI MODELS |10087923AA |LINCH PIN ASSY.(97) 6 YES |(ROHS)
INTERCHANGE
ABLE WITH
10080109AB

6 |Solis-75,90 CRDI MODELS [10080050AB |TOP LINK ASSY 1

7 |Solis-75,90 CRDI MODELS |10004900AA |LINCH PIN 5 INTERCHANGE
ABLE WITH
10004900AB
(ROHS)

7 | Solis-75,90 CRDI MODELS |10004900AB |LINCH PIN 5 YES |(ROHS)
INTERCHANGE
ABLE WITH
10004900AA

8 |Solis-75,90 CRDI MODELS (10082752AA |PIN 1 INTERCHANGE
ABLE WITH
10082752AB
(ROHS)

8 |Solis-75,90 CRDI MODELS [10082752AB |PIN FOR TOP LINK 1 (ROHS)
INTERCHANGE
ABLE WITH
10082752AA

9 |Solis-75,90 CRDI MODELS |10080049AA [TIE ROD ASSY LH 1

9 |Solis-75,90 CRDI MODELS |10080049AC [TIE ROD ASSY LH 1

10 [Solis-75,90 CRDI MODELS [10080048AA |TIE ROD ASSY RH(WITH HANDLE) 1

10 |Solis-75,90 CRDI MODELS |10080048AC |TIE ROD ASSY RH(WITH HANDLE) 1

11 [Solis-75,90 CRDI MODELS [10080047AB |PIN 2

11 [Solis-75,90 CRDI MODELS [10080047AC |PIN 2 YES FZKDE421221W

11 [Solis-75,90 CRDI MODELS [10080047AD |PIN 2 YES AYDDU483303M

S
11 [Solis-75,90 CRDI MODELS [10080047AD |PIN 2 YES AYDDU483303M
S

12 |Solis-75,90 CRDI MODELS |10080039AB |TUBE ASSY 1 INTERCHANGE
ABLE WITH
10080039AD
(ROHS)

12 [Solis-75,90 CRDI MODELS [10080039AD |TUBE ASSY 1 (ROHS)
INTERCHANGE
ABLE WITH
10080039AB

13 [Solis-75,90 CRDI MODELS [10080040AF |SHAFT LOWER LINK 1 INTERCHANGE
ABLE WITH
10080040AH
(ROHS)

13 |Solis-75,90 CRDI MODELS |10080040AH |SHAFT LOWER LINK 1 YES [(ROHS)
INTERCHANGE
ABLE WITH
10080040AF

14 [Solis-75,90 CRDI MODELS [10080036AB |BUSH SHAFT LOWER LINK 2 INTERCHANGE
ABLE WITH
10080036AD
(ROHS)

14 [Solis-75,90 CRDI MODELS [10080036AD |BUSH SHAFT LOWER LINK 2 YES |(ROHS)
INTERCHANGE

ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10080036AB
15 |[Solis-75,90 CRDI MODELS [10080038AB |LOCKING PLATE 2 INTERCHANGE
ABLE WITH
10080038AD
(ROHS)
15 |Solis-75,90 CRDI MODELS |10080038AD |LOCKING PLATE 2 (ROHS)
INTERCHANGE
ABLE WITH
10080038AB
16 [Solis-75,90 CRDI MODELS [20003286AB |HEX SCREW M8X1.25X35 8-8 SA2JS 1
17 |Solis-75,90 CRDI MODELS [04030400008 |SPRING WASHER B-8 1 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)
17 |Solis-75,90 CRDI MODELS [20005517AA |SPRING WASHER B-8 TYPE A IS: 1 YES |(ROHS)
3067-1972 INTERCHANGE
ABLE WITH
04030400008
18 |Solis-75,90 CRDI MODELS |04030800008 |M/CD WASHER DIA 8.4 *DIA 17*1.6 1
19 [Solis-75,90 CRDI MODELS [10080046AB |DRAW BAR 1
19 [Solis-75,90 CRDI MODELS [10069556AA |DRAW BAR 1 YES DZLDU519465W
20 |Solis-75,90 CRDI MODELS |10084647AA |LOWER LINK ASSY (3000 KG) 2
20 |Solis-75,90 CRDI MODELS |10084647AB [LOWER LINK ASSY (3000 KG) 2 YES MEMSYFDNRJJ
H02593
21 |Solis-75,90 CRDI MODELS |10080037AB |PLATE TIE ROD 2
22 |Solis-75,90 CRDI MODELS |10019095AA [LOCTITE 243 1.310ML
22 |Solis-75,90 CRDI MODELS |10019095AB [LIQUID GASKET ANAEROBIC 2 1.310ML| YES MEMMZGFF544

LOC574/ANA6G13E

373S3




21120A-1-1 REAR TOE HOOK - Solis-75,90 CRDI MODELS
21120A-1/1 REAR TOE HOOK 2500KG
A
/f
i
s 4
4
D0E4-00
&
1 1./
/f
"."_u. é
=" LIE | »
Lg // 13
S
S — ol
i
? /"a
16 _‘& ]
- 18
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS |10081714AE |REAR BKT LONG LT 1
2 |Solis-75,90 CRDI MODELS [10081715AE |REAR BKT LONG RT 1
3 | Solis-75,90 CRDI MODELS |10081749AA [SOCKET HEAD SCREW 10 INTERCHANGE
ABLE WITH
10081749AB
(ROHS)
3 |Solis-75,90 CRDI MODELS [10081749AB |SOCKET HEAD SCREW 10 (ROHS)
INTERCHANGE
ABLE WITH
10081749AA
4 | Solis-75,90 CRDI MODELS |04030400016 [SPRING WASHER B-16 10 INTERCHANGE
ABLE WITH
20004994AB

(ROHS)




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

20004994AB

SPRING WASHER B-16 TYPE-A IS:
3063-1972

10

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030400016

Solis-75,90 CRDI MODELS

10082645AA

SWINGING DRAWBAR (EXPORT E-
MARK)

Solis-75,90 CRDI MODELS

10004900AA

LINCH PIN

INTERCHANGE
ABLE WITH
10004900AB
(ROHS)

Solis-75,90 CRDI MODELS

10004900AB

LINCH PIN

YES

(ROHS)
INTERCHANGE
ABLE WITH
10004900AA

Solis-75,90 CRDI MODELS

20004055AA

HEX BOLT M20 X 2.5 X 67

Solis-75,90 CRDI MODELS

20003995AA

HEX HEAD SCREW M20*2.5*70 10.9
SA2JS

YES

INTERCHANGE
ABLE WITH
20005465AA
(ROHS)

CYBDE462459S
3,
CZKDE462527W,|

Solis-75,90 CRDI MODELS

20005465AA

HEX HEAD SCREW M20*2.5*70 10.9
SA4GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
20003995AA

Solis-75,90 CRDI MODELS

04030400020

SPRING WASHER B-20

INTERCHANGE
ABLE WITH
20005457AA
(ROHS)

Solis-75,90 CRDI MODELS

20005457AA

SPRING WASHER B-20 JIS B 1251
NO.2 20S

(ROHS)
INTERCHANGE
ABLE WITH
04030400020

Solis-75,90 CRDI MODELS

20004344AA

HEX NUT M20X2.5 (8)

INTERCHANGE
ABLE WITH
20005494AA
(ROHS)

Solis-75,90 CRDI MODELS

20005494AA

HEX NUT M20 X 2.5 -8 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
20004344AA

10

Solis-75,90 CRDI MODELS

10028935AE

PIN (FOR SWINGING DRAW BAR)

INTERCHANGE
ABLE WITH
300036339A
(ROHS)

10

Solis-75,90 CRDI MODELS

300036339A

PIN (FOR SWINGING DRAW BAR)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10028935AE

11

Solis-75,90 CRDI MODELS

10028934AD

PIN (FOR SWINGING DRAW BAR)

INTERCHANGE
ABLE WITH
10086400AB
(ROHS)

11

Solis-75,90 CRDI MODELS

10086400AB

PIN (FOR SWINGING DRAW BAR)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10028934AD

12

Solis-75,90 CRDI MODELS

10028847AB

SWINGING BAR E-MARK

13

Solis-75,90 CRDI MODELS

10029055AA

TOP SUPPORT FOR SWINGING BAR

14

Solis-75,90 CRDI MODELS

20003636AA

HEX BOLT M16*2*80 8-8 SA2JS

INTERCHANGE
ABLE WITH
20005454AA
(ROHS)

14

Solis-75,90 CRDI MODELS

20005454AA

HEX BOLT M16X2X80 8.8 SA4GS

(ROHS)
INTERCHANGE




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

ABLE WITH
20003636AA

15

Solis-75,90 CRDI MODELS

20003362AC

HEX NUT M16X2 -8 SA2JS

INTERCHANGE
ABLE WITH
20003719AB
(ROHS)

15

Solis-75,90 CRDI MODELS

20003719AB

HEX NUT M16X2 - 8, SA2GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
20003362AC

16

Solis-75,90 CRDI MODELS

04030400016

SPRING WASHER B-16

INTERCHANGE
ABLE WITH
20004994AB
(ROHS)

16

Solis-75,90 CRDI MODELS

20004994AB

SPRING WASHER B-16 TYPE-A IS:
3063-1972

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030400016

17

Solis-75,90 CRDI MODELS

10028880AE

PIN (FOR SWINGING DRAW BAR)

INTERCHANGE
ABLE WITH
10086399AB
(ROHS)

17

Solis-75,90 CRDI MODELS

10086399AB

PIN (FOR SWINGING DRAW BAR)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10028880AE

18

Solis-75,90 CRDI MODELS

10080109AB

LINCH PIN ASSY.(@7)

INTERCHANGE
ABLE WITH
10087923AA
(ROHS)

18

Solis-75,90 CRDI MODELS

10087923AA

LINCH PIN ASSY.(97)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10080109AB

19

Solis-75,90 CRDI MODELS

10081716AD

PTO GUARD

20

Solis-75,90 CRDI MODELS

04030400008

SPRING WASHER B-8

INTERCHANGE
ABLE WITH
20005517AA
(ROHS)

20

Solis-75,90 CRDI MODELS

20005517AA

SPRING WASHER B-8 TYPE A IS:
3067-1972

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030400008

21

Solis-75,90 CRDI MODELS

20001089AA

HEX. HEAD SCREW M8 X 1.25-25 8-8
SA2JS

22

Solis-75,90 CRDI MODELS

10082776AA

STICKER E-MARK(SWINGING DRAW
BAR)

INTERCHANGE
ABLE WITH
10082776AB
(ROHS)

22

Solis-75,90 CRDI MODELS

10082776AB

STICKER E-MARK(SWINGING DRAW
BAR)

(ROHS)
INTERCHANGE
ABLE WITH
10082776AA




21130A-1-1 REAR TOE HOOK - Solis-75,90 CRDI MODELS
21130A-1/1 REAR TOE HOOK 3000KG
cc
/f
/
5
&4
OoE4—00
%
14 17
iﬁ'r
g1 a
s ~13
S E@ Et
B
AN
"'\-\.H _\:..: —
? / -
; / ‘&
16\ M8
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10085054AA |MOUNTING BRACKET ASSY (LH) 1
3000 KG
1 |Solis-75,90 CRDI MODELS [10085054AC |MOUNTING BRACKET ASSY (LH) 1
3000 KG
2 |Solis-75,90 CRDI MODELS |10084677AA |MOUNTING BRACKET ASSY (RH) 1
3000 KG
2 |Solis-75,90 CRDI MODELS |10084677AB [MOUNTING BRACKET ASSY (RH) 1
3000 KG
3 |Solis-75,90 CRDI MODELS [10081749AA |SOCKET HEAD SCREW 10 INTERCHANGE
ABLE WITH
10081749AB
(ROHS)
3 |Solis-75,90 CRDI MODELS |10081749AB |SOCKET HEAD SCREW 10 (ROHS)
INTERCHANGE
ABLE WITH
10081749AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

04030400016

SPRING WASHER B-16

10

INTERCHANGE
ABLE WITH
20004994AB
(ROHS)

Solis-75,90 CRDI MODELS

20004994AB

SPRING WASHER B-16 TYPE-A IS:

3063-1972

10

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030400016

Solis-75,90 CRDI MODELS

10084679AA

SWINGING DRAWBAR FOR EXPORT

E-MARK FOR 3000KG

Solis-75,90 CRDI MODELS

10084679AB

SWINGING DRAWBAR FOR EXPORT

E-MARK FOR 3000KG

Solis-75,90 CRDI MODELS

10004900AA

LINCH PIN

INTERCHANGE
ABLE WITH
10004900AB
(ROHS)

Solis-75,90 CRDI MODELS

10004900AB

LINCH PIN

YES

(ROHS)
INTERCHANGE
ABLE WITH
10004900AA

Solis-75,90 CRDI MODELS

20004055AA

HEX BOLT M20 X 2.5 X 67

Solis-75,90 CRDI MODELS

04030400020

SPRING WASHER B-20

INTERCHANGE
ABLE WITH
20005457AA
(ROHS)

Solis-75,90 CRDI MODELS

20005457AA

SPRING WASHER B-20 JIS B 1251

NO.2 20S

(ROHS)
INTERCHANGE
ABLE WITH
04030400020

Solis-75,90 CRDI MODELS

20004344AA

HEX NUT M20X2.5 (8)

INTERCHANGE
ABLE WITH
20005494AA
(ROHS)

Solis-75,90 CRDI MODELS

20005494AA

HEX NUT M20 X 2.5 -8 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
20004344AA

10

Solis-75,90 CRDI MODELS

10028935AE

PIN (FOR SWINGING DRAW BAR)

INTERCHANGE
ABLE WITH
300036339A
(ROHS)

10

Solis-75,90 CRDI MODELS

300036339A

PIN (FOR SWINGING DRAW BAR)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10028935AE

11

Solis-75,90 CRDI MODELS

10028934AD

PIN (FOR SWINGING DRAW BAR)

INTERCHANGE
ABLE WITH
10086400AB
(ROHS)

11

Solis-75,90 CRDI MODELS

10086400AB

PIN (FOR SWINGING DRAW BAR)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10028934AD

12

Solis-75,90 CRDI MODELS

10028847AB

SWINGING BAR E-MARK

13

Solis-75,90 CRDI MODELS

10029055AA

TOP SUPPORT FOR SWINGING BAR

14

Solis-75,90 CRDI MODELS

20003636AA

HEX BOLT M16*2*80 8-8 SA2JS

INTERCHANGE
ABLE WITH
20005454AA
(ROHS)

14

Solis-75,90 CRDI MODELS

20005454AA

HEX BOLT M16X2X80 8.8 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
20003636AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

15

Solis-75,90 CRDI MODELS

20003362AC

HEX NUT M16X2 -8 SA2JS

INTERCHANGE
ABLE WITH
20003719AB
(ROHS)

15

Solis-75,90 CRDI MODELS

20003719AB

HEX NUT M16X2 - 8, SA2GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
20003362AC

16

Solis-75,90 CRDI MODELS

04030400016

SPRING WASHER B-16

INTERCHANGE
ABLE WITH
20004994AB
(ROHS)

16

Solis-75,90 CRDI MODELS

20004994AB

SPRING WASHER B-16 TYPE-A IS:
3063-1972

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030400016

17

Solis-75,90 CRDI MODELS

10028880AE

PIN (FOR SWINGING DRAW BAR)

INTERCHANGE
ABLE WITH
10086399AB
(ROHS)

17

Solis-75,90 CRDI MODELS

10086399AB

PIN (FOR SWINGING DRAW BAR)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10028880AE

18

Solis-75,90 CRDI MODELS

10080109AB

LINCH PIN ASSY.(@7)

INTERCHANGE
ABLE WITH
10087923AA
(ROHS)

18

Solis-75,90 CRDI MODELS

10087923AA

LINCH PIN ASSY.(97)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10080109AB

19

Solis-75,90 CRDI MODELS

10081716AD

PTO GUARD

20

Solis-75,90 CRDI MODELS

04030400008

SPRING WASHER B-8

INTERCHANGE
ABLE WITH
20005517AA
(ROHS)

20

Solis-75,90 CRDI MODELS

20005517AA

SPRING WASHER B-8 TYPE A IS:
3067-1972

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030400008

21

Solis-75,90 CRDI MODELS

20001089AA

HEX. HEAD SCREW M8 X 1.25-25 8-8
SA2JS

22

Solis-75,90 CRDI MODELS

10082776AA

STICKER E-MARK(SWINGING DRAW
BAR)

INTERCHANGE
ABLE WITH
10082776AB
(ROHS)

22

Solis-75,90 CRDI MODELS

10082776AB

STICKER E-MARK(SWINGING DRAW
BAR)

(ROHS)
INTERCHANGE
ABLE WITH
10082776AA




21140A-1-1

21140A-1/1

EEC DRAWBAR AND

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

EEC DRAWBAR AND AUTOMATIC CLEVIS

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10018483AA

SLIDER TRAILER HITCH WITH PTO
GUARD

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10018484AB

EEC AUTOMATIC CLEVIS

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10018485AB

DRAWBAR BRACKET WITH PITON

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10018486AB

EEC DRAWBAR

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10067523AB

EEC CLEVIS WITH SEMIAUTOMATIC
PIN

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

300023200A

QUICK RELEASE COUPLER(1/2"
MALE)

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10012070AA

ADAPTOR M20x1.5 - G1/2

INTERCHANGE
ABLE WITH
10012070AB
(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
7 | Solis-75,90 CRDI WITH H- |10012070AB |ADOPTER M20X1.5/G1/2 1 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10012070AA
8 |Solis-75,90 CRDI WITH H- |20004486AA [HEX LOCK NUT M20x1.5-8 SA2JS 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004486AB
(ROHS)
8 |Solis-75,90 CRDI WITH H- [20004486AB |HEX LOCK NUT M20X1.5 -8 SA4GS 1 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
20004486AA
9 | Solis-90 CRDI WITH H- 10071690AA |PROTECTION PLUG FOR M8 1 New Part Added|FOR NON EU
TYPE AC CABIN MODELS MODELS-
CZGDG804365S
3, FOR EU
MODELS-
MEMRZGFNECJ
H03456
10 [Solis-90 CRDI WITH H- 300030633A |CAT-2 MODULAR PITON FIX 1 Child part of
TYPE AC CABIN MODELS BRACKET 10018485AB
11 [Solis-90 CRDI WITH H- 300030634A |CLAMPING TOWING EYE 1 Child part of
TYPE AC CABIN MODELS 10018485AB
12 |Solis-90 CRDI WITH H- 300030635A |PIN 2 Child part of
TYPE AC CABIN MODELS 10018485AB
13 |Solis-90 CRDI WITH H- 300030636A |DRAWBAR PIVOT PIN ASSY 1 Child part of
TYPE AC CABIN MODELS 10018485AB
14 |[Solis-90 CRDI WITH H- 300030637A |PIN 2 Child part of
TYPE AC CABIN MODELS 10018485AB
15 [Solis-90 CRDI WITH H- 300030570A |PIN 1 Child part of
TYPE AC CABIN MODELS 10018485AB
16 [Solis-90 CRDI WITH H- 300030638A |COTTER PIN 1 Child part of
TYPE AC CABIN MODELS 10018485AB
17 |[Solis-90 CRDI WITH H- 300030639A |CHAIN ASSY 4 Child part of
TYPE AC CABIN MODELS 10018485AB




22110A-1-1 ACCELERATOR Solis-75,90 CRDI MODELS

22110A-1/1 ACCELERATOR ASSEMBLY

il
=
L

ASSY., VIEW
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10067812AA |ACC MTG BKT ASSY 1
2 | Solis-75,90 CRDI MODELS |10017988AC |HAND ACCLERATOR WIRE FOR 1
CRDI MODEL
2 | Solis-75,90 CRDI MODELS |10017988AD |HAND ACCLERATOR WIRE FOR 1
CRDI MODEL
3 | Solis-75,90 CRDI MODELS |10017920AB |[HAND ACCELERATOR ASSY. CRDI 1
MODEL
3A | Solis-75,90 CRDI MODELS |10068131AD |HANDLE ASSY FOR HAND ACC. 1
WITH INHOUSE CABIN
WITH 3000KG LIFT
3A |Solis-75,90 CRDI MODELS [10094725AA |HANDLE ASSY FOR HAND ACC FOR 1 YES MEMJYDF58313
WITH INHOUSE CABIN CRDI-90 9W
WITH 3000KG LIFT
3A |Solis-90 CRDI MODELS 10068131AC |HANDLE ASSY FOR HAND ACC. 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
3A |Solis-90 CRDI MODELS 10068131AD |HANDLE ASSY FOR HAND ACC. 1 YES |BOM900ID5741 [IMEMSYFDNRKJ
LDBGUDET2 |H02916
4 |Solis-75,90 CRDI MODELS [10067555AB |MTG BKT FOR HAND ACC ASSY 1
5 |Solis-75,90 CRDI MODELS |04040106016 |HEX SCREW M6*16 3
6 |Solis-75,90 CRDI MODELS |04030400006 |SPRING WASHER B-6 3
7 |Solis-75,90 CRDI MODELS |04030600010 [PLAIN WASHER DIA 10.5 *DIA 30 *2. 4
5
8 |Solis-75,90 CRDI MODELS |10017953AA |ELECTRONIC ACCLERATOR PEDAL 1
CRDI-75
9 |[Solis-75,90 CRDI MODELS [20003235AB |HEX SCREW M10X20 8-8 SA3NS 4
10 |Solis-75,90 CRDI MODELS |10083042AA |SLOTTED CHEESEHEAD SCREW 1 INTERCHANGE
M4X30 ABLE WITH
10083042AB
(ROHS)
10 [Solis-75,90 CRDI MODELS [10083042AB |SLOTTED CHEESEHEAD SCREW 1 (ROHS)
M4X30 INTERCHANGE
ABLE WITH
10083042AA
11 |[Solis-75,90 CRDI MODELS [10017982AA |FOOT PEDAL ASSY. FOR CRDI 1
12 |Solis-75,90 CRDI MODELS |04030600006 |PLAIN WASHER DIA 6.4 *DIA 18 *1.5 1
13 |Solis-75,90 CRDI MODELS |20004598AA |HEX BOLT M5X30-8.8 SA2JS 2 INTERCHANGE
ABLE WITH
20004598AB
(ROHS)
13 [Solis-75,90 CRDI MODELS [20004598AB |HEX HEAD SCREW M5X30-8.8 2 (ROHS)
SA4GS INTERCHANGE
ABLE WITH
20004598AA
14 |[Solis-75,90 CRDI MODELS [04030400005 |SPRING WASHER B -5 2
15 |Solis-75,90 CRDI MODELS |04030600005 |PLAIN WASHER DIA 5.3 *DIA 15*1.5 2 INTERCHANGE
ABLE WITH
300032712A
(ROHS)
15 [Solis-75,90 CRDI MODELS [300032712A |WASHER 2 (ROHS)
INTERCHANGE
ABLE WITH
04030600005
16 [Solis-75,90 CRDI MODELS [20003130AA |SPRING COTTER SLEEVE (SPRING 1
PIN) DIA4*3
17 |Solis-75,90 CRDI MODELS [20003352AA |HEX NUT M4-8 SA3NS 1 INTERCHANGE
ABLE WITH
300037247A
(ROHS)
17 |Solis-75,90 CRDI MODELS |300037247A |HEX NUT M4-8 SA4G 1 (ROHS)
INTERCHANGE
ABLE WITH
20003352AA
18 [Solis-75,90 CRDI MODELS [04041208030 |HEX BOLT M8*1*30 2 INTERCHANGE
ABLE WITH
20003646AB
(ROHS)
18 [Solis-75,90 CRDI MODELS [20003646AB |HEX BOLT M8*1*30 8-8 SA4GS 2 (ROHS)
INTERCHANGE
ABLE WITH
04041208030
19 |Solis-75,90 CRDI MODELS |04031400008 |SPRING WASHER B-8 2
20 |Solis-75,90 CRDI MODELS |10004177AB |PIN FOR ACCELRATOR 1 INTERCHANGE

ABLE WITH




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10039604AA
(ROHS)

20

Solis-75,90 CRDI MODELS

10039604AA

PIN FOR ACCELERATOR

YES

(ROHS)
INTERCHANGE
ABLE WITH
10004177AB

21

Solis-75,90 CRDI MODELS

04010116020

SPLIT PIN DIA 1.6*20

INTERCHANGE
ABLE WITH
20005527AA
(ROHS)

21

Solis-75,90 CRDI MODELS

20005527AA

SPLIT PIN DIA 1.6*20

(ROHS)
INTERCHANGE
ABLE WITH
04010116020

22

Solis-75,90 CRDI MODELS

10094725AA

HANDLE ASSY FOR HAND ACC.

NEW ADDED

23

Solis-75,90 CRDI MODELS

20004509AA

SHC Screw M4x0.7x10-Class 8.8-
SA2JS

NEW ADDED




23110A-1-1 DRIVER SEAT Solis-75,90 CRDI MODELS
23110A-1/1 DRIVER SEAT
2 il
) e o
5 NN
&_ e I.:g..;,
v \@'_.'
'l'\.-'".'::-'- # r'_ E' h u
4
Sr. Model Iltem Code Description Qty Int. Remarks Cut Off
1 Solis-75,90 CRDI MODELS |10067645AB |SEAT BASE PLATE 1
1 Solis-75,90 CRDI MODELS |10067645AC |SEAT BASE PLATE 1
2 |Solis-75,90 CRDI MODELS |20001096AA |HEX. HEAD SCREW M8 X 1.25 X 20 4 INTERCHANGE
8-8 SA2JS ABLE WITH
20005565AA
(ROHS)
2 |Solis-75,90 CRDI MODELS |20005565AA |HEX HEAD SCREW M8X1.25X20 -8.8 4 YES [(ROHS)
SA4GS INTERCHANGE
ABLE WITH
20001096AA
3 |Solis-75,90 CRDI MODELS [04030400008 |SPRING WASHER B-8 4 INTERCHANGE
ABLE WITH
20005517AA
(ROHS)




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

20005517AA

SPRING WASHER B-8 TYPE A IS:

3067-1972

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030400008

Solis-75,90 CRDI MODELS

10027516AA

E-MARKED DRIVER SEAT

INTERCHANGE
ABLE WITH
10027516AB
(ROHS)

Solis-75,90 CRDI MODELS

10027516AB

E-MARKED DRIVER SEAT

(ROHS)
INTERCHANGE
ABLE WITH
10027516AA

Solis-75,90 CRDI MODELS

20003243AB

HEX SCREW M12*1.75*30

INTERCHANGE
ABLE WITH
200000502A
(ROHS)

Solis-75,90 CRDI MODELS

200000502A

HEX SCREW M12X1.75X30 8.8

SA4GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
20003243AB

Solis-75,90 CRDI MODELS

04030400012

SPRING WASHER B-12

Solis-90 CRDI MODELS

10067807AE

REAR FLOOR ASSY

DELETE PART
FROM
BOM900ID5741
LDBGUDET2

MEMSYFDNRKJ
H02916

Solis-90 CRDI MODELS

10085492AA

PLAIN WASHER A6.4

12

Solis-90 CRDI MODELS

10085492AB

PLAIN WASHER A6.4

12

YES

INTERCHANGE
ABLE WITH
20005524AA
(ROHS)

MEMSYFDNRKJ
H02916

Solis-90 CRDI MODELS

20005524AA

PLAIN WASHER A 6.4 1S:5370 STEEL

12

YES

(ROHS)
INTERCHANGE
ABLE WITH
10085492AB




23120A-1-1

23120A-1/1

DRIVER SEAT

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

DRIVER SEAT

G My P =
,-": - = Ll g -
/v o o P— . o
i
J
fr——
L. % e e
e e
H""--\. e
—~a)
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [300021763A |DRIVER SEAT ASSY. 1
TYPE AC CABIN MODELS
2 | Solis-75,90 CRDI WITH H- |10084095AE [REAR FLOOR ASSY. 1
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |1200000145A [SOCKET HEAD CAP SCREW M12X1. 2
TYPE AC CABIN MODELS 75X65
4 | Solis-75,90 CRDI WITH H- |120004596AA [SOCKET HEAD CAP SCREW M12X1. 2
TYPE AC CABIN MODELS 75X35
5 |Solis-75,90 CRDI WITH H- |04030400012 [SPRING WASHER B-12 4
TYPE AC CABIN MODELS
6 |Solis-75,90 CRDI WITH H- [300024977A |GROMMET FOR HARNESS 1
TYPE AC CABIN MODELS




24110A-1-1 STICKERS Solis-75,90 CRDI MODELS

24110A-1/2 STICKERS

n-r--q.lnu-l-uu- nlnl L
:_u RS - » W
" ey

EL—n l!lll.llﬁ rulln - Ill“l [Thd m DRY AIR CLEANER
: SR AR e -

ﬂ'lonﬂ!n pr nley
aqwray ami sk
rﬂﬂ—vy-m Ir{c, Awir L1dw
[

L2glér b hl pRiog hrye

DRAFT SENSITMITY

HiGH Law

AMD HEVER DECLUTSH

WHERN TIUAYE LIk DR HILL
B T OO i B
* = 8 LTS FIERAR IR 1N CH R

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

—_

Solis-75,90 CRDI MODELS |10024489AA [STICKER FOR MAGNETIC STRAINER 1

—_

Solis-75,90 CRDI MODELS |10024489AC [STICKER FOR MAGNETIC STRAINER 1

2 |Solis-75,90 CRDI MODELS [10082776AA |STICKER E-MARK(SWINGING DRAW 1 INTERCHANGE
BAR) ABLE WITH
10082776AB
(ROHS)
2 |Solis-75,90 CRDI MODELS [10082776AB |STICKER E-MARK(SWINGING DRAW 1 (ROHS)
BAR) INTERCHANGE
ABLE WITH
10082776AA
3 |Solis-75,90 CRDI MODELS [10011708AB |STICKER FOR STEERING TANK 1
3 |Solis-75,90 CRDI MODELS [10011708AD |STICKER FOR STEERING TANK 1 YES BYDDG706891M

S




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
4 | Solis-75,90 CRDI MODELS |10070785AB [INSTRUCTION STICKER FOR 1 INTERCHANGE
SONALIKA RX ABLE WITH
10070785AD
(ROHS)
4 | Solis-75,90 CRDI MODELS |10070785AD |INSTRUCTION STICKER FOR SET 1 (ROHS)
OF 7 INTERCHANGE
ABLE WITH
10070785AB
5 |[Solis-75,90 CRDI MODELS [10001759AA |TURBO STICKER 1
5A |Solis-75,90 CRDI MODELS [10014056AD |TURBO STICKER 1 YES KZHDU529089W,
6 |Solis-75,90 CRDI MODELS |903408044B |STICKER (FILTER) 0.7LT. 1
7 |Solis-75,90 CRDI MODELS |10023420AA |STICKER-TC 1 INTERCHANGE
ABLE WITH
10023420AB
(ROHS)
7 |Solis-75,90 CRDI MODELS [10023420AB |STICKER-TC 1 (ROHS)
INTERCHANGE
ABLE WITH
10023420AA
9 |Solis-75,90 CRDI MODELS |10070429AB [STICKER FOR DRY AIR-CLEANER 1 INTERCHANGE
ABLE WITH
10070429AC
(ROHS)
9 |Solis-75,90 CRDI MODELS |10070429AC [STICKER FOR DRY AIR-CLEANER 1 (ROHS)
INTERCHANGE
ABLE WITH
10070429AB
10 |Solis-75,90 CRDI MODELS |10070428AC |STICKER FOR TYRE PRESSURE 1 INTERCHANGE
ABLE WITH
10070428AD
(ROHS)
10 [Solis-75,90 CRDI MODELS [10070428AD |STICKER FOR TYRE PRESSURE 1 (ROHS)
INTERCHANGE
ABLE WITH
10070428AC
11 |[Solis-75,90 CRDI MODELS [10070427AB |STICKER FOR STEEP SLOPE 1 INTERCHANGE
ABLE WITH
10070427AC
(ROHS)
11 | Solis-75,90 CRDI MODELS |10070427AC |STICKER FOR STEEP SLOPE 1 (ROHS)
INTERCHANGE
ABLE WITH
10070427AB
12 |[Solis-75,90 CRDI MODELS [10084627AA |STICKER FOR DRAFT AND 1 INTERCHANGE
POSITION INDICATIO ABLE WITH
10084627AB
(ROHS)
12 |[Solis-75,90 CRDI MODELS [10084627AB |STICKER FOR DRAFT AND 1
POSITION INDICATIO
12 |[Solis-75,90 CRDI MODELS [10084627AB |STICKER FOR DRAFT AND 1 (ROHS)
POSITION INDICATIO INTERCHANGE
ABLE WITH
10084627AA
13 |Solis-75,90 CRDI MODELS |10081635AA |STICKER FOR PTO RPM 1
13 [Solis-75,90 CRDI MODELS [10081635AB |STICKER FOR PTO RPM 1 YES KZLDE452470W
13 [Solis-75,90 CRDI MODELS [10081635AC |STICKER FOR PTO RPM 1 YES HZKDU502481W,
14 [Solis-75,90 CRDI MODELS [10084544AA |TRANSPORT AND DRAFT 1 INTERCHANGE
SENSTIVITY STICKER ABLE WITH
10084544AC

(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
14 [Solis-75,90 CRDI MODELS [10084544AC |TRANSPORT AND DRAFT 1 (ROHS)
SENSTIVITY STICKER INTERCHANGE
ABLE WITH
10084544AA

15 [Solis-75,90 CRDI MODELS [10084538AA |STICKER FOR PTO 1

15 [Solis-75,90 CRDI MODELS [10084538AC |STICKER FOR PTO 1 INTERCHANGE
ABLE WITH
10084538AD
(ROHS)

15 [Solis-75,90 CRDI MODELS [10084538AD |STICKER FOR PTO 1 (ROHS)
INTERCHANGE
ABLE WITH
10084538AC

16 [Solis-75,90 CRDI MODELS [10084541AA |STICKER FOR IPTO 1 INTERCHANGE
ABLE WITH
10084541AB
(ROHS)

16 [Solis-75,90 CRDI MODELS [10084541AB |STICKER FOR IPTO 1 INTERCHANGE
ABLE WITH
10084541AC
(ROHS)

16 [Solis-75,90 CRDI MODELS [10084541AB |STICKER FOR IPTO 1 (ROHS)
INTERCHANGE
ABLE WITH
10084541AA

16 [Solis-75,90 CRDI MODELS [10084541AC |STICKER FOR IPTO 1 (ROHS)
INTERCHANGE
ABLE WITH
10084541AB

17 [Solis-75,90 CRDI MODELS [10084548AA |STICKER FOR PTO INSTRUCTION 1

17 |Solis-75,90 CRDI MODELS |10084548AB |STICKER FOR PTO INSTRUCTION 1 INTERCHANGE
ABLE WITH
10084548AC
(ROHS)

17 [Solis-75,90 CRDI MODELS [10084548AC |STICKER FOR PTO INSTRUCTION 1 (ROHS)
INTERCHANGE
ABLE WITH
10084548AB

18 [Solis-75,90 CRDI MODELS [10084543AA |STICKER FOR FUEL 1 STICKER FOR |KYEDF593742W
FUEL NT
DELETED
FROM

18 |Solis-75,90 CRDI MODELS |10084543AC |STICKER FOR FUEL 1

19 [Solis-75,90 CRDI MODELS [10017331AC |STICKER SOLIS-90 (LH) 1

19 [Solis-75,90 CRDI MODELS [10017331AF |STICKER SOLIS-90 (LH) 1

20 |Solis-75,90 CRDI MODELS |10017332AC [STICKER SOLIS-90 (RH) 1

21 |Solis-75,90 CRDI MODELS |10084546AA |STICKER FOR SERVICE AND LIFT 1 INTERCHANGE
ABLE WITH
10084546AB
(ROHS)

21 |Solis-75,90 CRDI MODELS [10084546AB |[STICKER FOR SERVICE AND LIFT 1

21 |Solis-75,90 CRDI MODELS |10084546AB |[STICKER FOR SERVICE AND LIFT 1 (ROHS)
INTERCHANGE
ABLE WITH
10084546AA

22 |Solis-75,90 CRDI MODELS |10084652AA |STICKER FOR DIFF LOCK 1

22 |Solis-75,90 CRDI MODELS |10084652AB |STICKER FOR DIFF LOCK 1 INTERCHANGE

ABLE WITH




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10084652AC
(ROHS)

22

Solis-75,90 CRDI MODELS

10084652AC

STICKER FOR DIFF LOCK

(ROHS)
INTERCHANGE
ABLE WITH
10084652AB

23

Solis-75,90 CRDI MODELS

10004899AA

STICKER OK FILTERED (FOR DRAIN
PLUG)

INTERCHANGE
ABLE WITH
10004899AB
(ROHS)

23

Solis-75,90 CRDI MODELS

10004899AB

STICKER OK FILTERED (FOR DRAIN
PLUG)

(ROHS)
INTERCHANGE
ABLE WITH
10004899AA

24

Solis-75,90 CRDI MODELS

10005010AA

STICKER EXTRA HEAVY

INTERCHANGE
ABLE WITH
10005010AC
(ROHS)

24

Solis-75,90 CRDI MODELS

10005010AC

STICKER EXTRA HEAVY

(ROHS)
INTERCHANGE
ABLE WITH
10005010AA

25

Solis-75,90 CRDI MODELS

10002428AA

STICKER OK FILTER

INTERCHANGE
ABLE WITH
10002428AB
(ROHS)

25

Solis-75,90 CRDI MODELS

10002428AB

STICKER OK FILTER

(ROHS)
INTERCHANGE
ABLE WITH
10002428AA

26

Solis-75,90 CRDI MODELS

10084542AA

STICKER FOR 4WD

INTERCHANGE
ABLE WITH
10084542AB
(ROHS)

26

Solis-75,90 CRDI MODELS

10084542AB

STICKER FOR 4WD

(ROHS)
INTERCHANGE
ABLE WITH
10084542AA

27

Solis-75,90 CRDI MODELS

10024287AA

STICKER 4X4

27A

Solis-75,90 CRDI MODELS

10014055AC

STICKER 4X4

YES

CZHDU531113S
3

28

Solis-75,90 CRDI MODELS

10084536AA

STICKER FOR PARKING BRAKE

INTERCHANGE
ABLE WITH
10084536AB
(ROHS)

28

Solis-75,90 CRDI MODELS

10084536AB

STICKER FOR PARKING BRAKE

INTERCHANGE
ABLE WITH
10084536AC
(ROHS)

28

Solis-75,90 CRDI MODELS

10084536AB

STICKER FOR PARKING BRAKE

(ROHS)
INTERCHANGE
ABLE WITH
10084536AA

28

Solis-75,90 CRDI MODELS

10084536AC

STICKER FOR PARKING BRAKE

(ROHS)
INTERCHANGE
ABLE WITH
10084536AB

29

Solis-75,90 CRDI MODELS

10084545AA

STICKER FOR STARTING CONTROL

29

Solis-75,90 CRDI MODELS

10068832AA

STICKER FOR STARTING CONTROL

30

Solis-75,90 CRDI MODELS

10084547AA

WARNING STICKER FOR USE OF
TRACTOR

30

Solis-75,90 CRDI MODELS

10084547AB

WARNING STICKER FOR USE OF
TRACTOR

INTERCHANGE
ABLE WITH




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10084547AC
(ROHS)

30

Solis-75,90 CRDI MODELS

10084547AC

WARNING STICKER FOR USE OF
TRACTOR

(ROHS)
INTERCHANGE
ABLE WITH
10084547AB

31

Solis-75,90 CRDI MODELS

10084550AA

WARNING STICKER FOR CLUTCH

32

Solis-75,90 CRDI MODELS

10028776AD

STATUTORY PLATE

33

Solis-75,90 CRDI MODELS

20003189AC

POP RIVET

INTERCHANGE
ABLE WITH
20003189AD
(ROHS)

33

Solis-75,90 CRDI MODELS

20003189AD

POP RIVET

(ROHS)
INTERCHANGE
ABLE WITH
20003189AC




24120A-1-1

STICKERS SET FOR U.S Solis-75,90 CRDI MODELS

HOMOLOGATION

24120A-1/1 STICKERS SET FOR U.S HOMOLOGATION
SAFETY INSTRUCTIONS
Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [20002576AA |STICKERS SET FOR U.S 1




24130A-1-1

24130A-1/2

STICKERS

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

STICKERS

| d @ = AUTOLIFT /™
5%® &) ‘

30 31 32 33
38
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [300005508A |STICKER FOR RIDING INSTRUCTION| 1
TYPE AC CABIN MODELS
2 [Solis-75,90 CRDI WITH H- [300005507A |STICKER FOR BONNET LOCK CABIN| 1
TYPE AC CABIN MODELS
3 |Solis-75,90 CRDI WITH H- |300005506A |STICKER FOR BONNET LOCK OPEN 1
TYPE AC CABIN MODELS DECK
4 | Solis-75,90 CRDI WITH H- |300005505A [STICKER FOR DCV LEVER 1
TYPE AC CABIN MODELS CONTROL
5 |[Solis-75,90 CRDI WITH H- [300005504A |STICKER FOR SERVICE 1
TYPE AC CABIN MODELS
6 |Solis-75,90 CRDI WITH H- |300005503A |STICKER FOR OPERATOR ALERT 1
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI WITH H- |300005502A [STICKER FOR GREASING POINT 1
TYPE AC CABIN MODELS
8 |Solis-75,90 CRDI WITH H- |300005500A |STICKER FOR TYRE PRESSURE 1
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
8 |Solis-75,90 CRDI WITH H- |300005500B [STICKER FOR TYRE PRESSURE 1 YES MEMSYFDPRKJ
TYPE AC CABIN MODELS H02966
9 |[Solis-75,90 CRDI WITH H- [300005499A |STICKER FOR EMERGENCY EXIT 1
TYPE AC CABIN MODELS
10 [Solis-75,90 CRDI WITH H- [300005501A |STICKER FOR SEAT ADJUSTMENT & 1
TYPE AC CABIN MODELS WEIGHT
11 |[Solis-75,90 CRDI WITH H- [300005497A |STICKER FOR REAR WINDOW 1
TYPE AC CABIN MODELS WIPER
12 |[Solis-75,90 CRDI WITH H- [300005496A |STICKER FOR STEERING WHEEL 1
TYPE AC CABIN MODELS TILT
13 [Solis-75,90 CRDI WITH H- [300005494A |STICKER FOR PTO RPM 1
TYPE AC CABIN MODELS
14 |Solis-75,90 CRDI WITH H- |300005493A |STICKER FOR OPERATOR MANUAL 1
TYPE AC CABIN MODELS INSTRUCTION
15 |Solis-75,90 CRDI WITH H- |300005491A |STICKER FOR DEMISTER 1
TYPE AC CABIN MODELS
16 [Solis-75,90 CRDI WITH H- [300005490A |STICKER FOR JACK POINT 4
TYPE AC CABIN MODELS
17 [Solis-75,90 CRDI WITH H- [300005489A |STICKER FOR WIND SCREEN 1
TYPE AC CABIN MODELS
18 [Solis-75,90 CRDI WITH H- |300005488A |STICKER FOR FENDER WARNING 1
TYPE AC CABIN MODELS
18 [Solis-75,90 CRDI WITH H- |300040663A |STICKER FOR FENDER WARNING 1 YES MEMSYFDPRKJ
TYPE AC CABIN MODELS H02966
19 [Solis-75,90 CRDI WITH H- |300005487A |STICKER FOR PTO WARNING 1
TYPE AC CABIN MODELS
19 [Solis-75,90 CRDI WITH H- |300040665A |STICKER FOR PTO WARNING 1 YES MEMSYFDPRKJ
TYPE AC CABIN MODELS H02966
20 |Solis-75,90 CRDI WITH H- |300005486A |STICKER FOR PTO 1
TYPE AC CABIN MODELS
21 |Solis-75,90 CRDI WITH H- |300005485A |[STICKER FOR SERVICE & LIFT 1
TYPE AC CABIN MODELS
22 |Solis-75,90 CRDI WITH H- |300005483A |STICKER FOR SEAT BELT 1
TYPE AC CABIN MODELS INSTRUCTION
22 |Solis-75,90 CRDI WITH H- |300040667A |STICKER FOR SEAT BELT 1 YES MEMSYFDPRKJ
TYPE AC CABIN MODELS H02966
23 |Solis-75,90 CRDI WITH H- |300005480A |STICKER FOR ROCKSHAFT DOWN 1
TYPE AC CABIN MODELS
24 |Solis-75,90 CRDI WITH H- |300005479A |STICKER FOR ROCKSHAFT UP 1
TYPE AC CABIN MODELS
25 |Solis-75,90 CRDI WITH H- |300005477A |STICKER FOR MINUS 2
TYPE AC CABIN MODELS
26 |Solis-75,90 CRDI WITH H- |300005476A |STICKER FOR PLUS 2
TYPE AC CABIN MODELS
27 |Solis-75,90 CRDI WITH H- [300005475A |STICKER FOR HAND ACCELERATOR 1
TYPE AC CABIN MODELS
28 |Solis-75,90 CRDI WITH H- |300005474A |STICKER FOR 12V 1
TYPE AC CABIN MODELS
29 |Solis-75,90 CRDI WITH H- |300005470A |[STICKER FOR DIFF. LOCK 1
TYPE AC CABIN MODELS
30 |Solis-75,90 CRDI WITH H- |300005469A |STICKER FOR IPTO 1
TYPE AC CABIN MODELS
31 |Solis-75,90 CRDI WITH H- |300005467A |STICKER FOR STARTING CONTROL 1
TYPE AC CABIN MODELS
32 |Solis-75,90 CRDI WITH H- |300005466A |[STICKER FOR DIESEL FUEL 1
TYPE AC CABIN MODELS
33 |Solis-75,90 CRDI WITH H- |300005465A |AUTOLIFT STICKER 1
TYPE AC CABIN MODELS
34 |Solis-75,90 CRDI WITH H- |300005464A |STICKER FOR AUTOLIFT 1
TYPE AC CABIN MODELS
35 |Solis-75,90 CRDI WITH H- |300005264A |STATUTORY PLATE 1
TYPE AC CABIN MODELS
36 |Solis-75,90 CRDI WITH H- |10068943AA |STICKER FOR INDEPENDENT PTO 1

TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
36 |Solis-75,90 CRDI WITH H- |300040661A |STICKER FOR INDEPENDENT PTO 1 YES MEMSYFDPRKJ
TYPE AC CABIN MODELS H02966
37 |Solis-75,90 CRDI WITH H- [10082776AA |STICKER E-MARK(SWINGING DRAW 1 INTERCHANGE
TYPE AC CABIN MODELS BAR) ABLE WITH
10082776AB
(ROHS)
37A |Solis-75,90 CRDI WITH H- |300040792A |CLEVIS HITCH STICKER 1 YES MEMSYFDPRKJ
TYPE AC CABIN MODELS H02966
37 |Solis-75,90 CRDI WITH H- [10082776AB [STICKER E-MARK(SWINGING DRAW | 1 (ROHS)
TYPE AC CABIN MODELS BAR) INTERCHANGE
ABLE WITH
10082776AA
38 |Solis-90 CRDI WITH 10083220AC |LABELING PLATE 1
HTYPE AC CABIN
MODELS
38 [Solis-90 CRDI WITH 300043360A |LABELING PLATE 1 NO MEMSYFDHRJJ
HTYPE AC CABIN H02351
MODELS
38 |Solis-90 CRDI WITH 300043360B [LABELING PLATE 1 YES MEMRYFDHRDJ
HTYPE AC CABIN H02692

MODELS




25110A-1-1

25110A-1/1

WHEELS & TYRES -

Solis-75,90 CRDI MODELS

WHEELS & TYRES -FRONT 4WD

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10080948AA |BOLTEN FRONT WHEEL W10X24 2 WITH 12.4*24
(WITH 12.4*24 TYRE) SILVER PAINTED TYRE
1 |Solis-75,90 CRDI MODELS [10080942AA |BOLTEN FRONT WHEEL W10X24 2 WITH 12.4*24
(WITH 12.4*24 TYRE) UNPAINTED TYRE
2 |Solis-75,90 CRDI MODELS |20004545AA [TUBE 11.2-24TR 218A BKT 2 WITH 12.4*24
(WITH 12.4*24 TYRE) TYRE
3 | Solis-90 CRDI MODELS 20004554AA |TYRE 124-24 8PRTR 135 HD TT 2
BKT
3 |FRONT WHEEL VARIANT |20004533AA |WHEEL TYRE(FRONT)12.4-24 PR 2 FRONT WHEEL
RADIAL TYRES BKT320/85R25 VARIANT
RADIAL TYRES
3 | Solis-75 CRDI MODELS 20004544AA |TYRE 11.2-248PRTR 135 HD TT 2 FRONT WHEEL
FRONT WHEEL VARIANT BKT VARIANT BIAS
BIAS FOR 75 CRDI
3 | Solis-75 CRDI MODELS 20004455AA |WHEEL TYRE (FRONT)4WD 280/85 2 FRONT WHEEL
FRONT WHEEL VARIANT R24 AMAX RT VARIANT
RADIAL RADIAL FOR 75




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
CRDI
3 | Solis-75 CRDI MODELS 20004554AA |TYRE 12.4-248PRTR 135 HD TT 2 FRONT WHEEL
FRONT WHEEL VARIANT BKT VARIANT ROW
ROW CROP CROP FOR 75
CRDI
4 |Solis-75,90 CRDI MODELS [20001263AA |NUT FOR FRONT WHEELS 16




26110A-1-1

26 110A-1/1

WHEELS & TYRES -

WHEELS & TYRES -REAR

Solis-75,90 CRDI MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10080952AA |REAR AXLE WHEEL RIM WITH 2 WITH 18.4*30
(WITH 18.4*30 TYRE) CARRARO TRANSMISSION (RIM TYRE
W15LX30)-SILVER PAINTED
1 |Solis-75,90 CRDI MODELS [10080907AA |REAR AXLE WHEEL RIM WITH 2 WITH 18.4*30
(WITH 18.4*30 TYRE) CARRARO TRANSMISSION ( TYRE
UNPAINTED)
1 |Solis-75,90 CRDI MODELS |10068879AA |REAR WHEEL RIM DW12X38 2 REAR WHEEL
(REAR WHEEL VARIANT UNPAINTED VARIANT ROW
ROW CROP) CROP
1 |Solis-75,90 CRDI MODELS [10086663AA |WHEEL RIM W7X36(SILVER) 2
1 |Solis-75,90 CRDI MODELS [300078020A |WHEEL RIM W7X36(SILVER) IN 2 YES FOR NO EU
HOUSE MODELS-
CYIDG796492W
10, FOR EU
MODDELS-

MEMSYFDHRKJ




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
H02878
2 | Solis-75,90 CRDI MODELS |20004553AA |WHEEL TUBE (REAR)4WD 18.4 *30 2 WITH 18.4*30
(WITH 18.4*30 TYRE) BKT TYRE
2 | Solis-75,90 CRDI MODELS |20004604AA [TUBE 13.6-38 TR 218A BKT 2 REAR WHEEL
(REAR WHEEL VARIANT VARIANT ROW
ROW CROP) CROP
2 |Solis-75 CRDI MODELS 20004539AA [16.9-30 TR 218A TUBE BKT 2
REAR WHEEL VARIANT
BIAS
3 | Solis-75,90 CRDI MODELS |20004552AA |WHEEL TYRE (REAR)4WD 18.4 *30 2
BKT
3 | Solis-75,90 CRDI MODELS |20004603AA [TYRE 13.6-38 12 PR TR-135 TT BKT 2 REAR WHEEL
(REAR WHEEL VARIANT VARIANT ROW
ROW CROP) CROP
3 |Solis-75 CRDI MODELS 20004538AA |TYRE 16.9-30 12PR TR 136 SPLTT 2
REAR WHEEL VARIANT BKT
BIAS
3 | Solis-75 CRDI MODELS 20004457AA |WHEEL TYRE (REAR)420/85 R30 2 REAR WHEEL
REAR WHEEL VARIANT AMAX RT855 VARIANT
RADIAL RADIAL
4 | Solis-75,90 CRDI MODELS |20001104AB [NUT FOR REAR WHEEL 16 INTERCHANGE
ABLE WITH
20005045AB
(ROHS)
4 |Solis-75,90 CRDI MODELS [20005045AB |NUT FOR WHEEL - FLAT 16 YES [(ROHS)
INTERCHANGE
ABLE WITH
20001104AB
5 |Solis-75,90 CRDI MODELS |04030400016 |SPRING WASHER B-16 16 INTERCHANGE
ABLE WITH
20004994AB
(ROHS)
5 |Solis-75,90 CRDI MODELS |20004994AB |SPRING WASHER B-16 TYPE-A IS: 16 YES |(ROHS)
3063-1972 INTERCHANGE
ABLE WITH

04030400016




27110A-1-1 FRONT WEIGHTS Solis-75,90 CRDI MODELS
27110A-1/1 FRONT WEIGHT
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS,[10070280AA |FRONT WEIGHT (72 KG) 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

2 | Solis-75,90 CRDI MODELS,|10070819AB [FRONT TOE PIN 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

2 |Solis-75,90 CRDI MODELS,{10070819AE |FRONT TOE PIN 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10039510AB

(ROHS)

2 | Solis-75,90 CRDI MODELS,|10039510AB [FRONT TOE PIN 1 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10070819AE

3 | Solis-75,90 CRDI MODELS,|10070820AA [BEATA PIN 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10087902AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)

3 | Solis-75,90 CRDI MODELS,|10087902AA [BEATA PIN 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10070820AA

4 |Solis-75,90 CRDI MODELS,[20003920AA |HEX BOLT M18*2.5*80 - 10.9 SA2JS 2 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20005452AA

(ROHS)

4 | Solis-75,90 CRDI MODELS,|20005452AA |HEX BOLT M18X2.5X80 10.9 SA4GS 2 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20003920AA

5 |Solis-75,90 CRDI MODELS,|20003921AA |HEX BOLT M18*2.5*110- 10.9 SA2JS 2 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20005545AA

(ROHS)

5 |Solis-75,90 CRDI MODELS,[20005545AA |HEX BOLT M18*2.5*110 -10.9 SA4GS 2 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20003921AA

6 |Solis-75,90 CRDI MODELS,|04030400018 |SPRING WASHER B18 4 OPTIONAL
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

7 |Solis-75,90 CRDI MODELS,|20003362AC [HEX NUT M16X2 -8 SA2JS 4 OPTIONAL
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

7 |Solis-75,90 CRDI MODELS,[20003719AB [HEX NUT M16X2 - 8, SA2GS 4 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20003362AC

8 |Solis-75,90 CRDI MODELS,|20004094AA |[HEX BOLT M16*2*50 2 OPTIONAL
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

9 |Solis-75,90 CRDI MODELS,|10070281AB [FRONT REMOVABLE WEIGHT 31KG 6 OPTIONAL
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

10 |Solis-75,90 CRDI MODELS,|10082561AA |ROD FOR FRONT WEIGHT 1 OPTIONAL
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS
11 [Solis-75,90 CRDI MODELS,[10070308AA |SPECIAL WASHER FOR FRONT 2 OPTIONAL

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

WEIGHT




(ROHS)

28110A-1-1 REAR WHEEL WEIGHTS Solis-75,90 CRDI MODELS
28110A-1/1 WHEEL WEIGHTS
P
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
Solis-75,90 CRDI MODELS |10005665AD |REAR WHEEL WEIGHT 2
Solis-75,90 CRDI MODELS |10002227AD |REAR WHEEL WEIGHT (BLACK) 2
Solis-75,90 CRDI MODELS |20003636AA [HEX BOLT M16*2*80 8-8 SA2JS 8 INTERCHANGE
ABLE WITH
20005454AA
(ROHS)
2 | Solis-75,90 CRDI MODELS |20005454AA [HEX BOLT M16X2X80 8.8 SA4GS 8 (ROHS)
INTERCHANGE
ABLE WITH
20003636AA
3 | Solis-75,90 CRDI MODELS |04030800017 [PUNCHED WASHER DIA17*DIA30*3 8 INTERCHANGE
ABLE WITH
20005456AA




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

20005456AA

PUNCHED WASHER A(16) 1S:2016
STEEL

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030800017

Solis-75,90 CRDI MODELS

04030400016

SPRING WASHER B16

INTERCHANGE
ABLE WITH
20004994AB
(ROHS)

Solis-75,90 CRDI MODELS

20004994AB

SPRING WASHER B-16 TYPE-AIS:

3063-1972

YES

(ROHS)
INTERCHANGE
ABLE WITH
04030400016

Solis-75,90 CRDI MODELS

20003362AC

HEX NUT M16

INTERCHANGE
ABLE WITH
20003719AB
(ROHS)

Solis-75,90 CRDI MODELS

20003719AB

HEX NUT M16X2 - 8, SA2GS

YES

(ROHS)
INTERCHANGE
ABLE WITH
20003362AC

Solis-75,90 CRDI MODELS

20003372AB

HEX LOCK NUT M16 SA3JS

INTERCHANGE
ABLE WITH
20003372AE
(ROHS)

Solis-75,90 CRDI MODELS

20003372AE

HEX LOCK NUT M16X2 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
20003372AB




29110A-1-1 INSTRUMENT CLUSTER Solis-75,90 CRDI MODELS
29110A-1/1 INSTRUMENT CLUSTER
/l
e~
(i )
ST X o
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI MODELS [10017334AA |CLUSTER ASSY. 1
1 |Solis-75,90 CRDI MODELS |10017334AB |CLUSTER ASSY. 1
2 | Solis-75,90 CRDI MODELS |10082845AA |COMBINATION SWITCH 1
3 | Solis-75,90 CRDI MODELS |10027181AA [HAZARD WORNING SWITCH 1
3 | Solis-75,90 CRDI MODELS |10027181AB |[HAZARD WORNING SWITCH 1 YES [INTERCHANGE|CZIDE459305S3
ABLE WITH
10027181AC
(ROHS)
3 | Solis-75,90 CRDI MODELS |10027181AC |HAZARD WORNING SWITCH 1 YES [(ROHS)
INTERCHANGE
ABLE WITH

10027181AB




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10026301BA

STARTING SWITCH

INTERCHANGE
ABLE WITH
10036896AA
(ROHS),
Applicable Key
is 300000624A
(TRACTOR
KEY SOLIS
TEXT)

Solis-75,90 CRDI MODELS

10036896AA

STARTER SWITCH

YES

(ROHS)
INTERCHANGE
ABLE WITH
10026301BA

Solis-75,90 CRDI MODELS

10083395AA

WORK LIGHT SWITCH

Solis-75,90 CRDI MODELS

10010867AC

DUMMY CAP SWITCH

INTERCHANGE
ABLE WITH
10010867AD
(ROHS)

Solis-75,90 CRDI MODELS

10010867AD

DUMMY CAP SWITCH

YES

(ROHS)
INTERCHANGE
ABLE WITH
10010867AC

Solis-75,90 CRDI MODELS

10083394AA

REVOLNING LIGHT SWITCH

Solis-75,90 CRDI MODELS

10023572AA

MOBILE CHARGER SOCKET




30110A-1-1

30110A-1/3

ELECTRICALS

Solis-75,90 CRDI MODELS

ELECTRICALS

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10067787AA

BATTERY CALBE POSITIVE

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10085226AA

BATTERY CABLE NEGATIVE

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084539AA

MAINTENANCE FREE BATTERY
110AH (AMCO)

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10054102AA

BATTERY 12V 110AH 800CCA

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10067784AA

PLOUGH LAMP ASSY

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10068853AC

PLOUGH LIGHT

YES

GZLDT639663W




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

5 |Solis-75,90 CRDI MODELS,|10004215AA |FLASHER UNIT ASSY. 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

5 |Solis-75,90 CRDI MODELS,|10004215AB |FLASHER UNIT ASSY. 1 YES MEMCZGFT698
Solis-75,90 CRDI WITH H- 31253
TYPE AC CABIN MODELS

6 |Solis-75,90 CRDI MODELS,[10024999AA [HORN (E-MARK) 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10055476AA

(ROHS)

6 |Solis-75,90 CRDI MODELS,|10038929AA |HORN 1 NO [TO MEET THE [DYYDF590343M
Solis-75,90 CRDI WITH H- VEHICLE S
TYPE AC CABIN MODELS CERTIFICATIO

N
REQUIREMENT

6 |Solis-75,90 CRDI MODELS,|10055476AA |HORN (E-MARK) 1 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10024999AA

7 |Solis-75,90 CRDI MODELS,|10027181AA |HAZARD WORNING SWITCH 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

7 |Solis-75,90 CRDI MODELS,|10027181AB |HAZARD WORNING SWITCH 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10027181AC

(ROHS)

7 |Solis-75,90 CRDI MODELS,|10027181AC |HAZARD WORNING SWITCH 1 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10027181AB

8 |Solis-75,90 CRDI MODELS,|10017921AA [HEAD LAMP (COBO LHD)-LH 2 VIEW NOT
Solis-75,90 CRDI WITH H- SHOWN
TYPE AC CABIN MODELS

9 | Solis-75,90 CRDI MODELS,|10017922AA [HEAD LAMP (COBO LHD)-RH 2 VIEW NOT
Solis-75,90 CRDI WITH H- SHOWN
TYPE AC CABIN MODELS

10 [Solis-75,90 CRDI MODELS,[10017334AA |INSTRUMENT CLUSTER 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

10 [Solis-75,90 CRDI MODELS,|10017334AB |INSTRUMENT CLUSTER 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

11 [Solis-75,90 CRDI MODELS,[10026301BA |STARTING SWITCH 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10036896AA

(ROHS),
Applicable Key
is 300000624A
(TRACTOR
KEY SOLIS
TEXT)

11 [Solis-75,90 CRDI MODELS,[10036896AA |STARTER SWITCH 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10026301BA

12 [Solis-75,90 CRDI MODELS,[10082845AA |COMBINATION SWITCH 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

13 [Solis-75,90 CRDI MODELS,|20002396AB |SWITCH FOR BRAKES-NORMALLY 1 INTERCHANGE
Solis-75,90 CRDI WITH H- CLOSED ABLE WITH
TYPE AC CABIN MODELS 10055930AA

(ROHS)

13 [Solis-75,90 CRDI MODELS,[10055930AA |SWITCH NC TYPE 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20002396AB




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

14

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10081765AC

TAIL LIGHT LT (E-MARKED)

14

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10081765AD

TAIL LIGHT LT (E-MARKED)

15

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10081764AC

TAIL LIGHT RT (E-MARKED)

15

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10081764AD

TAIL LIGHT RT (E-MARKED)

16

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10004984AA

PLASTIC STRAP

INTERCHANGE
ABLE WITH
10004984AB
(ROHS)

16

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10004984AB

PLASTIC STRAP

YES

(ROHS)
INTERCHANGE
ABLE WITH
10004984AA

17

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10067785AA

NEUTRAL SAFETY SWITCH(PTO
FUNCTION)

INTERCHANGE
ABLE WITH
10055924AA
(ROHS)

17

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10055924AA

NEUTRAL SAFETY SWITCH

YES

(ROHS)
INTERCHANGE
ABLE WITH
10067785AA

18

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10082724AC

CLAMP FOR WIRE HARNESS.

19

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10071579AA

7 PIN SOCKET ASSY WITH
GROMMET

19(1)

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10002339AA

7 PIN SOCKET ASSY

INTERCHANGE
ABLE WITH
10036843AA
(ROHS)

19(11)

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10002338AA

GROMMET FOR 7 PIN SOCKET

19())

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10036843AA

7 PIN SOCKET ASSY (SAE MARK)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10002339AA

20

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083395AA

WORK LIGHT SWITCH

21

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20002446AB

WORK LIGHT

22

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10017946AD

HARNESS ASSY (CHASSIS
HARNESS)

22

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10017946AG

HARNESS ASSY (CHASSIS
HARNESS)

23

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10017962AD

HARNESS ASSY (CABIN HARNESS)

23

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10017962AG

HARNESS ASSY (CABIN HARNESS)

24

Solis-75,90 CRDI MODELS,
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10067798AA

HARNESS FOR REVOLVING LIGHT




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
25 |Solis-90 CRDI MODELS 900410095C |WIRING HARNESS_(CRDI) 1
MOTHERSON
25 |Solis-90 CRDI MODELS 900410095E |WIRING HARNESS_(CRDI) 1
MOTHERSON
25 |Solis-75 CRDI MODELS 800410081B |WIRING HARNESS_Motherson 1
(CRDI 70HP_st.-4

26 |Solis-75,90 CRDI MODELS,[10011234AA |OIL PRESSURE SWITCH NC TYPE 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

27 |Solis-75,90 CRDI MODELS,|10023572AA |MOBILE CHARGER SOCKET 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

28 |Solis-75,90 CRDI MODELS,|10067074AA |STARTER MOTOR & HYDRAULIC 1
Solis-75,90 CRDI WITH H- PUMP COVER
TYPE AC CABIN MODELS

28 |Solis-75,90 CRDI MODELS,|10067074AB [STARTER MOTOR & HYDRAULIC 1 YES MEMEYFDT660
Solis-75,90 CRDI WITH H- PUMP COVER 014W
TYPE AC CABIN MODELS

29 |Solis-75,90 CRDI MODELS,|10067504AA |STARTER MOTOR & HYDRAULIC 1
Solis-75,90 CRDI WITH H- PUMP COVER
TYPE AC CABIN MODELS

30 |Solis-75,90 CRDI MODELS,|10067783AA |LIGHT FOR REGISTRATION PLATE 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10067783AB

(ROHS)

30 |[Solis-75,90 CRDI MODELS,[10067783AB [LIGHT FOR REGISTRATION PLATE 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10067783AA

31 |Solis-75,90 CRDI MODELS,|10082866AB |REGISTRATION PLATE 1 INTERCHANGE
Solis-75,90 CRDI WITH H- (UNPAINTED) ABLE WITH
TYPE AC CABIN MODELS 10082866AD

(ROHS)

31 |Solis-75,90 CRDI MODELS,|10082866AD |REGISTRATION PLATE 1 (ROHS)
Solis-75,90 CRDI WITH H- (UNPAINTED) INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10082866AB

32 |Solis-75,90 CRDI MODELS,[10029159AA |RELAY 2
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

33 |Solis-75,90 CRDI MODELS,|10007839AB |CLAMPING STRIP 2
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

34 |Solis-75,90 CRDI MODELS,|10004232AB |CLAMPING STRIP 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10057681AA

(ROHS)

34 |Solis-75,90 CRDI MODELS,|10057681AA |CLAMPING STRIP 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10004232AB

35 |Solis-75,90 CRDI MODELS,|10067786AA |PTO SAFETY SWITCH 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10055928AA

(ROHS)

35 |Solis-75,90 CRDI MODELS,|10055928AA |PTO SAFETY SWITCH 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10067786AA

36 |Solis-75,90 CRDI MODELS,[20002396AB |SWITCH FOR BRAKES-NORMALLY 3 INTERCHANGE
Solis-75,90 CRDI WITH H- CLOSED ABLE WITH
TYPE AC CABIN MODELS 10055930AA

(ROHS)

36 |Solis-75,90 CRDI MODELS,|10055930AA [SWITCH NC TYPE 3 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
20002396AB
37 |Solis-75,90 CRDI MODELS,[10071473AA |PLOUGH LAMP RUBBER 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10071473AB
(ROHS)
37 |Solis-75,90 CRDI MODELS,|10071473AB |PLOUGH LAMP RUBBER 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10071473AA
38 |Solis-75,90 CRDI MODELS,[10082870AA |FRONT INDICATOR LAMP 2
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
39 |Solis-75,90 CRDI MODELS,|10083498AA [SLOTTED PAN HEAD TAPPING 3
Solis-75,90 CRDI WITH H- SCREW
TYPE AC CABIN MODELS
40 |Solis-75,90 CRDI MODELS,[10017954AA |[MAIN RELAY-CRDI-75 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
41 |Solis-75,90 CRDI MODELS,[10017955AA |GRID RELAY -CRDI 75 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
42 |Solis-75,90 CRDI MODELS,|800408170A |SPEED SENSOR (0 281 002 315) 1 VIEW NOT
Solis-75,90 CRDI WITH H- SHOWN
TYPE AC CABIN MODELS
43 |Solis-75,90 CRDI MODELS,|04040306016 [SOCKET HEAD CAP SCREW- M6X16 1 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 300033833A
(ROHS)
43 |Solis-75,90 CRDI MODELS,|300033833A [SOCKET HEAD SCREW 1 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
04040306016
44 |Solis-75,90 CRDI MODELS,[10010867AC |DUMMY CAP SWITCH 4 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10010867AD
(ROHS)
44 |Solis-75,90 CRDI MODELS,[10010867AD |DUMMY CAP SWITCH 4 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10010867AC
45 |Solis-75,90 CRDI MODELS,|10067839AA |GROMMET FOR REGISTRATION 1
Solis-75,90 CRDI WITH H- LIGHT
TYPE AC CABIN MODELS
46 |Solis-75,90 CRDI MODELS,|10067801AA [HORN MTG. BKT 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
47 |Solis-75,90 CRDI MODELS,|10067720AA |[INTERMEDIATE MTG. BKT. 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
47 |Solis-75,90 CRDI MODELS,|10067720AB |[INTERMEDIATE MTG. BKT. 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
48 |Solis-75,90 CRDI MODELS,|10053758AA |CLUTCH SAFETY SWITCH 1
Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS
48 |Solis-75,90 CRDI MODELS,|300119996A |PLUNGER SWITCH NC 1 YES FOR NON EU
Solis-75,90 CRDI WITH H- MODELS-
TYPE AC CABIN MODELS FYNDS852132W|
NT
FOR EU
MODELS-
MEMSYEDHCFK
H05802
49 |Solis-75,90 CRDI MODELS,[10053764AA [SLIT CORRUGATED-TUBE 1 INTERCHANGE
Solis-75,90 CRDI WITH H- (CLOGGING SENSOR) ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

TYPE AC CABIN MODELS 10053764AB
(ROHS)

49 |Solis-75,90 CRDI MODELS,|10053764AB |[SLIT CORRUGATED-TUBE 1 YES |(ROHS)
Solis-75,90 CRDI WITH H- (CLOGGING SENSOR) INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10053764AA

50 |Solis-75,90 CRDI MODELS,|10067841AA |COT TUBE (FRONT LIGHT HARNESS 2
Solis-75,90 CRDI WITH H- COVERING
TYPE AC CABIN MODELS

51 |Solis-75,90 CRDI MODELS,|04030800006 [M/CD WASHER DIA 6.4 *DIA 12.4*1.6 3
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

52 |Solis-75,90 CRDI MODELS,|20003353AA |HEX NUT M5 -8 SASNS 3 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 300028453A

(ROHS)

52 |Solis-75,90 CRDI MODELS,|300028453A |HEX NUT M5-8 SA2JS 3 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20003353AA

53 |Solis-75,90 CRDI MODELS,|20003188AA |SLOTTEED CHEESE HEAD SCREWS 3 INTERCHANGE
Solis-75,90 CRDI WITH H- M5*40 ABLE WITH
TYPE AC CABIN MODELS 20005536AA

(ROHS)

53 |Solis-75,90 CRDI MODELS,|20005536AA |SLOTTED CHEASE HEAD SCREW 3 (ROHS)
Solis-75,90 CRDI WITH H- M5*40 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20003188AA

54 |Solis-75,90 CRDI MODELS,|20003518AA |HEX FLANGE SCREW M6*1*20-8.8 4 INTERCHANGE
Solis-75,90 CRDI WITH H- SA2JS ABLE WITH
TYPE AC CABIN MODELS 20005541AA

(ROHS)

54 |Solis-75,90 CRDI MODELS,|20005541AA |HEX FLANGE SCREW M6*1*20 -8.8 4 YES [(ROHS)
Solis-75,90 CRDI WITH H- SA4GS INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20003518AA

55 |Solis-75,90 CRDI MODELS,|20002016AB |HEX. HEAD SCREW M10 X 1.5 X 30 2
Solis-75,90 CRDI WITH H- 8-8 SA2JS
TYPE AC CABIN MODELS

56 |Solis-75,90 CRDI MODELS,|04030400010 [SPRING WASHER B-10 2
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

57 |Solis-75,90 CRDI MODELS,|10029875AA |STAR WASHER DIA 8 2 QTY.1 WITH
Solis-75,90 CRDI WITH H- FLASHER UNIT
TYPE AC CABIN MODELS ASSY. & QTY.1

WITH
HARNESS
GROUND
TERMINAL

58 |Solis-75,90 CRDI MODELS,|10083050AA [REVOLVING LIGHT 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

59 |Solis-75,90 CRDI MODELS,|10082866AB |REGISTRATION PLATE 1 INTERCHANGE
Solis-75,90 CRDI WITH H- (UNPAINTED) ABLE WITH
TYPE AC CABIN MODELS 10082866AD

(ROHS)

59 |Solis-75,90 CRDI MODELS,|10082866AD |REGISTRATION PLATE 1 (ROHS)
Solis-75,90 CRDI WITH H- (UNPAINTED) INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10082866AB

60 |Solis-75,90 CRDI MODELS,|20003355AB [HEX NUT M8X1.25 -8 SA2JS 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

61 |Solis-75,90 CRDI MODELS,|20003353AA |HEX NUT M5 -8 SASNS 2 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 300028453A




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)

61 |Solis-75,90 CRDI MODELS,|300028453A [HEX NUT M5-8 SA2JS 2 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20003353AA

62 |Solis-75,90 CRDI MODELS,|10082872AA |REFLECTER MTG BKT (UNPAINTED) 2 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10082872AB

(ROHS)

62 |Solis-75,90 CRDI MODELS,|10082872AB |REFLECTER MTG BKT (UNPAINTED) 2 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10082872AA

63 |Solis-75,90 CRDI MODELS,|10029161AA |REFLEX REFLECTOR 2 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 10056131AA

(ROHS)

63 |Solis-75,90 CRDI MODELS,|10056131AA |REFLEX REFLECTOR (RED) 2 YES [(ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10029161AA

64 |Solis-75,90 CRDI MODELS,|10085202AA |CLAMP COVER 1
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

65 |Solis-75,90 CRDI MODELS,|20003520AA |HEX FLANGE SCREW M8*1.25*25-8.8 4
Solis-75,90 CRDI WITH H- SA2JS
TYPE AC CABIN MODELS

66 |Solis-75,90 CRDI MODELS,|04030800008 [M/CD WASHER DIA 8.4 *DIA 17*1.6 4
Solis-75,90 CRDI WITH H-

TYPE AC CABIN MODELS

67 |Solis-75,90 CRDI MODELS,|04041000008 [HEX NYLOCK NUT M8*1.25 4 INTERCHANGE
Solis-75,90 CRDI WITH H- ABLE WITH
TYPE AC CABIN MODELS 20004917AB

(ROHS)

67 |Solis-75,90 CRDI MODELS,|20004917AB [HEX NYLOC NUT M8*1.25 8 4 (ROHS)
Solis-75,90 CRDI WITH H- INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

04041000008

68 |[ALL INHOUSE CABIN 04042905015 |[SLOTTED CHEESE HD SCREW 2 INTERCHANGE

MODELS M5*15 ABLE WITH
20005534AA
(ROHS)

68 |ALL INHOUSE CABIN 10085711AA |CROSS RECESSED CHEESE HEAD 2 NO MEMFYNDT645
MODELS SCREW M5X10 616W

68 [ALL INHOUSE CABIN 20005534AA [SLOTTED CHEASE HEAD SCREW 2 (ROHS)
MODELS M5*15 INTERCHANGE

ABLE WITH
04042905015

69 |ALL INHOUSE CABIN 04042905015 |SLOTTED CHEESE HD SCREW 2 INTERCHANGE

MODELS M5*15 ABLE WITH
20005534AA
(ROHS)

69 |ALL INHOUSE CABIN 04042905025 |SLOTTED CHEESE HD SCREW 2 NO |INTERCHANGE|MEMFYNDT645

MODELS M5*25 ABLE WITH 616W
20005538AA
(ROHS)

69 |[ALL INHOUSE CABIN 20005534AA |SLOTTED CHEASE HEAD SCREW 2 (ROHS)

MODELS M5*15 INTERCHANGE
ABLE WITH
04042905015

69 |ALL INHOUSE CABIN 20005538AA |SLOTTED CHEASE HEAD SCREW 2 (ROHS)

MODELS M5*25 INTERCHANGE
ABLE WITH

04042905025




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

70 |ALL INHOUSE CABIN 10083108AC |FOAM SMALL/ DUCT FOAM 2 NEW PART MEMFYNDT645
MODELS ADDED FROM |g16W

71 |ALL INHOUSE CABIN 04040106030 [HEX SCREW M6*30 2 NEW PART MEMFYNDT645
MODELS ADDED FROM |g16W

72 |ALL INHOUSE CABIN 10083030AA |SPECIAL WASHER 2 NEW PART MEMFYNDT645
MODELS ADDED FROM |g16W

73 |ALL INHOUSE CABIN 20003974AA |PLAIN WASHER A 6.4 1S:5370 STEEL 2 NEW PART MEMFYNDT645
MODELS ADDED FROM |g16W

74 |ALL INHOUSE CABIN 10083026AA |RUBBER PAD 2 NEW PART MEMFYNDT645
MODELS ADDED FROM |g16W

75 |ALL INHOUSE CABIN 10071439AC |FOAM RADIATOR SEALING 2 NEW PART MEMFYNDT645
MODELS ADDED FROM |g16W

76 |SOLIS-90 CRDI CABIN & |300034124A |ENGINE HARNESS CRDI 1 Yes MEMSYFDNREJ
W/O CABIN H01963

77 |SOLIS-90 CRDI CABIN & [300033002A [DIFF. PRESSURE SENSOR PIGTAIL 1 Yes MEMSYFDNREJ
W/O CABIN H01963

78 |ALL CRDI 75,90 AC CABIN |10067075AC |[STARTER MOTOR & HYD PUMP 1

COVER BKT 4CYL
78 |ALL CRDI 75,90 AC CABIN [10095351AA |BRACKET STARTOR MOTOR COVER 1 YES MEMSYKDHRKJ

H02930




30110A-2-2

ELECTRICALS

Solis-75,90 CRDI MODELS H-TYPE AC CABIN MODELS

30110A-3/3

ELECTRICALS

109

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

76

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10068731BA

HARNESS ASSY.(CABIN HARNESS)

For 40 km
option

76

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

300024340A

HARNESS ASSY.(CABIN HARNESS)

76

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

300024340B

HARNESS ASSY (CABIN HARNESS)

YES

MEMSYFDHRJJ

H02351

77

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10068746BA

HARNESS ASSY.(CHASSIS
HARNESS)

For 40 km
option

77

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

300024339A

HARNESS ASSY.(CHASSIS
HARNESS)

78

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10087420AA

4WD SWITCH

Common with
40 km option




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

79

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

20002396AB

BRAKE SWITCH

Common with
40 km option

79

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10055930AA

SWITCH NC TYPE

YES

(ROHS)
INTERCHANGE
ABLE WITH
20002396AB

80

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10067786AA

PTO SAFETY SWITCH

INTERCHANGE
ABLE WITH
10055928AA
(ROHS)

80

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10055928AA

PTO SAFETY SWITCH

YES

(ROHS)
INTERCHANGE
ABLE WITH
10067786AA

81

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10017954AA

MAIN RELAY-CRDI-75

82

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10017955AA

GRID RELAY -CRDI 75

83

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10087408AA

HAZARD SWITCH

84

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10087409AA

REVOLVING LIGHT SWITCH

85

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10023572AA

MOBILE CHARGER SOCKET

86

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10029943BD

STARTER SWITCH

87

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10085641AA

WIPER MOTOR FRONT

88

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10087413AA

FRONT WIPER SWITCH

89

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10057344AA

REVOLVING LIGHT

90

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10087410AA

FRONT WORK LIGHT SWITCH

91

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10087411AA

REAR WORK LIGHT SWITCH

92

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10087412AA

FRONT WASHER SWITCH

93

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10087419AA

REAR WASHER SWITCH

94

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

10068549AA

BATTERY CUT OFF SWITCH

NOT SHOWN

95

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

300024608A

BATTERY CABLE +VE (BATTERY TO
CUT OFF SW. FOR SOLIS-75/90EU)

96

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

300024609A

BATTERY CABLE +VE (CUT OFF SW.

TO STARTER MOTOR FOR SOLIS-
75/90 EU)

97

Solis-75,90 CRDI MODELS
H-TYPE AC CABIN
MODELS

300024610A

BATTERY CABLE -VE (SOLIS-75/90
EU)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
98 |Solis-75,90 CRDI MODELS |300002575A |[MICRO RELAY NC-NO WITH DOIDE 5
H-TYPE AC CABIN
MODELS
99 |Solis-75,90 CRDI MODELS |10053758AA |CLUTCH SAFETY SWITCH 3
H-TYPE AC CABIN
MODELS
99 |Solis-75,90 CRDI MODELS [300119996A |PLUNGER SWITCH NC 3 YES FOR NON EU
H-TYPE AC CABIN MODELS-
MODELS FYNDS852132W
NT
FOR EU
MODELS-
MEMSYEDHCFK
H05802
100 |Solis-75,90 CRDI MODELS |10068890AA [PARKING BRAKE SWITCH 1
H-TYPE AC CABIN
MODELS
101 |Solis-75,90 CRDI MODELS |300001693A [CLUSTER ASSY 1
H-TYPE AC CABIN
MODELS
102 |Solis-75,90 CRDI MODELS [300001694A |BEZEL 1 CHILD PARTS
H-TYPE AC CABIN OF CLUSTER
MODELS ASSY
103 | Solis-75,90 CRDI MODELS |300001695A |[CRYSTAL ASSEMBLY 1 CHILD PARTS
H-TYPE AC CABIN OF CLUSTER
MODELS ASSY
104 | Solis-75,90 CRDI MODELS |300001696A [FACIA 1 CHILD PARTS
H-TYPE AC CABIN OF CLUSTER
MODELS ASSY
105 [Solis-75,90 CRDI MODELS [300001697A |PCB ASSEMBLY 1 CHILD PARTS
H-TYPE AC CABIN OF CLUSTER
MODELS ASSY
106 |Solis-75,90 CRDI MODELS |300001698A |HOUSING ASSEMBLY 1 CHILD PARTS
H-TYPE AC CABIN OF CLUSTER
MODELS ASSY
107 |Solis-75,90 CRDI MODELS |10096602AA [SAFETY CONTROLLER FOR ENGINE 1
H-TYPE AC CABIN SHUT-OFF
MODELS
108 |Solis-75,90 CRDI MODELS |10054276AA |REVOLVING LIGHT (DETACHABLE) 1 NON-
H-TYPE AC CABIN STRUCTURE
MODELS COMPONENTS
109 |Solis-75,90 CRDI MODELS |10094862AA |REVOLVING LIGHT HARNESS 1
H-TYPE AC CABIN
MODELS
110 |Solis-75,90 CRDI MODELS |10067783AA [LIGHT FOR REGISTRATION PLATE 1 INTERCHANGE
H-TYPE AC CABIN (E-MARKED) ABLE WITH
MODELS 10067783AB
(ROHS)
110 [Solis-75,90 CRDI MODELS [10067783AB |LIGHT FOR REGISTRATION PLATE 1 (ROHS)
H-TYPE AC CABIN INTERCHANGE
MODELS ABLE WITH
10067783AA
111 | Solis-75,90 CRDI MODELS |10029159AB |RELAY 1
H-TYPE AC CABIN
MODELS
112 | Solis-75,90 CRDI MODELS |300035450A |PTO EXTERNAL CONTROL SWITCH 1 NEW PART MEMSYFDHRJJ
H-TYPE AC CABIN ADDED H02351

MODELS




31110A-1-1 ACCESSORIES Solis-75,90 CRDI MODELS

31110A-1/1 ACCESSORIES

DA

AT RS
=\l -

oC oDLE,F,G,H,I

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI MODELS [10004801AA |PRIMARY FILTER ELEMENT 3

2 | Solis-75,90 CRDI MODELS |10004802AB |SECONDARY FILTER ELEMENT 3

3 | Solis-75,90 CRDI MODELS |042100905AA |TOOL KIT BAG ( EMPTY ) 1 INTERCHANGE
ABLE WITH
20005037AA
(ROHS)

3 | Solis-75,90 CRDI MODELS |20005037AA |TOOL KIT BAG ( EMPTY ) 1 (ROHS)
INTERCHANGE
ABLE WITH
042100905AA

4 | Solis-75,90 CRDI MODELS |10026351AA [ENGINE OIL 15W40 10.75 IN LIT

5 |Solis-75,90 CRDI MODELS |10005331AB |[HAND TOOL KIT 1 SET




Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

20002841AB

GREASE GUN

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002843AA

CUTTER PLIER 7

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002844AA

SCREW DRIVER 5

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002845AA

D-SPANNER 30X32

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002846AA

D-SPANNER 10X11

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002847AA

D-SPANNER 12X13

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002848AA

D-SPANNER 14X17

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002849AA

D-SPANNER 18X19

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002850AA

D-SPANNER 20X22

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002851AA

RING SPANNER 16X17

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part

Solis-75,90 CRDI MODELS

20002852AA

RING SPANNER 24X27

PART NO.
10005331AB
INCLUDES S.
NO.5(A) TO 5
(K), Not
Serviceable part




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI MODELS

10026665AA

TYRE PRESSURE GAUGE (EXPORT)

INTERCHANGE
ABLE WITH
10026665AB
(ROHS)

Solis-75,90 CRDI MODELS

10026665AB

TYRE PRESSURE GAUGE (EXPORT)

YES

(ROHS)
INTERCHANGE
ABLE WITH
10026665AA

Solis-75,90 CRDI MODELS

10004836AB

ELEMENT OIL LUB. FILTER

INTERCHANGE
ABLE WITH
10004836AC
(ROHS)

Solis-75,90 CRDI MODELS

10004836AC

OIL FILTER ASSY

(ROHS)
INTERCHANGE
ABLE WITH
10004836AB

Solis-75,90 CRDI MODELS

10026958AA

CAP RADIATOR 0.9-PSI

INTERCHANGE
ABLE WITH
10026958AC
(ROHS)

Solis-75,90 CRDI MODELS

10026958AC

CAP RADIATOR 0.9-PSI

YES

(ROHS)
INTERCHANGE
ABLE WITH
10026958AA




32110A-1-1 AC CABIN STRUCTURE Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
32110A-1-1 AC CABIN STRUCTURE ASSY.
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH 10018044CA |AC CABIN ASSY WORLDTRAC 1
INHOUSE AC CABIN
MODELS
2 | Solis-75,90 CRDI WITH 10028773AA |MIRROR ASSY RH 1
INHOUSE AC CABIN
MODELS
3 | Solis-75,90 CRDI WITH 10028774AA |MIRROR ASSY LH 1
INHOUSE AC CABIN
MODELS
4 | Solis-75,90 CRDI WITH 20003519AA |HEX FLANGE SCREW M8*1.25*20-8.8 4 INTERCHANGE
INHOUSE AC CABIN SA2JS ABLE WITH
MODELS 20005539AA
(ROHS)
4 | Solis-75,90 CRDI WITH 20005539AA |HEX FLANGE SCREW M8*1.25*20 4 YES |(ROHS)
INHOUSE AC CABIN -8.8 SA4GS INTERCHANGE
MODELS ABLE WITH

20003519AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
7 |Solis-75,90 CRDI WITH 10082225AD |PIN FOR DOOR LOCK 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082225AE

(ROHS)

7 |Solis-75,90 CRDI WITH 10082225AE |PIN FOR DOOR LOCK 2 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082225AD

8 |Solis-75,90 CRDI WITH 10082812AB |SUPPORT FOR DOOR LOCK PIN 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082812AC

(ROHS)

8 |Solis-75,90 CRDI WITH 10082812AC |SUPPORT FOR DOOR LOCK PIN 2 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082812AB

9 |Solis-75,90 CRDI WITH 10083338AA |THREAD PLATE FOR DOOR LOCK 2 INTERCHANGE
INHOUSE AC CABIN PIN ABLE WITH
MODELS 10083338AB

(ROHS)

9 |Solis-75,90 CRDI WITH 10083338AB |THREAD PLATE FOR DOOR LOCK 2 (ROHS)
INHOUSE AC CABIN PIN INTERCHANGE
MODELS ABLE WITH

10083338AA

10 [Solis-75,90 CRDI WITH 10010851AE |FENDER SIDE COVER RIGHT 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10010851AF

(ROHS)

10 [Solis-75,90 CRDI WITH 10010851AF |FENDER SIDE COVER RIGHT 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10010851AE

11 | Solis-75,90 CRDI WITH 10010852AE |FENDER SIDE COVER LEFT 1
INHOUSE AC CABIN
MODELS

12 |[Solis-75,90 CRDI WITH 20003931AA |CROSS SLOTTED TRUSS HEAD 18
INHOUSE AC CABIN SCREW M6
MODELS

13 [Solis-75,90 CRDI WITH 20003354AB |HEX NUT M6 -8 SA2JS 18
INHOUSE AC CABIN
MODELS

14 |Solis-75,90 CRDI WITH 04030600006 [PLAIN WASHER DIA 6.4 *DIA 18 *1.5 18

INHOUSE AC CABIN
MODELS




32120A-1-1 SIDE GLASS ASSY Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
32120A-1-1 CABIN GLASS ASSY.
F
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 Solis-75,90 CRDI WITH 10018036AC |FRONT WINDOW GLASS 1
INHOUSE AC CABIN
MODELS
2 |Solis-75,90 CRDI WITH 10018034AB |FRONT BOTTOM GLASS RH 1
INHOUSE AC CABIN
MODELS
3 |Solis-75,90 CRDI WITH 10018035AB |FRONT BOTTOM GLASS LH 1
INHOUSE AC CABIN
MODELS
4 |Solis-75,90 CRDI WITH 10082085AE |WINDOW SIDE GLASS RH 1
INHOUSE AC CABIN
MODELS
5 |Solis-75,90 CRDI WITH 10082086AE |WINDOW SIDE GLASS LH 1
INHOUSE AC CABIN
MODELS
6 |Solis-75,90 CRDI WITH 10083101AA |PRIMER FOR GLASS SEALANT As per
INHOUSE AC CABIN req
MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
7 |Solis-75,90 CRDI WITH 10010926AB |BETA SEAL U414 As per
INHOUSE AC CABIN req
MODELS
8 |Solis-75,90 CRDI WITH 10082082BA |DOOR GLASS RH 1
INHOUSE AC CABIN
MODELS
9 |Solis-75,90 CRDI WITH 10082083BA |DOOR GLASS LH 1

INHOUSE AC CABIN
MODELS




32130A-1-1

¥
R

32130A-1-1

6

STEERING UNIT

Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

STEERING UNIT

19

4
12
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH 10022135AC |ADOPTER M18X1.5/G1 2A for T-Port 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10039266AB

(ROHS)

1 |Solis-75,90 CRDI WITH 10039266AB |ADOPTER M18X1.5/ & G-1/2" A 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10022135AC

2 |Solis-75,90 CRDI WITH 10080934AB |ADOPTER M16X1.5-G 1 2A for P-Port 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300031578A

(ROHS)

2 |Solis-75,90 CRDI WITH 300031578A |ADOPTER(M16X1.5/G1/2 A) 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10080934AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
3 | Solis-75,90 CRDI WITH 10082802AA |ADOPTER M14X1.5-G 1 2 A for L-Port 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082802AB

(ROHS)

3 [Solis-75,90 CRDIWITH  [10082802AB  |Adoptor for flexible pipe from steering 1 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082802AA

4 |Solis-75,90 CRDI WITH 10080935AB |ADOPTER M14X1.5-G 1 2 A for R-Port 1
INHOUSE AC CABIN
MODELS

5 |Solis-75,90 CRDI WITH 04030216020 |SEALING WASHER DIA 16.2* DIA20 * 4
INHOUSE AC CABIN 15
MODELS

6 |Solis-75,90 CRDI WITH 10082157AC |[Tiltable & Telescopic Steering Column 1
INHOUSE AC CABIN
MODELS

7 |Solis-75,90 CRDI WITH 20003285AB |HEX SCREW M8X1.25X30 8-8 SA2JS 3
INHOUSE AC CABIN
MODELS

8 |Solis-75,90 CRDI WITH 04030400008 |SPRING WASHER B-8 3 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005517AA

(ROHS)

8 |Solis-75,90 CRDI WITH 20005517AA |SPRING WASHER B-8 TYPE A IS: 3 YES |(ROHS)
INHOUSE AC CABIN 3067-1972 INTERCHANGE
MODELS ABLE WITH

04030400008

9 |Solis-75,90 CRDI WITH 40000741AA |CCC Steering unit 1
INHOUSE AC CABIN
MODELS

10 [Solis-75,90 CRDI WITH 20003230AA |HEX BOLT M10*1.5*40 8-8 SA3NS 4
INHOUSE AC CABIN
MODELS

11 [Solis-75,90 CRDI WITH 04030600010 |PLAIN WASHER DIA 10.5 *DIA 30 *2. 4
INHOUSE AC CABIN 5
MODELS

12 |Solis-75,90 CRDI WITH 10083385AB |FLEXIBLE PIPE( STG. PUMP TO 1 P PORT
INHOUSE AC CABIN STORAGE UNIT)

MODELS

13 [Solis-75,90 CRDI WITH 04080700016 |BENJO BOLT M16*1.5*28 (4 HOLES) 1
INHOUSE AC CABIN
MODELS

14 |[Solis-75,90 CRDI WITH 04030216020 |SEALING WASHER DIA 16.2* DIA 20 * 6
INHOUSE AC CABIN 1.5
MODELS

15 |Solis-75,90 CRDI WITH 10083384AB |FLEXIBLE PIPE( STG. UNIT (T) TO 1 FOR T PORT
INHOUSE AC CABIN STG. TANK)

MODELS

16 [Solis-75,90 CRDI WITH 10083035AC |FLEXIBLE PIPE ( STG. UNITL TO 1 FOR L PORT
INHOUSE AC CABIN STG. CYL LH)
MODELS

17 |Solis-75,90 CRDI WITH 04080100014 |BENJO BOLT M14*1.5*26 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005003AB

(ROHS)

17 |Solis-75,90 CRDI WITH 20005003AB |BENJO BOLT M14*1.5*26 SA4GS 2 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

04080100014

18 [Solis-75,90 CRDI WITH 10083036AC |FLEXIBLE PIPE ( STG. UNITL TO 1 FOR R PORT

INHOUSE AC CABIN STG. CYL RH)
MODELS
19 [Solis-75,90 CRDI WITH 10067789AA |COVER PLATE FOR STR MTG 1

INHOUSE AC CABIN
MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
20 |Solis-75,90 CRDI WITH 20002059AA |Hex. head screw M8 x 1.25 x 16 8-8 7 INTERCHANGE
INHOUSE AC CABIN SA2JS ABLE WITH
MODELS 20005559AA
(ROHS)
20 |Solis-75,90 CRDI WITH 20005559AA |HEX HEAD SCREW M8X1.25X16 -8.8 7 (ROHS)
INHOUSE AC CABIN SA4GS INTERCHANGE
MODELS ABLE WITH
20002059AA
21 |Solis-75,90 CRDI WITH 04030600008 |plain washer DIA 8.4 *DIA 17*1.6 7

INHOUSE AC CABIN
MODELS




32140A-1-1 HVAC KIT Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

32140A-1-1 HVAC KIT

26

25 | 11A

\ I|
\ | TO ENGINE

,Ql;x\--\'*é:\ - 24
wﬁv A

\\ TO WATER BODY

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

A |Solis-75,90 CRDI WITH 10084602BC |HVAC KIT 1
INHOUSE AC CABIN
MODELS

A |Solis-75,90 CRDI WITH 10095593AA |HVAC KIT (CABIN COMPONENTS) 1 NO MEMFYFDT6429
INHOUSE AC CABIN 48W

MODELS
1 [Solis-75,90 CRDI WITH 10082204AC |COMPRESSOR 1
INHOUSE AC CABIN
MODELS

2 | Solis-75,90 CRDI WITH 10082205AC |HVAC ASSY ROOF MOUNT 1
INHOUSE AC CABIN
MODELS

3 |Solis-75,90 CRDI WITH 10016719AA |CONDENSOR 1
INHOUSE AC CABIN
MODELS

4 |Solis-75,90 CRDI WITH 10082207AB |RECEIVER DRIER 1
INHOUSE AC CABIN
MODELS




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082208BA

AIR CONDITIONER CONTROL
PANEL

In-House Cabin

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082209AC

SUCTION HOSE

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10018114AB

DISCHARGE HOSE

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10018113AB

LIQUID HOSE COND. TO R/D

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082212AB

LIQUID HOSE R/D TO EVAP.

11A

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083354AA

HEATER HOSE ( RETURN LINE TO
WATER VALVE)

4.05

IN MTR

11B

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083355AA

HEATER HOSE ( WATER VALVE TO
RADIATOR)

3.17

IN MTR

11C

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083356AA

HEATER HOSE ( WATER VALVE TO
HVAC))

50

IN MM

12

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082215AB

WATER VALVE

13

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082216AB

CHECK VALVE

14

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082217AC

DRAIN HOSE

4.50

IN MTR

15

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082218AA

LOUVER

16

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083066AA

WATER VALVE CLAMP

17

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083067AB

SUCTION PIPE COMPRESSOR TO
TXV

18

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083358AA

CLAMP

19

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083410AB

LIQUID PIPE R/D TO LIQUID HOSE

20

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083479AA

COLD TAPE

22

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20004338AA

HOSE WORM CLAMP 32X45 [S:4762

INTERCHANGE
ABLE WITH
20004338AB
(ROHS)

22

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20004338AB

HOSE WORM CLAMP 32X45 [S:4762

YES

(ROHS)
INTERCHANGE
ABLE WITH
20004338AA

23

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083029AA

CONNECTOR PIPE FROM AC TO
RADIATOR

24

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082884AB

PIPE FROM RETURN LINE TO HOT
PIPE

25

Solis-75,90 CRDI WITH
INHOUSE AC CABIN

10082883AA

SPECIAL BOLT FOR TEMP. SENSOR

INTERCHANGE
ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

MODELS 10082883AC
(ROHS)

25 |Solis-75,90 CRDI WITH 10082883AB |SPECIAL BOLT FOR TEMP. SENSOR 1 YES MEMDYMDTG677
INHOUSE AC CABIN 871W
MODELS

25A | Solis-75,90 CRDI WITH 10068080AB |SPECIAL BENJO BOLT FOR TEMP. 1
CRDI AC CABIN MODELS SENSOR
25A | Solis-75,90 CRDI WITH 10068080AC |SPECIAL BENJO BOLT FOR TEMP. 1 YES |INTERCHANGE|MEMDYMDT677
CRDI AC CABIN MODELS SENSOR ABLE WITH 871W
10068080AD
(ROHS)
25 |Solis-75,90 CRDI WITH 10082883AC |SPECIAL BENJO BOLT FOR TEMP 1 (ROHS)
INHOUSE AC CABIN SENSOR INTERCHANGE
MODELS ABLE WITH
10082883AA
25A |Solis-75,90 CRDI WITH 10068080AD |SPECIAL BENJO BOLT FOR TEMP 1 (ROHS)
CRDI AC CABIN MODELS SENSOR INTERCHANGE
ABLE WITH
10068080AC

26 |Solis-75,90 CRDI WITH 20004375AA |SEALING WASHER 26X30.9 1S:3175 2
INHOUSE AC CABIN Cu
MODELS

27 |Solis-75,90 CRDI WITH 700413101A |HOSE(RADIATOR TO WATER PUMP) 1

INHOUSE AC CABIN
MODELS

AC CABIN




32150A-1-1

32150A-1-1
10 16

7

HVAC MTG.

Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

HVAC MTG.

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

04040106016

HEX SCREW M6*16

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

04030600006

PLAIN WASHER DIA 6.4 *"DIA 18 *1.5

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20003285AB

HEX SCREW M8X1.25X30 8-8 SA2JS

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

04030600008

PLAIN WASHER DIA 8.4 *DIA 17*1.6

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20003355AB

HEX NUT M8X1.25 -8 SA2JS

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083080AD

AC DUCT




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083078AA

AC HOSE

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083109AD

FOAM LARGE/DUCT FOAM

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083108AC

FOAM SMALL/DUCT FOAM

10

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20003978AA

HOSE WORM CLAMPS DIA97

11

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20004004AA

HOSE WORM CLAMPS DIA68

INTERCHANGE
ABLE WITH
20004004AB
(ROHS)

11

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20004004AB

HOSE WORM CLAMP DIA 68 1S-4762

YES

(ROHS)
INTERCHANGE
ABLE WITH
20004004AA

12

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083379AC

INSULATION SHEET FOR AC DUCT

13

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083378AB

INSULATION SHEET FOR AC

14

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083526AB

INSULATION SHEET FOR AC SIDE
LH

15

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083527AB

INSULATION SHEET FOR AC SIDE
RH

16

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20004338AA

HOSE WORM CLAMP 32X45 1S:4762

FOR INSIDE
PIPE MTG.

16

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20004338AB

HOSE WORM CLAMP 32X45 [S:4762

YES

(ROHS)
INTERCHANGE
ABLE WITH
20004338AA




32160A-1-1

32160A-1-1

CANOPY MTG.

Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

CANOPY ASSY.

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH 10085349AA |FRESH AIR FILTER 4
INHOUSE AC CABIN
MODELS

2 | Solis-75,90 CRDI WITH 10082253AB |CANOPY AIR FLAP ASSY RH 1
INHOUSE AC CABIN
MODELS

3 | Solis-75,90 CRDI WITH 10082252AB |CANOPY AIR FLAP ASSY LH 1
INHOUSE AC CABIN
MODELS

4 | Solis-75,90 CRDI WITH 20002016AB |Hex. head screw M10 x 1.5 x 30 8-8 4
INHOUSE AC CABIN SA2JS
MODELS

5 |Solis-75,90 CRDI WITH 04030600010 |PLAIN WASHER DIA 10.5 *DIA 30 *2. 4
INHOUSE AC CABIN 5
MODELS

6 |Solis-75,90 CRDI WITH 20003969AB |CROSS SLOTTED TRUSS HEAD 4 INTERCHANGE
INHOUSE AC CABIN SCREW M8 ABLE WITH
MODELS 10067946AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)

6 |Solis-75,90 CRDI WITH 10067946AB |CROSS SLOTTED TRUSS HEAD 4 (ROHS)
INHOUSE AC CABIN SCREW M8X25 INTERCHANGE
MODELS ABLE WITH

20003969AB

7 |Solis-75,90 CRDI WITH 10082124AD |CANOPY ASSY FOR AC CABIN 1
INHOUSE AC CABIN (BLUE PAINTED)

MODELS

8 |Solis-75,90 CRDI WITH 10083068AA |RUBBER PAD 4 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10083068AC

(ROHS)

8 |Solis-75,90 CRDI WITH 10083068AC |RUBBER PAD 4 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083068AA

9 |Solis-75,90 CRDI WITH 10083034AA |RUBBER PAD 4
INHOUSE AC CABIN
MODELS

10 [Solis-75,90 CRDI WITH 20002017AC |HEX HEAD SCREW M10*40-10.9 4
INHOUSE AC CABIN
MODELS

11 |[Solis-75,90 CRDI WITH 20002016AB |Hex. head screw M10 x 1.5 x 30 8-8 6
INHOUSE AC CABIN SA2JS
MODELS

12 |Solis-75,90 CRDI WITH 04030600010 [PLAIN WASHER DIA 10.5 *DIA 30 *2. 10
INHOUSE AC CABIN 5
MODELS

13 [Solis-75,90 CRDI WITH 04030400010 |SPRING WASHER B-10 10
INHOUSE AC CABIN
MODELS

14 |Solis-75,90 CRDI WITH 10084987AA |CANOPY PAD FRONT LH 1
INHOUSE AC CABIN
MODELS

15 |Solis-75,90 CRDI WITH 10084988AA |CANOPY PAD FRONT RH 1
INHOUSE AC CABIN
MODELS

16 [Solis-75,90 CRDI WITH 10084990AA |CANOPY PAD REAR LH 1
INHOUSE AC CABIN
MODELS

17 |Solis-75,90 CRDI WITH 10084991AA |CANOPY PAD REAR RH 1

INHOUSE AC CABIN
MODELS




32170A-1-1 ROOF LINER Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

32170A-1-1 ROOF LINER& PILLER COVERASSY.

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH 20001096AA |Hex. head screw M8 x 1.25 x 20 8-8 2 INTERCHANGE
INHOUSE AC CABIN SA2JS ABLE WITH
MODELS 20005565AA

(ROHS)

1 |Solis-75,90 CRDI WITH 20005565AA |HEX HEAD SCREW M8X1.25X20 -8.8 2 YES |(ROHS)
INHOUSE AC CABIN SA4GS INTERCHANGE
MODELS ABLE WITH

20001096AA

2 |Solis-75,90 CRDI WITH 04030600008 |plain washer DIA 8.4 *DIA 17*1.6 2
INHOUSE AC CABIN
MODELS

3 | Solis-75,90 CRDI WITH 10082941AC |ROOF LINER SPACER 1
INHOUSE AC CABIN
MODELS

4 | Solis-75,90 CRDI WITH 10082256AD |FRONT LIGHT COVER 1
INHOUSE AC CABIN
MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 |Solis-75,90 CRDI WITH 10081882AA |PUSH PIN 6 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10081882AB

(ROHS)

5 |Solis-75,90 CRDI WITH 10081882AB |PUSH PIN 6 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10081882AA

6 |Solis-75,90 CRDI WITH 10082282AA |STEREO COVER 1
INHOUSE AC CABIN
MODELS

7 |Solis-75,90 CRDI WITH 10081882AA |PUSH PIN 4 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10081882AB

(ROHS)

7 |Solis-75,90 CRDI WITH 10081882AB |PUSH PIN 4 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10081882AA

8 |Solis-75,90 CRDI WITH 10082254BA |ROOF LINNER 1
INHOUSE AC CABIN
MODELS

9 |Solis-75,90 CRDI WITH 10081882AA |PUSH PIN 20 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10081882AB

(ROHS)

9 |Solis-75,90 CRDI WITH 10081882AB |PUSH PIN 20 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10081882AA

10 |Solis-75,90 CRDI WITH 10083378AB |INSULATION SHEET FOR AC 1
INHOUSE AC CABIN
MODELS

11 |[Solis-75,90 CRDI WITH 10082166AE |SIDE PILLER LH 1
INHOUSE AC CABIN
MODELS

12 [Solis-75,90 CRDI WITH 10023572AA |MOBILE CHARGER SOCKET 1
INHOUSE AC CABIN
MODELS

13 |Solis-75,90 CRDI WITH 10081882AA |PUSH PIN 6 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10081882AB

(ROHS)

13 [Solis-75,90 CRDI WITH 10081882AB |PUSH PIN 6 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10081882AA

14 |[Solis-75,90 CRDI WITH 10082165AG |SIDE PILLER RH 1
INHOUSE AC CABIN
MODELS

15 |Solis-75,90 CRDI WITH 10083353AA |BEZEL 1
INHOUSE AC CABIN
MODELS

16 [Solis-75,90 CRDI WITH 10081882AA |PUSH PIN 6 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10081882AB

(ROHS)

16 [Solis-75,90 CRDI WITH 10081882AB |PUSH PIN 6 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10081882AA

17 |Solis-75,90 CRDI WITH 10083432AA |LOUVER 4

INHOUSE AC CABIN
MODELS




32180A-1-1 FENDER COVER Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

32180A-1-1 FENDER COVER RH&LH ASSY.
8
\ 6 1.2
6 7
o

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH 10068086AA |FENDER INTERIOR (RIGHT ASSY) 1

INHOUSE AC CABIN

MODELS

2 |Solis-75,90 CRDI WITH 10082174AH |FENDER INTERIOR (LEFT ASSY) 1
INHOUSE AC CABIN

MODELS

3 |Solis-75,90 CRDI WITH 04040106020 [HEX SCREW M6*1*20 10 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005569AA

(ROHS)

3 |Solis-75,90 CRDI WITH 20005569AA |[HEX SCREW M6X1X20 10 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

04040106020

4 |Solis-75,90 CRDI WITH 10083030AA |SPECIAL WASHER 10 INTERCHANGE

INHOUSE AC CABIN ABLE WITH

MODELS 10083030AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)

4 | Solis-75,90 CRDI WITH 10083030AB |SPECIAL WASHER 10 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083030AA

5 |Solis-75,90 CRDI WITH 04030600006 |[PLAIN WASHER DIA 6.4 *DIA 18 *1.5 10
INHOUSE AC CABIN
MODELS

6 |Solis-75,90 CRDI WITH 10083027AC |SPEAKER COVER 2
INHOUSE AC CABIN
MODELS

7 |Solis-75,90 CRDI WITH 20003931AA |CROSS SLOTTED TRUSS HEAD 2
INHOUSE AC CABIN SCREW M6
MODELS

8 |Solis-75,90 CRDI WITH 10084594AA |SPEAKER COVER MTG BKT 2

INHOUSE AC CABIN
MODELS




32190A-1-1 REAR FLOOR Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

32190A-1-1 REAR FLOOR ASSY.

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH 10082255BB |OPERATING SECTOR COVER 1
INHOUSE AC CABIN
MODELS

2 | Solis-75,90 CRDI WITH 20004174AC |TRUSS HEAD MACHINE SCREW 4 INTERCHANGE
INHOUSE AC CABIN M4x16 ABLE WITH
MODELS 200000427A

(ROHS)

2 |Solis-75,90 CRDI WITH 200000427A |TRUSS HEAD MACHINE SCREW 4 (ROHS)
INHOUSE AC CABIN M4X20 INTERCHANGE
MODELS ABLE WITH

20004174AC

3 | Solis-75,90 CRDI WITH 10082238BA |FLOOR MAT REAR 1
INHOUSE AC CABIN
MODELS

4 | Solis-75,90 CRDI WITH 20003931AA |CROSS SLOTTED TRUSS HEAD 6
INHOUSE AC CABIN SCREW M6
MODELS




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083086AA

HANDLE FOR I.P.T.O

INTERCHANGE
ABLE WITH
10083086AB
(ROHS)

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083086AB

HANDLE FOR PARKING BRAKE

(ROHS)
INTERCHANGE
ABLE WITH
10083086AA

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083047AC

HANDLE FOR PARKING BRAKE

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

04040108035

HEX SCREW M8*1.25*35

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

04030600008

plain washer DIA 8.4 *DIA 17*1.6

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082345AF

IPTO CLUTCH WIRE

10

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082837AD

PARKING BRAKE CABLE

11

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083690AA

CIRCLIP

12

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083104AA

PIN FOR ACCELRATOR

INTERCHANGE
ABLE WITH
300028437A
(ROHS)

12

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

300028437A

PIN FOR BRAKE HANDLE

YES

(ROHS)
INTERCHANGE
ABLE WITH
10083104AA

13

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

04010102025

SPLIT PIN DIA 2*25

14

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10080052AA

SPACER FOR LEVERS

15

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082242BA

POSITION LEVER

16

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082243BA

DRAFT LEVER

17

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082222BA

DCV LEVER ASSY 1

18

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082244BA

DCV LEVER ASSY 2

19

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082849AB

WASHER LEVER MTG

20

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082448AC

POSITION & DRAFT LEVER MTG

21

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082849AB

WASHER LEVER MTG

22

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10084598AB

WASHER LEVER MTG

23

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

04040106030

HEX SCREW M6*30

INTERCHANGE
ABLE WITH
20005568AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)

23 |Solis-75,90 CRDI WITH 20005568AA |HEX SCREW M6X30 SA4GS 2 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

04040106030

24 |Solis-75,90 CRDI WITH 10083082AA |Flange Bearing 4WD Lever 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10083082AB

(ROHS)

24 |Solis-75,90 CRDI WITH 10083082AB |FLANGE BEARING 4WD LEVER 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083082AA

25 |Solis-75,90 CRDI WITH 04042905030 |SLOTTED CHEESE HD SCREW 2 INTERCHANGE
INHOUSE AC CABIN M5*30 ABLE WITH
MODELS 200000385A

(ROHS)

25 |Solis-75,90 CRDI WITH 200000385A |SLOTTED CHEASE HEAD SCREW 2 (ROHS)
INHOUSE AC CABIN M5*30 INTERCHANGE
MODELS ABLE WITH

04042905030

26 |Solis-75,90 CRDI WITH 10083085AB |4 WD ACTUATOR ROD 1
INHOUSE AC CABIN
MODELS

27 |Solis-75,90 CRDI WITH 10008590AA |SPECIAL BOLT (FOR PARKING 1
INHOUSE AC CABIN BRAKE)

MODELS

28 |Solis-75,90 CRDI WITH 10007237AA |SPRING (PARKING BRAKE) 1
INHOUSE AC CABIN
MODELS

29 |Solis-75,90 CRDI WITH 10006367AA |SPECIAL NUT(PARKING BRAKE) 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300037176A

(ROHS)

29 |Solis-75,90 CRDI WITH 300037176A |SPECIAL NUT (PARKING BRAKE) 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10006367AA

30 |Solis-75,90 CRDI WITH 10083111AA |4WD LEVER MTG BKT. 1
INHOUSE AC CABIN
MODELS

31 |Solis-75,90 CRDI WITH 10006018AB |HANDLE FOR PARKING BRAKE 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10006018AD

(ROHS)

31 |Solis-75,90 CRDI WITH 10006018AD |HANDLE FOR PUSH PULL ROD 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10006018AB

32 |Solis-75,90 CRDI WITH 04040106030 [HEX SCREW M6*30 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005568AA

(ROHS)

32 |Solis-75,90 CRDI WITH 20005568AA |HEX SCREW M6X30 SA4GS 2 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

04040106030

33 |Solis-75,90 CRDI WITH 04030400006 |SPRING WASHER B-6 2
INHOUSE AC CABIN
MODELS

34 |Solis-75,90 CRDI WITH 10084536AB |PARKING BRAKE STICKER 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10084536AC

(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

34 |Solis-75,90 CRDI WITH 10084536AC |STICKER FOR PARKING BRAKE 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10084536AB

35 |Solis-75,90 CRDI WITH 10080283AD |KNOB POSITION LEVER 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10080283AE

(ROHS)

35 |Solis-75,90 CRDI WITH 10080283AE |KNOB POSITION LEVER 1 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10080283AD

36 |Solis-75,90 CRDI WITH 10080284AD |KNOB DRAFT LEVER 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10080284AE

(ROHS)

36 |Solis-75,90 CRDI WITH 10080284AE |KNOB DRAFT LEVER 1 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10080284AD

37 |Solis-75,90 CRDI WITH 20003749AC |SLOTTED FLAT HD TAPPING 2
INHOUSE AC CABIN SCREW ST 6.3, L1
MODELS

38 |Solis-75,90 CRDI WITH 10083093AA |FORK PARKING BRAKE 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300031864A

(ROHS)

38 |Solis-75,90 CRDI WITH 300031864A |FORK FOR PARKING BRAKE 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083093AA

39 |Solis-75,90 CRDI WITH 10083095AA |ES BOLT (FOR10X20 FORK HEAD) 1

INHOUSE AC CABIN
MODELS




32200A-1-1

32200A-1-1

FRONT&REAR FLOOR ASSY.

FRONT & REAR FLOOR Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

10080009AA

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH 10083098CA |PTO SHIFTER LEVER ASSY FOR AC 1 INTERCHANGE
INHOUSE AC CABIN CABIN ABLE WITH
MODELS 10083098CB

(ROHS)

1 |Solis-75,90 CRDI WITH 10083098CB |PTO SHIFTER LEVER ASSY FOR AC 1 (ROHS)
INHOUSE AC CABIN CABIN INTERCHANGE
MODELS ABLE WITH

10083098CA

2 |Solis-75,90 CRDI WITH 10080009AA |PIN FOR PTO LEVER 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300032341A

(ROHS)

2 |Solis-75,90 CRDI WITH 300032341A |PIN FOR ACCELERATOR 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

3 | Solis-75,90 CRDI WITH 10080008AB |WASHER FOR PTO LEVER 2
INHOUSE AC CABIN
MODELS

4 | Solis-75,90 CRDI WITH 20004904AA |SOCKET HEAD SCREW 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005001AB

(ROHS)

4 |Solis-75,90 CRDI WITH 20005001AB |HEX SOCKET HEAD CAP SCREW 2 (ROHS)
INHOUSE AC CABIN M8*25 INTERCHANGE
MODELS ABLE WITH

20004904AA

5 |Solis-75,90 CRDI WITH 10083025AA |FRONT BOLT CAP PLATE 2
INHOUSE AC CABIN
MODELS

6 |Solis-75,90 CRDI WITH 04040106020 |[HEX SCREW M6*1*20 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005569AA

(ROHS)

6 |Solis-75,90 CRDI WITH 20005569AA [HEX SCREW M6X1X20 2 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

04040106020

7 |Solis-75,90 CRDI WITH 20004505AB |HEX BOLT M14*2*150 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300030550A

(ROHS)

7 |Solis-75,90 CRDI WITH 300030550A |HEX BOLT M14X2X150 SA4GS 2 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

20004505AB

8 |Solis-75,90 CRDI WITH 10067827AA |FLOOR FOAM MAT RH 1
INHOUSE AC CABIN
MODELS

9 |Solis-75,90 CRDI WITH 10067826AA |FLOOR FOAM MAT LH 1
INHOUSE AC CABIN
MODELS

10 [Solis-75,90 CRDI WITH 10082245Al FLOOR MAT FRONT 4CYL 1
INHOUSE AC CABIN
MODELS

11 | Solis-75,90 CRDI WITH 10082294AB |CAP FOR FLOOR MAT COVER 4
INHOUSE AC CABIN
MODELS

12 |[Solis-75,90 CRDI WITH 20003931AA |CROSS SLOTTED TRUSS HEAD 4
INHOUSE AC CABIN SCREW M6
MODELS

13 [Solis-75,90 CRDI WITH 10082259AB |GROMMET (FOR DIFF LOCK LEVER) 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082259AC

(ROHS)

13 |Solis-75,90 CRDI WITH 10082259AC |GROMMET (FOR DIFF LOCK LEVER) 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082259AB

14 |Solis-75,90 CRDI WITH 10082261AA |GROMMET FOR ACC. PEDAL 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082261AB

(ROHS)

14 |[Solis-75,90 CRDI WITH 10082261AB |GROMMET FOR ACC. PEDAL 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082261AA

15 |Solis-75,90 CRDI WITH 10082259AB |SHIFTER LEVER GROMMET 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082259AC

(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

15 [Solis-75,90 CRDI WITH 10082259AC |GROMMET (FOR DIFF LOCK LEVER) 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082259AB

16 [Solis-75,90 CRDI WITH 20004174AC |TRUSS HEAD MACHINE SCREW 10 INTERCHANGE
INHOUSE AC CABIN M4x16 ABLE WITH
MODELS 200000427A

(ROHS)

16 |Solis-75,90 CRDI WITH 200000427A |TRUSS HEAD MACHINE SCREW 10 (ROHS)
INHOUSE AC CABIN M4X20 INTERCHANGE
MODELS ABLE WITH

20004174AC

17 |Solis-75,90 CRDI WITH 10068778AA |GROMMET ASSY SHUTTLE LEVER 1
INHOUSE AC CABIN
MODELS

18 [Solis-75,90 CRDI WITH 04042904015 |SLOTTED CHEESE HD SCREW 1 INTERCHANGE
INHOUSE AC CABIN M4*15 ABLE WITH
MODELS 300028650A

(ROHS)

18 |Solis-75,90 CRDI WITH 300028650A |SLOTTED CHEESE HD SCREW 1 (ROHS)
INHOUSE AC CABIN M4*15 INTERCHANGE
MODELS ABLE WITH

04042904015

19 [Solis-75,90 CRDI WITH 10080010AA |SPACER 2
INHOUSE AC CABIN
MODELS

20 |Solis-75,90 CRDI WITH 10068177AA |FOOT PEDAL ASSY. 1
INHOUSE AC CABIN
MODELS

21 |Solis-75,90 CRDI WITH 10083143AB |SERVICE BRAKE CALBE 2
INHOUSE AC CABIN
MODELS

22 |Solis-75,90 CRDI WITH 10083690AA |CIRCLIP 4
INHOUSE AC CABIN
MODELS

23 |Solis-75,90 CRDI WITH 10004846AB |KNOB (ROD ASSY / HANDLER PTO) 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300007872A

(ROHS)

23 |Solis-75,90 CRDI WITH 300007872A |KNOB (ROD ASSY / HANDLER PTO) 1 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10004846AB

24 |Solis-75,90 CRDI WITH 10067785AA |NEUTRAL SAFETY SWITCH 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10055924AA

(ROHS)

24 |Solis-75,90 CRDI WITH 10055924AA |NEUTRAL SAFETY SWITCH 1 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10067785AA

25 |Solis-75,90 CRDI WITH 10010523AB |TENSION SPRING 2
INHOUSE AC CABIN
MODELS

26 |Solis-75,90 CRDI WITH 10017531BA |BRAKE PEDAL ASSY RIGHT 1
INHOUSE AC CABIN
MODELS

27 |Solis-75,90 CRDI WITH 10017530BA |BRAKE PEDAL ASSY LEFT 1
INHOUSE AC CABIN
MODELS

28 |Solis-75,90 CRDI WITH 10082177AC |BRAKE PEDAL MTG PIN 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082177AD

(ROHS)

28 |Solis-75,90 CRDI WITH 10082177AD |BRAKE & CLUTCH PEDAL MTG PIN 1 (ROHS)

INHOUSE AC CABIN

INTERCHANGE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
MODELS ABLE WITH

10082177AC

29 |Solis-75,90 CRDI WITH 10083094AA |FORK FOR SERVICE BRAKE 6 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300036223A

(ROHS)

29 |Solis-75,90 CRDI WITH 300036223A |FORK PARKING BRAKE 6 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083094AA

30 |Solis-75,90 CRDI WITH 10083112AA |ES BOLT (FOR10X40 FORK HEAD) 6 INTERCHANGE
INHOUSE AC CABIN WITH SECURI ABLE WITH
MODELS 300062998A

(ROHS)

30 |Solis-75,90 CRDI WITH 300062998A |ES BOLT 6 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083112AA

31 |Solis-75,90 CRDI WITH 10010523AB |TENSION SPRING 1
INHOUSE AC CABIN
MODELS

32 |Solis-75,90 CRDI WITH 10067785AA |NEUTRAL SAFETY SWITCH 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10055924AA

(ROHS)

32 |Solis-75,90 CRDI WITH 10055924AA |NEUTRAL SAFETY SWITCH 1 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10067785AA

33 |Solis-75,90 CRDI WITH 10082177AC |BRAKE PEDAL MTG PIN 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082177AD

(ROHS)

33 |Solis-75,90 CRDI WITH 10082177AD |BRAKE & CLUTCH PEDAL MTG PIN 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082177AC

34 |Solis-75,90 CRDI WITH 10017536AE |CLUTCH PEDAL ASSY 1
INHOUSE AC CABIN
MODELS

35 |Solis-75,90 CRDI WITH 10017920AB |HAND ACC ASSY 1
INHOUSE AC CABIN
MODELS

36 |Solis-75,90 CRDI WITH 20003235AB |Hex screw M10x20 8-8 SA3NS 4
INHOUSE AC CABIN
MODELS

37 |Solis-75,90 CRDI WITH 04030600010 [PLAIN WASHER DIA 10.5 *DIA 30 *2. 4
INHOUSE AC CABIN 5
MODELS

38 |Solis-75,90 CRDI WITH 10006738AB |WASHER (BRAKE PEDAL) 2
INHOUSE AC CABIN
MODELS

39 |Solis-75,90 CRDI WITH 20002549AA |CIRCLIP 2
INHOUSE AC CABIN
MODELS

40 |Solis-75,90 CRDI WITH 10083110AA |Grommet For Hand Acc. 1
INHOUSE AC CABIN
MODELS

41 |Solis-75,90 CRDI WITH 10082346AE |CLUTCH WIRE 1
INHOUSE AC CABIN
MODELS

42 |Solis-75,90 CRDI WITH 10082347AB |HAND THROTTLE WIRE 1
INHOUSE AC CABIN
MODELS

43 |Solis-75,90 CRDI WITH 10082257AC |FLOOR MAT COVER LH 1

INHOUSE AC CABIN




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
MODELS

44 |Solis-75,90 CRDI WITH 10082258AC |FLOOR MAT COVER RH 1
INHOUSE AC CABIN
MODELS

45 |Solis-75,90 CRDI WITH 10005250AC |CLAMP FOR FUEL CUT OFF WIRE 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10005250AE

(ROHS)

45 |Solis-75,90 CRDI WITH 10005250AE |CLAMP FOR FUEL CUT OFF WIRE 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10005250AC

46 |Solis-75,90 CRDI WITH 10080003AD |KNOB FOR PTO LEVER 1

INHOUSE AC CABIN
MODELS




32210A-1-1 DASHBOARD ASSY. Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
32210A-1-1 DASHBOARD ASSY.
13 o

sub part of
___— Stg. wheel

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082224AF

DASHBOARD ASSY

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20003517AA

HEX FLANGE SCREW M6*1*16-8.8
SA2JS

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082239AB

CLUSTER MTG STRIP

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10017334AB

INSTRUMENT CLUSTER AC CABIN

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20003207AA

HEX HEAD SCREW M5*16

INTERCHANGE
ABLE WITH
20005589AA
(ROHS)

Solis-75,90 CRDI WITH

20005589AA

HEX HEAD SCREW M5X16_8.8

(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
INHOUSE AC CABIN SA4GS INTERCHANGE
MODELS ABLE WITH

20003207AA

6 |Solis-75,90 CRDI WITH 10010867AC |DUMMY CAP SWITCH 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10010867AD

(ROHS)

6 |Solis-75,90 CRDI WITH 10010867AD |DUMMY CAP SWITCH 2 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10010867AC

7 |Solis-75,90 CRDI WITH 10083394AA |REVOLNING LIGHT SWITCH 1
INHOUSE AC CABIN
MODELS

8 |Solis-75,90 CRDI WITH 10027181AB |HAZARD WORNING SWITCH 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10027181AC

(ROHS)

8 |Solis-75,90 CRDI WITH 10027181AC |HAZARD WORNING SWITCH 1 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10027181AB

9 |Solis-75,90 CRDI WITH 10083395AA |WORK LIGHT SWITCH 2
INHOUSE AC CABIN
MODELS

10 [Solis-75,90 CRDI WITH 10026301BA |STARTING SWITCH 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10036896AA

(ROHS),
Applicable Key
is 300000624A
(TRACTOR
KEY SOLIS
TEXT)

10 [Solis-75,90 CRDI WITH 10036896AA |STARTER SWITCH 1 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10026301BA

11 | Solis-75,90 CRDI WITH 10081605AA |CROSS SLOTTED TRUSS HEAD 4 INTERCHANGE
INHOUSE AC CABIN SCREW M6X40 ABLE WITH
MODELS 10081605AB

(ROHS)

11 |[Solis-75,90 CRDI WITH 10081605AB |CROSS SLOTTED TRUSS HEAD 4 (ROHS)
INHOUSE AC CABIN SCREW M6X40 INTERCHANGE
MODELS ABLE WITH

10081605AA

12 [Solis-75,90 CRDI WITH 10082234AD |DASHBOARD LOWER COVER LH 1
INHOUSE AC CABIN
MODELS

13 |Solis-75,90 CRDI WITH 10082235AD |DASHBOARD LOWER COVER RH 1
INHOUSE AC CABIN
MODELS

14 |Solis-75,90 CRDI WITH 20003931AA |CROSS SLOTTED TRUSS HEAD 4
INHOUSE AC CABIN SCREW M6
MODELS

15 [Solis-75,90 CRDI WITH 20004174AC |TRUSS HEAD MACHINE SCREW 2 INTERCHANGE
INHOUSE AC CABIN M4x16 ABLE WITH
MODELS 200000427A

(ROHS)

15 |Solis-75,90 CRDI WITH 200000427A |TRUSS HEAD MACHINE SCREW 2 (ROHS)
INHOUSE AC CABIN M4X20 INTERCHANGE
MODELS ABLE WITH

20004174AC

16 [Solis-75,90 CRDI WITH 10017798AH |STEERING MOUNTING COVER 1

INHOUSE AC CABIN
MODELS

UPPER




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
16A [Solis-75,90 CRDI WITH 10017799AG |STEERING MOUNTING COVER 1

INHOUSE AC CABIN LOWER

MODELS

17 |Solis-75,90 CRDI WITH 04042905015 |SLOTTED CHEESE HD SCREW 2 INTERCHANGE
INHOUSE AC CABIN M5*15 ABLE WITH
MODELS 20005534AA

(ROHS)

17 |Solis-75,90 CRDI WITH 20005534AA |SLOTTED CHEASE HEAD SCREW 2 (ROHS)
INHOUSE AC CABIN M5*15 INTERCHANGE
MODELS ABLE WITH

04042905015

18 |Solis-75,90 CRDI WITH 10083702AA [Slotted pad head tapping screw M3. 4
INHOUSE AC CABIN 9X15
MODELS

19 [Solis-75,90 CRDI WITH 10067989AA |STEERING WHEEL ASSY. 1
INHOUSE AC CABIN
MODELS

20 |Solis-75,90 CRDI WITH 04030400018 [SPRING WASHER B-18 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005522AA

(ROHS)

20 |Solis-75,90 CRDI WITH 20005522AA |SPRING WASHER B-18 TYPE A IS: 1 (ROHS)
INHOUSE AC CABIN 3067-1972 INTERCHANGE
MODELS ABLE WITH

04030400018

21 |Solis-75,90 CRDI WITH 10082799AA |HEX NUT M18X1.5-8.8 SA2JS 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082799AC

(ROHS)

21 |Solis-75,90 CRDI WITH 10082799AC |HEX NUT M18X1.5-8.8 SA4GS 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082799AA

22 |Solis-75,90 CRDI WITH 04030400008 |SPRING WASHER B-8 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005517AA

(ROHS)

22 |Solis-75,90 CRDI WITH 20005517AA |SPRING WASHER B-8 TYPE A IS: 1 YES |[(ROHS)
INHOUSE AC CABIN 3067-1972 INTERCHANGE
MODELS ABLE WITH

04030400008

23 |Solis-75,90 CRDI WITH 20003355AB [HEX NUT M8X1.25 -8 SA2JS 1
INHOUSE AC CABIN
MODELS

24 |Solis-75,90 CRDI WITH 10082350AB |LOGO FOR STEERING WHEEL 1
INHOUSE AC CABIN
MODELS

25 |Solis-75,90 CRDI WITH 04042904015 |SLOTTED CHEESE HD SCREW 3 INTERCHANGE
INHOUSE AC CABIN M4*15 ABLE WITH
MODELS 300028650A

(ROHS)

25 |Solis-75,90 CRDI WITH 300028650A |SLOTTED CHEESE HD SCREW 3 (ROHS)
INHOUSE AC CABIN M4*15 INTERCHANGE
MODELS ABLE WITH

04042904015

26 |Solis-75,90 CRDI WITH 10082247AB |BONNET BEEDING 1
INHOUSE AC CABIN
MODELS

27 |Solis-75,90 CRDI WITH 04030400010 |SPRING WASHER B-10 6
INHOUSE AC CABIN
MODELS

28 |Solis-75,90 CRDI WITH 20003357AB |HEX NUT M10 -8 SA2JS 6
INHOUSE AC CABIN
MODELS

28 |Solis-75,90 CRDI WITH 20003357AF |HEX NUT M10 -8 SA4GS 6 YES [interchange with|FOR NON EU

INHOUSE AC CABIN

20003357AB

MODELS-




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
MODELS JZNSS869101S
M
FOR EU
MODELS-
MEMRZGTNEJK
H07194
29 |Solis-75,90 CRDI WITH 10082775AD |Knob for tilting lever 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082775AE
(ROHS)
29 [Solis-75,90 CRDI WITH 10082775AE |Knob for tilting lever 1
INHOUSE AC CABIN
MODELS
29 |Solis-75,90 CRDI WITH 10082775AE |KNOB FOR TILTING LEVER 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082775AD




32220A-1-1

32220A-1-1

DRIVER SEAT ASSY.

Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

DRIVER SEAT

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH 10082228AA |SEAT BASE PLATE 1
INHOUSE AC CABIN
MODELS

2 | Solis-75,90 CRDI WITH 20001096AA |Hex. head screw M8 x 1.25 x 20 8-8 4 INTERCHANGE
INHOUSE AC CABIN SA2JS ABLE WITH
MODELS 20005565AA

(ROHS)

2 |Solis-75,90 CRDI WITH 20005565AA |HEX HEAD SCREW M8X1.25X20 -8.8 4 YES [(ROHS)
INHOUSE AC CABIN SA4GS INTERCHANGE
MODELS ABLE WITH

20001096AA

3 | Solis-75,90 CRDI WITH 04030400008 |SPRING WASHER B-8 4 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005517AA

(ROHS)

3 | Solis-75,90 CRDI WITH 20005517AA |SPRING WASHER B-8 TYPE A IS: 4 YES |(ROHS)

INHOUSE AC CABIN 3067-1972 INTERCHANGE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
MODELS ABLE WITH
04030400008

4 | Solis-75,90 CRDI WITH 10082199AB |DRIVER SEAT 1
INHOUSE AC CABIN
MODELS

4 |Solis-75,90 CRDI WITH 300021763A |DRIVER SEAT 1
INHOUSE AC CABIN
MODELS

5 |Solis-75,90 CRDI WITH 20003243AB |HEX SCREW M12*1.75*30 4 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 200000502A

(ROHS)

5 |Solis-75,90 CRDI WITH 200000502A |HEX SCREW M12X1.75X30 8.8 4 YES |(ROHS)
INHOUSE AC CABIN SA4GS INTERCHANGE
MODELS ABLE WITH

20003243AB

6 |Solis-75,90 CRDI WITH 04030400012 [SPRING WASHER B-12 4

INHOUSE AC CABIN
MODELS




32230A-1-1 REAR GLASS ASSY. Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
32230A-1-1 REAR GLASS ASSY.
14
T
B
' 10
\
21
18 25
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH 10084976AA |REAR GLASS BEADING 1
INHOUSE AC CABIN
MODELS
2 |Solis-75,90 CRDI WITH 10010883AA [OUTER RUBBER PAD FOR GAS 2
INHOUSE AC CABIN SPRING
MODELS
3 | Solis-75,90 CRDI WITH 10010882AA |INNER RUBBER PAD FOR GAS 2
INHOUSE AC CABIN SPRING
MODELS
4 |Solis-75,90 CRDI WITH 10082175AD |REAR HING ASSY 2
INHOUSE AC CABIN
MODELS
5 |Solis-75,90 CRDI WITH 10083037AA [CROSS SLOTTED TRUSS HEAD 2 INTERCHANGE
INHOUSE AC CABIN SCREW M8x45 ABLE WITH
MODELS 10083037AB
(ROHS)
5 |Solis-75,90 CRDI WITH 10083037AB |CROSS SLOTTED TRUSS HEAD 2 (ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
INHOUSE AC CABIN SCREW M8X45 INTERCHANGE
MODELS ABLE WITH

10083037AA

6 |Solis-75,90 CRDI WITH 10082275AA |CAP FOR REAR HING 2
INHOUSE AC CABIN
MODELS

7 |Solis-75,90 CRDI WITH 20003355AB [HEX NUT M8X1.25 -8 SA2JS 2
INHOUSE AC CABIN
MODELS

8 |Solis-75,90 CRDI WITH 10082273AA |REAR HING RUBBER PAD INNER 2
INHOUSE AC CABIN
MODELS

9 |Solis-75,90 CRDI WITH 10010826AA |GAS SPRING GLASS MTG 2
INHOUSE AC CABIN
MODELS

10 |Solis-75,90 CRDI WITH 20003354AB [HEX NUT M6 -8 SA2JS 2
INHOUSE AC CABIN
MODELS

11 |[Solis-75,90 CRDI WITH 10010884AD |GAS SPRING BACK MTG 2
INHOUSE AC CABIN
MODELS

12 [Solis-75,90 CRDI WITH 10082087BA |REAR WINDOW GLASS 1
INHOUSE AC CABIN
MODELS

13 |Solis-75,90 CRDI WITH 10081605AA |CROSS SLOTTED TRUSS HEAD 2 INTERCHANGE
INHOUSE AC CABIN SCREW M6X40 ABLE WITH
MODELS 10081605AB

(ROHS)

13 [Solis-75,90 CRDI WITH 10081605AB |CROSS SLOTTED TRUSS HEAD 2 (ROHS)
INHOUSE AC CABIN SCREW M6X40 INTERCHANGE
MODELS ABLE WITH

10081605AA

14 |[Solis-75,90 CRDI WITH 10082196AB |GAS SPRING FOR REAR DOOR 2
INHOUSE AC CABIN
MODELS

15 |Solis-75,90 CRDI WITH 10082274AB |REAR HING RUBBER PAD OUTER 1
INHOUSE AC CABIN (RH)

MODELS

16 [Solis-75,90 CRDI WITH 10083381AA |REAR HING RUBBER PAD OUTER 1
INHOUSE AC CABIN (LH)
MODELS

17 |[Solis-75,90 CRDI WITH 10082223AD |REAR SUPPORT TRIM 1
INHOUSE AC CABIN
MODELS

18 |Solis-75,90 CRDI WITH 10082094AE |SERVICE GLASS 1
INHOUSE AC CABIN
MODELS

19 [Solis-75,90 CRDI WITH 10082105AE |SERVICE GLASS BEADING 1
INHOUSE AC CABIN
MODELS

20 |Solis-75,90 CRDI WITH 10010845AE |REAR GLASS LOCK 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10010845AF

(ROHS)

20 |Solis-75,90 CRDI WITH 10010845AF |REAR GLASS LOCK 1 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10010845AE

21 |Solis-75,90 CRDI WITH 10010849AC |REAR LOCK ASSY 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10010849AF

(ROHS)

21 |Solis-75,90 CRDI WITH 10010849AF |REAR LOCK ASSY 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10010849AC




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
22 |Solis-75,90 CRDI WITH 20003932AA |CROSS SLOTTED TRUSS HEAD 2
INHOUSE AC CABIN SCREW M8
MODELS
23 |Solis-75,90 CRDI WITH 10019095AA |LOCTITE 243 5.5 IN ML
INHOUSE AC CABIN
MODELS
24 |Solis-75,90 CRDI WITH 10084551AA |LOCTITE 454 30 IN ML
INHOUSE AC CABIN
MODELS
25 |Solis-75,90 CRDI WITH 10085367AA |REAR HANDLE OUTER LOCK CAP 4

INHOUSE AC CABIN
MODELS




32240A-1-1 DOOR GLASS ASSY. Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS
32240A-1-1 DOOR GLASS ASSY.
32
6 34 36
7,8 :
9
3 13,14
D
10 ’
28,29 27
! \ . _
. 26 P o«
33 % \ A
: 9 AVRRR NS o
W) e i

10 27 { \

2 k 17 18,19
38 = 5‘} i j-\;

r : a b |
39 -
/ 26
24,25 15,16
35
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH 10082057AA [HINGE BASE DOOR TOP 2
INHOUSE AC CABIN
MODELS

2 |Solis-75,90 CRDI WITH 10082056AD [HINGE BASE DOOR BOTTOM 2
INHOUSE AC CABIN
MODELS

3 |Solis-75,90 CRDI WITH 20003519AA |HEX FLANGE SCREW M8*1.25*20-8.8 8 INTERCHANGE
INHOUSE AC CABIN SA2JS ABLE WITH
MODELS 20005539AA

(ROHS)

3 |Solis-75,90 CRDI WITH 20005539AA |HEX FLANGE SCREW M8*1.25*20 8 YES |(ROHS)
INHOUSE AC CABIN -8.8 SA4GS INTERCHANGE
MODELS ABLE WITH

20003519AA

4 |Solis-75,90 CRDI WITH 10082062AA [HINGE FOR DOOR BOTTOM LH 1
INHOUSE AC CABIN
MODELS




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082061AA

HINGE FOR DOOR BOTTOM RH

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10010684AA

HINGE CIRCLIP

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082059AA

HINGE DOOR TOP LH

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082058AA

HINGE DOOR TOP RH

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082147AA

HINGE PIN

10

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10010685AA

NYLON WASHER

11

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082169AE

ROUND HEAD SQUARE NECK BOLT
M8x35

12

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082170AD

ROUND HEAD SQUARE NECK BOLT
M8X45

13

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082126AD

PIPE ASSY FOR DOOR LOCK LEFT

14

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082127AD

PIPE ASSY FOR DOOR LOCK RIGHT

15

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10010855AB

Door Lock LH

16

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10010856AB

Door Lock RH

17

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10081605AA

CROSS SLOTTED TRUSS HEAD
SCREW M6X40

INTERCHANGE
ABLE WITH
10081605AB
(ROHS)

17

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10081605AB

CROSS SLOTTED TRUSS HEAD
SCREW M6X40

(ROHS)
INTERCHANGE
ABLE WITH
10081605AA

18

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082280AC

RUBBER PAD FOR DOOR LOCK RH

19

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082279AC

RUBBER PAD FOR DOOR LOCK LH

20

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

04040106030

HEX SCREW M6*30

INTERCHANGE
ABLE WITH
20005568AA
(ROHS)

20

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

20005568AA

HEX SCREW M6X30 SA4GS

(ROHS)
INTERCHANGE
ABLE WITH
04040106030

21

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082103AE

DOOR GLASS BEADING

24

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082267AD

COVER FOR DOOR LOCK LEFT

25

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082268AD

COVER FOR DOOR LOCK RIGHT




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

26 |Solis-75,90 CRDI WITH 20003354AB |HEX NUT M6 -8 SA2JS 4
INHOUSE AC CABIN
MODELS

27 |Solis-75,90 CRDI WITH 20003931AA |CROSS SLOTTED TRUSS HEAD 10
INHOUSE AC CABIN SCREW M6
MODELS

28 |Solis-75,90 CRDI WITH 10082236AD |COVER FOR GAS SPRING DOOR LH 1
INHOUSE AC CABIN
MODELS

29 |Solis-75,90 CRDI WITH 10082237AD |COVER FOR GAS SPRING DOOR RH 1
INHOUSE AC CABIN
MODELS

30 |Solis-75,90 CRDI WITH 10082139AC |LEFT RUBBER PAD FOR HINGE 1
INHOUSE AC CABIN LOWER
MODELS

31 |Solis-75,90 CRDI WITH 10082140AC |RIGHT RUBBER PAD FOR HINGE 1
INHOUSE AC CABIN LOWER
MODELS

32 |Solis-75,90 CRDI WITH 10082142AB |RUBBER PAD FOR DOOR HINGE 2
INHOUSE AC CABIN UPPER
MODELS

33 |Solis-75,90 CRDI WITH 10010857AB |Door Handle 2
INHOUSE AC CABIN
MODELS

34 |Solis-75,90 CRDI WITH 10082146AC |HEX DOME CAP 2
INHOUSE AC CABIN
MODELS

35 |Solis-75,90 CRDI WITH 10083058AB |RUBBER PAD FOR DOOR LOCK 2
INHOUSE AC CABIN PIPE
MODELS

36 |Solis-75,90 CRDI WITH 10083084AA |RUBBER PAD 2
INHOUSE AC CABIN
MODELS

37 |Solis-75,90 CRDI WITH 10082144AB [INNER RUBBER PAD FOR LOWER 2
INHOUSE AC CABIN HINGE
MODELS

38 |Solis-75,90 CRDI WITH 10082197AE |GAS SPRING FOR FRONT DOOR 2
INHOUSE AC CABIN
MODELS

39 |Solis-75,90 CRDI WITH 10085367AA |REAR HANDLE OUTER LOCK CAP 2

INHOUSE AC CABIN
MODELS




32270A-1-1 LINKAGES-1 Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

32270A-1-1 LINKAGES-1

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH 10082230AA |POSITION LEVER TIE ROD 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082230AB

(ROHS)

1 |Solis-75,90 CRDI WITH 10082230AB |POSITION LEVER TIE ROD 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082230AA

2 |Solis-75,90 CRDI WITH 10082231AA |DRAFT LEVER TIE ROD 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10082231AB

(ROHS)

2 |Solis-75,90 CRDI WITH 10082231AB |DRAFT LEVER TIE ROD 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082231AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
3 | Solis-75,90 CRDI WITH 10080304AB |PIN 4 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10080304AD

(ROHS)

3 | Solis-75,90 CRDI WITH 10080304AD |PIN 4 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10080304AB

4 |Solis-75,90 CRDI WITH 04030600006 |[PLAIN WASHER DIA 6.4 *DIA 18 *1.5 4
INHOUSE AC CABIN
MODELS

5 |Solis-75,90 CRDI WITH 20003790AA |EXTERNAL CIPCLIP TYPE -E DIA6 X 4
INHOUSE AC CABIN 0.7 IS
MODELS

6 |Solis-75,90 CRDI WITH 10082854BA |ADJUSTABLE BRAKE TIE ROD 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300074152A

(ROHS)

6 |Solis-75,90 CRDI WITH 300074152A |ADJUSTABLE BRAKE TIE ROD 2 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10082854BA

7 |Solis-75,90 CRDI WITH 10005187AA |LINK PIN 4 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10087974AA

(ROHS)

7 |Solis-75,90 CRDI WITH 10087974AA |LINK ASSY 4 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10005187AA

8 |Solis-75,90 CRDI WITH 10083094AA |FORK FOR SERVICE BRAKE 4 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300036223A

(ROHS)

8 |Solis-75,90 CRDI WITH 300036223A |FORK PARKING BRAKE 4 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083094AA

9 |Solis-75,90 CRDI WITH 04010102025 |SPLIT PIN DIA 2*25 4
INHOUSE AC CABIN
MODELS

10 |Solis-75,90 CRDI WITH 10080295AC |ACTUATOR FORK 4 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300030092A

(ROHS)

10 [Solis-75,90 CRDI WITH 300030092A |ACTUATOR FORK 4 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10080295AC

11 |[Solis-75,90 CRDI WITH 20003355AB |HEX NUT M8X1.25 -8 SA2JS 4
INHOUSE AC CABIN
MODELS

12 |Solis-75,90 CRDI WITH 10082232BA |TIE ROD DCV LEVER OUTER 1
INHOUSE AC CABIN
MODELS

13 [Solis-75,90 CRDI WITH 10082233BA |TIE ROD DCV LEVER INNER 1
INHOUSE AC CABIN
MODELS

14 |[Solis-75,90 CRDI WITH 10084488AA |TIE ROD ASSY FOR DCV LEVER 2
INHOUSE AC CABIN ASSY
MODELS

14A | Solis-75,90 CRDI WITH 10084476AA |FORK 2 CHILD PART
INHOUSE AC CABIN OF S.NO.14

MODELS

FOR QTY.1,Part

Not Serviceable




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
14B [Solis-75,90 CRDI WITH 10084489AA |TIE ROD FOR DCV ASSY 1 CHILD PART
INHOUSE AC CABIN OF S.NO.14
MODELS FOR QTY.1,Part
Not Serviceable
14C | Solis-75,90 CRDI WITH 10084480AA |ES BOLT 2 CHILD PART
INHOUSE AC CABIN OF S.NO.14

MODELS

FOR QTY.1,Part
Not Serviceable




32280A-1-1 LINKAGES-2 Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

32280A-1-1 LINKAGES-2

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH 10083088AE |BRAKE WIRE MOUNTING BRACKET 1
INHOUSE AC CABIN
MODELS

2 | Solis-75,90 CRDI WITH 04010116020 |SPLIT PIN DIA 1.6*20 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005527AA

(ROHS)

2 |Solis-75,90 CRDI WITH 20005527AA |SPLIT PIN DIA 1.6*20 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

04010116020

3 | Solis-75,90 CRDI WITH 04030600006 |PLAIN WASHER DIA 6.4 *DIA 18 *1.5 1
INHOUSE AC CABIN
MODELS

4 | Solis-75,90 CRDI WITH 10004177AB |PIN FOR ACCELRATOR 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10039604AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)

4 | Solis-75,90 CRDI WITH 10039604AA |PIN FOR ACCELERATOR 1 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10004177AB

5 |Solis-75,90 CRDI WITH 10083094AA |FORK FOR SERVICE BRAKE 4 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300036223A

(ROHS)

5 |Solis-75,90 CRDI WITH 300036223A |FORK PARKING BRAKE 4 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083094AA

6 |Solis-75,90 CRDI WITH 10083112AA |ES BOLT (FOR10X40 FORK HEAD) 4 INTERCHANGE
INHOUSE AC CABIN WITH SECURI ABLE WITH
MODELS 300062998A

(ROHS)

6 |Solis-75,90 CRDI WITH 300062998A |ES BOLT 4 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083112AA

7 |Solis-75,90 CRDI WITH 10083143AB |SERVICE BRAKE CALBE 2
INHOUSE AC CABIN
MODELS

8 |Solis-75,90 CRDI WITH 10082345AF |IPTO CLUTCH WIRE 1
INHOUSE AC CABIN
MODELS

9 |Solis-75,90 CRDI WITH 10082116AD |CA SHAFT ASSY PTO 1
INHOUSE AC CABIN
MODELS

10 [Solis-75,90 CRDI WITH 10082095AE |CA SHAFT ASSY TRANSMISSION 1
INHOUSE AC CABIN
MODELS

11 [Solis-75,90 CRDI WITH 10083112AA |ES BOLT (FOR 10X40 FORK HEAD) 1 INTERCHANGE
INHOUSE AC CABIN WITH SECURI ABLE WITH
MODELS 300062998A

(ROHS)

11 | Solis-75,90 CRDI WITH 300062998A |ES BOLT 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083112AA

12 [Solis-75,90 CRDI WITH 10082346AE |CLUTCH WIRE 1

INHOUSE AC CABIN
MODELS




32290A-1-1

32290A-1-1

LINKAGES-3

Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

LINKAGES-3

whalll N
i ‘ 4
s
[

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH 10080016AC |TIE ROD ASSY. FOR DIFF. LOCK 1
INHOUSE AC CABIN
MODELS

1A |Solis-75,90 CRDI WITH 10080658AA |TIE ROD 1 CHILD PART
INHOUSE AC CABIN OF S.NO.1
MODELS

1B |Solis-75,90 CRDI WITH 10081719AA |YOKE SUB ASSY 1 CHILD PART
INHOUSE AC CABIN OF S.NO.1
MODELS

2 | Solis-75,90 CRDI WITH 10080067AB |SPACER FOR DIFF. LOCK 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300032575A

(ROHS)

2 | Solis-75,90 CRDI WITH 300032575A |SPACER FOR DIFF LOCK 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10080067AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

3 | Solis-75,90 CRDI WITH 20003806AA |EXTERNAL CIRCLIP A-15 1
INHOUSE AC CABIN
MODELS

4 | Solis-75,90 CRDI WITH 10068175AA |PEDAL ASSY. FOR DIFF. LOCK 1
INHOUSE AC CABIN
MODELS

5 |Solis-75,90 CRDI WITH 10082184AC |SHUTTLE LEVER ASSY 1
INHOUSE AC CABIN
MODELS

6 |Solis-75,90 CRDI WITH 10080057AB |WASHER FOR SHUTTLE LEVER 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10080057AD

(ROHS)

6 |Solis-75,90 CRDI WITH 10080057AD |WASHER FOR SHUTTLE LEVER 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10080057AB

7 |Solis-75,90 CRDI WITH 04020200020 [EXTERNAL CIRCLIP A-20 1
INHOUSE AC CABIN
MODELS

8 |Solis-75,90 CRDI WITH 10080002BC |MOUNTING BRACKET FOR 1 INTERCHANGE
INHOUSE AC CABIN SHUTTLE ABLE WITH
MODELS 10080002BD

(ROHS)

8 |Solis-75,90 CRDI WITH 10080002BD |MOUNTING BRACKET FOR 1 (ROHS)
INHOUSE AC CABIN SHUTTLE INTERCHANGE
MODELS ABLE WITH

10080002BC

9 |Solis-75,90 CRDI WITH 10083462AB |TIE ROD ASSY FOR SHUTTLE 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10083462AE

(ROHS)

9 |Solis-75,90 CRDI WITH 10083462AE |TIE ROD ASSY FOR SHUTTLE 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083462AB

10 [Solis-75,90 CRDI WITH 10080022AB |PIN FOR SHUTTLE LEVER 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10080022AD

(ROHS)

10 |Solis-75,90 CRDI WITH 10080022AD |PIN FOR SHUTTLE LEVER 2 YES [(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10080022AB

11 |[Solis-75,90 CRDI WITH 04010103025 |SPLIT PIN DIA 3*25 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20005528AA

(ROHS)

11 |[Solis-75,90 CRDI WITH 20005528AA |SPLIT PIN DIA 3.2*25 2 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

04010103025

12 |Solis-75,90 CRDI WITH 10005187AA |PIN 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10087974AA

(ROHS)

12 |[Solis-75,90 CRDI WITH 10087974AA |LINK ASSY 1 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10005187AA

13 [Solis-75,90 CRDI WITH 04010102025 |SPLIT PIN DIA 2*25 1

INHOUSE AC CABIN
MODELS




32291A-1-1

32291A-1-1

LINKAGES-4

Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

LINKAGES-4

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH 10083091AB |HUB PARKING BRAKE 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 300074223A

(ROHS)

1 |Solis-75,90 CRDI WITH 300074223A |PARKING BRAKE HUB ASSY 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10083091AB

2 |Solis-75,90 CRDI WITH 10081339AA |ELASTIC RING D.8 2
INHOUSE AC CABIN
MODELS

3 | Solis-75,90 CRDI WITH 10081340AA |BRAKE ROD 2
INHOUSE AC CABIN
MODELS

4 | Solis-75,90 CRDI WITH 10081341AA |BRAKE ROD PIN D. 10X28 2
INHOUSE AC CABIN
MODELS




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10081343AA

BRAKE ROD PIN D.12,5X31

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10011537AA

HANDBRAKE BRACKET

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10081345AA

ELASTIC RING D.9

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10081346AA

HANDBRAKE LEVER RH

10

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10081150AA

PIN 10X45

11

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10082837AD

PARKING BRAKE CABLE

12

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083095AA

ES BOLT (FOR10X20 FORK HEAD)

13

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

10083093AA

FORK PARKING BRAKE

INTERCHANGE
ABLE WITH
300031864A
(ROHS)

13

Solis-75,90 CRDI WITH
INHOUSE AC CABIN
MODELS

300031864A

FORK FOR PARKING BRAKE

(ROHS)
INTERCHANGE
ABLE WITH
10083093AA




32300A-1-1

32300A-1-1

COMPRESSOR MTG

COMPRESSOR MTG. ASSY.

Solis-75,90 CRDI WITH INHOUSE AC CABIN MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH 10082204AC |COMPRESSOR ASSY. 1
INHOUSE AC CABIN
MODELS

2 | Solis-75,90 CRDI WITH 20003231AB |HEX BOLT M10*100 8-8 SA3NS 2
INHOUSE AC CABIN
MODELS

3 | Solis-75,90 CRDI WITH 10084578AC |INTERMEDIATE PULLEY 1
INHOUSE AC CABIN
MODELS

4 | Solis-75,90 CRDI WITH 10084579AA |PIN FOR PULLEY 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10084579AB

(ROHS)

4 | Solis-75,90 CRDI WITH 10084579AB |PIN FOR PULLEY 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

10084579AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 |Solis-75,90 CRDI WITH 10084596BA |COMPRESSOR MTG BKT. 1
INHOUSE AC CABIN
MODELS
6 |Solis-75,90 CRDI WITH 10084573AD [BRACKET IDLER PULLEY 1
INHOUSE AC CABIN
MODELS
7 |Solis-75,90 CRDIWITH  [20003223AB |HEX BOLT M10*1.5*90 3
INHOUSE AC CABIN
MODELS
8 |Solis-75,90 CRDIWITH 04030400010 |SPRING WASHER B-10 3
INHOUSE AC CABIN
MODELS
9 |Solis-75,90 CRDI WITH 04030600010 |PLAIN WASHER DIA 10.5 *DIA 30 *2. 2
INHOUSE AC CABIN 5
MODELS
10 |Solis-75,90 CRDIWITH  [20003357AB |HEX NUT M10 -8 SA2JS 2
INHOUSE AC CABIN
MODELS
10 |Solis-75,90 CRDIWITH  [20003357AF |HEX NUT M10 -8 SA4GS 2 YES [interchange with|FOR NON EU
INHOUSE AC CABIN 20003357AB  |MODELS-
MODELS JZNSS869101S
M
FOR EU
MODELS-
MEMRZGTNEJK
H07194
11 |Solis-75,90 CRDI WITH 10084574AB |COMPRESSOR BELT ADJUSTING 1 INTERCHANGE
INHOUSE AC CABIN SCREW ABLE WITH
MODELS 10084574AC
(ROHS)
11 | Solis-75,90 CRDI WITH 10084574AC [COMPRESSOR BELT ADJUSTING 1 YES |(ROHS)
INHOUSE AC CABIN PIN INTERCHANGE
MODELS ABLE WITH
10084574AB
12 |Solis-75,90 CRDI WITH 10084576AB |BUSH FOR PULLEY 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10084576AC
(ROHS)
12 |Solis-75,90 CRDI WITH 10084576AC |BUSH FOR PULLEY 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH
10084576AB
13 |Solis-75,90 CRDI WITH 10084577AA |CAP FOR PULLEY 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10084577AB
(ROHS)
13 |Solis-75,90 CRDI WITH 10084577AB |CAP FOR PULLEY 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH
10084577AA
14 |Solis-75,90 CRDI WITH 10084581AA |COMPRESSOR V BELT Ax39 1
INHOUSE AC CABIN COGGED
MODELS
15 |Solis-75,90 CRDI WITH 10084580AA [FIP MTG BKT 1 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 10084580AB
(ROHS)
15 |Solis-75,90 CRDI WITH 10084580AB |FIP MTG BKT 1 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH
10084580AA
16 |Solis-75,90 CRDIWITH  |04040106016 |HEX SCREW M6*16 2
INHOUSE AC CABIN
MODELS
17 |Solis-75,90 CRDI WITH 10067072AA |FIP COVER 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
INHOUSE AC CABIN
MODELS
17 |Solis-75,90 CRDI WITH 10067072AD |FIP COVER 1 YES FOR NON EU
INHOUSE AC CABIN MODELS-
MODELS BZKDS806511M
S, FOR EU
MODELS-
MMEMRYKDHR
BKH03724
18 [Solis-75,90 CRDI WITH 10081605AA |CROSS SLOTTED TRUSS HEAD 2 INTERCHANGE
INHOUSE AC CABIN SCREW M6X40 ABLE WITH
MODELS 10081605AB
(ROHS)
18 |[Solis-75,90 CRDI WITH 10081605AB [CROSS SLOTTED TRUSS HEAD 2 (ROHS)
INHOUSE AC CABIN SCREW M6X40 INTERCHANGE
MODELS ABLE WITH
10081605AA
19 |[Solis-75,90 CRDI WITH 20004485AA |HEX FLANGE SCREW M10X1.5X45 2 INTERCHANGE
INHOUSE AC CABIN 8.8 SA2JS ABLE WITH
MODELS 20004485AB
(ROHS)
19 [Solis-75,90 CRDI WITH 20004485AB |HEX FLANGE SCREW 2 (ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH
20004485AA
20 |Solis-75,90 CRDI WITH 04030800010 |M/CD WASHER DIA 10.5 *DIA 21*2 2
INHOUSE AC CABIN
MODELS
21 |Solis-75,90 CRDI WITH 04041000006 |HEX NYLOC NUT M6 2 INTERCHANGE
INHOUSE AC CABIN ABLE WITH
MODELS 20004915AB
(ROHS)
21 |Solis-75,90 CRDI WITH 20004915AB |HEX NYLOC NUT M6 8 2 YES |(ROHS)
INHOUSE AC CABIN INTERCHANGE
MODELS ABLE WITH

04041000006




32310A-1-1

32310A-1/1

DIFFERENTIAL LOCK

DIFFERENTIAL LOCK PEDAL LEVER ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

':h‘)"

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083602AA

DIFFERENTIAL LOCK LOWER LEVER
ASSY

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084264AA

BUSH (PFM 151824-32)




32320A-1-1

RPDM LEVER ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

32320A-11 RPM LEVER ASSY.(540X1000)
[
& |
@ L |
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- |10083682AA |540x1000 RPM LEVER ASSY 1 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
10083682AB
(ROHS)

1 |Solis-75,90 CRDI WITH H- |10083682AB |540x1000 RPM LEVER ASSY 1 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10083682AA

2 |Solis-75,90 CRDI WITH H- [10083683AA |FLANGE ASSY FOR 540x1000 1 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
10083683AB
(ROHS)

2 | Solis-75,90 CRDI WITH H- |10083683AB [FLANGE ASSY FOR 540x1000 1 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10083683AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
3 | Solis-75,90 CRDI WITH H- |10083684AC [540x100 PTO LEVER ASSY 1
TYPE AC CABIN MODELS
4 | Solis-75,90 CRDI WITH H- |10084262AA [BUSH FOR 540x1000 1
TYPE AC CABIN MODELS
5 |Solis-75,90 CRDI WITH H- |10084523AA

TYPE AC CABIN MODELS

Spring Cotter Sleeve(Dia 6X30) DIN-

148




32330A-1-1 BRAKE SYSTEM MTG.  Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
32330A-1/1 BRAKE SYSTEM MTG. LEVER
_E'
Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10083616AB |BRAKE PEDAL LOWER LEVER ASSY 1
TYPE AC CABIN MODELS 2
2 | Solis-75,90 CRDI WITH H- |10084265AA BUSH(PSM 3034-40) 1

TYPE AC CABIN MODELS




32340A-1-1

32340A-1/1

PTO LEVER MTG.BKT

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

PTO LEVER MTG. BKT ASSY

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10083618AB |PTO LOWER LEVER ASSY 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10083618AC
(ROHS)
1 |Solis-75,90 CRDI WITH H- [10083618AC |PTO LOWER LEVER ASSY 1 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10083618AB

2 |Solis-75,90 CRDI WITH H- [300027367A |BUSH 1

TYPE AC CABIN MODELS




32350A-1-1

32350A-1-1

RIGHT DOOR ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

LEFT DOOR ASSY.

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084910AA

RUBBER SECTION DOOR 4.5 Mtr.

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10085638AA

DOOR HANDLE RH

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084514AA

DOOR LOCK RUBBER PAD RH

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084906AA

LOCK RIGHT

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084590AA

DOOR LOCK HANDLE COVER RH

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10085684AA

DOOR HINGE PIN DIA 8

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10085704AA

CIRCLIP DIA 8

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084513AA

RUBBER GROMMET FOR DOOR
PIPE LOWER




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI WITH H- |200000383A |HEX HEAD SCREW M8X1.25X20 8.8 4
TYPE AC CABIN MODELS SA4NS
10 [Solis-75,90 CRDI WITH H- [10085707AA |M8 SCREW CAP 4
TYPE AC CABIN MODELS
11 [Solis-75,90 CRDI WITH H- [200000380A |PLAIN WASHER DIA 8.4X DIA 17X 4 INTERCHANGE

TYPE AC CABIN MODELS 1.6 ABLE WITH
20004935AB
(ROHS)

11 |Solis-75,90 CRDI WITH H- |20004935AB |PLAIN WASHER DIA 8.4 *DIA 17*1.6 4 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
200000380A

12 [Solis-75,90 CRDI WITH H- [10085708AA |CROSS RECESSED FLAT HEAD M/C 2
TYPE AC CABIN MODELS SCREW M8x40
13 [Solis-75,90 CRDI WITH H- [04041000008 |HEX NYLOCK NUT M8*1.25 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20004917AB
(ROHS)

13 |Solis-75,90 CRDI WITH H- |20004917AB |HEX NYLOC NUT M8*1.25 8 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000008

14 [Solis-75,90 CRDI WITH H- [10085713AA |CROSS RECESSED CHEESE HEAD 3

TYPE AC CABIN MODELS SCREW M6x10

15 [Solis-75,90 CRDI WITH H- [04030600006 |PLAIN WASHER DIA 6.4 *DIA 18 *1.5 2
TYPE AC CABIN MODELS

16 [Solis-75,90 CRDI WITH H- [10084274AA |RIGHT DOOR GLASS 1
TYPE AC CABIN MODELS

17 |Solis-75,90 CRDI WITH H- [10085634AA |PLASTIC DOOR HINGE SEALED 1
TYPE AC CABIN MODELS RIGHT

18 |Solis-75,90 CRDI WITH H- |10085634AA |PLASTIC DOOR HINGE SEALED 1
TYPE AC CABIN MODELS RIGHT

19 |Solis-75,90 CRDI WITH H- |10084116AA |DOOR HANDLE ASSY RIGHT 1
TYPE AC CABIN MODELS

20 |Solis-75,90 CRDI WITH H- |10085880AA |GAS SPRING (CYLINDER) 220N 1
TYPE AC CABIN MODELS

21 |Solis-75,90 CRDI WITH H- |10084517AB [LOCKING PIN FOR GLASS 1
TYPE AC CABIN MODELS

22 |Solis-75,90 CRDI WITH H- |10085703AB [INTERIOR LAMP SWITCH PLATE 1

TYPE AC CABIN MODELS




32360A-1-1

32360A-1-1

LEFT DOOR ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

LEFT DOOR ASSY.

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084910AA

RUBBER SECTION DOOR 4.5 Mtr.

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10085637AA

DOOR HANDLE LH

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084511AA

DOOR LOCK RUBBER PAD LH

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084878AA

LOCK LEFT

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084589AA

DOOR LOCK HANDLE COVER LH

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10085684AA

DOOR HINGE PIN DIA 8

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10085704AA

CIRCLIP DIA 8

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084513AA

RUBBER GROMMET FOR DOOR
PIPE LOWER




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI WITH H- |200000383A |HEX HEAD SCREW M8X1.25X20 8.8 4
TYPE AC CABIN MODELS SA4NS
10 [Solis-75,90 CRDI WITH H- [10085707AA |M8 SCREW CAP 4
TYPE AC CABIN MODELS
11 [Solis-75,90 CRDI WITH H- [200000380A |PLAIN WASHER DIA 8.4X DIA 17X 4 INTERCHANGE

TYPE AC CABIN MODELS 1.6 ABLE WITH
20004935AB
(ROHS)

11 |Solis-75,90 CRDI WITH H- |20004935AB |PLAIN WASHER DIA 8.4 *DIA 17*1.6 4 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
200000380A

12 [Solis-75,90 CRDI WITH H- [10085708AA |CROSS RECESSED FLAT HEAD M/C 2
TYPE AC CABIN MODELS SCREW M8x40
13 [Solis-75,90 CRDI WITH H- [04041000008 |HEX NYLOCK NUT M8*1.25 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20004917AB
(ROHS)

13 |Solis-75,90 CRDI WITH H- |20004917AB |HEX NYLOC NUT M8*1.25 8 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000008

14 [Solis-75,90 CRDI WITH H- [10085713AA |CROSS RECESSED CHEESE HEAD 3

TYPE AC CABIN MODELS SCREW M6x10

15 [Solis-75,90 CRDI WITH H- [04030600006 |PLAIN WASHER DIA 6.4 *DIA 18 *1.5 2
TYPE AC CABIN MODELS

16 |[Solis-75,90 CRDI WITH H- [10084273AA |LEFT DOOR GLASS 1
TYPE AC CABIN MODELS

17 |Solis-75,90 CRDI WITH H- [10085635AA |PLASTIC DOOR HINGE SEALED 1
TYPE AC CABIN MODELS LEFT

18 |Solis-75,90 CRDI WITH H- |10085635AA |PLASTIC DOOR HINGE SEALED 1
TYPE AC CABIN MODELS LEFT

19 |Solis-75,90 CRDI WITH H- |10084115AA |DOOR HANDLE ASSY LEFT 1
TYPE AC CABIN MODELS

20 |Solis-75,90 CRDI WITH H- |10085880AA |GAS SPRING (CYLINDER) 220N 1
TYPE AC CABIN MODELS

21 |Solis-75,90 CRDI WITH H- |10084517AB [LOCKING PIN FOR GLASS 1
TYPE AC CABIN MODELS

22 |Solis-75,90 CRDI WITH H- |10085703AB [INTERIOR LAMP SWITCH PLATE 1

TYPE AC CABIN MODELS




32370A-1-1

32370A-1/1

QUARTER GLASS

QUARTER GLASS ASSY. LH

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

200000380A

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- |10084277AA |LEFT SIDE WINDOW 1
TYPE AC CABIN MODELS
2 | Solis-75,90 CRDI WITH H- |10084501AB [HINGE PLATE FOR SIDE WINDOW 2
TYPE AC CABIN MODELS GLASS
3 | Solis-75,90 CRDI WITH H- |10084911AA [LEFT GLASS RUBBER SECTION (2.7 1
TYPE AC CABIN MODELS Mtr)
4 | Solis-75,90 CRDI WITH H- |10085717AA |[CROSS RECESSED PAN HEAD 4
TYPE AC CABIN MODELS TAPPING SCREW M4.8x16
5 |Solis-75,90 CRDI WITH H- |200000380A [PLAIN WASHER DIA 8.4X DIA 17X 2 INTERCHANGE
TYPE AC CABIN MODELS 1.6 ABLE WITH
20004935AB
(ROHS)
5 |Solis-75,90 CRDI WITH H- |20004935AB |PLAIN WASHER DIA 8.4 *DIA 17*1.6 2 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |Solis-75,90 CRDI WITH H- |10084517AB |LOCKING PIN FOR GLASS 2
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI WITH H- |10084513AA |RUBBER GROMMET FOR DOOR 4
TYPE AC CABIN MODELS PIPE LOWER
8 |Solis-75,90 CRDI WITH H- |04041000008 [HEX NYLOCK NUT M8*1.25 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004917AB
(ROHS)
8 |[Solis-75,90 CRDI WITH H- [20004917AB |HEX NYLOC NUT M8*1.25 8 2 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000008
9 |Solis-75,90 CRDI WITH H- |10085707AA [NUT CAP M8 2
TYPE AC CABIN MODELS
10 [Solis-75,90 CRDI WITH H- [10084907AA |WINDOW LOCK LEFT 1

TYPE AC CABIN MODELS

11

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084750AA

SPLIT PIN 5x 12 HEAVY DUTY IS:
2752




32380A-1-1

32380A-1/1

QUARTER GLASS

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

QUARTER GLASS ASSY. RH

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10084276AA |RIGHT SIDE WINDOW 1
TYPE AC CABIN MODELS
2 | Solis-75,90 CRDI WITH H- |10084501AB [HINGE PLATE FOR SIDE WINDOW 2
TYPE AC CABIN MODELS GLASS
3 | Solis-75,90 CRDI WITH H- |10084911AA [LEFT GLASS RUBBER SECTION (2.7 1
TYPE AC CABIN MODELS Mtr)
4 | Solis-75,90 CRDI WITH H- |10085717AA |[CROSS RECESSED PAN HEAD 4
TYPE AC CABIN MODELS TAPPING SCREW M4.8x16
5 |Solis-75,90 CRDI WITH H- |200000380A [PLAIN WASHER DIA 8.4X DIA 17X 2 INTERCHANGE
TYPE AC CABIN MODELS 1.6 ABLE WITH
20004935AB
(ROHS)
5 |Solis-75,90 CRDI WITH H- |20004935AB |PLAIN WASHER DIA 8.4 *DIA 17*1.6 2 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
200000380A




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |Solis-75,90 CRDI WITH H- |10084517AB |LOCKING PIN FOR GLASS 2
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI WITH H- |10084513AA |RUBBER GROMMET FOR DOOR 4
TYPE AC CABIN MODELS PIPE LOWER
8 |Solis-75,90 CRDI WITH H- |04041000008 [HEX NYLOCK NUT M8*1.25 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004917AB
(ROHS)
8 |[Solis-75,90 CRDI WITH H- [20004917AB |HEX NYLOC NUT M8*1.25 8 2 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000008
9 |Solis-75,90 CRDI WITH H- |10085707AA [NUT CAP M8 2
TYPE AC CABIN MODELS
10 [Solis-75,90 CRDI WITH H- [10084908AA |WINDOW LOCK RIGHT 1

TYPE AC CABIN MODELS

11

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084750AA

SPLIT PIN 5x 12 HEAVY DUTY IS:
2752




32390A-1-1 FRONT GLASS

32390A-1/1

FRONT GLASS

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

1 |Solis-75,90 CRDI WITH H- [10068647AB [FRONT GLASS
TYPE AC CABIN MODELS
2 |Solis-75,90 CRDI WITH H- [10068649AB |FRONT LOWER GLASS RIGHT
TYPE AC CABIN MODELS
3 [Solis-75,90 CRDI WITH H- [10068648AB |FRONT LOWER GLASS LEFT
TYPE AC CABIN MODELS
4 |Solis-75,90 CRDI WITH H- [10068698AA |BONNET BEEDING INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10068698AB
(ROHS)
4 |Solis-75,90 CRDI WITH H- [10068698AB [BONNET BEEDING (WITH AC CABIN) (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10068698AA




32400A-1-1

32400A-1/1

PASSENGER SEAT

PASSENGER SEAT BACKREST ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

(I —

JH02916

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10084738AB |PASSENGER SEAT BACKREST 1 DELETE PART [MEMSYFDNRKJ
TYPE AC CABIN MODELS FROM H02916
MEMSYFDNRK
JH02916
2 |Solis-75,90 CRDI WITH H- |10084245AB [COVER 2 DELETE PART IMEMSYFDNRKJ
TYPE AC CABIN MODELS FROM H02916
MEMSYFDNRK
JH02916
3 |Solis-75,90 CRDI WITH H- [10084138AA |FRONT MTG BKT FOR SEAT GUARD 1 DELETE PART (MEMSYFDNRKJ
TYPE AC CABIN MODELS FROM H02916
MEMSYFDNRK




32410A-1-1

FORWARD-REVERSE

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

32410A-1/1 FORWARD REVERSE GEAR LEVER ASSY.
06
t [
- f- - El -
T I
P
!
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- |[10084498AA |SHUTTLE LEVER SHAFT 1
TYPE AC CABIN MODELS
2 |Solis-75,90 CRDI WITH H- |10009819AA [SPACER 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
10009819AB
(ROHS)

2 |Solis-75,90 CRDI WITH H- |10009819AB |SPACER 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10009819AA

3 |Solis-75,90 CRDI WITH H- [10084492AA |BUSH (PSM 2022-22) 1

TYPE AC CABIN MODELS

4 | Solis-75,90 CRDI WITH H- 104020200020 [EXTERNAL CIRCLIP A-20 2
TYPE AC CABIN MODELS

5 |Solis-75,90 CRDI WITH H- |10084198AA |SHUTTLE LEVER ASSY 1
TYPE AC CABIN MODELS







32420A-1-1

32420A-11

HYDRAULIC ARM

HYDRAULIC ARM MOUNTING ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083635AB

HYDRAULIC LEVER ASSY_2

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083632AC

HYDRAULIC LEVER ASSY_1

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083636AC

DCV LEVER ASSY 1

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083642AC

DCV LEVER ASSY 2

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083648AA

BUSH (PSM-182015)

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083649AA

BUSH (PFM1820-17)

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083647AB

HYDRAULIC LEVER SHAFT

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20004524AA

EXTERNAL CIRCLIP A-18




32430A-1-1 SIGHT GLASS ASSY.  Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
32430A-1/1 SIGHT GLASS ASSY.
-
-
L]
) 1
F
1
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10085710AA |CROSS RECESSED CHEESE HEAD 8
TYPE AC CABIN MODELS SCREW M4x10
2 |Solis-75,90 CRDI WITH H- |200000376A |M/C WASHER M4 16
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |10085640AA [SLIDING REAR LOWER GLASS 1
TYPE AC CABIN MODELS
4 | Solis-75,90 CRDI WITH H- |20003352AA [HEX NUT M4-8 SA3NS 8 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
300037247A
(ROHS)
4 |Solis-75,90 CRDI WITH H- [300037247A |HEX NUT M4-8 SA4G 8 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH

20003352AA




32440A-1-1

32440A-1/1

FLOOR MAT AND

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

FLOOR MAT AND QUADRANT COVER PARTS

B
o

Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084295AF

REAR FLOOR MAT

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084313AA

OPERTAING SECTOR COVER

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

04030600006

PLAIN WASHER DIA 6.4 *"DIA 18 *1.5

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

20003931AA

CROSSLOTTED TRUSS HEAD
SCREW M6X16

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084257AB

CLOSING LOCK PART

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10085732AA

M6 BOLT FOR OPERATING SECTOR
COVER

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10084294AC

FRONT FLOOR MAT

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

10083030AA

SPECIAL WASHER FOR INTERIOR

INTERCHANGE
ABLE WITH
10083030AB




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)
8 |Solis-75,90 CRDI WITH H- |10083030AB |SPECIAL WASHER 1 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH

10083030AA




32450A-1-1 REAR GLASS Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
32450A-1-1 REAR GLASS ASSEMBLY.
o
7
Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10084912AA |REAR GLASS RUBBER 1
TYPE AC CABIN MODELS
2 |Solis-75,90 CRDI WITH H- |10010845AD |REAR LOCK ASSY 2
TYPE AC CABIN MODELS
4 | Solis-75,90 CRDI WITH H- |10085644AA [WIPER & BLADE ASSY REAR 1
TYPE AC CABIN MODELS
5 |Solis-75,90 CRDI WITH H- |10084517AB |LOCKING PIN FOR GLASS 2
TYPE AC CABIN MODELS
6 |Solis-75,90 CRDI WITH H- [10084513AA |RUBBER GROMMET FOR DOOR 4
TYPE AC CABIN MODELS PIPE LOWER
7 |Solis-75,90 CRDI WITH H- [10084516AA |RUBBER GROMMET FOR REAR 4
TYPE AC CABIN MODELS GLASS
8 |Solis-75,90 CRDI WITH H- |10084885AA [REAR GLASS HINGE 2
TYPE AC CABIN MODELS
9 | Solis-75,90 CRDI WITH H- |04041000008 [HEX NYLOCK NUT M8*1.25 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004917AB
(ROHS)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
9 |Solis-75,90 CRDI WITH H- |20004917AB [HEX NYLOC NUT M8*1.25 8 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000008

10 [Solis-75,90 CRDI WITH H- [10085707AA |NUT CAP M8 2
TYPE AC CABIN MODELS
11 | Solis-75,90 CRDI WITH H- |200000380A |PLAIN WASHER DIA 8.4X DIA 17X 4 INTERCHANGE

TYPE AC CABIN MODELS 1.6 ABLE WITH
20004935AB
(ROHS)

11 |[Solis-75,90 CRDI WITH H- |[20004935AB |PLAIN WASHER DIA 8.4 *DIA 17*1.6 4 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
200000380A

12 [Solis-75,90 CRDI WITH H- [200000383A |HEX HEAD SCREW M8X1.25X20 8.8 2

TYPE AC CABIN MODELS SA4NS

13 [Solis-75,90 CRDI WITH H- [10085704AA |CIRCLIP DIA 8 4
TYPE AC CABIN MODELS

14 |Solis-75,90 CRDI WITH H- |20003932AB |CROSS SLOTTED TRUSS HEAD 4
TYPE AC CABIN MODELS SCREW M8

15 |Solis-75,90 CRDI WITH H- |10085881AA |GAS SPRING REAR 2
TYPE AC CABIN MODELS

16 [Solis-75,90 CRDI WITH H- [10085643AA |WIPER MOTOR (REAR) 1
TYPE AC CABIN MODELS

17 |Solis-75,90 CRDI WITH H- [10084279BA |REAR WINDOW GLASS 1
TYPE AC CABIN MODELS

18 [Solis-75,90 CRDI WITH H- [10084118AA |REAR GLASS DOOR HANDLE 1
TYPE AC CABIN MODELS

19 [Solis-75,90 CRDI WITH H- [10095002AA |HANDLE GRIP 1
TYPE AC CABIN MODELS

20 |Solis-75,90 CRDI WITH H- |04030800017 |[PUNCHED WASHER DIA 17 * DIA 30 1 INTERCHANGE

TYPE AC CABIN MODELS * ABLE WITH
20005456AA
(ROHS)

20 |Solis-75,90 CRDI WITH H- |20005456AA |PUNCHED WASHER A(16) IS:2016 1 YES [(ROHS)

TYPE AC CABIN MODELS STEEL INTERCHANGE

ABLE WITH

04030800017




32460A-1-1

32460A-1-1

LEFT FENDER ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

LEFT FENDER ASSY.

Iy
\2)

<

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [200000382A |HEX HEAD SCREW M8X1.25X30 8.8 11
TYPE AC CABIN MODELS SA4NS
2 |Solis-75,90 CRDI WITH H- |10084740AA |FLAT BRAKE LIGHT REAR 1
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |04030600006 |[PLAIN WASHER DIA 6.4 *DIA 18 *1.5 2
TYPE AC CABIN MODELS
4 | Solis-75,90 CRDI WITH H- |04041000006 [HEX NYLOC NUT M6 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004915AB
(ROHS)
4 |Solis-75,90 CRDI WITH H- [20004915AB |HEX NYLOC NUT M6 8 2 YES [(ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000006
5 |Solis-75,90 CRDI WITH H- |04030600008 |[PLAIN WASHER DIA 8.4 5
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |Solis-75,90 CRDI WITH H- |20001096AA |[Hex. head screw M8 x 1.25 x 20 8-8 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20005565AA
(ROHS)
6 |Solis-75,90 CRDI WITH H- |20005565AA |HEX HEAD SCREW M8X1.25X20 -8.8 2 YES |(ROHS)

TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20001096AA

7 |Solis-75,90 CRDI WITH H- [10085707AA |NUT CAP M8 4
TYPE AC CABIN MODELS
8 |Solis-75,90 CRDI WITH H- |20003355AB |HEX NUT M8X1.25 -8 SA2JS 4
TYPE AC CABIN MODELS
9 | Solis-75,90 CRDI WITH H- |04031400008 [SPRING WASHER B-8 13
TYPE AC CABIN MODELS
10 [Solis-75,90 CRDI WITH H- [10084236AB |OUTER FENDER MTG BKT LEFT 1
TYPE AC CABIN MODELS
11 |[Solis-75,90 CRDI WITH H- [10083030AA |SPECIAL WASHER 12 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
10083030AB
(ROHS)

11 | Solis-75,90 CRDI WITH H- |10083030AB |SPECIAL WASHER 12 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10083030AA

12 |[Solis-75,90 CRDI WITH H- [10068524AA |SUPPORT FOR OUTER FENDER LH 1

TYPE AC CABIN MODELS

13 [Solis-75,90 CRDI WITH H- [10093585AA |OUTER FENDER ASSY LEFT 1

TYPE AC CABIN MODELS




32470A-1-1

RIGHT FENDER ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

32470A-1/1 RIGHT FENDER ASSY
= 4
2 -
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [200000382A |HEX HEAD SCREW M8X1.25X30 8.8 11
TYPE AC CABIN MODELS SA4NS
2 |Solis-75,90 CRDI WITH H- |10084740AA |FLAT BRAKE LIGHT REAR 1
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |04030600006 |[PLAIN WASHER DIA 6.4 *DIA 18 *1.5 2
TYPE AC CABIN MODELS
4 | Solis-75,90 CRDI WITH H- |04041000006 [HEX NYLOC NUT M6 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004915AB
(ROHS)
4 |Solis-75,90 CRDI WITH H- [20004915AB |HEX NYLOC NUT M6 8 2 YES [(ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000006
5 |Solis-75,90 CRDI WITH H- |04030600008 |[PLAIN WASHER DIA 8.4 5
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |Solis-75,90 CRDI WITH H- |20001096AA |[Hex. head screw M8 x 1.25 x 20 8-8 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20005565AA
(ROHS)
6 |Solis-75,90 CRDI WITH H- |20005565AA |HEX HEAD SCREW M8X1.25X20 -8.8 2 YES |(ROHS)

TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20001096AA

7 |Solis-75,90 CRDI WITH H- [10085707AA |NUT CAP M8 4
TYPE AC CABIN MODELS
8 |Solis-75,90 CRDI WITH H- |20003355AB |HEX NUT M8X1.25 -8 SA2JS 4
TYPE AC CABIN MODELS
9 | Solis-75,90 CRDI WITH H- |04031400008 [SPRING WASHER B-8 13
TYPE AC CABIN MODELS
10 [Solis-75,90 CRDI WITH H- [10084232AB |OUTER FENDER MTG BKT RIGHT 1
TYPE AC CABIN MODELS
11 |[Solis-75,90 CRDI WITH H- [10083030AA |SPECIAL WASHER 12 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
10083030AB
(ROHS)

11 | Solis-75,90 CRDI WITH H- |10083030AB |SPECIAL WASHER 12 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10083030AA

12 |[Solis-75,90 CRDI WITH H- |[10068523AA |SUPPORT FOR OUTER FENDER RH 1

TYPE AC CABIN MODELS

13 [Solis-75,90 CRDI WITH H- [10093586AA |OUTER FENDER ASSY RIGHT 1

TYPE AC CABIN MODELS




32480A-1-1 RIGHT FRONT Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
32480A-1/1 RIGHT FRONT TRAPEZIUM ASSY
=
[ : i
L -
ft
) T
gy LS
g
- -F-f 1
. il i
P T~
Myt E | o :{‘ .'* |;:'"'
::'E:a:- c ‘. 1I.~;.l‘.,‘. i :'H_'-?
L e
: {; 'rv,"'
¥ ; k!
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [200000414A |HEX BOLT M16X2X140 (SPECIAL 1
TYPE AC CABIN MODELS BOLT)
2 |Solis-75,90 CRDI WITH H- (04030800017 |PUNCHED WASHER DIA 17 * DIA 30 5 INTERCHANGE
TYPE AC CABIN MODELS * ABLE WITH
20005456AA
(ROHS)
2 | Solis-75,90 CRDI WITH H- |20005456AA |[PUNCHED WASHER A(16) 1S:2016 5 YES |(ROHS)
TYPE AC CABIN MODELS STEEL INTERCHANGE
ABLE WITH
04030800017
3 |Solis-75,90 CRDI WITH H- [200000416A |HEX NYLOC NUT M16X2 1
TYPE AC CABIN MODELS
4 |Solis-75,90 CRDI WITH H- [10085747AA |SPECIAL WASHER FOR CABIN MTG 1
TYPE AC CABIN MODELS
5 |Solis-75,90 CRDI WITH H- |20003238AA |Hex screw M10x35 8-8 SA3SNS 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20005584AA




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)
5 |Solis-75,90 CRDI WITH H- |20005584AA |HEX HEAD SCREW M10X40-Z 8.8 2 (ROHS)

TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20003238AA

6 |Solis-75,90 CRDI WITH H- [04041000010 [HEX NYLOCK NUT M10 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
200000416B
(ROHS)

6 |Solis-75,90 CRDI WITH H- |200000416B |HEX NYLOC NUT M14X2 10 SA4GS 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000010

7 |Solis-75,90 CRDI WITH H- |04030600010 [PLAIN WASHER DIA 10.5 *DIA 30 *2. 2
TYPE AC CABIN MODELS 5
8 |Solis-75,90 CRDI WITH H- 104040116025 [HEX SCREW M16*2*25 3
TYPE AC CABIN MODELS
10 |Solis-75,90 CRDI WITH H- |04030400016 |SPRING WASHER B-16 4 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20004994AB
(ROHS)

10 [Solis-75,90 CRDI WITH H- [20004994AB |SPRING WASHER B-16 TYPE-A IS: 4 YES [(ROHS)

TYPE AC CABIN MODELS 3063-1972 INTERCHANGE
ABLE WITH
04030400016

11 |[Solis-75,90 CRDI WITH H- [04040116025 |HEX SCREW M16*2*25 1

TYPE AC CABIN MODELS

12 [Solis-75,90 CRDI WITH H- [10083570AA |RIGTH FRONT TRAPEZ ASSY 1
TYPE AC CABIN MODELS

13 |Solis-75,90 CRDI WITH H- |300026449A |SUSPENSION DAMPER 2
TYPE AC CABIN MODELS

14 |Solis-75,90 CRDI WITH H- |10084743AB |SUSPENSION MOUNTING BUSHING 2

TYPE AC CABIN MODELS




32490A-1-1

LEFT REAR TRAPEZIUM Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

32490A-1/1 LEFT REAR TRAPEZIUM ASSY
&
- "
{
b.
: |
(D )
1.1;- 'F"l.‘JJ
"-_'f"_. et xt.{
i Er'
) &S
)
v
'.:
II - -:- _I -
!
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10083581AB |STRUCTURE REAR MOUNTING 1
TYPE AC CABIN MODELS
2 |Solis-75,90 CRDI WITH H- |10068747AA |BOLT M16x140 1
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- 104030800017 [PUNCHED WASHER DIA 17 * DIA 30 1 INTERCHANGE
TYPE AC CABIN MODELS * ABLE WITH
20005456AA
(ROHS)
3 | Solis-75,90 CRDI WITH H- |20005456AA |[PUNCHED WASHER A(16) 1S:2016 1 YES [(ROHS)
TYPE AC CABIN MODELS STEEL INTERCHANGE
ABLE WITH
04030800017
4 | Solis-75,90 CRDI WITH H- |200000416A |HEX NYLOC NUT M16X2 1
TYPE AC CABIN MODELS
5 |Solis-75,90 CRDI WITH H- |10085747AA |SPECIAL WASHER FOR CABIN MTG 1
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |Solis-75,90 CRDI WITH H- |20003238AA |Hex screw M10x35 8-8 SA3SNS 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20005584AA
(ROHS)
6 |Solis-75,90 CRDI WITH H- |20005584AA |HEX HEAD SCREW M10X40-Z 8.8 2 (ROHS)

TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20003238AA

7 |Solis-75,90 CRDI WITH H- [04041000010 [HEX NYLOCK NUT M10 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
200000416B
(ROHS)

7 |Solis-75,90 CRDI WITH H- |200000416B |HEX NYLOC NUT M14X2 10 SA4GS 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000010

8 |Solis-75,90 CRDI WITH H- 104030600010 [PLAIN WASHER DIA 10.5 *DIA 30 *2. 4

TYPE AC CABIN MODELS 5

9 |[Solis-75,90 CRDI WITH H- [300026449A |SUSPENSION DAMPER 1
TYPE AC CABIN MODELS
10 |Solis-75,90 CRDI WITH H- |10084743AB |SUSPENSION MOUNTING BUSHING 1

TYPE AC CABIN MODELS




32500A-1-1 RIGHT REAR Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
32500A-1/1 RIGHT REAR TRAPEZIUM ASSY
£ é;:':l;
' { L)
j |
( II.' -f' -
= |
Ny
.l-r .
. -9 -
[ =
"h’,?‘; .‘:: . L,.-'
i3 : A i',l
= —
{ II - 4 i #
ut
” :
i ol
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10083581AB |STRUCTURE REAR MOUNTING 1
TYPE AC CABIN MODELS
2 |Solis-75,90 CRDI WITH H- |10068747AA |BOLT M16x140 1
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- 104030800017 [PUNCHED WASHER DIA 17 * DIA 30 1 INTERCHANGE
TYPE AC CABIN MODELS * ABLE WITH
20005456AA
(ROHS)
3 | Solis-75,90 CRDI WITH H- |20005456AA |[PUNCHED WASHER A(16) 1S:2016 1 YES [(ROHS)
TYPE AC CABIN MODELS STEEL INTERCHANGE
ABLE WITH
04030800017
4 | Solis-75,90 CRDI WITH H- |200000416A |HEX NYLOC NUT M16X2 1
TYPE AC CABIN MODELS
5 |Solis-75,90 CRDI WITH H- |10085747AA |SPECIAL WASHER FOR CABIN MTG 1
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |Solis-75,90 CRDI WITH H- |20003238AA |Hex screw M10x35 8-8 SA3SNS 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

20005584AA
(ROHS)
6 |Solis-75,90 CRDI WITH H- |20005584AA |HEX HEAD SCREW M10X40-Z 8.8 2 (ROHS)

TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20003238AA

7 |Solis-75,90 CRDI WITH H- [04041000010 [HEX NYLOCK NUT M10 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
200000416B
(ROHS)

7 |Solis-75,90 CRDI WITH H- |200000416B |HEX NYLOC NUT M14X2 10 SA4GS 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000010

8 |Solis-75,90 CRDI WITH H- 104030600010 [PLAIN WASHER DIA 10.5 *DIA 30 *2. 4

TYPE AC CABIN MODELS 5

9 |[Solis-75,90 CRDI WITH H- [300026449A |SUSPENSION DAMPER 1
TYPE AC CABIN MODELS
10 |Solis-75,90 CRDI WITH H- |10084743AB |SUSPENSION MOUNTING BUSHING 1

TYPE AC CABIN MODELS




32510A-1-1

32510A-1-1

INTERIOR COVERING

INTERIOR COVERING PARTS ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

@A A @\\)

\a2/ I\\ J/

20000104AA

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10083030AA |SPECIAL WASHER FOR INTERIOR 21 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10083030AB
(ROHS)
1 |Solis-75,90 CRDI WITH H- |10083030AB |SPECIAL WASHER 21 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10083030AA

2 |Solis-75,90 CRDI WITH H- [20000104AA |HEX SCREW M6*10 21 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20005573AA
(ROHS)

2 |Solis-75,90 CRDI WITH H- |20005573AA |HEX SCREW M6X10 21 YES [(ROHS)

TYPE AC CABIN MODELS INTERCHANGE

ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off

3 | Solis-75,90 CRDI WITH H- |04030600006 |[PLAIN WASHER DIA 6.4 *DIA 18 *1.5 21
TYPE AC CABIN MODELS

4 | Solis-75,90 CRDI WITH H- |10086076AA [PUSH PIN 4
TYPE AC CABIN MODELS

5 |Solis-75,90 CRDI WITH H- |10084312AA |LEFT SIDE TRIM 1
TYPE AC CABIN MODELS

6 |Solis-75,90 CRDI WITH H- [10084311AA |RIGHT SIDE TRIM 1
TYPE AC CABIN MODELS

7 |Solis-75,90 CRDI WITH H- [10084296AC |FENDER INTERIOR RH 1
TYPE AC CABIN MODELS

8 |Solis-75,90 CRDI WITH H- |10084297AB |FENDER INTERIOR LH 1
TYPE AC CABIN MODELS

9 |Solis-75,90 CRDI WITH H- |10085697AA [ASHTRAY 1

TYPE AC CABIN MODELS




32520A-1-1

32520A-1/1

BATTERY BOX ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

BATTERY BOX ASSY

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10068537AC [BATTER BOX ASSY 1
TYPE AC CABIN MODELS
1 |Solis-75,90 CRDI WITH H- [300035779C [BATTERY BOX ASSY 1 NO [10067999AA, | FOR EU
TYPE AC CABIN MODELS 10068537AC  |MODELS-
INTERCHANGE MEMSYKDHRA
CV'?TLE AS A SETIKH04747
10067999AB, FOR NON EU
300035779c, |MODELS-
0003355AB 10
2 [Solis-75,90 CRDI WITH H- |10068545AA |FRONT SUPPORT PLATE ASSY FOR| 1 DELETE FOR |FOR EU
TYPE AC CABIN MODELS BATTERY BOX IMPLEMENT  [MODELS-
300035779C  [MEMSYKDHRA
KH04747
FOR NON EU

MODELS-




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
AYIDS836390W
10
3 |[Solis-75,90 CRDI WITH H- [10067782AB |REAR PLATE FOR BATTERY BOX 1
TYPE AC CABIN MODELS
4 | Solis-75,90 CRDI WITH H- |10094944AA |RESTING PLATE ASSY 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10094944AB
(ROHS)
4 | Solis-75,90 CRDI WITH H- |10094944AB [RESTING PLATE ASSY 1 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10094944AA
5 |Solis-75,90 CRDI WITH H- |10067781AA |ROD FOR BATTERY 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10067781AB
(ROHS)
5 |Solis-75,90 CRDI WITH H- |10067781AB |ROD FOR BATTERY 2 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10067781AA
6 |Solis-75,90 CRDI WITH H- |10027062AC |THUMB SCREW 3
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI WITH H- |20003285AB |HEX SCREW M8X1.25X30 8-8 SA2JS 8
TYPE AC CABIN MODELS
8 |Solis-75,90 CRDI WITH H- |04030600008 |PLAIN WASHER DIA 8.4 *DIA 17*1.6 8
TYPE AC CABIN MODELS
9 |[Solis-75,90 CRDI WITH H- [20003245AB |HEX. SCREW M12X1.75X40 6 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20003245AC
(ROHS)
9 |Solis-75,90 CRDI WITH H- |20003245AC [HEX. SCREW M12X1.75X40 -8.8 6 (ROHS)
TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20003245AB
10 [Solis-75,90 CRDI WITH H- [04030400012 |SPRING WASHER B-12 6
TYPE AC CABIN MODELS
11 [Solis-75,90 CRDI WITH H- (04030800012 |M/CD WASHER DIA 13 *DIA 24*2.5 6 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004940AB
(ROHS)
11 [Solis-75,90 CRDI WITH H- |[20004940AB |M/C WASHER DIA 13*DIA 24*2.5 6 YES [(ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04030800012
12 |[Solis-75,90 CRDI WITH H- [20003357AB |HEX NUT M10 -8 SA2JS 2
TYPE AC CABIN MODELS
12 |[Solis-75,90 CRDI WITH H- |20003357AF |HEX NUT M10 -8 SA4GS 2 YES [interchange with|FOR NON EU
TYPE AC CABIN MODELS 20003357AB  |MODELS-
JZNSS869101S
M
FOR EU
MODELS-
MEMRZGTNEJK
H07194
13 [Solis-75,90 CRDI WITH H- |20003243AB |HEX SCREW M12*1.75*30 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
200000502A
(ROHS)
13 [Solis-75,90 CRDI WITH H- [200000502A |HEX SCREW M12X1.75X30 8.8 2 YES [(ROHS)
TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20003243AB
14 [Solis-75,90 CRDI WITH H- [04030400012 |SPRING WASHER B-12 2

TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
15 |Solis-75,90 CRDI WITH H- [04030800012 [M/CD WASHER DIA 13 *DIA 24*2.5 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004940AB
(ROHS)
15 [Solis-75,90 CRDI WITH H- [20004940AB |[M/C WASHER DIA 13*DIA 24*2.5 2 | YES|(ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04030800012
16 |Solis-75,90 CRDI WITH H- [10004589AA |[RUBBER BUTTON 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10004589AB
(ROHS)
16 |Solis-75,90 CRDI WITH H- [10004589AB |[RUBBER BUTTON (SMALL) 1 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10004589AA
18 |Solis-75,90 CRDI WITH H- [10067999AA [FOOT STEP ASSY (RIGHT) 1
TYPE AC CABIN MODELS
18 |Solis-75,90 CRDI WITH H- [10067999AB [FOOT STEP ASSY (RIGHT) 110 HP 1 NO [10067999AA, [ FOR EU
TYPE AC CABIN MODELS 10068537AC  |MODELS-
INTERCHANGE MEMSYKDHRA
CVE:#E AS A SET|KH04747
10067999AB, | OR NONEU
300035779c, |MODELS-
0003355AB 10
19 [Solis-75,90 CRDI WITH H- [10067851AB [STRIP FOR BATTERY MTG 1
TYPE AC CABIN MODELS
22 [Solis-75,90 CRDI WITH H- [10067982AA |RUBBER FLAP 2
TYPE AC CABIN MODELS
23 [Solis-75,90 CRDI WITH H- [10067863AA |GROMMET FOR HINGE 1
TYPE AC CABIN MODELS
24 [Solis-75,90 CRDI WITH H- [10004256AA [LINCH PIN ASSY 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10004256AB
(ROHS)
24 |Solis-75,90 CRDI WITH H- [10004256AB [LINCH PIN ASSY 1 YES [(ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10004256AA
25 [Solis-75,90 CRDI WITH H- [04030600008 [PLAIN WASHER DIA 8.4 *DIA 17*1.6 4 10067999AA, | FOR EU
TYPE AC CABIN MODELS 10068537AC  [MODELS-
INTERCHANGE MEMSYKDHRA
CVE%E AS A SET|KH04747
10067999AB, FOR NON EU
300035779c, |MODELS-
0003355AB 10
26 |[Solis-75,90 CRDI WITH H- [20003355AB |HEX NUT M8X1.25 -8 SA2JS 4 10067999AA, | FOR EU
TYPE AC CABIN MODELS 10068537AC  [MODELS-
INTERCHANGE MEMSYKDHRA
CVE%E AS A SET|KH04747
10067999AB, FOR NON EU
300035779c, |MODELS-
0003355AB 10
27 |Solis-75,90 CRDI WITH H- [10023372BA [SPL. HEX. FLANGE BOLT M12*1. 1 DELETE FOR |FOR EU
TYPE AC CABIN MODELS 75*30 IMPLEMENT  [MODELS-
300035779C  IMEMSYKDHRA
KH04747
FOR NON EU
MODELS-

AYIDS836390W




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

10




32530A-1-1

LEFT FOOT STEP Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS
32530A-1/1 LEFT FOOT STEP ASSY
3 1 4 /2
[ |
T, =4 R
o9 [|°N =
- : = ;.r . L\
N, o9 @ 5
: BN y | U
T__ - 'I*} :!L-: %’a}' 0 |. |I I.I
8 N \ AR
1 ' PN 1l
| s |
| 1 Pl =) 1
1 I| L = 4 _"_:_-_ l:xt‘- "-Illl
L | | - B — ot
| T 7]\
| S
] I:.___.r’ —_q.;""#"-' i 1 |
|
= L= |
| 1 ~ ::-FH-T A
1 1 .' ' I|
i \ ) J.“-t'i:.i‘__;\ |
'! |I e = ) -:: ""}:#\l.'_ll
| ="  __—= LB
! I — e s e
| _ o i J
N .:_.:“'_ ___.-“_:‘__,:m-"” P
N g
Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- |10068423AB |LEFT FOOT STEP ASSY 1
TYPE AC CABIN MODELS
1 |Solis-75,90 CRDI WITH H- |10068423AC |LEFT FOOT STEP ASSY 1 YES FOR EU
TYPE AC CABIN MODELS MODELS-
MEMSYKDHRA
KH04747
FOR NON EU
MODELS-
AYIDS836390W
10
Solis-75,90 CRDI WITH H- |20002016AB |HEX. HEAD SCREW M10 x 1.5 x 30 8- 4
TYPE AC CABIN MODELS 8
Solis-75,90 CRDI WITH H- (04041000010 [HEX NYLOCK NUT M10 4 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
200000416B
(ROHS)
Solis-75,90 CRDI WITH H- |200000416B |HEX NYLOC NUT M14X2 10 SA4GS 4 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

04041000010

Solis-75,90 CRDI WITH H-
TYPE AC CABIN MODELS

04030600010

PLAIN WASHER DIA 10.5 *DIA 30 *2.

5




32540A-1-1

32540A-1/1

PASSENGER AND

PASSENGER & DRIVER SEAT ASSY

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [200000145A |SOCKET HEAD CAP SCREW M12X65 2
TYPE AC CABIN MODELS 8.8 SAANS
2 | Solis-75,90 CRDI WITH H- |20004596AA [SHC Screw M12x1.75X35 2
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |20004977AA [HEX HEAD SCREW M8X1.25X25 8-8 3
TYPE AC CABIN MODELS SA4NS
4 | Solis-75,90 CRDI WITH H- |10094677AA |CO-SEAT GUARD PIPE ASSY 1 NOT SHOWN
TYPE AC CABIN MODELS
5 |Solis-75,90 CRDI WITH H- |300021763A |[DRIVER SEAT 1
TYPE AC CABIN MODELS
6 |Solis-75,90 CRDI WITH H- [10082228AB |SEAT BASE PLATE 1
TYPE AC CABIN MODELS




32550A-1-1

32550A-1-1

MECHANISM GROUP

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

MECHANISM GROUP ASSY.

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH H- |10084259AA |HYDRAULIC ARM ISOLATION 1
TYPE AC CABIN MODELS SPONGE

2 | Solis-75,90 CRDI WITH H- |10084260AA [HYDRAULIC ARM CLOSING PLATE 1
TYPE AC CABIN MODELS

3 | Solis-75,90 CRDI WITH H- |20004977AA [HEX HEAD SCREW M8X1.25X25 8-8 2
TYPE AC CABIN MODELS SA4NS

4 | Solis-75,90 CRDI WITH H- |200000380A [PLAIN WASHER DIA 8.4X DIA 17X 2 INTERCHANGE

TYPE AC CABIN MODELS 1.6 ABLE WITH
20004935AB
(ROHS)

4 |Solis-75,90 CRDI WITH H- [20004935AB |PLAIN WASHER DIA 8.4 *DIA 17*1.6 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
200000380A

5 |Solis-75,90 CRDI WITH H- |10039322AA | KNOB M8 2

TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5A |Solis-75,90 CRDI WITH H- [300007872A |KNOB M8 1
TYPE AC CABIN MODELS
5 |Solis-75,90 CRDI WITH H- |10004846AA |KNOB (ROD ASSY / HANDLER PTO) 2 YES |INTERCHANGE|MEMRYFDHRDJ

TYPE AC CABIN MODELS ABLE WITH H02692
10004846AC
(ROHS)

5 |Solis-75,90 CRDI WITH H- |10004846AC [KNOB (ROD ASSY / HANDLER PTO) 2 YES [(ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10004846AA

6 |Solis-75,90 CRDI WITH H- |10085701AA |HYD ARMS HANDLE?2 1
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI WITH H- |10085700AB [HYD ARMS HANDLE1 1
TYPE AC CABIN MODELS
8 |Solis-75,90 CRDI WITH H- |10085573AA |GEAR LEVER BOOT STRIP 1
TYPE AC CABIN MODELS
9 |Solis-75,90 CRDI WITH H- |10085492AB [PLAIN WASHER A 6.4 1S:5370 STEEL 14 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20005524AA
(ROHS)

9 |[Solis-75,90 CRDI WITH H- [20005524AA |PLAIN WASHER A 6.4 1S:5370 STEEL 14 YES [(ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10085492AB

10 [Solis-75,90 CRDI WITH H- [20003282AA |HEX SCREW M6X1X20 8-8 SA3SNS 6

TYPE AC CABIN MODELS

12 [Solis-75,90 CRDI WITH H- |20003235AB |HEX SCREW M10*20 4
TYPE AC CABIN MODELS

13 [Solis-75,90 CRDI WITH H- [200000375A |M/C WASHER B10 4
TYPE AC CABIN MODELS

14 |Solis-75,90 CRDI WITH H- |10068890AA |PARKING BRAKE SWITCH 1
TYPE AC CABIN MODELS

15 |Solis-75,90 CRDI WITH H- |200000385A |SLOTTED CHEESE HD SCREWS ( 2

TYPE AC CABIN MODELS

M5*30)




32550A-1-2

32550A-2/3

MECHANISM GROUP

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

MECHANISM GROUP ASSY

(ROHS)

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
17 |Solis-75,90 CRDI WITH H- [10083082AA |FLANGE BEARING 4WD LEVER 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10083082AB
(ROHS)
17 |Solis-75,90 CRDI WITH H- [10083082AB |FLANGE BEARING 4WD LEVER 1 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10083082AA

18 |Solis-75,90 CRDI WITH H- |20003282AA |HEX SCREW M6X1X20 8-8 SA3NS 2
TYPE AC CABIN MODELS
19 |Solis-75,90 CRDI WITH H- |10084448AA |DIFF LOCK PEDAL ASSY 1
TYPE AC CABIN MODELS
20 |Solis-75,90 CRDI WITH H- |10083094AA |FORK FOR SERVICE BRAKE 1 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH

300036223A




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
20 |Solis-75,90 CRDI WITH H- |300036223A |FORK PARKING BRAKE 1 YES |(ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10083094AA

23 |Solis-75,90 CRDI WITH H- |20005117AA |HEX SCREW M6X35 8-8 SASNS 2
TYPE AC CABIN MODELS
24 |Solis-75,90 CRDI WITH H- |300021777A |[4WD COVER PLATE 40KM 1
TYPE AC CABIN MODELS
25 |Solis-75,90 CRDI WITH H- |10084500AA [MTG PLATE FOR SHUTTLE LEVER 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
10084500AB
(ROHS)

25 |Solis-75,90 CRDI WITH H- |10084500AB [MTG PLATE FOR SHUTTLE LEVER 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10084500AA

26 |Solis-75,90 CRDI WITH H- |10084499AA |COVER FOR SHUTTLE LEVER PIN 1
TYPE AC CABIN MODELS
27 |Solis-75,90 CRDI WITH H- |10084198AA |[SHUTTLE LEVER ASSY 1
TYPE AC CABIN MODELS
30 |Solis-75,90 CRDI WITH H- [04040106030 [HEX SCREW M6*30 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20005568AA
(ROHS)

30 |Solis-75,90 CRDI WITH H- |20005568AA [HEX SCREW M6X30 SA4GS 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04040106030

31 |Solis-75,90 CRDI WITH H- |10083684AC |[540x100 PTO LEVER ASSY 1

TYPE AC CABIN MODELS

35 [Solis-75,90 CRDI WITH H- |[10085690AA [PTO LEVER ASSEMBLY 1
TYPE AC CABIN MODELS

36 |Solis-75,90 CRDI WITH H- [10085691AB |HAND BRAKE ASSY 1
TYPE AC CABIN MODELS

37 |Solis-75,90 CRDI WITH H- |10085574AA |GEAR LEVER BOOT 1
TYPE AC CABIN MODELS

38 |Solis-75,90 CRDI WITH H- |10084282AB |PARKING BRAKE WIRE ASSY 1
TYPE AC CABIN MODELS

39 |Solis-75,90 CRDI WITH H- |10084285AB [IPTO WIRE ASSY 1
TYPE AC CABIN MODELS

41 |Solis-75,90 CRDI WITH H- |200000385A |SLOTTED CHEESE HD SCREWS ( 4

TYPE AC CABIN MODELS

M5*30)




32550A-1-3

32550A-3/3

MECHANISM GROUP

MECHANISM GROUP ASSY

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
45 |Solis-75,90 CRDI WITH H- |[10084502AA |GROOMET FOR FOOT ACC. PEDAL 1
TYPE AC CABIN MODELS
46 |Solis-75,90 CRDI WITH H- |10068438AB |FOOT ASSY PEDAL ASSY 1
TYPE AC CABIN MODELS
47 |Solis-75,90 CRDI WITH H- |10086042AA [Cover for foot throttle 1
TYPE AC CABIN MODELS
48 |Solis-75,90 CRDI WITH H- |20004598AA |HEX BOLT M5x30-8.8 SA2JS 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20004598AB
(ROHS)

48 |Solis-75,90 CRDI WITH H- |20004598AB [HEX HEAD SCREW M5X30-8.8 2 (ROHS)

TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20004598AA

49 |Solis-75,90 CRDI WITH H- |04030600005 [PLAIN WASHER DIA 5.3 *DIA 15*1.52 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH

300032712A




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
(ROHS)
49 |Solis-75,90 CRDI WITH H- |300032712A |WASHER 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04030600005

50 |Solis-75,90 CRDI WITH H- |04030400005 [SPRING WASHERB-52 2
TYPE AC CABIN MODELS
51 |Solis-75,90 CRDI WITH H- [10083042AA |[SLOTTED CHEESE HEAD SCREW 1 INTERCHANGE

TYPE AC CABIN MODELS M4X30 ABLE WITH
10083042AB
(ROHS)

51 |Solis-75,90 CRDI WITH H- |10083042AB |SLOTTED CHEESEHEAD SCREW 1 (ROHS)

TYPE AC CABIN MODELS M4X30 INTERCHANGE
ABLE WITH
10083042AA

52 |Solis-75,90 CRDI WITH H- |20003130AA |SPRING COTTER SLEEVE (SPRING 1
TYPE AC CABIN MODELS PIN) DIA4*3 1
53 |Solis-75,90 CRDI WITH H- [20003352AA [HEX NUT M4-8 SA3NS 1 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
300037247A
(ROHS)

53 |Solis-75,90 CRDI WITH H- |300037247A [HEX NUT M4-8 SA4G 1 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
20003352AA

54 |Solis-75,90 CRDI WITH H- |10068655AC [HAND THROTTLE WIRE ASSY 1
TYPE AC CABIN MODELS
54 |Solis-75,90 CRDI WITH H- |10068655AD [HAND THROTTLE WIRE ASSY 1 YES MEMSYFDHRJJ
TYPE AC CABIN MODELS H02351
55 |Solis-75,90 CRDI WITH H- |10017953AA |ELECTRONIC ACCELERATOR 1
TYPE AC CABIN MODELS PEDAL CEDI-75HP
56 |Solis-75,90 CRDI WITH H- |04010102025 [SPLIT PIN DIA 2*25 1
TYPE AC CABIN MODELS
57 |Solis-75,90 CRDI WITH H- |04030600006 [PLAIN WASHER DIA 6.4 *DIA 18 *1.5 1

TYPE AC CABIN MODELS




32560A-1-1

32560A-1/1

SEAT BOTTOM PLATE

SEAT BOTTOM PLATE ASSY

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [04030600008 |PLAIN WASHER DIA 8.4 *DIA 17*1.6 12
TYPE AC CABIN MODELS
2 |Solis-75,90 CRDI WITH H- |20001096AA |HEX. HEAD SCREW M8 X 1.25 X 20 12 INTERCHANGE
TYPE AC CABIN MODELS 8-8 ABLE WITH
20005565AA
(ROHS)
2 | Solis-75,90 CRDI WITH H- |20005565AA [HEX HEAD SCREW M8X1.25X20 -8.8 12 YES [(ROHS)
TYPE AC CABIN MODELS SA4GS INTERCHANGE
ABLE WITH
20001096AA
3 |Solis-75,90 CRDI WITH H- [10084095AF |REAR FLOOR ASSY 1
TYPE AC CABIN MODELS
4 | Solis-75,90 CRDI WITH H- |10085752AA [NOISE INSULATION MATERIAL 2
TYPE AC CABIN MODELS
5 |Solis-75,90 CRDI WITH H- |300036048A |GROMMET FOR HEATER PIPE 2 new part added [FOR NON EU
TYPE AC CABIN MODELS MODELS-
BZKDS806511M




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

S

FOR EU
MODELS-
MEMSZGFHELJ
H03634




32570A-1-1

32570A-1/1

DASHBOARD ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

DASHBOARD

14

Sr. Model Item Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- |[10068734AC |DASHBOARD UPPER 1
TYPE AC CABIN MODELS
2 | Solis-75,90 CRDI WITH H- |10068737AB |[DASHBOARD LOWER 1
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |10068735AA |DASHBOARD SIDE COVER LH 1 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
10068735AB
(ROHS)

3 | Solis-75,90 CRDI WITH H- |10068735AB |DASHBOARD SIDE COVER LH 1 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10068735AA

4 | Solis-75,90 CRDI WITH H- |10068736AA |DASHBOARD SIDE COVER RH 1 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
10068736AB
(ROHS)

4 | Solis-75,90 CRDI WITH H- |10068736AB |DASHBOARD SIDE COVER RH 1 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE

ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
10068736AA
5 |Solis-75,90 CRDI WITH H- |10068732AA |CLUSTER MTG COVER UPPER 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10068732AB
(ROHS)
5 |[Solis-75,90 CRDI WITH H- [10068732AB |CLUSTER MTG COVER UPPER 1 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10068732AA
6 |Solis-75,90 CRDI WITH H- |10068733AA |CLUSTER MTG COVER LOWER 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10068733AB
(ROHS)
6 |Solis-75,90 CRDI WITH H- |10068733AB |CLUSTER MTG COVER LOWER 1 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10068733AA
7 |Solis-75,90 CRDI WITH H- [10095171AA |MTG BKT BOTTOM 1
TYPE AC CABIN MODELS
8 |[Solis-75,90 CRDI WITH H- [10095172AA |C-CLAMP FOR CLUSTER COVER 1
TYPE AC CABIN MODELS
9 |Solis-75,90 CRDI WITH H- |10095173AA [C-CLAMP WITH WELD PLATE FOR 1
TYPE AC CABIN MODELS CLUSTER COVER BKT
10 [Solis-75,90 CRDI WITH H- (04040106020 |HEX SCREW M6*1*20 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20005569AA
(ROHS)
10 [Solis-75,90 CRDI WITH H- [20005569AA |HEX SCREW M6X1X20 2 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04040106020
11 | Solis-75,90 CRDI WITH H- ]04030400006 |SPRING WASHER B-6 2
TYPE AC CABIN MODELS
12 [Solis-75,90 CRDI WITH H- |04042905012 |SLOTTED CHEESE HD SCREW 1
TYPE AC CABIN MODELS M5*12
13 [Solis-75,90 CRDI WITH H- [10068753AA |FOAM FOR STEERING COLUMN 1 INTERCHANGE
TYPE AC CABIN MODELS COVERING ABLE WITH
10068753AB
(ROHS)
13 [Solis-75,90 CRDI WITH H- [10068753AB |FOAM FOR STEERING COLUMN 1 (ROHS)
TYPE AC CABIN MODELS COVERING INTERCHANGE
ABLE WITH
10068753AA
14 | Solis-75,90 CRDI WITH H- |20003931AA |CROSSLOTTED TRUSS HEAD 25
TYPE AC CABIN MODELS SCREW M6X16
15 [Solis-75,90 CRDI WITH H- [10068366AB |PRESSURE GAUGE MTG RH 1 DELETE FROM [MEMSYFDNRKJ
TYPE AC CABIN MODELS CRDI-75 H- H02916
TYPE
BOM750ID5752
LDBGUDE,
CRDI-90 H-
TYPE
BOM900ID5769
LDBGUDET2
16 [Solis-75,90 CRDI WITH H- [300005810A |CURVE CLAMP 1 DELETE FROM [MEMSYFDNRKJ
TYPE AC CABIN MODELS CRDI-75 H- H02916
TYPE
BOM750ID5752
LDBGUDE,
CRDI-90 H-
TYPE
BOM900ID5769
LDBGUDET2
17 |Solis-75,90 CRDI WITH H- [10068294AA |CLAMP BASE PLATE 1 DELETE FROM |[MEMSYKDNRCJ
TYPE AC CABIN MODELS MEMSYKDNRC|H03218




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
JH03218
18 [Solis-75,90 CRDI WITH H- [10054136AA |CLAMP CURVE 2 1 ADD NEW MEMSYKDNRCJ
TYPE AC CABIN MODELS PART H03218
18 [Solis-75,90 CRDI WITH H- [300028734A |CLAMP CURVE 2 1 YES [(ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH

10054136AA




32580A-1-1

32580A-1/1

FRAME ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

FRAME ASSY.

04041000006

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10085679AA |DOOR HINGE BASE 4
TYPE AC CABIN MODELS
2 |Solis-75,90 CRDI WITH H- |10085762AA |HEX SOCKET COUNTERSUNK 8
TYPE AC CABIN MODELS SCREW M8x20
3 | Solis-75,90 CRDI WITH H- |10085191AC [REAR VIEW MIRROR LH 1
TYPE AC CABIN MODELS
4 | Solis-75,90 CRDI WITH H- |200000388A |SOCKET HEAD CAP SCREW M6X18 8
TYPE AC CABIN MODELS 8-8 SA4ANS
5 |Solis-75,90 CRDI WITH H- |04041000006 [HEX NYLOC NUT M6 8 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20004915AB
(ROHS)
5 |Solis-75,90 CRDI WITH H- |20004915AB [HEX NYLOC NUT M6 8 8 YES [(ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |Solis-75,90 CRDI WITH H- |10085706AA |NUT CAP M6 8
TYPE AC CABIN MODELS
8 |Solis-75,90 CRDI WITH H- |10087417AB [FRONT INDICATOR LAMP 2
TYPE AC CABIN MODELS
10 [Solis-75,90 CRDI WITH H- |20003353AA |HEX NUT M5 -8 SA3NS 4 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
300028453A
(ROHS)

10 |Solis-75,90 CRDI WITH H- |300028453A |HEX NUT M5-8 SA2JS 4 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
20003353AA

11 |[Solis-75,90 CRDI WITH H- [04030600006 |PLAIN WASHER DIA 6.4 *DIA 18 *1.5 5

TYPE AC CABIN MODELS

12 [Solis-75,90 CRDI WITH H- [10084007AA |INSERT M8 FOR PIPE 31
TYPE AC CABIN MODELS

13 [Solis-75,90 CRDI WITH H- [10084560AA |INSERT M5 FOR PIPE 6
TYPE AC CABIN MODELS

14 |Solis-75,90 CRDI WITH H- |10084749AA |HEX FLANGE NUT M8 8
TYPE AC CABIN MODELS

15 |Solis-75,90 CRDI WITH H- |10085702AA |DOOR SWITCH 2
TYPE AC CABIN MODELS

16 [Solis-75,90 CRDI WITH H- [10085716AA |CROSS RECESSED PAN HEAD 2
TYPE AC CABIN MODELS TAPPING SCREW M4.2x16

17 |[Solis-75,90 CRDI WITH H- [10085685AA |DOOR LOCK STRIKER 2
TYPE AC CABIN MODELS

19 [Solis-75,90 CRDI WITH H- [10085785AA |WATER TANK 1
TYPE AC CABIN MODELS

20 |Solis-75,90 CRDI WITH H- |04041000008 [HEX NYLOCK NUT M8*1.25 3 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20004917AB
(ROHS)

20 |Solis-75,90 CRDI WITH H- [20004917AB [HEX NYLOC NUT M8*1.25 8 3 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04041000008

21 |Solis-75,90 CRDI WITH H- |20004977AA |HEX HEAD SCREW M8X1.25X25 8-8 5
TYPE AC CABIN MODELS SA4NS
21A | Solis-75,90 CRDI WITH H- [10083030AA |SPECIAL WASHER 3 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
10083030AB
(ROHS)

21B | Solis-75,90 CRDI WITH H- |04031400008 |SPRING WASHER B-8 2
TYPE AC CABIN MODELS
21C [Solis-75,90 CRDI WITH H- [200000380A [PLAIN WASHER DIA 8.4X DIA 17X 2 INTERCHANGE

TYPE AC CABIN MODELS 1.6 ABLE WITH
20004935AB
(ROHS)

21D [Solis-75,90 CRDI WITH H- [10085707AA [NUT CAP M8 5
TYPE AC CABIN MODELS
21A |Solis-75,90 CRDI WITH H- [10083030AB |SPECIAL WASHER 3 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10083030AA

21C [ Solis-75,90 CRDI WITH H- [20004935AB |PLAIN WASHER DIA 8.4 *DIA 17*1.6 2 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
200000380A

22 |Solis-75,90 CRDI WITH H- |10057344AA |REVOLVING LIGHT (DETACHABLE) 1
TYPE AC CABIN MODELS
23 |Solis-75,90 CRDI WITH H- |20002827AA |SLOTTED CHEESE HEAD SCREW 4 INTERCHANGE

TYPE AC CABIN MODELS (M4*20) ABLE WITH
20005684AA
(ROHS)

23 |Solis-75,90 CRDI WITH H- |20005684AA |SLOTTED CHEASE HEAD SCREW 4 (ROHS)
TYPE AC CABIN MODELS M4*20 INTERCHANGE




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
ABLE WITH
20002827AA
26 |Solis-75,90 CRDI WITH H- |10053758AA |CLUTCH SAFETY SWITCH 1
TYPE AC CABIN MODELS
26 |Solis-75,90 CRDI WITH H- |300119996A [PLUNGER SWITCH NC 1 YES FOR NON EU
TYPE AC CABIN MODELS MODELS-
FYNDS852132W
NT
FOR EU
MODELS-
MEMSYEDHCFK
H05802
28 |Solis-75,90 CRDI WITH H- [10085707AA |NUT CAP M8 1
TYPE AC CABIN MODELS
3.1 | Solis-75,90 CRDI WITH H- |10086150AB |REAR VIEW MIRROR RH 1
TYPE AC CABIN MODELS
33 |Solis-75,90 CRDI WITH H- |10084732AA |PLASTIC COAT HANGER 1
TYPE AC CABIN MODELS
35 |Solis-75,90 CRDI WITH H- |10084071AA |STEERING COLUMN MTG BKT 1
TYPE AC CABIN MODELS COVER
36 |Solis-75,90 CRDI WITH H- |20000104AA |HEX SCREW M6*10 5 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20005573AA
(ROHS)
36 |Solis-75,90 CRDI WITH H- [20005573AA |HEX SCREW M6X10 5 YES [(ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
20000104AA
22.1 | Solis-75,90 CRDI WITH H- [10057345AA |DETACHABLE BKT. REVOLVING 1

TYPE AC CABIN MODELS

LIGHT




32590A-1-1

32590A-1-1

BRAKE PEDAL ASSY.

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

BRAKE PEDAL ASSY.

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10068659AB |BRAKE PEDAL RIGHT ASSY 1
TYPE AC CABIN MODELS
2 | Solis-75,90 CRDI WITH H- |10068660AA [BRAKE PEDAL LEFT ASSY 1
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |10053758AA |CLUTCH SAFETY SWITCH 1
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |300119996A |PLUNGER SWITCH NC 1 YES FOR NON EU
TYPE AC CABIN MODELS MODELS-
FYNDS852132W
NT
FOR EU
MODELS-
MEMSYEDHCFK
H05802
4 | Solis-75,90 CRDI WITH H- |10084752AA [SPRING FOR BRAKE PEDAL 2
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 |Solis-75,90 CRDI WITH H- |10006738AB |WASHER [BRACKE PEDAL] 2
TYPE AC CABIN MODELS
6 |Solis-75,90 CRDI WITH H- |20002549AA |CIRCLIP 25*1.2N,IS:3075 2
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI WITH H- |10084509AA |CLUTCH & BRAKE STOPPER 4
TYPE AC CABIN MODELS
8 |Solis-75,90 CRDI WITH H- [20003357AB |HEX NUT M10 -8 SA2JS 4
TYPE AC CABIN MODELS
8 |[Solis-75,90 CRDI WITH H- [20003357AF |HEX NUT M10 -8 SA4GS 4 YES [interchange with|FOR NON EU
TYPE AC CABIN MODELS 20003357AB  |MODELS-
JZNSS869101S
M
FOR EU
MODELS-
MEMRZGTNEJK
H07194
9 |Solis-75,90 CRDI WITH H- |20002016AB [Hex. head screw M10 x 1.5 x 30 8-8 4
TYPE AC CABIN MODELS
10 [Solis-75,90 CRDI WITH H- [04030400010 |SPRING WASHER B-10 4
TYPE AC CABIN MODELS
11 [Solis-75,90 CRDI WITH H- [10084280AB |BRAKE WIRE ASSY 2
TYPE AC CABIN MODELS
12 [Solis-75,90 CRDI WITH H- [10068718AA |BRAKE PEDAL FRONT 1
TYPE AC CABIN MODELS ATTACHMENT LH
13 |Solis-75,90 CRDI WITH H- |10068717AA |BRAKE PEDAL FRONT 1

TYPE AC CABIN MODELS

ATTACHMENT RH




32600A-1-1

32600A-1-1

CLUTCH PEDAL ASSY

CLUTCH PEDAL ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |Solis-75,90 CRDI WITH H- [10068719AA |CLUTCH PEDAL FRONT 1
TYPE AC CABIN MODELS ATTACHMENT

2 | Solis-75,90 CRDI WITH H- |10084281AB |CLUTCH WIRE ASSY 1
TYPE AC CABIN MODELS

3 | Solis-75,90 CRDI WITH H- |10068667AA [CLUTCH PEDAL ASSY 1
TYPE AC CABIN MODELS

4 |Solis-75,90 CRDI WITH H- |10006738AB |WASHER 2
TYPE AC CABIN MODELS

5 |Solis-75,90 CRDI WITH H- |20002549AA |CIRCLIP 25*1.2N,1S:3075 2
TYPE AC CABIN MODELS

6 |Solis-75,90 CRDI WITH H- [20003357AB |HEX NUT M10 -8 SA2JS 2
TYPE AC CABIN MODELS

6 |Solis-75,90 CRDI WITH H- |20003357AF |HEX NUT M10 -8 SA4GS 2 YES [interchange with|FOR NON EU
TYPE AC CABIN MODELS 20003357AB  |MODELS-

JZNSS869101S

M
FOR EU




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
MODELS-
MEMRZGTNEJK
H07194
7 |Solis-75,90 CRDI WITH H- |20002016AB [Hex. head screw M10 x 1.5 x 30 8-8 2
TYPE AC CABIN MODELS
8 |Solis-75,90 CRDI WITH H- |04030400010 [SPRING WASHER B-10 2
TYPE AC CABIN MODELS




32610A-1-1

32610A-1-1

LIFTOMATIC

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

LIFTOMATIC

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10093803AD |SWITCH ASSY LIFTOMATIC 1
TYPE AC CABIN MODELS
2 |Solis-75,90 CRDI WITH H- |10093804AD [COVER FOR LIFTOMATIC 1
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |04040106025 |HEX SCREW M6x25 4 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20005570AA
(ROHS)
3 |Solis-75,90 CRDI WITH H- [20005570AA |HEX SCREW M6X25 4 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04040106025




32620A-1-1

32620A-1/2

DISASSEMBLED ASSY.

DISASSEMBLED ASSY. Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

TYPE AC CABIN MODELS

57
Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- |10068537AC |BATTER BOX ASSY 1
TYPE AC CABIN MODELS
1 |Solis-75,90 CRDI WITH H- |300035779C |BATTERY BOX ASSY 1 NO |10067999AA, | FOR EU
TYPE AC CABIN MODELS 10068537AC  |MODELS-
INTERCHANGE MEMSYKDHRA
C\V'?TLE AS A SET| 04747
10067999AB, FOR NON EU
300035779c, |MODELS-
0003355AB 10
2 |Solis-75,90 CRDI WITH H- [10082054BA |REAR MTG PLATE FOR FUEL TANK 1
TYPE AC CABIN MODELS
3 |Solis-75,90 CRDI WITH H- [10084939AA |REAR MTG STRAP FOR FUEL TANK 1
TYPE AC CABIN MODELS
4 |Solis-75,90 CRDI WITH H- [10084897AD [FRONT MTG BKT FOR FUEL TANK 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
5 [Solis-75,90 CRDI WITH H- |10068423AB [LEFT FOOT STEP ASSY 1
TYPE AC CABIN MODELS
5 |[Solis-75,90 CRDI WITH H- [10068423AC [LEFT FOOT STEP ASSY 1 YES FOR EU
TYPE AC CABIN MODELS MODELS-
MEMSYKDHRA
KH04747
FOR NON EU
MODELS-
AYIDS836390W
10
6 |Solis-75,90 CRDI WITH H- |10067999AA |FOOT STEP ASSY (RIGHT) 1
TYPE AC CABIN MODELS
6 |Solis-75,90 CRDI WITH H- |10067999AB |FOOT STEP ASSY (RIGHT) 110 HP 1 NO |10067999AA, FOR EU
TYPE AC CABIN MODELS 10068537AC MODELS-
INTERCHANGE MEMSYKDHRA
CVE:#E AS A SET\ 04747
10067999AB, FOR NON EU
300035779c, |MODELS-
0003355AB 10
7 |Solis-75,90 CRDI WITH H- |10083588AC |BRAKE CLUTCH PTO LOWER 1
TYPE AC CABIN MODELS BRACKET ASSY
8 |Solis-75,90 CRDI WITH H- |10083618AA |PTO LOWER LEVER ASSY 1
TYPE AC CABIN MODELS
9 |Solis-75,90 CRDI WITH H- |10093801AB |PTO WIRE MTG BKT 1
TYPE AC CABIN MODELS
10 |Solis-75,90 CRDI WITH H- |10083602AA |DIFFERENTIAL LOCK LOWER LEVER| 1
TYPE AC CABIN MODELS ASSY
11 |Solis-75,90 CRDI WITH H- |10083616AB |BRAKE PEDAL LOWER LEVER ASSY 1
TYPE AC CABIN MODELS 2
12 |Solis-75,90 CRDI WITH H- [10083620AB |BRAKE PEDAL LOWER LEVER ASSY 1
TYPE AC CABIN MODELS
13 |Solis-75,90 CRDI WITH H- [10083605AA |[CLUTCH LOWER BRACKET 1
TYPE AC CABIN MODELS
14 |Solis-75,90 CRDI WITH H- |10083604AB |PARKING BRAKE BRACKET ASSY 1
TYPE AC CABIN MODELS
15 |Solis-75,90 CRDI WITH H- |10084202AA |TIE ROD ASSY FOR SHUTTLE 1
TYPE AC CABIN MODELS LEVER
16 |Solis-75,90 CRDI WITH H- |10084206AA |TIE ROD ASSY FOR PTO 1
TYPE AC CABIN MODELS
19 |Solis-75,90 CRDI WITH H- |10068645AB |BONNET BRACKET ASSY 1
TYPE AC CABIN MODELS
19 |Solis-75,90 CRDI WITH H- |10068645AD |BONNET BRACKET ASSY 1 YES MEMSYFDHRJJ
TYPE AC CABIN MODELS H02351
20 |Solis-75,90 CRDI WITH H- [10083569AA |LEFT FRONT TRAPEZ ASSY 1
TYPE AC CABIN MODELS
20 |Solis-75,90 CRDI WITH H- [10083569AC |LEFT FRONT TRAPEZ ASSY 1 YES FOR NON EU
TYPE AC CABIN MODELS MODEL-
CZLDG801666W
, FOR EU
MODLS-
MEMSYKDPRCJ
H03480
21 |Solis-75,90 CRDI WITH H- |10068657AA |RIGHT FRONT TRAPEZ ASSY 1
TYPE AC CABIN MODELS
21 |Solis-75,90 CRDI WITH H- |10068657AB |RIGHT FRONT TRAPEZ ASSY 1 YES FOR NON EU
TYPE AC CABIN MODELS MODEL-
CZLDG801666W
, FOR EU
MODLS-
MEMSYKDPRCJ

H03480




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
24 |Solis-75,90 CRDI WITH H- |10084246AC |TIE ROD FOR DCV LEVER 1 1
TYPE AC CABIN MODELS
25 |Solis-75,90 CRDI WITH H- |10084247AC |TIE ROD FOR DCV LEVER 2 1
TYPE AC CABIN MODELS
26 |Solis-75,90 CRDI WITH H- |10083694AB |GEAR LEVER ASSY 1
TYPE AC CABIN MODELS
26 |Solis-75,90 CRDI WITH H- |10083694AC |GEAR LEVER ASSY 1
TYPE AC CABIN MODELS
26 |Solis-75,90 CRDI WITH H- [10083694AD |GEAR LEVER ASSY 1 YES MEMSYFDHRJJ
TYPE AC CABIN MODELS H02351, FOR
NON EU
MODELS-
MEMCZLFG800
399W, FOR EU
MODELS-
MEMSYKDHRCJ
H03386
27 |Solis-75,90 CRDI WITH H- |10084213AB |RANGE LEVER 1
TYPE AC CABIN MODELS
27 |Solis-75,90 CRDI WITH H- |10084213AC |RANGE LEVER ASSY 1
TYPE AC CABIN MODELS
27 |Solis-75,90 CRDI WITH H- |10084213AD |RANGE LEVER ASSY 1 YES MEMSYFDHRJJ
TYPE AC CABIN MODELS H02351
29 |Solis-75,90 CRDI WITH H- |[10084186AB |TIE ROD FOR HYD LEVER 2 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10084186AC
(ROHS)
29 |Solis-75,90 CRDI WITH H- |10084186AC |TIE ROD FOR HYD LEVER 2 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10084186AB
30 |Solis-75,90 CRDI WITH H- |10080657AA |FORK HEAD 8x32 4 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
300034283A
(ROHS)
30 |Solis-75,90 CRDI WITH H- |300034283A |FORK HEAD 8X32 4 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10080657AA
31 |Solis-75,90 CRDI WITH H- |10080652AA |ES BOLT WITH SECURING COLLAR 4 INTERCHANGE
TYPE AC CABIN MODELS 8x32 ABLE WITH
300034287A
(ROHS)
31 |Solis-75,90 CRDI WITH H- |300034287A |ES BOLT WITH SECURING COLLAR 4 (ROHS)
TYPE AC CABIN MODELS 8X32 INTERCHANGE
ABLE WITH
10080652AA
32 |Solis-75,90 CRDI WITH H- |20003355AB |HEX NUT M8 4
TYPE AC CABIN MODELS
39 |Solis-75,90 CRDI WITH H- |10083581AA |STRUCTURE REAR MOUNTING 2
TYPE AC CABIN MODELS
42 |Solis-75,90 CRDI WITH H- |10084168AA |TIE ROD ASSY FOR 540x1000 PTO 1
TYPE AC CABIN MODELS ASSY
42 |Solis-75,90 CRDI WITH H- |10084169AA |TIE ROD ASSY FOR 540X1000 PTO 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10084169AB
(ROHS)
42 |Solis-75,90 CRDI WITH H- |10084169AB |TIE ROD ASSY FOR 540X1000 PTO 1 YES MEMRYFDHRDJ
TYPE AC CABIN MODELS H02692
42 |Solis-75,90 CRDI WITH H- |10084169AB |TIE ROD ASSY FOR 540X1000 PTO 1 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10084169AA
43 |Solis-75,90 CRDI WITH H- |10083609AA |FORWARD REVERSE LEVER 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
TYPE AC CABIN MODELS LOWER ARM ASSY
44 |Solis-75,90 CRDI WITH H- |10083596AA [4x4 LOWER ARM ASSY 1
TYPE AC CABIN MODELS
45 |Solis-75,90 CRDI WITH H- |10084488AA |TIE ROD FOR DCV LEVER ASSY 2
TYPE AC CABIN MODELS
46 |Solis-75,90 CRDI WITH H- [10085573AA |GEAR LEVER BOOT STRIP 1
TYPE AC CABIN MODELS
47 |Solis-75,90 CRDI WITH H- [10085574AA |GEAR LEVER BOOT 1
TYPE AC CABIN MODELS
48 |Solis-75,90 CRDI WITH H- |10084284AA |FOOT THROTTLE WIRE ASSY 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10084284AB
(ROHS)
48 |Solis-75,90 CRDI WITH H- |10084284AB |FOOT THROTTLE WIRE ASSY 1 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10084284AA
49 |Solis-75,90 CRDI WITH H- [300040503A [BONNET HINGE SUPPORT ASSY. 1 NEW PART MEMSYFDHRJJ
TYPE AC CABIN MODELS ADDED H02351
50 |Solis-90 CRDI WITH 300040502A |BOONET HINGE SUPPORT BKT. 1 NEW PART MEMSYFDHRJJ
HTYPE AC CABIN ADDED H02351
MODELS
51 |Solis-75,90 CRDI WITH H- |300022024A |PTO SWITCH MOUNTING BRACKET 1
TYPE AC CABIN MODELS
51 |Solis-75,90 CRDI WITH H- [300022024B |PTO SWITCH MOUNTING BRACKET 1 NO |NULL MEMSYFDHRJJ
TYPE AC CABIN MODELS H02351
52 |Solis-75,90 CRDI WITH H- [10068257AA  [CLAMPING BAND 4 Delete from  [MEMRYFDHRDJ
TYPE AC CABIN MODELS MEMRYFDHRD |H02692
JH02692
53 |Solis-75,90 CRDI WITH H- |[10068392AA |[MOUNTING BRACKET ASSEMBLY -1 2 Delete from MEMRYFDHRDJ
TYPE AC CABIN MODELS MEMRYFDHRD [H02692
JH02692
54 |Solis-75,90 CRDI WITH H- |10068393AA |MOUNTING BRACKET ASSEMBLY -2 2 Delete from MEMRYFDHRDJ
TYPE AC CABIN MODELS MEMRYFDHRD |H02692
JH02692
55 |Solis-75,90 CRDI WITH H- |10084918AB |[FUEL TANK FRONT OUTER PLATE 1 Delete from MEMRYFDHRDJ
TYPE AC CABIN MODELS (HISARLAR CABIN) MEMRYFDHRD |H02692
JH02692
56 |Solis-75,90 CRDI WITH H- |20003235AA |HEX SCREW M10X20 8-8 SA3NS 1
TYPE AC CABIN MODELS
56 |Solis-75,90 CRDI WITH H- |20003235AB |HEX SCREW M10X20 1 YES MEMRYFDHRDJ
TYPE AC CABIN MODELS H02692
57 |Solis-75,90 CRDI WITH H- [10083600AB |PTO WIRE MOUNTING BRACKET 1
TYPE AC CABIN MODELS
57 |Solis-75,90 CRDI WITH H- [10083600AC |PTO WIRE MOUNTING BRACKET 1 YES MEMSYKDNRFK

TYPE AC CABIN MODELS

H05665




32630A-1-1

32630A-1-1

B —

LT

CABIN ACESSORIES

e ———

CABIN ACESSORIES

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- [10085735AB |MTG PLATE FOR SIX SWITCHES 1 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH

10085735AD
(ROHS)
1 |Solis-75,90 CRDI WITH H- [10085735AD |MTG PLATE FOR SIX SWITCHES 1 (ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10085735AB

2 |Solis-75,90 CRDI WITH H- |10095075AA |AIR CONDITIONER PANEL 1

TYPE AC CABIN MODELS

3 | Solis-75,90 CRDI WITH H- |10085715AA [CROSS RECESSED PAN HEAD 20
TYPE AC CABIN MODELS TAPPING SCREW M4.2x22

4 | Solis-75,90 CRDI WITH H- |10094001AA |CLIP NUT M4 8
TYPE AC CABIN MODELS

5 |Solis-75,90 CRDI WITH H- |10082218AA [LOUVER 4
TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |Solis-75,90 CRDI WITH H- |10083432AA |LOUVER 4
TYPE AC CABIN MODELS
7 |Solis-75,90 CRDI WITH H- |10082189AC |CD PLAYER 1
TYPE AC CABIN MODELS
8 |Solis-75,90 CRDI WITH H- |10095124AB |ROOF LINER 1
TYPE AC CABIN MODELS
9 |[Solis-75,90 CRDI WITH H- [10086076AA |PUSH PIN 20
TYPE AC CABIN MODELS
10 |Solis-75,90 CRDI WITH H- |10085696AA |SPEAKER COVER 2
TYPE AC CABIN MODELS
11 |[Solis-75,90 CRDI WITH H- [10010881AC |SPEAKER 2
TYPE AC CABIN MODELS
12 [Solis-75,90 CRDI WITH H- [10085719AA |SADDLE CLIP M4 8
TYPE AC CABIN MODELS
13 [Solis-75,90 CRDI WITH H- [10085718AA |CROSS RECESSED PAN HEAD 8
TYPE AC CABIN MODELS TAPPING SCREW M4.8x25
14 |[Solis-75,90 CRDI WITH H- [10010425AB |WORK LIGHT 4
TYPE AC CABIN MODELS
15 |Solis-75,90 CRDI WITH H- |10095068AA |WORK LIGHT MTG BKT 4
TYPE AC CABIN MODELS
16 |Solis-75,90 CRDI WITH H- |10082636AB |SPECIAL BOLT M18x1.5 4
TYPE AC CABIN MODELS
17 |Solis-75,90 CRDI WITH H- [10082799AA |HEX NUT M18X1.5 -8 SA2JS 4 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
10082799AC
(ROHS)
17 |[Solis-75,90 CRDI WITH H- [10082799AC |HEX NUT M18X1.5-8.8 SA4GS 4 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
10082799AA
18 |Solis-75,90 CRDI WITH H- |10085788AB |SUN SHIELD 1
TYPE AC CABIN MODELS
19 |Solis-75,90 CRDI WITH H- |10085712AA |CROSS RECESSED CHEESE HEAD 2
TYPE AC CABIN MODELS SCREW M6x16
20 |Solis-75,90 CRDI WITH H- |04030600006 [PLAIN WASHER DIA 6.4 *DIA 18 *1.5 2
TYPE AC CABIN MODELS
21 |Solis-75,90 CRDI WITH H- |10084759AB |BKT FOR CD PLAYER 1 NOT SHOWN
TYPE AC CABIN MODELS
22 |Solis-75,90 CRDI WITH H- |10010866AB |Cabin Roof Light 1 NOT SHOWN

TYPE AC CABIN MODELS




32640A-1-1

32640A-1-1

HVAC KITS

HVAC KITS

Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 | Solis-75,90 CRDI WITH H- [10095085AB |HVAC KIT FOR CABIN 1
TYPE AC CABIN MODELS

1A |Solis-75,90 CRDI WITH H- |10095078AA [HVAC ASSY-ROOFMOUNT 1
TYPE AC CABIN MODELS

2 | Solis-75,90 CRDI WITH H- |10095080AA |CONTROL PANEL 1
TYPE AC CABIN MODELS

3 | Solis-75,90 CRDI WITH H- |10095082AA [SUCTION HOSE 1
TYPE AC CABIN MODELS

4 | Solis-75,90 CRDI WITH H- |10082212AB [LIQUID HOSE R/D TO EVAP 1
TYPE AC CABIN MODELS

5 |Solis-75,90 CRDI WITH H- |10083354AA |HEATER HOSE 1
TYPE AC CABIN MODELS (RETURN LINE TO WATER VALVE)

6 |Solis-75,90 CRDI WITH H- |10083355AA |HEATER HOSE 1
TYPE AC CABIN MODELS (WATER VALVE TO RADIATOR)

7 |Solis-75,90 CRDI WITH H- |10083356AA |HEATER HOSE 1
TYPE AC CABIN MODELS (WATER VALVE TO HVAQC)




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
8 |Solis-75,90 CRDI WITH H- |10095086AA |HEATER HOSE 1
TYPE AC CABIN MODELS (SOLENOID TO HVAQ)
9 |Solis-75,90 CRDI WITH H- |10082216AB |CHECK VALVE 2
TYPE AC CABIN MODELS
10 [Solis-75,90 CRDI WITH H- [10082217AC |DRAIN HOSE 2
TYPE AC CABIN MODELS
11 | Solis-75,90 CRDI WITH H- |10082218AA |LOUVER 4
TYPE AC CABIN MODELS
12 | Solis-75,90 CRDI WITH H- |10083067AB |SUCTION PIPE COMPRESSOR TO 1
TYPE AC CABIN MODELS TXV
13 [Solis-75,90 CRDI WITH H- [10083479AA |COLD TAPE. 1
TYPE AC CABIN MODELS
14 [Solis-75,90 CRDI WITH H- [10095083AA |12V SOLENOID VALVE ADAPTOR 1
TYPE AC CABIN MODELS ASSY
15 [Solis-75,90 CRDI WITH H- [10095079AA |TEMPERATURE SENSOR 1
TYPE AC CABIN MODELS
16 [Solis-75,90 CRDI WITH H- [10082204AC 1
TYPE AC CABIN MODELS COMPRESSOR
17 |Solis-75,90 CRDI WITH H- |10082206AD |CONDENSOR 1
TYPE AC CABIN MODELS
18 [Solis-75,90 CRDI WITH H- [10082207AB |RECEIVER DRIER 1
TYPE AC CABIN MODELS
19 [Solis-75,90 CRDI WITH H- [10082210AB |DISCHARGE HOSE 1
TYPE AC CABIN MODELS
20 |Solis-75,90 CRDI WITH H- [10082211AB [LIQUID HOSE COND.TO.R/D 1
TYPE AC CABIN MODELS
21 |Solis-75,90 CRDI WITH H- |10083358AA |[CLAMP 1
TYPE AC CABIN MODELS
22 |Solis-75,90 CRDI WITH H- |10083410AB |[LIQUID PIPE R/D TO LIQUID HOSE 1
TYPE AC CABIN MODELS
23 |Solis-75,90 CRDI WITH H- |[10095084AA |HEATER KIT FOR LOW COST CABIN 1
TYPE AC CABIN MODELS (CABIN COMPONENTS)
24 |Solis-75,90 CRDI WITH H- |10083134AB |HEATER ASSY FOR ROOF MOUNT 1
TYPE AC CABIN MODELS
25 |Solis-75,90 CRDI WITH H- |10083136BA [CONTROL PANEL HEATER UNIT 1
TYPE AC CABIN MODELS
26 |Solis-75,90 CRDI WITH H- |10083354AA |HEATER HOSE (RETURN LINE TO 1
TYPE AC CABIN MODELS WATER VALVE)
27 |Solis-75,90 CRDI WITH H- |10083355AA |HEATER HOSE (WATER VALVE TO 1
TYPE AC CABIN MODELS RADIATOR)
28 |Solis-75,90 CRDI WITH H- |10083356AA |HEATER HOSE (WATER VALVE TO 1
TYPE AC CABIN MODELS HVAC)
29 |Solis-75,90 CRDI WITH H- |[10082215AB |WATER VALVE 1
TYPE AC CABIN MODELS
30 |Solis-75,90 CRDI WITH H- |10082216AB |CHECK VALVE 2
TYPE AC CABIN MODELS
31 |Solis-75,90 CRDI WITH H- |10082217AC |DRAIN HOSE 2
TYPE AC CABIN MODELS
32 |Solis-75,90 CRDI WITH H- |[10082218AA |LOUVER 4
TYPE AC CABIN MODELS
33 |Solis-75,90 CRDI WITH H- |10083066AA |WATER VALVE CLAMP 1
TYPE AC CABIN MODELS
34 |Solis-75,90 CRDI WITH H- [04040106020 [HEX. HEAD SCREW M6 x 1.25-20 8-8 2 INTERCHANGE
TYPE AC CABIN MODELS SA2JS ABLE WITH
20005569AA
(ROHS)
34 |Solis-75,90 CRDI WITH H- |20005569AA [HEX SCREW M6X1X20 2 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04040106020
35 |Solis-75,90 CRDI WITH H- |20003285AB |HEX SCREW M8X1.25X30 8-8 SA2JS 3
TYPE AC CABIN MODELS
36 |Solis-75,90 CRDI WITH H- |04030600008 [PLAIN WASHER DIA 8.4 3

TYPE AC CABIN MODELS




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
37 |Solis-75,90 CRDI WITH H- |20003355AB |HEX NUT M8X1.25 -8 SA2JS 3
TYPE AC CABIN MODELS
38 |Solis-75,90 CRDI WITH H- |10083026AA |RUBBER PAD 5
TYPE AC CABIN MODELS
39 |Solis-75,90 CRDI WITH H- |20004338AA |HOSE WORM CLAMP 32X45 1S:4762 6 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20004338AB
(ROHS)

39 |Solis-75,90 CRDI WITH H- |20004338AB |HOSE WORM CLAMP 32X45 1S:4762 6 YES [(ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
20004338AA

40 |Solis-75,90 CRDI WITH H- |20000104AA |HEX SCREW M6*10 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20005573AA
(ROHS)

40 |Solis-75,90 CRDI WITH H- |20005573AA |HEX SCREW M6X10 2 YES |(ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
20000104AA

41 |Solis-75,90 CRDI WITH H- [04030400006 [SPRING WASHER B-6 2

TYPE AC CABIN MODELS

42 |Solis-75,90 CRDI WITH H- |10094996AB |AC HOSE 2
TYPE AC CABIN MODELS

43 |Solis-75,90 CRDI WITH H- |10095062AA |[AC DUCT 1
TYPE AC CABIN MODELS

44 |Solis-75,90 CRDI WITH H- |10095175AA |DUCT FORM 4
TYPE AC CABIN MODELS

45 |Solis-75,90 CRDI WITH H- |10083108AC [DUCT FOAM SMALL 4
TYPE AC CABIN MODELS

46 |Solis-75,90 CRDI WITH H- [10083379AC |INSULATION SHEET FOR AC DUCT 1
TYPE AC CABIN MODELS

47 |Solis-75,90 CRDI WITH H- |10083526AB [INSULATION SHEET FOR AC CABIN 1
TYPE AC CABIN MODELS LH

48 |Solis-75,90 CRDI WITH H- |10083527AB |[INSULATION SHEET FOR AC CABIN 1
TYPE AC CABIN MODELS RH

49 |Solis-75,90 CRDI WITH H- |20003978AC |HOSE WORM CLAMPS 2
TYPE AC CABIN MODELS

50 |Solis-75,90 CRDI WITH H- |20004004AA |HOSE WORM CLAMP DIA 68 1S-4762 2 INTERCHANGE

TYPE AC CABIN MODELS ABLE WITH
20004004AB
(ROHS)

50 |Solis-75,90 CRDI WITH H- [20004004AB [HOSE WORM CLAMP DIA 68 IS-4762 2 YES [(ROHS)

TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
20004004AA

51 |Solis-75,90 CRDI WITH H- |10095007AA |CANOPY PAD REAR LH 1

TYPE AC CABIN MODELS

52 |Solis-75,90 CRDI WITH H- |10095008AA |CANOPY PAD REAR RH 1
TYPE AC CABIN MODELS

53 |Solis-75,90 CRDI WITH H- |10095004AA |CANOPY PAD FRONT LH 1
TYPE AC CABIN MODELS

54 |Solis-75,90 CRDI WITH H- |10095005AA |CANOPY PAD FRONT RH 1

TYPE AC CABIN MODELS




32650A-1-1

32650A-1/1

REGISTRATION PLATE

REGISTRATION PLATE Solis-75,90 CRDI WITH H-TYPE AC CABIN MODELS

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off
1 |Solis-75,90 CRDI WITH H- |[10084253AA |REGISTRATION PLATE 1
TYPE AC CABIN MODELS
2 | Solis-75,90 CRDI WITH H- |04030600006 |PLAIN WASHER DIA 6.4 *DIA 18 *1.5 4
TYPE AC CABIN MODELS
3 | Solis-75,90 CRDI WITH H- |04040106020 [HEX SCREW M6*1*20 4 INTERCHANGE
TYPE AC CABIN MODELS ABLE WITH
20005569AA
(ROHS)
3 | Solis-75,90 CRDI WITH H- |20005569AA [HEX SCREW M6X1X20 4 (ROHS)
TYPE AC CABIN MODELS INTERCHANGE
ABLE WITH
04040106020
4 |Solis-75,90 CRDI WITH H- |10094998AB [CANOPY ASSY 1
TYPE AC CABIN MODELS




32660A-1-1

32660A-1/1

COMPRESSOR MTG

SOLIS-75,90 CRDI WITH H-TYPE AC CABIN

COMPRESSOR MTG. ASSY.

Sr. Model Iltem Code Description Qty | Int. Remarks Cut Off

1 |ALL MODELS 10082204AC |COMPRESSOR ASSY. 1

2 |ALL MODELS 20003231AB |HEX BOLT M10*100 8-8 SA3NS 2

3 |ALL MODELS 10084578AC |INTERMEDIATE PULLEY 1

4 |ALL MODELS 10084579AA |PIN FOR PULLEY 1 INTERCHANGE
ABLE WITH
10084579AB
(ROHS)

4 |ALL MODELS 10084579AB |PIN FOR PULLEY 1 (ROHS)
INTERCHANGE
ABLE WITH
10084579AA

5 |ALL MODELS 10084596BA |COMPRESSOR MTG BKT. 1




Sr. Model Item Code Description Qty | Int. Remarks Cut Off
6 |ALL MODELS 10084573AD |BRACKET IDLER PULLEY 1
7 |ALL MODELS 20003223AB |HEX BOLT M10*1.5*90 3
8 |ALL MODELS 04030400010 |SPRING WASHER B-10 3
9 |ALL MODELS 04030600010 [PLAIN WASHER DIA 10.5*DIA30*2.5[ 2
10 |ALL MODELS 20003357AB |HEX NUT M10 -8 SA2JS 2
10 [ALL MODELS 20003357AF |HEX NUT M10 -8 SA4GS 2 YES [interchange with|FOR NON EU
20003357AB MODELS-
JZNSS869101S
M
FOR EU
MODELS-
MEMRZGTNEJK
H07194
11 [ALL MODELS 10084574AB |COMPRESSOR BELT ADJUSTING 1 INTERCHANGE
SCREW ABLE WITH
10084574AC
(ROHS)
11 [ALL MODELS 10084574AC |COMPRESSOR BELT ADJUSTING 1 YES |(ROHS)
PIN INTERCHANGE
ABLE WITH
10084574AB
12 |ALL MODELS 10084576AB [BUSH FOR PULLEY 1 INTERCHANGE
ABLE WITH
10084576AC
(ROHS)
12 |ALL MODELS 10084576AC |BUSH FOR PULLEY 1 (ROHS)
INTERCHANGE
ABLE WITH
10084576AB
13 |[ALL MODELS 10084577AA |CAP FOR PULLEY 1 INTERCHANGE
ABLE WITH
10084577AB
(ROHS)
13 |ALL MODELS 10084577AB |CAP FOR PULLEY 1 (ROHS)
INTERCHANGE
ABLE WITH
10084577AA
14 |ALL MODELS 10085796AA |XPA 1060 BELT 1
15 [ALL MODELS 10084580AA |FIP MTG BKT 1 INTERCHANGE
ABLE WITH
10084580AB
(ROHS)
15 |ALL MODELS 10084580AB |FIP MTG BKT 1 (ROHS)
INTERCHANGE
ABLE WITH
10084580AA
16 [ALL MODELS 04040106016 |HEX SCREW M6*16 2
17 |ALL MODELS 10067072AA |FIP COVER 1
17 |ALL MODELS 10067072AD |FIP COVER 1 YES FOR NON EU
MODELS-
BZKDS806511M
S,FOREU
MODELS-
MMEMRYKDHR

BKH03724




Sr.

Model

Iltem Code

Description

Qty

Int.

Remarks

Cut Off

18

ALL MODELS

10081605AA

CROSS SLOTTED TRUSS HEAD
SCREW M6X40

INTERCHANGE
ABLE WITH
10081605AB
(ROHS)

18

ALL MODELS

10081605AB

CROSS SLOTTED TRUSS HEAD
SCREW M6X40

(ROHS)
INTERCHANGE
ABLE WITH
10081605AA

19

ALL MODELS

20004485AA

HEX FLANGE SCREW M10X1.5X45
8.8 SA2JS

INTERCHANGE
ABLE WITH
20004485AB
(ROHS)

19

ALL MODELS

20004485AB

HEX FLANGE SCREW

(ROHS)
INTERCHANGE
ABLE WITH
20004485AA

20

ALL MODELS

20000100AA

M/CD WASHER 10.5*21*2

INTERCHANGE
ABLE WITH
20005625AA
(ROHS)

20

ALL MODELS

20005625AA

M/CD WASHER 10.5*21*2

YES

(ROHS)
INTERCHANGE
ABLE WITH
20000100AA

21

ALL MODELS

04041000006

HEX NYLOC NUT M6

INTERCHANGE
ABLE WITH
20004915AB
(ROHS)

21

ALL MODELS

20004915AB

HEX NYLOC NUT M6 8

YES

(ROHS)
INTERCHANGE
ABLE WITH
04041000006




